AEAXXIONFLEX

== USA BRAND




»
/AF/AXXIONFLEX

Axxionflex, is a specialized manufacturer of hydraulic hoses, fittings and adapters with nearly a decade of
production experience, and has become one of the finest best quality product in the market.

The company's operation scope involves all different areas of the hydraulic system, which include hydraulic
hoses, hose fittings, transition joints, quick connectors, pipe joints assembly equipment, test equipment,
hydraulic solenoid valves, precision high-pressure seamless steel tubes and imported seal parts of various
materials, pressure levels and dimension norms. The products are used in the hydraulic and fluid conveying
systems in the metallurgical machinery, petroleum, mining, construction chemicals, agriculture, textile,
marine vessels, aerospace, military, electronic entertainment, pharmaceutical, and food industries.

The plant is fully automated CNC lathes and high-precision machine tools. The hydraulic fittings and hose
assemblies of the company have formed a pattern of broad product ranges and large varieties.

The company has established a sound quality management system, and passed the 1509001 international
quality system certification and the internationally accepted DIN and SAE standards. The indicators of
products have reached national and international standards, and the products are sold well throughout the
world.

HYDRAULIC HOSE FITTINGS AND ADAPTERS




AF/AXXIONFLEX




_—

NN
AF/AXXIONFLEX 4% "
& T M

A. Ferrules |
B. Hose Fittings 1'
C. BSP Adapters

D. Metric Tube Adapters

E. Metric Adapters

F. SAE Adapters

G. Flange Adapters

H. Quick Coupling & Others

www.axxionflex.com



www.axxionflex.com



il

_

@AXXION FLEX
FERRULE FOR SAETO0R1AT/EN 853 1SN HOSE

Hase Bore Dimensions
00110 Part No. DN Dash D 1
00110403 5 03 16 21
00110-04 6 04 19 30
00110-05 8 05 20.5 37
0011006 10 06 232 32
= ! MW 00110-08 12 08 27 35
j_ﬂ“_ll“”_lﬂjﬂ 00110-10 16 10 30.5 38
00110-12 20 12 4 44
00110-14 22 14 37 45
L 00110-16 25 16 426 52
00110-20 32 20 508 57
00110-24 40 24 58 60
00110-32 50 12 12 75
00110-40 63 40 &7 19

FERRULE FOR SAET00R2AT/EN 853 2SN HOSE

Hose Bore Dimensions

00210 Part No. DN Dash D L
0021003 5 03 19 21

00210-04 6 04 20.5 30

00210-05 8 05 22 32

00210-06 10 06 25 32

= 00210-08 12 08 286 35
Lﬂmmmm 00210-10 16 0 2 |
0021012 20 12 36 4

00210-16 25 16 45 52

L 00210-20 32 20 56 57

00210-24 40 24 625 60

00210-32 50 32 75 75

00210-40 63 40 89 79

FERRULE FOR SAE 100R7/R8 HOSE

Hose Bore Dimensions
00018 Part No. DN Dash D 1
0001802 4 02 13 2
0001803 5 03 14 25
00018-04 3 04 17 30
= 0001805 8 05 19 30
_U_LL 00018-06 10 06 21 30
7 00018-08 12 08 255 b
00018-10 16 10 29 38
L 0001812 2 12 3 43
00018-16 2 16 43 50

nl sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



—

@AKKlON FLEX
FERRULE FOR SAE100R2AT/EN 853 1SN 2SN HOSE
Hose Bore Dimensions
03310 Part No. DN Dash D L
03310-03 5 03 19 24
03310-04 6 04 23 30
03310-05 8 05 24 N
5 03310-06 10 06 26 32
03310-08 12 08 29 M
03310-10 16 10 33 37
03310-12 20 12 37 43
L 03310-16 25 16 46 sl
03310-20 32 20 59 57
03310-24 40 24 67 60
03310-32 50 3 80 75
FERRULE FOR SAET00R1AT/EN 853 1SN HOSE
03300 Hose Bore Dimensions
Part No. DN Dash D L
03300-04 6 04 20.5 30
03300-05 8 05 22 30.5
03300-06 10 06 245 32
= T mnrmw 03300-08 12 08 28 M
‘ ” ‘ |” “‘ ‘I‘ I 03300-10 16 10 31 37
03300-12 20 12 35 43
03300-16 25 16 43 51
L 03300-20 32 20 53 57
03300-24 40 24 62 60
FERRULE FORTEFLON HOSE
00TFO Hose Bore Dimensions
Part No. DN Dash D L
: 00TFO-04 6 04 145 3
00TF0-05 8 05 16.5 306
= _I_” 00TF0-06 10 06 19 32
Q0TFO-08 12 08 24 34.5
L 00TFO-10 16 10 27 37
00TF0-12 20 12 30.1 43
00TFO-16 25 16 38 53

www.axxionflex.com sales@axxionflex.com = Phone: +1 786 455 7577 U.S.A m




_—

@AXXION FLEX
SKIVE FERRULE FOR SAE 100R1A/EN 853 1SN HOSE
Hose Bore Dimensions
00100 Part No. DN Dash D L
00100-04 6 04 19 30
00100-05 8 05 21 32
00100-06 10 06 3 32
- e o 00100-08 12 08 b 34
j 00100-10 16 10 30 39
00100-12 2 12 3 8
00100-14 2 14 37 44
00100-16 25 16 IE] 50
L 00100-20 32 20 51 57
00100-24 40 24 57 60
00100-32 50 Y] 70 75
SKIVE FERRULE FOR SAE 100R2A/EN 853 25N HOSE
Hose Bore Dimensions
00200 Part No. DN Dash D L
00200-04 6 04 21 30
00200-05 8 05 bE| 32
00200-06 10 06 25 32
- - _ 00200-08 12 08 287 34
00200-10 16 10 315 39
L"“_MMIM 00200-12 20 12 36 8
00200-16 25 16 4 50
00200-20 32 20 56 57
L 00200-24 40 24 62 60
00200-32 50 2 75 75

FERRULE FOR CHINA 1-WIRE HOSE

Hose Bore Dimensions

01100 Part No. DN Dash D L
01100-02 4 02 17 23

01100-04 6 04 19 32

01100-05 8 05 21 34

o - 01100-06 10 06 3 3
01100-08 12 08 28 38

01100-10 16 10 31 40

01100-12 20 12 34 44

L 01100-14 22 14 37 45
01100-16 25 16 4 54

01100-20 ) 20 19 57

01100-24 40 24 55 60

01100-32 50 32 68 75

m sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



P———

——m

@AKKION FLEX
FERRULE FOR CHINA 2-WIRE HOSE
Hose Bore Dimensions
01200 Part No. DN Dash D L
01200-04 6 04 21 32
01200-05 8 05 3 Y]
01200-06 10 06 25 34
4 - 0120008 12 08 31 38
01200-10 16 10 34 40
H OO S e T 7 T 51 &
01200-14 2 14 40 45
L 01200-16 25 16 43 54
01200-20 32 20 51 57
01200-24 40 24 57 60
01200-32 50 32 70 75
0120040 50 40 83 78
FERRULE FOR CHINA 3-WIRE HOSE
Hose Bore Dimensions
01300 Part No. DN Dash D L
01300-04 6 04 3 32
01300-05 8 05 25 34
01300-06 10 06 2 Y
- 01300-08 12 08 33 38
_UUL”\JULL 01300-10 16 10 36 40
01300-12 20 12 39 4
01300-14 20 14 42 45
L 01300-16 25 16 45 54
01300-20 32 20 53 57
01300-24 40 % 59 60
0130032 50 32 72 75
FERRULE FOR CHINA 4-SPIRAL HOSE
Hose Bore Dimensions
01400 Part No. DN Dash D L
01400-06 10 06 29 34
01400-08 12 08 32 39
01400-10 16 10 37 42
& 01400-12 20 12 40 50
01400-14 7] 14 43 50
01400-16 25 16 46 62
01400-20 2 20 54 70
\ 01400-24 40 24 62 75
01400-32 50 32 75 80

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A n.



_—

@AXXION FLEX
FERRULE FOR 45P. 4SH, R12 HOSE
Hose Bore Dimensions
00400 Part No. DN Dash D L
00400-04 6 04 2 3
00400-06 10 06 255 34
00400-08 12 08 29 38
= [l PRI 00400-10 16 10 325 T3]
MMM 00400-12 2 1 B | %0
00400-16 25 16 46 615
00400-20 32 20 57 70
: 00400-24 40 % 65 75
00400-32 50 kY, 79 80
00401
FERRULE FOR DIN20023 4SH. R12 HOSE
Hose Bore Dimensions
Part No. DN Dash D L
= “I.Il“lmm_lll 00401-20 32 20 53 70
00401-24 40 24 61 75
00401-32 50 3 77 80
L
00402
FERRULE FOR 4SH, R12 HOSE
Hose Bore Dimensions
Part No. DN Dash D L
o 00402-10 16 10 33 395
00402-12 2 12 38 40
00402-16 25 16 46 51
_‘L“"“‘— 00402-20 32 20 55 60

sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



———

AFAXXIONFLEX
00405 INTERLOCK FERRULE FOR DIN 20023 45H R12 HOSE
Hose Bore Dimensions
Part No. DN Dash D L
00405-08 12 08 305 46
o —— = 00405-12 20 12 40 55
00405-16 25 16 49 64
“ 00405-20 32 20 56 70
—= 00405-24 40 1 64 | 825
L 00405-32 50 32 80 83
00605 INTERLOCK FERRULE FOR R13 HOSE
Hose Bore Dimensions
“ I' Part No. DN Dash D L
00605-08 12 08 33 46
o 00605-12 20 12 40 55
M“ 00605-16 2 16 49 64
00605-20 32 20 61 70
e, 00605-24 40 24 70 82.5
L 00605-32 50 32 85 83
00601
INTERLOCK FERRULE FOR DIN20023 R13,4SH HOSE
Hose Bore Dimensions
Part No. DN Dash D L
o I 00601-20 32 20 59.5 87
_I_ 00601-24 40 24 A 100
= 00601-32 50 3 87 108
L

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A m






www.axxionflex.com




L 10911

w mﬂunnm

10911L-LN

R

B. HOSE FITTINGS

NF/AXXIONFLEX

O-RING METRIC MALE FLAT SEAL
Part No. Hose Bore ~ Dimensions
Braided hose Spralhose  ThreadE =~ DN DASH A L LI | S
10311-14-04 M14X1.5 6 M N M5 17
10311-16-05 - MieXis 8 05 11 45 17 |
10311-18-06 M18X15 m 06 1 235 19
10311-22-08 10312-22-08 M22X15 12 08 12 285 85 1
10311-27-10 10312-27-10 M27X15 P 1o 13 1305 305 | 27
10311-30-12 10312-30-12 M30X1.5 20 12 4 | 33 345 | R
10311-36-16 10312-36-16 M36X2 3 16 16 ¥ 4| 4
10311-3%-16 10312-39-16 M39x2 25 16 18 4 4 4
10311-45-20 10312-45-20 MsX2 32 20 20 #4545 |46
10311-52-24 10312-52-24 M52X2 40 pL} 22 485 49 55
10311-64-32 10312-64-32 Mé4X2 50 32 28 59 59 |65
METRIC MALE 60°CONE SEAT
Part No. . | Hose Bore ~ Dimensions
Braided hose Spiral hose Thread E DN DASH Al L|L|S
10611-14-04 ~ M14X1.5 6 04 14 285 19
10611-16-05 M16X1.5 8 05 14 285 22
10611-18-06 C MgX1ls 100 06 15 95 .}
10611-22-08 106122208 ~ M2X15 12 08 17 335 335 27
10611-24-10 106122410  M24X15 16 10 17 355 355 30
10611-27-10 106122710 M27X15 | 16 10 118 1365 [365 | 32
10611-30-12 10612-30-12 M30X1.5 0 12 18 | 37 385 3
- B METRIC MALE 90°CONE
Part No. . ~ HoseBore ~ Dimensions
Braided hose ‘ThreadE = DN DASH A L §
10911-10-04 C MIOX1 6 o4 12 W5 17
10911-10-06 __Mwoxa 10 06 12 1255 |17 |
10911-12-04 - Mias i 04 14 1265 |14 |
10911-14-06 _M4X15 10 O |19 1R 17 |
10911-16-04 - Mi6X15 | b 04 19 1325 | 19 |
10911-16-05 CMIBX1S 8 05 19 335 19
10911-18-06 S MIBX1S 10 06 |19 /345 | 0 |
10911-22-08 M22X1.5 12 08 195 355 4
METRIC MALE Lengthen 90°CONE
Part No. _ ~ HoseBore ~ Dimensions
Braided hose  ThreadE DN DASH A | L |5 |8
10911L-10-04 LN C OMIOXT 6 04 30 (43512 |14
10911L-1204LN M5 6 04 35 (47514 | 17
10911L-14-04 LN M1 6 04 37 (50517 |19
~ 10911L-16-05LN O MIBX15 8 05 38 (52519 | 22
109111606 LN | . MI6X15 10 06 | 38 (525 |19 | &2
~ 10911L-18-06LN | C MISX1S 10 06 40 [555 |22 | M4
~ 10911L-20-08LN - M20X15 12 08 40 585 |27 |27
109111-22-08 LN M22X15 12 08 45 (635 ([ X | I

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



-h—-

B. HOSE FITTINGS

AFAXXIONFLEX

- o METRIC FEMALE MULTISEAL
s 20111 Part No. Hose Bore Dimensions
:ﬁﬂﬂ Braided hose Spiralhose | Thread E DASH cltluls
-‘ 20111-12-04 MIZXS | 6 04 5 (175 17
a 20111-14-05 M14X1.5 8 05 5 11495 19
ad o O 201M-1406 M14X1.5 10 06 5 1195 19
20111-16-06 MW6X15| 10 | 06 | 6 [195 22
20111-18-08 201121808 | MI8XIS| 12 08 |55 |25 25| M
201112008 01122008 | MOXIS| 12 08 6 (235 85 |7
20111-22-10 01122210 | M2XIS5| 16 10 5 1245 |45 | 27
20111-24-10 20112-24-10 M24X1.5 16 10 35 |255 |55 | 30
20111-27-12 01122712 | MX15| 20 12 s (275 9 | 2
20141 45°METRIC FEMALE MULTISEAL
- | Part No. | HoseBore ~ Dimensions
I Braided hose Spiralhose ~~ ThreadE | DN [DASH C L LI H S
= & 21411204 173 S T W
: 20141-14-05 M14X15| 8 05 | 5 45 2 19
& 20141-16-06 o M16X1.5 10 06 6 485 N5 22
__20141-18-08 20142-18-08 M18X15 | 12 08 |55 585 585 24 M |
L, 20142 201412008 01422008 | M0X1S| 12 8 | 616116 6527 |
20141-22-10 014210 M2XI5| 16 0|5 |64 |64 27 27
20141-24-10 0142410 | M24X15| 16 0 55 675 615 29 30
. K% 20141-27-12 01422712 MXI5| 20 12 [ 5172 713530532 |
&
L 20191 | 90°METRIC FEMALE MULTISEAL
+—1H T Part No. . . HoseBore Dimensions |
Braided hose Spiralhose | ThreadE DN DASH C L LI H|S
= 20191-12:04 CMIZNS 6 o4 |5 (32| (3|1
20191-14-05 C M4X15 8 05 [ 5 325 138519 |
. 20191-16-06  Mex1s. 10 06 6 34  305|22
S 20191-18-08 201991808 | MI8XIS | 12 08 (55 42 42 4 |4
2019 20191-20-08 201922008 | M0XIS 12 08 | 6 485 485 465 | 27 |
20191-22-10 01922210 M2XIS 16 0[S 5.5 4 |7 |
(M 20191-24-10 01922410 MMXIS 16 0 55 515515 53 |30
20191-27-12 20192-27-12 | M2ZIX15 . 20 12 [ 5 |585 160 |55 |32 |

-
-

2

|rn

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A IE




20211

ﬁ[§/

e |

R

B. HOSE FITTINGS

4
NF/AXXIONFLEX
METRIC FEMALE FLAT SEAT
Part No. . ~ HoseBore . Dimensions

Braided hose Spiral hose Thread E DN DAS € | Ll | S
20211-12-04 L MXs 6 04 175 155 |17 |
20211-14-05 M14X1.5 8 05 85 16 (19 |

20211-14-06 M14X1.5 10 06 85 16 {18

20211-16-06 _MieX1.s | 10 06 95 16 2
20211-18-08 02121808 | MISXLS 12 08 |95 185 185 24
20211-20-08 202122008 | M20X15 12 06 105 19 19 27

20211-22-10 20122210 | M22X15 16 010 19 19 %
20211-24-10 202122410 M24X15 16 10 [ 11 195 (195 |30 |

20211-27-12 002-27-12 M27TX15 0 20 2 111 45|12 |3
- 45°METRIC FEMALE FLAT SEAT
Part No. _ _ HoseBore ~  Dimensions

Braided hose Spiral hose Thread E DN DASH | CI L |LI|[H|S

20241-12-04 M12X1.5 6 04 75 40 18 17
20241-14-05 (M4xis 8 05 85 465 (18 19
20241-16-06 M16X1.5 10 06 95 455 18 |2
20241-18-08 202421808  Mi1BX1.5, 12 0B 95 555 555 22 | M4
20241-20-08 202422008 | M20X15 | 12 08 105 58 S8 235 %7
20241-22-10 20242-22-10 M22X1.5 16 10 10 605 605 235 27
20241-24-10 02422410 | M2X15 16 10 | 11 625 625 25 30
20241-27-12 02422712 MZX1s0 20 0 12 11 (68 695 265 32
 S0°METRIC FEMALE FLAT SEAT
| HoseBore | Dimensions |

Braided hose Spiralhose  Thread E DN DASH | C| L |L1| H|S
20291-12-04 L MI205 6 04 |75 305 305 |17
20291-14-05 [ M4x1s 8 05 85 33 345 19 |
20291-16-06 MI6X1.5 | 10 % 195 36 37 2 |
20291-18-08 202921808 | MISX1S| 12 08 95 41 41 395 4 |
20291-20-08 20292-20-08 M20X15 | 12 B 105 48 48 4 |27
20291-22-10 20292-22-10 | M22X1.5 16 10 110 [ 51|51 |43 |7 |
20291-24-10 20292-2410 M4X15) 16 10 11 52 52 475 |30
20291-27-12 20292-2712 0 M2IX15| 20 12 |11 |62 635 (535 | 32

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



h-:

B. HOSE FITTINGS

@AXXION FLEX
20711 - METRIC FEMALE 74°CONE SEAT
d‘; Part No. Hose Bore Dimensions
- Braided hose Sp¥ralhnse Thread E DN DASH C|L|L]| S
w‘llﬁ (T | 20711-12-04 MI2XIS| 6 04 75 |155 17
- 20711-14-05 M14X1.5 8 05 85 | 16 19
<l v | 20711-14-06 MI4X15| 10 06 85 | 16 19
20712 20711-16-06 MIEX15| 10 06 95 | 16 2
s 20711-18-08 207121808 | MIsX15| 12 08 |95 185 185 | 24
- 20711-20-08 207122008 | M20X15| 12 08 [105 |19 |19 |2
H%mm 20711-22-10 20712-2-10 | M2X15| 16 10 10191927
“‘ P 20711-24-10 207122410 | M4X15] 16 10 11 1195 [195 | 30
= 20711-27-12 20712-27-12 M27X15| 20 12 n a5 | 3|3
20741
\ 45°METRIC FEMALE 74°CONE SEAT
Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH | C|L|L|H]|S
20741-12-04 MI2XI5| 6 04 |75 | 40 18 | 17
20741-14-05 | Max1s| 8 05 |85 465 18 119
20741-16-06 M16X1.5 10 06 |95 455 18 | 22
20741-18-08 20742-18-08 | MISX15| 12 08 |95 555 (555 |22 | 4
20741-20-08 207422008 | M20X15| 12 08 (10558 |58 235 |27
20741-22-10 20742-2-10 | M2X15| 16 10 [ 10 |60.5 605 235 | 27
20741-24-10 207422410 | MMX15| 16 10 |11 |625 625 | 25 | 30
20741-27-12 07422712 | M27X15] 20 | 12 [ 11 68 [695 (265 |32
&
(9
20791
L 90°METRIC FEMALE 74°CONE SEAT
T Part No. Hose Bore Dimensions
N Braided hose Spiral hose Thread E DN DASH | C|L|LI|H|S
20791-12-04 M5 6 04 |75 305 305 | 17
- 20791-14-05 | M4X15| 8 05 |85 33 345 1 19
5 20791-1606 | MieX15| 10 06 |95 |36 37 |2
e 20792 207911808 | 207921808 | MisX15| 12 | 08 [95 |41 [41 [395 |4
o 20791-20-08 20792-20-08 M20X15| 12 08 10548 |48 |42 |27
,f—ffﬁmmnm 20791-22-10 20792-2:10 | M2x15] 16 10 |10 |5 [51 /43 27
207912410 | 207922410 | MMX15| 16 | 10 |11 |52 |52 475 30
= 20791-27-12 207922712 | M2aTX15| 20 12 |11 |62 635 535 |32
5
_E |

www.axxionflex.com

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A



.-—--d

B. HOSE FITTINGS

NF/AXXIONFLEX

30111

ﬁl

¥ 30142

'METRIC FEMALE MULTISEAL
Part No. . ~ Hose Bore ~ Dimensions
Braided hose Spiral hose Thread E DN DASH C|L|E |5
30111404 _MEX15 6 04 4 1185 17
30111-16-05  M6X15 8 05 45 185 19
30111-18-06 - M18X15 0 06 45 215 -
30111-20-06 | M20X15 10 06 | &5 | M5 | 24
30111-22-08 301122208 M2X15 12 B 5 245 45 7
30111-24-08 30112408 MMX15 12 08 5 (255 255 30
30111-27-10 01122710 M5 16 10 45 215 (75 R
30111-30-12 30112-30-12  M30X15 20 12 4 130 30 |36
30111-36-14 30112-36-14 M2 2 14 | 5 305 325 4
30111-36-16 30112-36-16 M36X2 25 6 |5 |32 32 4
30111-39-16 30112-39-16 M39X2 25 6 5 35 35 4
30111-45-20 30112-45-20 M45X2 32 20 5 385 38 55
30111-52-24 30112-52-24 M52X2 40 4 5 P50 &
30111-64-32 30112-64-32 M64X2 50 32 8 4% 4 75
45°"METRIC FEMALE MULTISEAL
Part No.  HoseBore  Dimensions
Braided hose Spiral hose Thread E DN DASH | C | L LI|H S
_30141-14-04 Miaas 6 04 14 140 [0V
30141-16-05 MIGX1S 8 05 45 M5 21 19
30141-18-06 MIgX1S| 10 | 06 45 415 A 22
30141-22-08 30142-22-08 M2X15, 12 | 08 [5 | 58| 5|37
30141-27-10 30142-27-10 M27X15 16 10 45 685 215 3
30141-30-12 30142-30-12 M30X15 20 12 4 69 70 305 36
30141-36-14 30142-36-14 M36X2 22 14 5 845 865 33 A
30141-39-16 30142-39-16 M39X2 25 | 16 5 86 8 36 46
30141-45-20 30142-45-20 MasX2 32 20 5 97 975 395 55
30141-52-24 30142-52-24 MS2X2 40 24 5 117 175445 &0
30141-64-32 30142-64-32 Mb4X2 50 32 8 13751375 53 75
90°METRIC FEMALE MULTISEAL
Part No. _ | HoseBore Dimensions
Braided hose Spiralhose ~ Thread E DN DASH | C| L [LY| H| S
30191-14-04 M14X15 b 4 4 129 13 1
30191-16-05 C MI6X15 8 05 45 32 385 19
30191-18-06 CMIBXIS] 10 06 45 B & N
30191-22-08 30192-208 | M22X15 | 12 08 5 475 475 4715 7
30191-27-10 301922710 M2IX15 16 10 |45 525 525 515 32
30191-30-12 301923012 M30X15 20 12 |4 58 59 515 36
30191-36-14 30192-36-14 M36X2 22 4 5 68 70 65 4
30191-39-16 30192-39-16 M2 25 16 |5 745 745 72 4
30191-45-20 30192-45-20 Masx2 32 20 5 925 93 865 55
30191-52-24 30192-52-24 M52X2 40 24 5 1M 1115 9 60
30191-64-32 30192-64-32 Mb4X2 50 32 18 137 137127 75

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

WWwW.

axxionflex.com



h—-—

B. HOSE FITTINGS

AF/AXXIONFLEX

METRIC FEMALE FLAT SEAT

Part No. _ Hose Bore _ Dimensions

30211 Braided hose Spialhose  ThreadE DN DAH  C L LI S

30211-14-04 MI4K1S 6 04 8 145 17

0211604 MIGK15 6 04 8 145 19

0211-1605 C MIeX15S 8 @5 | 8 155 |19 |

302111805 MisKi5 8 0 85 165 2

02111806 MIgKi5 10 06 85 165 2

30211-2006 _ M20K1.5 10 06 10 175 4 |

02112206 M22X15 10 06 10 175 2

30211-2408 30212-22-08 0 M22X15 12 08 10 195 195 77

02112408 | 302122408 | M2X15 12 08 11 185 185 30

02012710 302122710 MXIS. 16 10 105 215 215 32

0213012 302123012 M30X15 20 TR A

M6 30023614 MR 22 41325 M5 M

02113616 | 302123616 M2 25 16 13 18 24 4

0211316 | 302123916 | MOX2 25 16 13 21 27 4

4520 302124520 | MSKR | 22 0 15 275 B 5

W211-5224 302125224 M52 40 17 5 B &0

302116432 WWN26432 | M2 S0 SRR AETRE
30241 | |  45°METRIC FEMALE FLAT SEAT

L Part No. . . Hose Bore . Dimensions

——— Braided hose Spialhose  ThreadE DN DA C/ L U/ H S
- O 30241-1404  MX15 6 0 04 B 40 17 17
= XL 3041-1605 MIGXS 8 05 8 445 2 19
3 302411806 M85 10 06 85 45 20 22
5 3004 3041208 30422208 M2XIS 12 08 10 60 60 2 27
" 02412710 30422710 | M5 16 10 105 62 62 B 32
) 300413012 02423012 M3XIS 20 12 11 68 69 255 36
_— 02413614 023614 | M36X2 22 | 14 13 79 85 275 41
x 30241-39-16 302423916 | M39X2 | 25 | 16 13 19 79 29 46
: 0414520 | 302424520 MSX2 32 20 15 925 90 325 55
¢ 30241524 02425224 | MS22 40 | 24 17 1155 110 375 60
30241-64-32 302426432 | MedX2 50 N B U5 145 455 T5

O0'METRIC FEMALE FLAT SEAT

Part No. |  HoseBore Dimensions

Braided hose Spirlhose  ThreadE DN DASH C L L H S

302911404 M5 6 o4 8 29 9 17

30291-16-05 MiXl5 8 5 8 3 3B 19

302911806 MBS w0 06 85 B 3™ 22

0291-2208 | 302922208  M2X15 12 08 10 48 48 39 27

02012710 | 30222710 M2XIS. 16 10 105 535 535 455 32

0913012 30923012 M35 20 2 1 58 5 505 36

0913614 | 302923614  MX2 2 14 13 66 68 50 41

0913016 | 302923916  M9K2 25 16 13 765 765 68 46

02914520 | 302924520 | M4SX2 32 20 15 95 93 76 55

0915226 0292524 MS22 | 40 4 17 M5 8 60

302916432 02026432 MedX2 50 R B 134 134 11| 75

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



_,.‘

B. HOSE FITTINGS

NF/AXXIONFLEX

30741

7 30742

! u
= [ (CN—‘
L 1]

———l

METRIC FEMALE 74°CONE SEAT
Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH ClLiLb| S
30711-14-04 M14X15 6 04 B 145 17
_30711-1605 | MI6X15| 8 05 | 8 |155 19
30711-18-06 M18X15 10 1] 85 |165 22
30711-20-06 M20X1.5 10 D& 10 175 24
30711-22-08 30712-22-08 M22X1.5 12 08 10 [195 195 | X7
30711-24-08 30712-24-08 M24X15 12 08 11 |185 [185 | 30
30711-27-10 30712-27-10 M27X1.5 16 10 105 | 215 (215 | 32
30711-30-12 0712-30-12 M30X1.5 20 12 N[22 123 ]3%
_30711-36-14 | 307123614 M36X2 2 | 14 113 205 45| 4
30711-36-16 0712-36-16 M36X2 25 16 13 (8 (M4 4
 30711-39-16 30712-39-16 M39X2 | 25 16 13 127127 |46
30711-45-20 30712-45-20 M45%2 2 20 15 (275 | 28 | 55
30711-52-24 30712-52-24 M52X2 40 pL} 17 (275 | 28 | 60
30711-64-32 30712-64-32 Me4%2 50 32 B | N[N |B
45°METRIC FEMALE 74° CONE SEAT
Part No. Hose Bore Dimensions
Braided hose Spiralhose | Thread E DN DASH | C| L |LI|H|S
30741-14-04 M14X1.5 6 04 8 | 40 17117
30741-16405 M16X1.5 8 05 8 445 211 19
_30741-18-06 | M5 10 06 |85 |45 | |20|2
30741-22-08 30742-22-08 M22X1.5 12 08 |10 | 60 | 60 ) 21| 27
30741-27-10 307422710 | M27X15| 16 | 10 [105 | 62 | 62 | 23 | 32
30741-30-12 30742-30-12 M30X1.5 20 12 11 | 68 | 69 |255| 36
30741-36-14 30742-36-14 Misx2 2 14 |13 |79 | 85 [215 41
30741-39-16 30742-39-16 M39X2 25 16 |13 |79 79| 29| 46
30741-45-20 30742-45-20 M45x2 32 20 |15 [925] 90 1325 55
- 30741-52-24 30742-52-24 M52%2 40 24 |17 1155/ 110375 | 60
30741-64-32 0742-64-32 Medx2 50 32 123 [145)145(455 1 75
90°METRIC FEMALE 74° CONE SEAT
Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH| C| L LL|H|S
30791-14-04 M14X15 6 M4 |8 |2 F1EA
30791-16-05 M16X1.5 8 05 8 | 35 5119
__30791-18-06 R MI8X15 | 10 06 185 |33| |39 |2
30791-22-08 30792-22-08 M22X15 12 08 |10 | 48 | 48| 39 | 7
30791-27-10 30792-27-10 M27X1.5 16 10 105 |535 /535455 32
30791-30-12 30792-30-12 M30X1.5 20 12 11 | 58 | 59 |505] 36
30791-36-14 30792-36-14 Misx2 22 14 |13 | 66| 68 | 59 | 41
30791-39-16 30792-39-16 M9X2 | 25 16 |13 [765|765| 68 | 46
30791-45-20 30792-45-20 M45x2 32 20 (15 [925| 93 [ 76| 55
30791-52-24 30792-52-24 | M52X2 | 40 24 117 [ 111115 86 | 60
30791-64-32 30792-64-32 Medx2 50 32 08 (14134 1m0

lﬂ sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com




———

B. HOSE FITTINGS

@AXXION FLEX
METRIC FEMALE 60°CONE
5 30611 PartNo. | HoseBore Dimensions
5 Braided hose Spiralhose | ThreadE | DN DAH | CclLluls
N Z!‘Hmnnmm 30611-14-04 M14X15 6 04 55 |175 17
_ 30611-16-05 MIGX15 | 8 05 |55 1185 19
- f 30611-18-06 MISX15 | 10 06 65 1185 2
| 306112208 | 30612-2208 | M22X15 12 08 15 1225 |05 | o
30611-27-10 306122710 | M2X15 | 16 10 |85 |35 585 32
g 30612 06113012 | 306123012 | M30X1S| 20 12|85 |25 |28 |36
30611-36-14 30612-36-14 M36X2 2 14 9 1265 285 | 41
. I”TFH"IHHHI’IITI‘] 30611-39-16 06123916 | M3X2 | 25 % 110 |30 | 30 | 46
E= 30611-45-20 06124520 | MASK2 | 32 0 |11 [315] 3% 5
) 30611-52-24 306125224 | M52 | 40 % 12 325 33 |60
| 30611-64-32 06126432 | Meax2 | 50 21151393975
1 45°"METRIC FEMALE 60°CONE
L 3064 Part No. Hose Bore Dimensions
Braided hose Spialhose  |ThieadE | ON | DASH | C| L | LI | H[ S
st 30641-14-04 M5 6 04 |55 |42 | 185 |17
P 30641-16-05 MIGXLS | 8 05 |55 445 N 19
/30641-18-06 | MIgX1s 10 06 |65 465| |2 |22
> 30641-22-08 306422208 | M2X15| 12 08 75150 |59 | B |2
¢ 30642 30641-27-10 30642210 | M2TK15| 16 10 |85 |62 |62 [245 |3
" 30641-30-12 3064230-12 | M30X15| 20 12 (85 (70 | 71|27 | %
30641-36-14 30642-36-14 | M36X2 | 22 4 | 9 7751795 |30 | 41
o | =T 30641-39-16 06023916 | M39X2 | 25 16 |10 | 81 |81 | 31 | 4
N 306414520 06424520 | MASK2 | 32 0 |11 19559 |35 | 55
30641-52-24 30642-5-24 | MS22 | 40 A |12 1114 115 | 41 | 60
& 30641-64-32 30642-64-32 Medx2 | 50 32 |15 142501425 51 | 75 |
L=
30691 |  SO'METRIC FEMALE 60°CONE
Part No. Hose Bore Dimensions
/‘WTHTHTH‘HT] Braided hose Spiral hose ThreadE | DN DASH | C| L |LI[H]|S
30691-14-04 M5 | 6 o |55 2951 315 |17
2 #_;_ ( j 30691-16-05 MIGKIS | 8 05 |55 |40 | 1375]19
30691-18-06 MIBKIS | 10 % |65 | 34 0 | 0
S Y 30691-22-08 306922208 | M2X15| 12 08 |75 485 485 415 | 27
: 30692 30691-27-10 306922710 | MIX15| 16 10 |85 (535 [535 1475 | 32
2 30691-30-12 30602-30-12 | M30KI5| 20 12 [85 605 615 | 53 | 36
%m 30691-36-14 306023614 | M36X2 | 22 14 | 9 |66 |68 |63 |4l
: 30691-39-16 30602-39-16 | M39X2 | 25 16 |10 1765 1765 | 71 | 46
3069145-20 306024520 | MaSX2 | 32 20 |11 192593 | 80 |55
= ’L-( 130691-52-24 (30692-52-24 | M52K2 | 40 24 |12 1111 ]111.5( 91 | 60 |
E 30691-64-32 306026432 | Me4X2 | 50 32 15 134 134 119 | 75

www.axxionflex.com

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A

B8



il

B. HOSE FITTINGS

NF/AXXIONFLEX

METRIC BANJO
Part No. Hose Bore Dimensions
_ Braidedhose |  Spiralhose | ThreadE DN | DASH | d | D | L U H
70011-10-04 M10X1 6 04 0217 120 10
: 70011 70011-12-04 MI2X15| 6 04 122 [20 | 21 12
£ J0011-12-05 M12X15 8 05 122120 | A 12
—]_Hlnnnnnn—\ 70011-12-06 MI2X15| 10 06 12220 | 21 12
= (l\‘w 70011-14-04 M4X15| 6 04 142 |24 | 23 14
d e 70011-14-05 MI4X15| 8 05 [142 | 24 1225 14
70011-14-06 MI4X15| 10 06 [142 |24 | 35 14
70012 70011-16-04 MI6X15| 6 04 [162 | 28 255 18
. u 70011-1605 | MI6X15| 8 05 (16228 55| |18
~ 70011-16-06 MIGX15| 10 06 1162 | 28 1255 18
d (\?H]mmnrrn 70011-18-06 MIBKIS| 10 | 06 [182[32 (75| |20
S 70011-18-08 70012-1808 | MISXIS| 12 08 182132 |20 [29 [ 20
d 700112208 | 70012-2208 | M2X15| 12 08 (222138 |32 |32 |25
70011-22-10 700122210 | M2X15| 16 10 [222]38 [ 313125
70011-26-10 70012-26-10 M26X1.5 16 10 |262 | 46 |375 (375 | 30
70011-26-12 70012-2612 | M26X15| 20 12 262 46 1375 39 | 30
70011-30-12 70012-30-12 | M30X15| 20 12130254 | 45 [465 | 36
~70011-30-16 70012:30-16 | M30X15| 25 16 [302]54 |43 |44 | 36
METRIC BOLT
700M Thread Dimensions
Part No. E A B C S
= : _700M-10 MI0XT_ 20 i 6 4
FLV:P 700M-12 M12X15 % 6 6 17
700M-14 M14X15 2% 8 7 19
/| i 700M-16 M16X1.5 28 9 15 2
\ T00M-18 | _Msxis 32 95 8 24
0 700M-22 M22X1.5 39 14 9 7
: 700M-26 M26X1.5 45 18 10 3
F00M-30 M30X2 55 12 1 36
JIS METRIC MALE 60°CONE SEAT
Part No. Hose Bore Dimensions
e 18611 Braided hose Spialhose | ThreadE | DN DASH kL uls
18611-14-04 MI4X15 | 6 04 17 1305 17
JT 18611-14-06 MI4X15 | 10 06 17 1305 17
e 18611-16-04 MIGXI5 | 6 04 18 |315 17
’ 18611-16-06 M16X1.5 10 06 18 | 325 19
18611-18-06 MI8X15 | 10 06 18 [315 19
u 18612 18611-20-08 186122008 | M20X15 | 12 08 20 1365 (365 | 2
A s 18611-22-08 18612-22408 M22X15 12 08 20 (365 (365 | M
18611-24-10 18612-2410 | M2X15 | 16 0 |215 [395 (395 | 7
o I 18611-30-12 186123012 | M30X15 | 20 12 % | 44 (455 | 32
| 18611-33-16 186123316 | M33K15 | 25 16 30 |52 |53 | 3%
18611-36-20 18612-36-20 | M36X15 | 32 20 33 575 | 58 | 4
18611-42-24 18612-4224 | MAX15 | 40 2% 3 605 | 61 | 50

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



—

B. HOSE FITTINGS

AFAXXIONFLEX

JIS METRIC FEMALE 60°CONE SEAT
|| — Part_!'h.f_. |“. . Huseﬂure . DII‘I‘EI‘I»SIDIIS.
28611 _ Baidedhose | Spialhose  |ThreadE | ON [ DASH | C[L[LI|S [
28611-12-04 MIZX15| 6 04 | 9 |25 17 (17
28611-14-04 M5 6 04 [10 |35 19 (19
4 28611-14-06 MI4X15| 10 06 |10 |35 19 119
L ! 28611-16-05 MiEX15| 8 05 |95 |25 19 |2
~28611-1806. MgxiS| 10 |06 |11(265] |4 |24
< L 2611-20-08 | 28612-2008 | M20XIS| 12 08 |11 (275|275 |24 |27 |
78612 28611-22-08 286122208 | M2X15| 12 08 |14 (85 85|27 |7
s 28611-24-08 286122408 | M2X15. 12 08 [135 (295 (295 |27 | 32
28611-24-10 286122410 | M24X15 16 10 135 (295 (295 (32 | 32
_ 26112710 | 28612-27-10 | M27X15| 16 | 10 |13 1295 295 |32 |32
28611-30-12 28612-30-12 | M30X15| 20 12 |20 |33 345 36 | 36
28611-33-12 286123312 | M33X15| 20 12 (20534 355 |36 | 41
28611-33-16 286123316 | M33X15| 25 16 |205 38 |39 | 41 | 41
28611-36-20 8612-36:20 | M36X15| 32 20 1185138539 46 | 46
286114224 | 2861242-24 | MAX15| 40 | 24 [185 385 (39 |55 |55
45°1S METRIC FEMALE 60°CONE SEAT
Part No. Hose Bore Dimensions
Braidedhose | Spialhose | ThreadE | DN DASH [ C[ LU H]|S
 28641-14-04 M5 6 04 |10 [385 165 | 19
28641-1605 MI6X15| 8 05 |95 |46 0|2
28641-18-06 MigX15| 10 06 |11 |46 20 |24
28641-22-08 86422208 | M2X15| 12 08 |14 1585 585 |24 |27
 28641-2410 | 28642-24-10 MMX15| 16 10 135 (63 |63 |26 | 32 |
28641-30-12 8642-30-12 | M30X15| 20 12 |20 67571 |28 |3
28641-33-16 18642-3316 | M35 25 16 [205 |87 |89 1335 | di
28641-36-20 8642-36-20 | M3BX1S5| 32 20 [185 (935 |94 [33 [ 46
78641-42-24 8642-4224 | M5 | 40 24 185 1025103 | 36 | 55
&
; 28691 90°J1S METRIC FEMALE 60°CONE SEAT
%ﬂ? Part No. Hose Bore Dimensions
4 Braided hose Spiralhose | ThreadE | DN DASH | c| LUl H]S
= 28691-14-04 MIXIS| 6 04 |10 [295 315 119
28691-16-05 MisX15| 8 05 |95 335 YY)
s 28691-18-06 _— _MigKis| 10 06 |11 355 405 | 24 |
- 28691-22-08 286922208 | M22X15| 12 | 08 |14 |46 |46 |43 |27
E | 28692 28691-24-10 28692-24-10 | MKIS| 16 10 [135 |50 [50 [49 [ 32
| 28691-30-12 28602-30-12 | M30X15| 20 12|20 |58 |595 555 | 36
28691-33-16 286923316 | M35 25 16 [205[70 [ 70 [685 | 41
Ty [ etaen | 623620 | Maeis| 32| 0165|8895 |72 %
W691-42-24 | 286024224 | MAX1S| 40 | 24 185197 (975 [ 81 |55
= =

iy

www.axxionflex.com

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A



.-—--d

B. HOSE FITTINGS

4
AF/AXXIONFLEX
METRIC MALE 24°CONE SEATLT.
Part No. . | Hose Bore ~ Dimensions
Braided hose Spiralhose | Thread E DN DASH Al L[| S
10411-12-04 M5 6 04 10 |45 14
10411-14-04 S Mias 6 04 10 |45 | 17
10411-14-05 S MIX15 8 05 10 245 5
10411-16-04 - MIeX1s 6 04 11 |55 | 17
10411-16-05 CMIEX1S 8 05 1[5 17
10411-16-06 CMI6X1S 10 06 | 11 [255 |17 |
10411-18-04 _Misxis 6 o4 M51% 119 |
10411-18-05 CMISX15 8 05 Ms|w 19
10411-18-06 S MBS 10 06 (115 | 2 | 19
10411-18-08 CMigas 12 08 115 | 28 | | 22
10411-22-06 CM2X15 10 06 125 1285 M
10411-22-08 104122208 | M2X15 12 08 125 205 295 4
10411-26-08 10412-2608 | M26X15 12 08 125 1305 305 27
10411-26-10 10412-26-10 M26X1.5 16 10 125 |305 305 27
10411-30-10 10412-30-10 M30X2 16 10 14 1325 325 32
10411-30-12 10412-30-12 M30X2 20 12 |14 |33 345 | 32
10411-36-12 10412-36-12 M36X2 20 1215 3% 315 4
10411-36-16 10412-36-16 M36X2 25 16 [ 15 | 38 | 39 | 4
10411-45-20 10412-45-20 MASX2 32 20 16 1305 40 46
10411-52-24 10412-52-24 M52x2 40 24 16 1405 41 55
METRIC MALE 24°CONE SEAT H.T.
Part No. ._ _ HoseBore Dimensions
Braided hose Spiral hose Thread E DN DASH AL | B | S
10511-14-04 - M14X1.5 6 04 12 1265 | | 7
10511-16-04 - MIeX15 6 04 12265 | 17
10511-16-05 M16X1.5 8 05 12 265 17
10511-18-05 _MIgxXis 8 05 12 |2%S5] |19 |
10511-18-06 CMIBX1S 10 06 | 12 275 19
10511-20-05 O M2X15 8 05 75| | »
10511-20-06 - M20X15 10 06 12 |35 | | 2
10511-22-05 S M22015 8 05 14 30 .
10511-22-06 _ S M215 10 06 14 30 M
10511-22-08 105122208  M2X15 12 08 |14 | 31 |31 | 24 |
10511-24-08 105122408  MMX15 12 08 14 3 32 27
10511-30-10 10512-30-10 M30X2 16 10 16 345 345 32
10511-30-12 10512-30-12 M30X2 20 12 % 35 365 32
10511-36-12 10512-36-12 M36X2 20 12 18 39 405 41
10511-36-16 10512-36-16 M36X2 25 16 18 39 40 4
10511-42-16 10512-42-16 M2 5 16 0 B M4 4
10511-42-20 10512-42-20 MA2X2 32 20 20 35 4 4%
10511-52-20 10512-52-20 M52X2 32 20 22 465 4 55
10511-52-24 10512-52-24 M52X2 40 24 22 465 47 55

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



—

B. HOSE FITTINGS

www.axxionflex.com

METRIC MALE 24°CONE SEATH.T (Thread 1.5mm)
Part No. Hose Bore Dimensions
_ Spiral hose ThreadE | DN DASH A L S
1 051 2 SG 10512-30-105G M30X1.5 16 10 14 335 32
A 10512-30-125G M30X1.5 20 12 14 35.5 32
10512-33-125G M33X1.5 20 12 14 35.5 36
“[ {1 L 10512-36-125G M36X1.5 20 12 18 | 405 41
" A 10512-36-165G M36X1.5 25 16 14 37 41
10512-42-125G M42X1.5 20 12 20 | 425
10512-42-165G M42X1.5 25 16 20 43 46
10512-45-125G M4SKIS | 20 12 19 [4a5 | 4
1 051 3 METRIC MALE 24°CONE SEATH.T
; : Part No. Hose Bore Dimensions
In the lock hose Thread E ON DASH | A | L S
w| 10513-36-12 M36X2 20 12 18 405 | 41
I 1051342-16 M42X2 25 16 20 (443 | 46
10513-52-20 M52X2 32 20 |22 4755
METRIC FEMALE 24°CONE O-RINGLT.
Part No. Hose Bore Dimensions
20411 20412 | Baidedhose | Spialhose | ThveadE | ON [DASH | C [ L[L[S
5 20411-12-04 M12X15 6 04 2 |85 17
20411-14-05 M14X1.5 B 05 35 | 25 19
i 20411-14-06 MI4X15| 10 06 | 35 |255 19
20411-16-06 M16X1.5 10 06 15 |25 2
= i 20411-18-08 20412-18-08 M18X1.5 12 08 35 1285 /285 | 4
20411-22-10 200122210 | M2X15| 16 10 25 1305 1305 | 27
20411-26-12 20412-26-12 M26X1.5 20 12 3 | 33 |345 | 32
45°METRIC FEMALE 24°CONE O-RING LT.
) ) Part No. Hose Bore Dimensions
20441 2044 Braided hose Spiral hose Thread E DN DASH C{L|LI|[H]|S
L 20441-12-04 MI2KI5| 6 04 | 2 [48 245 (17
20441-14-05 M14X1.5 B 05 35 | 5 275119
,zg\ 20441-16-06 M16X1.5 10 06 35 (555 285 | 22
: ;35\ 20441-18-08 20442-18-08 M18X1.5 12 08 |35 645 645 | 31 | 24
‘ 20441-22-10 20442-22-10 M22X1.5 16 10 |25 (705 (705 [335 | 27
20441-26-12 20442-26-12 M26X1.5 20 12 3 1855 |87 (38532

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A



_,.‘

B. HOSE FITTINGS

NF/AXXIONFLEX

20491
L 20492

20411C  20412C

20441C  20442C

20491C  20492C

90°METRIC FEMALE 24°CONE O-RING LT.
Part No. Hase Bore Dimensions

Braided hose Spiral hose Thread E DN DASH CILIB]H]|S

20491-12-04 M12X1.5 6 M 2 [315 385 |17

20491-14-05 M14X1.5 8 05 |35 345 49 | 19
20491-16-06 M16X1.5 10 06 35|36 48 2

20491-18-08 20492-18-08 M18X1.5 12 08 35 4 |41 152 | M

20491-22-10 20492-22-10 M22X1.5 16 10 25 |525 |525 (565 | 27
| 20491-26-12 20492-26-12 | M26X1.5| 20 12 |3 162564 |64 | 32 |
METRIC FEMALE 24°CONELT.

Part No. Hose Bore Dimensions

Braided hose Spiral hose Thread E DN DASH C| EJLRE]S

20411C-12-04 M12X1.5 6 04 2 |35 17

- 20411C-14-05 M14X1.5 8 05 35 | 25 19

20411C-14-06 M14X1.5 10 06 35 [255 19

20411C-16-06 M16X1.5 10 06 35 |275 o]

20411C-1808 20412C-18-08 M18X1.5 12 08 35 [285 /285 M

20411C-22-10 20412C-22-10 M22X1.5 16 10 25 1305 (305 | 27

20411C-26-12 20412C-26-12 M26X1.5 20 12 3 133 (45139
45°METRIC FEMALE 24°CONEL.T.

Part No. Hose Bore Dimensions

Braided hose Spiral hose Thread E DN DASH | C| L (U | H| S
20441C-12-04 M12X1.5 6 04 2 |48 245117 |

20441C-14-05 M14X1.5 8 05 |35 56 275119

20441C-16-06 M16X1.5 10 06 35 |555 85 | 22
20441C-1808 20442C-18-08 M18X1.5 12 08 |35 |45 645 | 31 | M

20441C-22-10 20442C-22-10 M22X1.5 16 10 |25 (705 (705 (335 | 27

20441C-26-12 20442C-26-12 M26X1.5 20 12 3 855 |87 (385 | 32
90°METRIC FEMALE 24°CONEL.T.

Part No. Hose Bore Dimensions

Braided hose Spiral hose Thread E DN DASH | C|L (LY H|S

20491C-12-04 M12X1.5 i 1] 2 315 385 | 17

- 20491C-14-05 M14X1.5 8 05 |35 (345 49 | 19

20491C-16-06 M16X1.5 10 06 135 36 48 |

20491C-18-08 20492C-18-08 M18X1.5 12 08 5 |4 4|52 | M

20491C-22-10 20492C-22-10 M22X1.5 16 10 |25 [525 (525 (565 | 27
20491C-26-12 20492C-26-12 M26X1.5 20 3 1625 |64 |64 |32

I:E sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



P—

B. HOSE FITTINGS

www.axxionflex.com

METRIC FEMALE 24°CONE O-RING HT,
Part No. Hose Bore Dimensions
20511 20512 . Braided hose Spiralhose | ThreadE | DN pasH | c[Lfuls
20511-14-06 MIX15| 10 06 3 255 19
20511-16-06 M16X1.5 10 06 35 | 265 22
= _20511-20-08 |  20512-2008 | M20X15| 12 08 35 1305 {30.5 | 27
Tﬁ 20511-24-10 05122410 | MMXI5| 16 10 |35 [335 335 | 30
L 205114220 20512-42-20 M2 | R 20 |55 |435 | 46 | 50
90°METRIC FEMALE 24°CONE O-RING HIT,
20591 20592 Part No. Hose Bore Dimensions
L Braided hose Spiral hose Thread E DN DASH | Cl{L|L|H|S
—1IHl 20591-16-06 MIEX1S| 10 06 35 38 485 | 22
20591-20-08 205922008 | M20X15] 12 08 35|48 |48 |54 | 27
20591-24-10 20592-24-10 | M24X15] 16 10 135155 |55 [67 |30
20591-42-20 20592-42-20 Ma2X2 | 32 | 20 |55 (92593 (995 | 50
METRIC FEMALE 24°CONE O-RING HT
20513 Part No. Hose Bore Dimensions
= inthelockhose | TheadE | DN [ OasH [ C[ L[S [
q@ﬂmmmﬂ 20513-36-16 M36X2 25 16 |35 (403 41
20513-42-20 M42X2 E7) 0 |55 |45 |50
;i‘?{m‘l‘_—‘ 205135224 M52X2 40 4 |7 147360
45°METRIC FEMALE 24°CONE O-RING HT
20543 Part No. Hose Bore Dimensions
L In the lock hose Thread E DN oaH | Cl LIH]TS
o 05433616 | M2 5 | 16 |35 |9 |4 |41
N 20543-42-20 M42X2 2 0 |55 (108 |47 |50
20543-52-24 M52X2 40 2% 7 1131152 [ 60
20593 90°METRIC FEMALE 24°CONE O-RING HT
L Part No. Hose Bore Dimensions
 DBridedhose | ThreadE DN | DAH | C | L | H|S
20593-36-16 M36X2 25 16 13579 815 | 41
20593-42-20 M42X2 3 0 |55 95|97 |50
20593-52-24 M52X2 40 2% 7 1115 [110 [ 60

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A




_,.‘

B. HOSE FITTINGS

NF/AXXIONFLEX

30441
L
x| P‘(;_T”T
) 30442
- )‘(w

METRIC FEMALE 24°CONE O-RING LT.
Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH | C| L |L]| S
30411-14-04 M14X1.5 6 04 2 |35 17
30411-16-04 | M16X1.5 6 04 2 |2S 19
30411-16-05 M16X1.5 8 05 2 235 19
30411-18-05 M18X1.5 8 05 25 |35 2
30411-18-06 M18X1.5 10 06 25 |245 22
30411-20-06 M20X15 | 10 06 3 85| |4 |
30411-22-06 M22X1.5| 10 06 25 [255 27
30411-22-08 30412-22:08 M2X15| 12 08 25 (275 |1215 | ;7
30411-26-10 30412-26-10 M26X1.5| 16 10 35 13131 (3
30411-30-10 30412-30-10 M30X2 16 10 35 [305 |305 | 36
30411-30-12 30412-30-12 M30X2 20 12 35 [325 /335 | 36
30411-36-12 30412-36-12 M36X2 20 12 4 |32 1335 | 4
30411-36-14 30412-36-14 M36X2 22 14 4 |325 345 | M
30411-36-16 30412-36-16 M36X2 25 16 4 |355 1355 | 41 |
304114520 30412-45-20 M45x2 32 20 3 |415 [415 | 50
30411-52-20 30412-52-20 M52X2 32 20 2 (415 42 | 60
_30411-52:24 | 3041252024 | MS22| 40 | M 2 | 43 [435 |60
45°METRIC FEMALE 24°CONE O-RING L.T.
Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH| C|L|LI|H|S
30441-14-04 M14X1.5 6 04 2 40 2017
30441-16-04 M16X15| 6 04 |2 1425 |19 )
30441-16-05 M16X1.5 8 05 2 | 47 225(19
30441-18-05 M18X1.5 8 05 25 | 45 25| 2
30441-18-06 M18X1.5 10 06 15 465 |2
__30441-20-06  M20X15] 10 | 06 | 3 | 49 45|24
30441-22-06 M22X15| 10 06 |25 | 50 5|7
30441-22:08 30442-22-08 M2X15| 12 08 |25 |565|565| 27 | 27
30441-26-10 30442-26-10 M26X1.5| 16 10 [35]65|65|29]|3
30441-30-10 30442-30-10 M30X2 16 10 |35 |66]66) 30|36
30441-30-12 30442-30-12 M30K2 20 12 35 |M5(755) 31 | 36
30441-36-12 30442-36-12 M36X2 20 12 4 | 78] 75(325] 41
30441-36-14 30442-36-14 M36X2 2 14 4 |855|875| 35 | 41
30441-36-16 30442-36-16 M36x2 25 16 4 1845/845| 35 | 41
30441-45-20 30442-45-20 M45x2 32 20 3199995 40 |50
30441-52-20 30442-52-20 M52X2 32 20 2 | 99 1995 /405 | 60
 30441-52-24 30442-52-24 M52X2 40 bl 2 | 113]1135/435 | 60

I:E sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



P—

B. HOSE FITTINGS

90°METRIC FEMALE 24°CONE O-RING LT,
Part No Hose Bore Dimensions
. 30491 " gnidedhose | Spralhose | TheadE | DN | DASH | C| L |U|H|S
30491-14-04 Miaxis| 6 04 | 2 (85| (35517
¢ THrrrrrT) 30491-16:04 MI6X15 | 6 04 | 2 (85| (35519
ﬁ 304911605 MI6X15 | 8 05 | 2 |35 2 [19
= s+ 304911805 MISX1S| 8 05 |25 [355 0|2
LF 30491-18-06 MIgX1s | 10 06 |25 |34 2|0
S 30491-20.06 M20X15 | 10 06 | 3|34 Q|
—— 30491-22-06 M2X15| 10 06 |25 |34 45 | 27
G 30492 30491-22-08 30492008 | M2X15| 12 08 |25 1485 485 (465 | 27
30491-26-10 304922610 | M26X15| 16 10 |35 |54 |54 |53 |32
4~ THmrrrrrm 30491-30-10 304923010 | M30X2 | 16 10 |35 |54 |54 |53 | 36
i 3049130-12 304923012 | M30X2 | 20 12|35 |57 | 58 [575 | 36
= ﬁ( _30491-36-12 | 30492-36-12 M36X2 | 20 12_| 4 |60 |61 605 41
{ 304913614 304923614 | M36X2 | 22 14 | 4 |67 |68 |68 | 4l
. o 304913616 304923616 | M36X2 | 25 16 | 4 |715 695 | 70 | 41
E 3049145:20 304924520 | MASK2 | 32 20 | 393 (93587 |50
3049152-20 304925220 | M52 | 32 20 |2 (925/93 |88 |60
30491-52-24 304925224 | M52 | 40 24| 2 1111115/ 98 | 60
METRIC FEMALE 24°CONELT.
_ PatNo. | HoseBore | Dimensions
304] 1 c Braided hose Spiral hose Thread DN DASH o I A R
s 30411C-14-04 MidXis| 6 04 | 2 |25 17
30411C-16-04 MI6X1S | 6 04 | 2 (215 19
. % 30411C-16-05 MI6X15| 8 05 2 (B35 19
— 30411C-18-05 Migxis| 8 05 125 |85 2
__30411C-18-06 Mi1gX15 | 10 06 125 (45 |2
: L: ‘ 30411C-20-06 M20X15 | 10 06 | 3 |55 %
- 30411C-22:06 M2X15| 10 06 |25 (255 7
30411C-22-08 M2X15] 12 08 125 12151215 | 27
. 90°METRIC FEMALE 24°CONE LT
Part No. Hose Bore Dimensions
30491C Baidedhose |  Spimlhose | ThieadE | ON | DASH | C| L | LI | H]|S
: 30491C-14-04 Midxis| 6 04 | 2 (85| 35517
%”‘\ 30491C-16-04 MIEXI5| 6 | 04 | 2 85| 135519
ﬁ 30491C-16-05 MI6X15| 8 05 | 2 |35 0 [19
< L 30491C-18-05 MigX1s| 8 05 |25 [355 0|2
LF 30491C-18-06 MIgX15 | 10 06 |25 |34 20
L1 AL 30491C-20-06 M20X15| 10 06 | 3|34 A
T T 30491C-22-06 M2X15| 10 06 |25 |34 85
— 30491C-22-08 M2x15| 12 [ 08 |25 [485 1485 465 | 7

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A I:E



- el

B. HOSE FITTINGS

AF/AYXIONFLEX
METRIC FEMALE 24°CONE O-RING L.TONE PIECE FITTING

30411P-A Part No. Hose Bore Dimensions
30411P-B Braided hose Spiral hose | Thread E DN DASH L L. 141 | B
30411P-14-048 MIgX15| 6 04 2 1195 17
30412P-D 30411P-16-048 MI6X15| 6 04 2 205 19
30411P-16-058 MI6X15| 8 05 | 2 1205 19
30411P-18-058 MIBX1S| 8 05 |25 |25 by,
30411P-18068 | 30412P-18-06D | MISX15| 10 06 |25 |23 | B |2
30411P-22-088 | 30412P-22-08D | M22X15| 12 08 |25 (255 (55 | 27
30411P-26-10B | 30412P-26-10D | M26X15| 10 10 13528 |28 [32

_30411P-30-12A/8 | 30412P-30-120 | M30X2 | 20 12 135131 [315
30411P-36-120/B | 30412P-36-120 | M36X2 | 20 12 4 |32 [325 41
30411P-36-16A/B | 30412P-36-16D | M36X2 | 25 16 4 (33534 | 41
30411P-45-20/B | 30412P-45-200 | M45X2 | 32 20 3 139 (405 | 50
30411P-52-24A/8 | 30412P-52-4D | M52 | 40 4 2 | 4 [445 |60
30441P-A 45°METRIC FEMALE 24°CONE O-RING LTONE PIECE FITTING

Part No. Hose Bore Dimensions
30441P-B Braided hose Spiral hose Thread E DN DASH ClLIL| RS
30442P-D 30441P-14-048 M| 6 04 |2 425 16 |17
30441P-16-05B Mi6X15| 8 05 2 4851 |19 (19
w 30441P-1806B | 30442P-18-06D | M1BX15| 10 06 (25 |47 |47 |19 |22
30441P-22-088 | 30442P-22-08D | M22x15| 12 08 (25 (55 |55 |4 | o7
. —Tif} |~| 30441P-26-108 | 30442P-26-10D | M26X15| 10 10 3565 |65 |27 |32
1848 000 | 30441P30-DAB | 30442P30-10 | M3OK2 | 20 12 I35 1705/ 71 |27 36
30441P-36-16A/B |  30442P-36-16D | M36X2 | 25 16 |4 [81 (81537 |4
2 30441P-45-20A/8 | 30442P-45-200 | M45X2 | 32 20 |3 99 hoos 38 |50
30441P52-24A/B | 30442P-52-24D | M52X2 | 40 bT. 2 [105]113 |46 | 60
90°METRIC FEMALE 24°CONE O-RING LT.ONE PIECE FITTING

30491 P A Part No. Hose Bore Dimensions
30491P-B Braided hose Spialhose | Thread E | DN DASH |C|L[u[H]S
3 30491P-14-048 MIaXI5| 6 4 |2 (25 2 17
30492P-D 30491P-16058 | MI6X15| 8 05 2 [31] 130/19
30491P-18-068 | 30492P-18-06D | MISX15| 10 06 |25 (33533536 |22
b 30491P-22-088 | 30492P-22-080 | M22X15| 12 08 (25 (37 (37 (88 |7
30491P-26-10B | 30492P-26-100 | M26X15| 10 10 135 /45 |45 |48 [32
1B I‘| 30491P-30-120/B | 30492P-30-12D | M3oX2 | 20 12 135 /52 |61 |55 |36
NI 30491P-36-16A/B | 30492P-36-16D | M3X2 | 25 16 | 4 |64 645(70 | 41
% 30491P-45-20A/B | 30492P-45-200 | M45X2 | 32 20 |3 (7 (775(80 |50
30491P-52-24A/B | 30492P52-24D | M52 | 40 24 |2 105113 [100 |60

J

Item number with A refers to be matched with 15N hose, for example 30411P-36-16A, with B
refers to be matched with 2SN hose, for example 30411P-18-06B; with D refers to be matched
with 4-layer hose, for example 30512P-36-12D;

l:ﬂ sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



P——

B. HOSE FITTINGS

AFAXXIONFLEX

30511

30541

)

€N

T

www.axxionflex.com

METRIC FEMALE 24°CONE O-RING H.T.
Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH ClL|L]|S
30511-14-04 M14X1.5 b 04 2 |NS 17
30511-16-04 M16X1.5 ] 04 2 |25 19
30511-16-05 M16X1.5 8 05 2 225 19
__30511-18-06 _Mi8X1.5 10 06 215 ) 18
30511-20-06 M20X1.5 10 06 3 |275 4
30511-22-06 | ms) 10 06 |25 (265 b
30511-22-08 30512-22-08 M22X1.5 12 08 25 (285 1285 | 27
30511-24-08 30512-24-08 M24X15 12 08 3 1275 (275 | 30
30511-30-10 05123010 | M30X2 | 16 10 |35 1305 (305 | 36
30511-30-12 30512-30-12 M30X2 20 12 35 |325 1335 | 36
30511-36-12 305123612 | M36X2 | 20 12 3 |33 (34541
30511-36-16 30512-36-16 M36X2 25 16 3 1385 365 | 4
30514216 | 305124216 | M2 | 25 | 16 | 5 |39 |40 | 50
30511-52-20 30512-52-20 M52X2 32 20 65 (415 | 2 | &0
30511-52-24 30512-52-24 M52X2 40 24 65 | 43 (435 | 60
45"METRIC FEMALE 24°CONEO-R INGH.T.
- Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH | C| LD H|S
30541-14-04 WS | 6 o4 | 2 (405 |19]17
30541-16-05 M16X1.5 8 05 2150 819
30541-18-06 M18X1.5 10 06 2 465 M| 22
30541-20-06 M20X1.5 10 06 3 | 50 25| M4
30541-22-08 30542-22-08 M22X1.5 12 08 125 |58 | 58| 26|27
30541-24-08 30542-24-08 M24X15 12 08 3 [ 58|58 2630
30541-30-12 30542-30-12 M30X2 20 12 35 [725|755] 31 | 36
30541-36-16 05423616 | M36X2 | 25 16 |3 | 848|364
30541-42-16 30542-42-16 M42X2 5 16 5 |B65 865375 50
30541-52-20 | 30542-52-20 M52X2 R 20 |65 |9 [995] 40 | 60
30541-52-24 30542-52-24 M52X2 40 24 65 | 113 11135/435
‘‘‘‘‘ 90°METRIC FEMALE 24°CONE O-RINGH.T.
Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH | C| L |LI|H]| S
30591-14-04 M14X1.5 6 04 2 | 2B 36 |17
30591-16-05 MI6GKIS| 8 05 |2 355, 40|19
30591-18-06 M18%1.5 10 06 |34 42 | 2
05012006 | MOXIS| 10 | 06 |3 (36| |4
30591-22-08 30592-22-08 M22X15 12 08 25 |48 48 |47 | T
30591-24-08 30592-2408 | M2415. 12 08 | 3 475 475 1475 |30
30591-30-12 305932-30-12 M30X2 20 12 35 [ 57 |59 |575 | 36
30591-36-12 30592-36-12 M36X2 20 12 3 159 |60 1615 | 41 |
30591-36-14 30592-36-14 M36X2 2 14 3 |67 [ 68 (68 | 4
30591-36-16 30592-36-16 M3gX2 25 16 3 1695 1705 | 72 | 4
30591-42-16 30592-42-16 M4a2X2 25 16 S5 |755 1755 | 74 | 50
30591-52-20 30592-52-20 M52X2 32 20 |65 925 93 1875 | 60
_30591-52-24 | 30592-52-4 M52)2 40 24 165 (111 111.5197.5 | 60
sales@axxionflex.com » Phone: +1 786 655 7577 U.S.A BIL



- el

B. HOSE FITTINGS

NF/AXXIONFLEX

METRIC FEMALE 24°CONE O-RING H.T.ONE PIECE FITTING

30511 P'A Part No. Hose Bore Dimensions
30511P-B Braided hose Spiralhose | ThreadE | DN DASH | L LS
. 30511P-14-048 MI4XI5| 6 04 2 1195 17
30512p-D 30511P-16-048 MIEXI5| 6 04 2 1205 19
. 30511P-20068 | 30512P-2006D | M20X15| 10 06 3 (25 |5 |
e " 30511P-24-088 | 30512P-24-08D | M24X15| 12 08 3 1265 (265 | 30
J " 30511P-30-108 | 30512P-30-100 | M30X2 | 16 10 135130 30 | 3%
||m 30511P-30-12A8 | 30512P-30-120 | M30X2 20 12 35 | 31 [315 | 3%
30511P-36-12A/B | 30512P-36-12D | M36X2 | 20 12 3 133 (335 [ 41
q 30511P-42-16AB | 30512P-42-16D | M42X2 | 25 16 5 (385 39 | %0
_30511P-52-20AB | 30512P-52-200 | M52 | 32 | 20 |65 | 41 [425 | 60
30511P-52-24A/B 30512P-52-24D M52X2 40 24 65 | 42 (445 | 60
45°METRIC FEMALE 24°CONEO-RI NGH. TONE PIECE FITTING

30541P-A .

Part No. Hose Bore Dimensions
30541P-B Braided hose Spiralhose | ThreadE | DN | DASH | C|L|LI|HI[S
30542P-D 30541P-14-04B MI14XI15| 6 4 |2 @ 17 17

30541P-16-04B MI6XIS | 6 4 |2 4 17119

LiL1 30541P-20-06B 30542P-20-06D M20X1.5 10 06 3 465 20 | M
/—\ 30541P-2408 | 30542P-2408D | M24X15| 12 08 |3 /57|57 (25 30

e B __30541P-30-10B | 30542P-30-10D | M30X2 | 16 10 {3565 /65|27 |36
EYS 000 | 041301248 | 3054P30120 | M30K2 | 20 12 3572573 |27 |36
30541P-36-12A/B | 30542P-36-120 | M36X2 | 20 12 3 745(75 |29 | 41

> 30541P-42-16A/B | 30542P-42-16D | M42X2 | 25 16 5 815(8 |36 (50
30541P-52-20A/8 | 30542P-52-200 | MS2X2 | 32 20 1659 J0os|38 |60

30541P-52-24A/B | 30542P-5224D | M52X2 | 40 24 |65 1105(113 |46 |60

30591P-A 90°METRIC FEMALE 24°CONEQ-RI  NGH. T.ONE PIECEFITTING

Part No. Hose Bore Dimensions
30591P-B Braided hose Spiralhose | Thread E DN DAH [ c|lL|u|H|S
30592P-D 30591P-14-04B MIXIS | 6 04 |2 (8] [32|17

30591P-16-04B MI6X1.5 b 04 2 |4 30 |19

n 30591P-20-06B | 30592P-20-06D | M20X15 | 10 %6 |3 .35(35/[37 4
30591P-24088 | 30592P-24-080 | M24X15 | 12 08 |3 /38(38/45 30

H 30591P-30-10B | 30592P-30-10D | M30X2 | 16 10 [35 /45 45 |50 |36

Qo0 (30591P-30-12A/8 | 30592P-30-120 | M30X2 | 20 | 12 |35 |51 515|57 |36
30591P-36-12A/B | 3059236120 | M36X2 | 20 12 3159 51559 | 41

30501P-42-16A/B | 3050242160 | M42X2 | 25 16 5 175 62575 (50

30501P-52-20A/B | 30502P-52200 | M52X2 | 32 20 |65 /79 805/80 |60

30591P-52-24A/B) | 30592P-52-24D | M52X2 | 40 24 165 1105|113 1100 | 60

[tem number with A refers to be matched with 15N hose, for example 30411P-36-16A, with B
refers to be matched with 25N hose, for example 30511P-30-12B; with D refers to be matched
with 4-layer hose, for example 30512P-36-12D;

l:ﬂ sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



J—

B. HOSE FITTINGS

AFAXXIONFLEX

METRIC STANDPIPE STRAIGHT
Part No. Hose Bore Dimensions
~ Braided hose Spiral hose TUBEOD. | DN DASH cl L u
51011-06-04 6 6 04 19 [305
51011 51011-08-05 8 8 05 19 315
 51011-10:06 10 10 06 2 |45
= 51011-12-06 12 10 06 2 (345
51011-12-08 12 12 08 N (315
o 51011-14-08 51012-14-08 14 12 08 9 M5 445
e 51011-15-08 51012-15-08 15 12 08 25 1385 385
_ S1011-1608 | 51012-16-08 16 12 08 30 455 455
51011-16-10 51012-16-10 16 16 10 0 |455 |455
51012 51011-1810 510121810 18 16 10 % (395 [395
u 1020112 ) 1012012 | X 20 12 136 |53 345
¢ 51011-2210 | 510122210 2 16 10 B 435 435
51011-22-12 51012-22-12 2 20 12 B |44 455
- ) 02512 | 510212 | 25 . 12 |40 |58 (595
51011-25-16 51012-25-16 25 25 16 0 |60 | 6
51011-28-16 51012-26-16 28 25 16 0[50 | S
51011-30-16 51012-30-16 30 25 16 0 |60 | 6l
51011-35-20 51012-35-20 35 7] 20 33 535 | 4
51011-38-20 51012-38-20 38 1 20 50 (705 | 71
51011-42-24 51012-42-24 42 40 24 35 605 | 61
- 90°METRIC STANDPIPE STRAIGHT
Part No. Hose Bore Dimensions
1 51091-06-04 6 6 o4 |19 |8 46
51091-08-05 8 8 05 |19 | 3% 495
T 51091-10-05 10 8 05 |2 |3% 525
P 51091-10-06 10 10 06 |2 |34 55
ﬁ 510911206 i 12 10 06 |2 | 55
= 510911208 | 51092-12-08 12 12 08 |22 |47 |41 |59
v CSIONIA08 | SI091408 | 14 | 12 | 08 |2 |41 |4 |59
51002 51001-1508 | 510921508 | 15 12 08 |25 |47 | 47 | 62
] 51091-16-08 51092-16-08 16 12 08 |25 |47 |47 | 62
U St09t1610 | s10s21610 | 6 | 16 | 10 |25 |52 |52 |63
51091-18-08 51092-18-08 18 12 08 |24 |50 |50 | @l
»—THIrrrmrTm 51091-18-10 51092-18-10 18 16 10 |24 |53 |53 |68
CSI091010 | s10922000 | 0 | 16 0 3% |50 |50 |80
) Fﬂr—l 510012210 | s092210 | 2 16 0 |38 G
51091-22-12 51002-22-12 2 20 12 8 | 59 1605 |775
v 51091-25-12 51092-25-12 2% 20 12 40 1635 | 65 1905
. 51091-25-16 51092-25-16 25 25 16 | 40 |705 |715 | 101
51091-2816 51002-28-16 8 25 16 | 30 |725 [735 | &9
51091-30-16 51002-30-16 30 25 16 | 40 (705 (715 [101
T 51091-35-20 51092-35-20 35 32 20 3319259 [107
51091-38-20 510023820 | 38 3 0 |50 [925 |93 |14
51091-42-24 51002-42-24 4 40 24 35 mos|m

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Im



T’

u 12212

W?

L 12611A

:
%

7

12612A

L1
: I
1
P

_,.‘

B. HOSE FITTINGS

NF/AXXIONFLEX

BSP MALE O-RING SEAL
Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH Al L]|L] S
12211-02-04 12212-02-04 G1/8"-28 6 04 85 |245 17
12211-04-04 12212-04-04 G1/4-19 6 04 115 |255 17
12211-06-06 12212-06-06 G3/8°-19 10 06 135 (275 2
11211—93;03 122120808 | G1/2-14 12 08 13 1295 (295 | 27
12211101100 | 1221210110 | G5/814 16 10 155 1315 1315 | 30
___]331113;1 7 12212-12-12 G3/4"-14 20 12 16 | 35 [365 | 32 |
12211-16-12 12212-16-12 G1™11 20 12 19 | 4 415 | £
12211-16-16 12212-16-16 G1°-11 25 16 19 14 |43 4
12211-20-20 12212-20-0  |GL1/4-11 | 32 20 20 (445 | 45 | 46
12211-24-24 122122424 |GLI2N | 40 24 |23 48 48 |5
122}_1-}_2;;_; C12212-32-32 G211 50 32 255 | 54 |54 | 65 |
BSP MALE 60°CONE SEAT WITH BONDED SEAL FOR SPIRAL HOSE
~ PartNo. ) . Hose Bore Dimensions
Braided hose piral hose Thread E DN DASH Al L[L][S
- 12611A02402 G1/8-28 4 02 10 1255 14
12611A02-04 G1/8™28 6 04 10 1255 14
12611A-04-04 G1/4°-19 6 04 12 |285 | 19
12611A-04-05 G1/4-19 8 05 12 1285 19
12211A-04-06 G1/4-19 10 06 12 1285 19
12611A-06-04 G3/8-19 6 04 135 1305 22
12611A-06-05 G3/819 8 05 135 1305 2
12611A-06-06 (3/8"-19 10 06 135 (305 2
12611A-08-06 G1/2"-14 10 06 16 1345 27
12611A-08-08 12612A-08-08 G1/2-14 12 08 16 1355 1355 | 27
12611A-08-12 126124-08-12 G1/2-14 20 12 16 | 36 |375 | &7
12611A-10-08 12612A-10-08 G5/8-14 12 08 175 (375 (375 | 30
12611A-10-10 12612A-10-10 (G5/8™14 16 10 175 (375 1375 | 30
12611A-12-08 12612A-12-08 G3/4-14 12 08 185 (395 (395 | 32
12611A-12-12 12612A-12-12 G3/4"14 20 12 185 | 40 415 | 32
12611A-16-12 12612A-16-12 G111 20 12 205 | 4 435 | 41
12611A-16-16 12612A-16-16 G111 25 16 2054 (45 | 4
12611A-20-16 12612A-20-16  |G1.1/4"-11 25 16 205 | 47 | 48 | 50
12611A-20-20 12612A-20-20  |G1.1/4"-11 32 20 205 (475 | 48 | 50
12611A-24-24 12612A-24-24  |G1.1/2"-11 40 24 23 |505 | 51 | 55
12611A-32-32 12612A-32-32 G2"11 50 32 255 | 59 | 59 | 70

IEI sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



J—

B. HOSE FITTINGS

AEAXXIONFLEX
BSPT MALE
Part No. Hose Bore Dimensions
Braided hose Spiralhose | ThreadE | ON | DASH | A | L | L1 S
13011-02-03 261/8-8 | 5 03 |10 |25 12
13011-02-04 261/8-38 | 6 o4 | 10 | 235 12
L 13011 13011-04-04 614419 | 6 o4 | 14 |285 17
. 13011-04-05 261/4419 | 8 05 | 14 |295 17
ey o8 im s im
B! 13011-06-05 763819 | 8 05 | 14 |25 19
Y al 13011-06-06 263819 |10 06 | 14 295 19
13011-08-06 761214 | 10 06 | 19 |345 2
13011-08-08 130120808 | 261214 | 12 08 | 19 [355 (355 | 22
U 13012 13011-08-10 1301208-10 | 2612514 | 16 10 |19 355 355 | 24
A 13011-08-12 130120812 | 261214 | 20 12 |19 |37 1385 %7
] 13011-12-08 13012-12-08 | ZG3/4'-14 12 08 19 |375 (375 | 30
L 13011-12-10 13012-12-10 | ZG3/4™14 | 16 10 |19 375 375 | 30
ar 13011-12-12 130121212 | 263414 | 20 12|19 | 38 395 | 30
13011-12-16 13012-12-16 | ZG3/4™-14 | 25 16 119 | 40 | 4 | 3
13011-16-12 130121612 | 26111 | 20 12 | 24 | 44 (455 | 36
13011-16-16 1301-16-6 | 26111 | 25 16 | 24 | 46 | 47 | 3
13011-20-16 130122006 (61111 | 25 16 |25 | 49 | 50 | 46
T 13011-2020 130122020 |ZGLIA-11 | 32 0 |25 (495 |49 | 46
13011-24-20 130122420 (76112 | 32 20 |25 (505 51 | 50
13011-24-24 130122424 |Z61LA/2711 | 40 24 | 25 505 | 51 | 50
13011-32-32 130123232 | 726211 | 50 2 |28 | 57 | 57 | 65
BSPT MALE
Hose Bore Dimensions
13011-PO PartNo. Thread E DN | DASH | A | s
13011-02-04 PO 61828 | 6 4 10 |12
13011-04-04 PO 61419 | 6 TR E}
13011-04-06 PO 261419 | 10 06 |14 |17
13011-06-06 PO 263819 | 10 06 | 14 |19
13011-08-08 PO 61244 | 1 08 |19 | 2
13011-12-12 PO 763414 | 20 2119 | 30
BSPT MALE
13013 Part No. Hose Bore Dimensions
L In the lock hose Thread E DN DASH | A | L[S
A 13013-12-12 263/414 2 12 |19 (405 | 30
130131616 | 26111 | 25 | 16 | 24 |483 |36 | |
1] 13013-20-20 ZGLI/4™N 3 50 | 46
e 13013-24-24 261.1/211 40 24 | 25 (5131 50
13013-32-32 26211 50 32 | 28 [575 | 65

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



_,.‘

B. HOSE FITTINGS

@AXXION FLEX
2111 BSP FEMALE MULTISEAL
Part No. HoseBore |  Dimensions
Braided hose Spiralhose | ThreadE | DN paSH [ clLluls
w 22111-0404 221120404 | GI/4-19 6 04 4 1195 19
ﬁ] 22111-06-06 221120606 | G3/8-19 | 10 06 45 (25 n
d 2111-08-08 21120808 | G114 | 12 08 55 (235 |85 | 27
2111-10-10 21121010 | G5/8-14 | 16 10 6 |265 265 | 30
7112 2111212 21121212 | G414 0 12 8 | 27 285 |32
2111-16-16 2112-16-16 GI™-11 25 6 (115 28 | 29 | 4
2111-20:20 21122020 [GLI4-11] 32 2 7 1365 37 | 50
i 2111-24-24 21122424 [GLI2-11] 40 2% 7 1385 | 39 | 55
%ij—-— 01113232 221123232 G2-11 50 32 9 |45 | 45 [ 70
C L
22141 o 45°BSP FEMALE MULTISEAL
L Part No. Hose Bore Dimensions
% Braided hose Spiralhose | Thread E DN DASH | C| L L[| H]|S
- 22141-04-04 21420404 | GI/4-19 6 04 | 4 |395 1919
= '&‘-’% 22141-06-06 21420606 | G3/8~19 | 10 06 |45 465 % |2
N 410808 | 21420808 | G1/2%14 | 12 08 |55 [57.5 1575 |265 | 27
5 411010 | 22142-10-10 | G5/8™14 | 16 10 | 6 [645 |645 [295 | 30
S 22142 VW22 | a2 | G340 | 12 | 8 |75 |74 315 %
i 01411616 | 22142-16-16 G111 25 16 |11.5 [905 |91.5 |335 | 41 |
22141-20-20 214020  GLI4A11| 32 20 [ 7 (100 1005415
: 4244 | 0142424 |GLI2M | 40 24 |7 |11 115] 46 | 55 |
= ng%.& 22141-32-32 D32 | G2 50 32| 9 150 |150 [565 | 7
4 L
22191 90°BSP FEMALE MULTISEAL
L Part No. Hose Bore Dimensions
My Braided hose Spialhose | ThreadE | DN | DASH | C| L L[ H]S
22191-04-04 221920404 | GI/4-19 6 04 | 4 (285 %65 | 19
" 22191-06-06 21920606 | G3/8~19 | 10 06 |45 | 33 2 n
22191-08-08 2190808 | G214 12 08 |55 |485 485 465 | 27
Pl 22191-10-10 2192-10-10 | GS5/8~14 | 16 10 | 6 |51 |51 |54 30
S 22192 22191-12-12 21912412 | G414 12 | 8 | 56 575 (595 | 32
s 22191-16-16 22192-16-16 G111 25 16 (115 |72 | 73 (685 | 41
L 22191-20-20 2192-2020  |GLY4-11] R 0 | 7 (92593 895 | 50
/”_'IﬂTmnmm 22191-24-24 22192-24-24 G111 40 24 | 7 [1105/111 1015 55
f% 2191-32-32 N923232 | G| S0 | 32 | 9 1137501375128 | 70 |
= =
ik ! jo

Im sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



B—

B. HOSE FITTINGS

(NF/AXXIONFLEX

§

~{

éf

~f

L

22211 _ BSP FEMALE FLAT SEAT
Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH Gz | e [EL | 8
22211-04-04 G1/4™19 6 04 8 [155 19
22211-06-06 (3/8"19 10 06 B85 |175 22
22211-08-08 222120808 G1/2"-14 12 08 105 |185 (185 | 27
22211-10-10 22212-10-10 05/8"14 16 10 12 120 | 20 | 30
22212 20211-12-12 22212-12-12 G3/4"-14 20 12 14 | 21 |225 | 32
21211-16-16 2121616 GI"-11 25 16 145 |25 | 2% | 4
22211-20-20 22212-20-20  [GLIA4™N 32 20 16 (265 | 27 | S0
22211-24-24 212-24-24  [GLI2N 40 24 18 |27 | 28 |55
22211-32-32 22212-32-32 G211 50 2 24 130 |30 70
45°BSP FEMALE FLAT SEAT
Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN | DASH C|lL|L1|H|S
22241-04-04 (G1/4%-19 6 04 g |40 18 | 19
22241-06-06 G3/8"19 10 06 |85 |45 202
22241-08-08 22242-08-08 G1/2%-14 12 0B (10559 |59 [23 |27
22241-10-10 22242-10-10 05/8"14 16 10 |12 1635 635 |255 | 30
22241-12-12 22242-12-12 G3/4"-14 20 12 14 |68 |70 275 | 32
22241-16-16 22242-16-16 G1"11 25 16 145 (89 (90 |32 4
22241-20-20 22242-20-20 G1.1/41 32 0 16 |97 |99 [36 |50
20041-24-24 20242-4-24  |GLI2N 40 24 |18 [1135/114 | 38 |55
22241-32-32 12242-33-32 G2"-1 50 32 M [1315]131.5 46 | 70
90°BSP FEMALE FLAT SEAT
22291 Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH | C| L |[LI|H|S
22291-04-04 G1/4™19 6 04 8 1295 315 119
22291-06-06 G3/8"19 10 06 |85 M4 82
22291-08-08 22292-08-08 G1/2°-14 12 08 105 485 485 415 | 27
22291-10-10 22292-10-10 G5/8-14 16 10 12 |51 )51 |48 | 30
22292 22291-12-12 22292-12-12 G3/4-14 20 12 14 | 60 1615 535 | 32
22291-16-16 22292-16-16 G111 25 16 1145 (72 |73 665 | 41
22291-20-20 22292-20-20 G141 R? 20 |16 925 93 1805 | 50
22291-24-24 22292-24-24 |G/ 40 24 |18 1105111 [905 | 55
22291-32-32 22292-32-32 G2"-11 50 32 24 113751375113 | 70

_E |

www.axxionflex.com

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A




B. HOSE FITTINGS

@AXXION FLEX
BSP FEMALE 60°CONE

Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH clL|iL]| S
22611-02-03 GI/g™28 | 5 03 |55 |165 14
: 22611 20611-02-04 GIS28 | 6 04 |55 [165 14
- 22611-04-04 GI/4-19 | 6 04 |55 |18 19
. 22611-04-06 G419 | 10 06 |55 18 19
e 22611-06-04 G819 | 6 04 |65 |19 by,
= 22611-06-05 G819 | 8 05 165119 by,
22611-06-06 G819 | 10 06 16519 by,
22611-08-06 G214 | 10 06 8 195 27
22612 22611-08-08 226120808 | G214 | 12 08 8 | 2 | 21|
22611-10-08 22612-1008 | G5/8~14 | 12 08 105 | 21 | 21 | 30
» 226111010 | 22612-10-10 | G5/8™-14 16 10 1105 [ 21 | 21 | 30
226111208 22612-1208 | G3/4~14 | 12 08 115 (25 (25| 32
Cﬁl ‘ 22611-12-12 26121212 | G314 20 2 s |23 [245]32
22611-16-12 226121612 | GI-11 20 12 (115 2 (275 | 41
22611-16-16 22612-16-16 | GI“11 | 25 16 11528 |29 41
22611-20-16 22612-2016  |GLI/411| 25 16 12 130 | 31|50
22611-20-20 2612-2020  |GLI/4M1| 32 20 |12 | 31 [315] %0
22611-24-20 2612420 |GLI2A1] 32 0 |13 (32533 | 55
22611-24-24 226122424 |GLI2-11| 40 24 113 [325|32 |55
22611-32-24 26123224 | G- 40 24 16 1365 | 37 | 70
22611-32-22 2612322 | G- 50 ) 16 |38 | 38 | 70
45°BSP FEMALE 60°CONE
_ PartNo. | HoseBore | Dimensions
22641 Braided hose Spiral hose Thread E DN D ClLILI|H]|S
. 22641-04-04 GI4-19 | 6 04 |55 40 18 | 19
22641-06-04 G819 6 04 |65 43 20 |2
: ~1IHirmmm) 22641-06-05 G819 | 8 05 |65 | 44 N2
= K% 22641-06-06 G819 | 10 06 165 455 n 2
22641-08-06 - G214 |10 06| 8 505| |22
a 22641-08-08 206420808 | GI/2-14 | 12 08 | 8 585 (585 |245 | 27
< 20641-10-08 2642-1008 | G5/8~14 | 12 08 105 |585 1585 |245 | 30
22642 22641-10-10 22641010 | G5/8~14 | 16 10 1105 | 66 | 66 |265 | 30
22641-12-08 22642-1208 | G3/4~14 | 12 08 (15| 71|71 [30[3
o 22641-12-10 2260-12-10 | G5/8~14 | 16 10 15|66 66|27 |32
~— 11 22641-12-12 22642-12-12 | G344 | 20 12 msiers| 71|29 32
=[5 B 22641-16-12 2601612 | GI-11 20 12 15|69 (725 31 | 4
j(fg~ 26411616 | 20640-16-16 | GI™1I 25 16 (11587 |89 |34 | 4]
: 6412016 | 206422016 |GLIMAMT| 25 16 |12 |86 |87 (35550
QS 22641-20-20 2642-2020  |GLIAA| R 20 |12 (101985 38 | 50
22641-24-24 2642-2424 G121 40 24 | 13 [108 [1085] 42 | 55
22641-32-32 2643030 | @M 50 2 |16 44501445 54 [ 70

Im sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com




J—

B. HOSE FITTINGS

AFAXXIONFLEX

90°BSP FEMALE 60°CONE

Part No. Hose Bore Dimensions
22691 Braided hose Spiralhose | ThreadE | DN |DASH | C| LU [ H]S
L 22691-02-03 G1/8"-28 5 03 |55 |255 28 | 14
L—THl 2269102-04 61/8™-28 b 04 [55[32] [32]14
ALl 2269104-04 G1/4™-19 6 04 |55 31 33|19
o 22691-04-06 G419 10 06 |55 |33 33 /19
22691-06-04 G3/8"19 6 04 |65 30 % | 2
L A 22601-06-05 G3/8"19 8 05 |65 [325 38 |22 |
. ; 22691-06-06 G3/8-19 | 10 06 |65 |36 40 |0
£ ] 22692 22691-08-06 GI2-4| 10 06 | 8 |35 RFY
u 22601-08-08 226920608 | G1/2-14 | 12 08 | 8 (49 49 |44 | W7
22691-10-08 22692-10-08 | G5/8-14 | 12 08 105 455 (455 (445 | 30
4TI 8| 22691-10-10 22692-10-10 | G5/8-14 | 16 10 [105 [525 [52.5 (495 | 30

08

22691-12-08 22692-12-08 G3/4'-14 12 15 |475 |47.5 465 | 32
= 22691-12-10 22692-12-10 G5/8"-14 16 10 |115 |51.5 |515 |515 | 32
22691-12-12 22692-12-12 G3/4"-14 20 12 (1515755 |56 | 32

sEf 1w 22691-16-12 22692-16-12 G111 20 122|115 585 60 | 59 | 41
_E | 22691-16-16 22692-16-16 G111 25 6 (115 71]72 (695 | 41
22691-20-16 22692-20-16  |GLIM4-11, 25 16 |12 |755 |765 |735 | 50
22691-20-20 22692-20-20 |Gl 32 20 |12 (92593 845 | 50
22691-24-24 22692-2424  |GLI2-11| 40 24 |13 (110 | 111|955 | 55
22691-32-32 22692-32-32 G2-1 50 32 |16 (136 136 121 ] 70
BSP FEMALE 60°CONE DOUBLE HEXAGON

s 5 22611D Part No. Hose Bore Dimensions
ﬂ}%ﬂ_‘ Badedhose |  Spralhose |TheadE | DN | DASH | C| L | LIS |S
“‘ 226110-04-04 G1/4-19 6 04 |55 245 19 [ 19
= 226110-06-06 G3/8-19 | 10 06 |65 265 2ln
7 T 226110-08-08 261200808 | G124 | 12 8 |8 nlzlw
' 226110-10-10 | 226120-10-10 | G5/8™14 | 16 101105 [30.5 305 | 27 | 30
26110-12-12 2612012412 | G414 | 20 12 5|3 (35 [ ][R
226110-16-16 226120-16-16 | G111 25 6 115038 (39 |41 [ 4
226110-20-20 26120-20-20  [GLy4-11| 32 0 |12 (42543 [50 [ 50
261102424 | 2261202424 [GLY2-11| 40 24 113 435 | 4 |55 |55
22611D-32-32 261203232 | G211 50 R [ ]52]52]7 70

BSP FEMALE 60°CONE

22613 Part No. Hose Bore Dimensions

In the lock hose Thread E DN DASH Bk | =5

5 22613-12-12 G3/4"14 20 12 115 [255 | 32

26131616 GI™11 5 16 115 [293 | 41

UL 22613-20-20 G11/4 11 2 0 |12 3%

2613-24-24 GLI/21 T 4 |13 (33355

:W 20613-32-32 G211 50 2 |16 (39570
C L

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Im



| il

B. HOSE FITTINGS

22643

22611-PO

22691K-PO

Moy

22611DK

@AXKION FLEX
45°BSP FEMALE 60°CONE
Part No. Hose Bore Dimensions
In the lock hose Thread E DN DASH ClL|HI|S
e G3/4°14 20 2 N5 n|» (R
22643-16-16 G111 25 16 115 | 88 | 34 | 4
22643-20-20 G141 32 20 12 1985 |38 | 50
22643-24-24 GLI21 40 24 13 1095 | 42 | 55
22643-32-32 G211 50 32 16 1465 | 54 | 70
90°BSP FEMALE 60°CONE
Part No. Hose Bore Dimensions
In the lock hose Thread E DN DASH C|L|H|S
22693-1212 G3/4"14 20 12 (1155 |56 | 32
22693-16-16 _GIM1 25 6 (115 | 79 |75 | 41 |
22693-20-20 GLIA™ 32 20 12 | 95 |845
o 693N G121 40 24 13 115 |955 | 55 |
22693-32-32 G211 50 32 16 142 |[121 | 70
BSP FEMALE 60°CONE
Hose Bore Dimensions
Part No. Thread E DN DASH c|s
22611-04-04 PO G1/4™19 6 04 55 | 19
~22611-0606 PO _G3/8*19 10 | 06 |65 2
226110808 PO G1/2-14 12 08 8 | 27
L 2611-12-12 PO _G3/4"-14 20 12 N5 |32
90°BSP COMPACT FEMALE 60°CONE
Hose Bore Dimensions
Part No. Thread E DN DASH C{H[S]|S
22691K-04-04 PO G1/4"19 6 04 55 1185 [ 11 | 19
22691K-06-06 PO G3/8"19 10 06 65 |24 (17 | 22
22691K-08-08 PO G1/2"-14 12 08 § (9 |2 |27
22691K-12-12P0 G3/4"14 20 12 ns|3 [27 |3
BSP FEMALE 60°CONE
Hose Bore Dimensions
Part No. Thread E DASH C 5 Sl
226110-04-04K G1/4'19 04 55 14 19
22611D-06-06K G3/8-19 06 65 17 22
22611D-08-08K G1/2"-14 08 8 19 27
22611D-10-10K G5/8"-14 10 105 n 30
226110-12-12K G3/4"-14 12 115 .+ S B
22611D-16-16K G1"-1 16 115 32 41
- 22611D-20-20K GLIAN 20 12 | 4 L

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



P—

B. HOSE FITTINGS

AFAXXIONFLEX

: L 22691K 90°BSP FEMALE 60°CONE DOUBLE HEXAGON
ﬁ Part No. Hose Bore Dimensions
Braided hose Spialhose | ThreadE | ON  |DASH | C| L | U | H|S[®
= & 22691K-04-04 GIA19 | 6 04 |55 (175 185 |11 (19
22691K-06-04 G819 | 6 04 |65 20 317 R
g 22691K-06-05 Gyg19 | 8 05 |65 20 3172
22692K 22691K-06-06 G819 | 10 06 |65 [195 217 | n
u 22601K-08-06 G4 | 10 06 | 8|23 2519 | 27
i\g:m 22601-08-08 2260260808 | G214 | 12 038 | 8 245245 |29 |22 | 27
22691K-10-10 22602K-10-10 | GS/8-14 | 16 0 1052525 |20 |22 |30
” 22691K-12-12 V691212 | G314 | 0 12 N5[305[32 3627 [32
_ 22691K-16-16 22692K-16-16 G111 5 | 16 |N53251335 |38 |33 | 4
L L L
s/ _E |
JIS GAS FEMALE 60°CONE SEAT
Part No. Hose Bore Dimensions
Braided hose Spiralhose | Thread E DN DASH € | L[]S
29611 296110202 GI/g8 | 4 02 8 145 14
20611-02-04 GI/828 | 6 04 8 145 7
20611-04-04 G419 | 6 04 8 155 19
N T 29611-0405 G419 | 8 05 8 155 19 |
| 29611-04-06 G1/4"-19 10 06 B (155 |19
29611-06-04 G3/8-19 6 04 85 | 17 | 22
29611-06-05 G3/8-19 | 8 05 185 | 17 2
29612 296110606 G3/819 | 10 06 |85 | 17 2
29611-08-06 G4 | 10 06 105 |175 bl
29611-08-08 206120808 | GI/7-14 | 12 08 105 |185 |185 | 27
u 29611-10-08 206121008 | G5/8-14 | 12 08 | 12 |195 [195 | 30
29611-10-10 20612-10:10 | GS/8-14 | 16 0 |12 (195 [195 | 30
G 29611-12-08 296121208 | G414 | 12 08 | 14 195 [195 | 32
29611-12-12 29612-12-12 | G3/4'-14 | 20 12 |14 1205225 | 32
29611-16-16 206121616 | GI“11 | 25 16 [145 | 25 | 26 | 41
29611-20-20 296122020 GLIA11 | 32 20 |16 (265 | 27 | 50
20611-24-24 296122424 GLI211| 40 4 |18 (275 | 8 | 55
29611-32-32 20612-32-3 1| 50 2 |24 303070
29641 45°115 GAS FEMALE 60°CONE SEAT
\ Part No. Hose Bore Dimensions
Braided hose spiralhose | ThreadE | ON |DASH | C| L |L1|H|S
B = e 29641-04-04 GIA-19 | 6 04 | 8 |40 18 | 19
29641-06-06 G3/8-19 | 10 06 185 |46 20 | 2
b 29641-06-08 296420808 | GI/X-14 | 12 08 110559 |59 |23 %
29641-10-10 206421010 | G5/8-14 | 16 10 |12 |66 |66 255 30
29642 20641-12-12 06421212 | G414 | 20 12 14 le8s |72 | 27 | 32
i 29641-16-16 296421616 | GIM11 | 25 16 1145 1955 (895 | 32 | 41
29641-20-20 206422020 [GLIAT| 32 20 |16 | 98 |995 355 | 50
T 29641-24-24 206422424 (GLI211| 40 24 |18 |105 [110 | 38 | 55
2964132-32 | 296423232 | GIMI1 | 50 R |24 [137 13752 | 70
i

www.axxionflex.com

sales@axxionflex.com » Phone: +1 786 655 7577 U.S.A VL



| il

B. HOSE FITTINGS

NF/AXXIONFLEX

L

= 2

_ 90°)I5 GAS FEMALE 60°CONE SEAT
Part No. Hose Bore Dimensions
Braided hose Spiralhose | Thread E DN DASH | C| L |LI|H|S
29691-04-04 G1/4"-19 6 04 8 1305 30519
29691-06-06 (3/8"-19 10 D6 |85 | 35 3|
29691-08-08 29692-08-08 G1/2-14 12 08 105 475 475 415 | 27
29691-10-10 29692-10-10 G5/8"-14 16 10 12 |51 ] 51 [ 48 [ 30
29691-12-12 29692-12-12 G3/4-14 20 12 14 | 59 605 545 | 32
29691-16-16 | 296921616 | GI-11 25 16 145 |72 | 72 |665 | 41
29691-20-20 29692-20020 | GL.1/4-1 32 20 16 (925 1 93 1805 | 50
 2991-24-4 29692-24-4  |G1.1/2-11 40 24|18 (110 [111 /905 | 55 |
20691-32-32 20692-32-32 G211 50 32 24 137 1113 | 70
BSPBANJO
Part No. Hose Bore Dimensions
~ Braided hose Spiralhose | ThreadE | DN | DASH | d | D | L | LI | H
72011-02-04 1/8"-28 (] 4 (99 22 | 2 16
72011-04-02 G1/4"-19 4 02 [133 | M4 (225 15
720110403 G419 | S 03 133 |24 225 15
72011-04-04 G1/4"-19 ] 4 133 | M4 225 15
72011-04-05 G198 05 133 | 4 225 15
72011-04-06 G1/4-19 10 06 133 | M4 |225 15
72011-06-04 G3/8"19 6 M [167 | 29 |255 20
72011-06-05 G3/8"-19 8 05 167 | 29 1255 20 |
72011-06-06 G3/8"19 10 06 [167 | 29 |255 0
_ 72011-06-08 G819 | 12 08 167 | 29 1265 |265 | 20 |
72011-08-04 G714 ] 04 | 2138 305 25
72011-08-05 611214 8 05 | 21|38 [305 25
72011-08-06 G714 10 06 | 21|38 305 25
72011-08-08 72012-08-08 G1/7-14 12 08 21138 13151315 | 25
72011-08-10 72010810 | GU2-14| 16 | 10 | 21[38 313125
72011-12-10 72012-12-10 G3/4-14 16 10 1265 | 46 (345 (345 | 3
72011-12-12 72012-12-12 G3/4"-14 20 12 (265 46 | 35 [365 | 31
72011-16-12 72012-16-12 G1'-11 20 12 1333 | 60 |515 | 53 | 42
72011-16-16 72012-16-16 G1-11 25 16 333 | 60 |535 |545 | 42
BSP BOLT
Thread Dimensions

Part No. E A B & S

7208-02 G1/8"-28 295 48 5 I

7208-04 G1/4%-19 285 6 b 19

720B-06 G3/8'-19 385 ] i 22
7208-08 G1/2-14 4 13 85 7|

7208-12 G3/4"-14 56 16 10 32

720B-16 G111 68.5 22 125 41

Im sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



P—

B. HOSE FITTINGS

AFAXXIONFLEX

ORFS MALE O-RING SEAL

o 14211 Part No. Hose Bore Dimensions
A Braided hose Spiralhose | ThreadE | DN DAH | Al Luls
14211-04-04 U96-18 | 6 04 14 275 17
E 14211-06-04 Unne-16| 6 04 14 1265 19
W 14211-06-06 U11/16-16| 10 06 | 14 1265 19
14211-08-06 U13/16-16| 10 06 15 (305 22
14012 14211-08-08 1421208-08  [U13/16-16| 12 08 15 (325 [325 | 2
u 14211-08-10 142120810 [U13/16-16] 16 10 15 1325 [325 | 22
A 14211-10:08 14212-10-08 U114 12 08 1165 335 |35 | 27
1_I"Fﬂ1mnnﬂnn‘r] 14211-10-10 14212-10-10 U114 16 10 165 [335 |35 | 27
. 14211-12-08 142121208 |Ui3ne2 | 12 08 175 |345 (345 | 32
e 14211-12-10 W121210  [uie2| 16 10 |175 345 |345 | 32
-1 | MN212-12 nisnet2 | 200 | 12 (175 | 35 |365 | 32
14211-16-12 1421211612 uLane-12 | 20 12 1185 | 38 (395 | 41
14211-16-16 142121616 (U162 | 25 16 185 | 40 | 41 | 41
14211-20-20 402200 ez 32 20 (195 [445 | 45 | 46
14211-24-24 14212-24-24 Uz-12 40 24 195 [465 | 47 | 55
NPT MALE

Part No. Huose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH Al L|IL ]| S
15611-02-03 /82 5 03 10 85 12
15611 15611-02-04 21/8"-27 6 04 10 (235 12
L 15611-04-04 Z1/4-18 6 04 14 285 17
A 15611-04-05 21/4-18 8 05 14 295 17
-—[:ﬁ 15611-04-06 71/418 10 06 14 | 295 17
15611-06-04 B/-18 6 04 141295 19
— 15611-06-05 13/8-18 8 05 14295 19
15611-06-06 B/-18 10 06 14295 19
15611-08-06 21/2-14 10 06 19 (45| [
i 15612 15611-08-08 | 15612-08-08 | Z12“14 | 12 08 19 1355 355 | 22
A 15611-08-10 |  1561208-10 | 717214 | 16 10 19 355 [355 | )
— 15611-08-12 1561208-12 | Z1/2-14 2 12 19 | 37 (38527 |
[ | 15611-12-08 156121208 | 230414 | 12 08 | 19 |37.5 (375 | 30
_ 15611-12-10 15612-12-10 | 73/4"-14 16 10 19 375 [375 | 30
15611-12-12 1561212-12 | 73/4™14 2 12 19 | 38 [395 | 30
15611-12-16 15612-12-16 | Z23/4™-14 5 16 19 |40 |82 32
15611-16-12 156121612 | 71115 2 12 24 | 44 |455 | 36
15611-16-16 156121616 | 71~115 25 16 W | 46 | 47 | 36
15611-20-16 15612-20-16  21.1/4115 | 25 16 25 | 49 |50 | 46
15611-20-20 156122020 Z1.1/4%115 | 32 2 25 (495 | 49 | 46
15611-24-20 15612-24-20 112115 | 32 20 25 (505 | 51 | 50
15611-24-24 15612-424  Z11/2115 | 40 24 25 (505 | 51 | 50
15611-32-32 156123232 | 22115 50 32 2 | 57 |57 |68

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Im



B. HOSE FITTINGS

156115W

L 15613

15611-K

00518

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

AF/AXXIONFLEX
NPT SWIVEL MALE
Part No. Hose Bore Dimensions
Braided hose Thread E DN DASH L 5
156115W-04-04 Z1/4-18 6 04 37 17
156115W-06-06 73/8-18 10 06 7 19
156115W-08-08 Z1/2-14 12 08 435 | 22
156115W-12-12 Z23/4°-14 20 495 | 32
156115W-16-16 Z1™11.5 25 595 | 41
NPT MALE
Part No. Hose Bore Dimensions
In the lock hose Thread E DN DASH A|L|S
15613-12-12 23/4"14 20 12 19 1405 | 30
15613-16-16 21115 25 16 24 483 | 3
15613-20-20 2114115 32 20 25 | 50 | 46
15613-24-24 Z11/2-11.5 40 24 25 151350
15613-32-32 2115 50 32 28 |575 | BS
NPT MALE
Hose Bore Dimensions
Part No. Thread E DASH A S
15611-02-04K Z1/8"-27 04 10 12
15611-04-04K Z1/4"18 04 14 17
15611-04-06K Z1/4°-18 06 14 17
15611-06-05K 23/8'-18 05 14 19
15611-06-06K 23/8"18 06 14 19
15611-08-08K Z1/2"14 08 19 22
15611-12-10K 73/4"14 10 19 30
15611-12-12K £3/4"-14 12 19 30
15611-16-16K 21115 16 24 36
15611-20-20K 21.1/4"-115 20 25 46
15611-24-24K 21.1/2"11.5 24 25 50
15611-32-32K 72115 32 28 65
FERRULE FOR SAE 100 R5 HOSE
Hose Bore Dimensions
Part No. DASH L S
00518-04 13 28 17
00518-05 05 305 19
00518-06 06 33 12
00518-08 08 42 24
00518-10 10 455 30
00518-12 12 53.5 32
00518-16 16 42 36
00518-20 20 445 46
00518-24 24 47 50
00518-32 32 57 65

www.axxionflex.com




J—

B. HOSE FITTINGS

SAE O-RING MALE
Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH O Il A
L 16011 16011-04-04 U620 6 o |10 |35 4
Lﬂh’ 16011-05-04 Hlﬂ'-ﬂl 6 “ 10 | 17
16011-05-05 11720 | 8 5 |10 | 2 17
of LN 16011-06-04 Une-18| 6 04 |12 | 2 17
A 16011-06-05 o618 8 05 |12 | 2 17
16011-06-06 U968 | 10 06 |12 | 2 17
" 16012 16011-08-04 U346 | 6 04 |12 |25 2
X 16011-08-06 U316 | 10 06 |12 275 2
16011-08-08 160120808 | U3/-16 | 12 08 |12 1285 1285 | 22
M 16011-10-08 160121008 | U7/8-14 | 12 08 135 1305 (305 | 27
16011-10-10 160121010 | U7/8™14 | 16 10 1135 1305 1305 | 27
16011-12-10 160121210 [Uianez| 16 10 | 16 345 (345 | 32
16011-12-12 160121212 |uiinez| 20 2 |16 | 35 |365] 32
16011-16-16 16012-16-16  (UISne-2 | 25 6 |17 | 39 | 40 | 41
16011-20-20 160122020 | Uis2 | 32 0 |18 45| 43 |50
16011-24-24 160122424 |U178-2 | 40 24 185 425 | 43 | 55
16011-32-32 160123232 |u2122 | S0 2 1255 |70
SAE O-RING BOSS SWIVEL MALE
1 6{]1 1 SW Part No. Hose Bore Dimensions
A . Braided hose ThreadE | DN DAH | L[S
160115W-08:06 U316 | 10 % |38 | n
[ 160115W-08-08 U416 | 12 08 1405 | 2
. , 160115W-108 Vg4 | 12 08 425 | 27
16011SW-10-10 Uigs | 16 10 1495 | 7
16011SW-12-12 UL116412 | 20 1505 | 32
JCHALETACONE
Hose Bore Dimensions
Part No. Thread E DASH A S
16711-K 16711-04-04K U7/16™20 04 14 4
167110605k | U9/16-18 05 141 17
X 167110606k | US/16™18 06 141 17
16711-08-06K U3/416 06 167 2
. 16711-08-08K U3/4"16 08 167 2
| e 16711-10-10K U7/8"-14 10 193 %4
_H_;ff—/— 167111212 | UL1/16-12 7] 219 30
16711-16-16K | U15/16™-12 16 231 3%
167112020k | U15/8™12 2 %3 46
167112428 | U17/8M12 % 275 50

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Im



_,.‘

B. HOSE FITTINGS

NF/AXXIONFLEX

JIC MALE 74°CONE
Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH Al LB ]S
16711-04-04 U7/1620 6 04 14 265 14
16711-04-05 U7/16"20 8 05 14 265 14
16711-04-06 U7/16*20 | 10 06 14 (275 17
16711-05-04 U1/2-20 6 04 14 (265 14
16711 16711050 U200 B | 05 |14 1265]| |14
L 16711-05-06 U1/2"-20 10 06 14 (275 17
A 16711-06-04 U9/16"18 6 04 141 (275 17
1l 16711-06-05 U9/16™-18 8 05 141 (275 17
w 16711-06-06 U9/16™18 | 10 06 141 275 17
—‘m}dﬂ—— 16711-08-06 U3/4"16 10 6 167 [325] [22 |
16711-08-08 16712-08-08 U3/4-16 12 08 [167 [335 35 [ 2
16711-10-08 16712-10-08 U7/8%14 12 08 1193 [365 (365 | 24 |
16712 16711-10-10 16712-10-10 U7/8™-14 16 10 1193 (365 (365 | 24
b 16711-12-08 167121208 [U1M16~12 | 12 08 1219 405 (405 30
fe 16711-12-10 16712-12-10  |UL1/1612 | 16 10 219 1405 (405 | 30
s 16711-12-12 16712-1212 |Uif16~12 | 20 12 N9 41 45 30
w 16711-12-16 16712-12-16  [uaf16™12 | 25 6 (09|44 (45 | 3R
*—}fv-'_J 16711-14-12 16712-1412  {U13/16-12 | 20 12 |ne6|l 8 |85 0
16711-16-12 16712-16-12  |U1.5/1612 | 20 12 (814 45 3%
_16711-16-16 _16712-16-16  |U1.5/16™12 | 25 16 (23145 |46 | 36
16711-20-16 16712-20-16 | U1.5/8"12 25 16 (43|48 49 | %
L 6712020 | 16712-20-20 | U1S/812 | 32 | 20 (243 (485 | 49 | 46
16711-24-20 16712-24-20 | U1.7/812 | 32 275 515 | 52 | 50
16711-24-24 16712-24-24 | U1.7/8™12 | 40 24 (275 (515 52 [ 50
16711-32-24 167123224 |u21212 | 40 24 1339 615 | 62 | 65
16711-32-32 167123232 | U21R"12 50 32 1339 | 63 | 63 | 65
JIC FEMALE 74°CONE SEAT
Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH Cl|L|L]|S
26711 26711-04-03 U7/16"20 5 03 85 155 17
26711-04-04 U7/1620 6 04 85 (155 17
26711-05-04 U1/2"-20 ] 04 95 | 16 19
I R g 267110505 un 8 05 195 |16 19
26711-05-06 U1/2'-20 10 06 95 | 16 19
26711-06-04 _| U9/16™18 6 04 10165 19
26711-06-05 9/16"18 8 05 10 165 19
26711-06-06 U9/16~18 | 10 06 10 (165 19
26711-08-06 U3/4™16 10 06 n |17 2%
26712 26711-08-08 267120808 | U3/4™-16 12 08 11 (185 [185 | 24
26711-10-08 6712-10-08 | U7/814 12 08 1 _[185 [185 | 27
26711-10-10 67121010 | U7/8"-14 16 10 12 205 (205 | 27
- . Hirrmrrm N 26711-12-08 6712-1208  UL16-12| 12 08 1135 (205 (205 | 32
26711-12-12 671212412 ULIA6-12] 20 12 (1352 (s 3R
26711-16-12 67121612 U1516-12] 20 12 145 | 23 (M5 | &
26711-16-16 67121616 UI516-12] 25 6 (145 | 2% | 27 | &
26711-20-16 26712:20-16 | U1.5/8™12 25 6 155 |27 |28 | 50
26711-20-20 26712-20-20 U1.5/8"12 32 20 155 1265 | 28 | 50 |
26711-24-20 267122420 |U1.7/8-12 Y] 0 [185 [275] 28 | 55
26711-24-24 26712-24-24 U.7/8"12 40 24 185 |75 | B | 55

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



JI———

B. HOSE FITTINGS

AFAXXIONFLEX

45°)1C FEMALE 74°CONE SEAT

Part No. - Hose Bore Dimensions
Braided hose Spialhose | ThreadE | DN DASH | Cl LUl HS
26741 26741-04-04 UINE-0 | 6 04 |85 [395 18 17
; 26741-05-04 U0 | 6 04 195|395 18 119
267410505 U220 |8 05 195 |455 18 119
, | 27410506 Uz | 10| 06 (954 [18]19
B N 26741-06-04 one-18 | 6 04 | 10 395 18 119
N 26741-06-05 Uon6-18 | 8 05 110 | 45 20119
26741-06-06 Ug/e-18 | 10 06 |10 |45 | 120 19
¢ 26742 26741-08-06 U346 | 10 06 |11 465 | (215 24
26741-08-08 67420808 | U3MM6 | 12 08 | 11|50 | 59 1235 | 24
u 26741-10:08 | 2674210408 | U7/8™14 | 12 08 |11 |59 |59 235 |27
- 2%6741-10-10 674010 | U844 | 16 10 112 166 66|26 |2
P [ 27411208 W6741208  1/16-12| 12 08 (13562 |62 127532
= 26741-12-12 6741212 W1116412| 20 12 1135 | 68 715 28 | 32
267411612 26741612 UIS/16-12| 20 12 1145 (695 | 71 | 20 | 4
A 26741-16-16 _26742-16-16  |U1.5/16™12 pel 16 [145 845 895 | 32 | 41
¢ 26741-20-16 267402016 | U15B412 | 25 16 1155 | 86 | 87 | 33 | 50
26741-20-20 6742020 (0158412 | 3 20 1155 1102 995 | 36 | 50
26741-24-20 62420 | N7EI2 | 32 20 (185 | 9 (995 | 36 | 55
26741-24-24 67402424 | U1IR42 | 40 24 1185 (109|110 |385 | 55
- | 90°JIC FEMALE 74°CONE SEAT

Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN pasH | ¢l Lol KIS
26791 26791-04-04 U620 | 6 04 |85 305 | 1305 |17
L ii:;g}iﬂ u1/2"-20 g n; ag 305 3; 13
T 6/91-02405 U220 05 195 )32 11
Tl 26791-05-06 U1/2"-20 10 06 (9535 35|19
) %fé\“‘"—g 26791-06-04 U9/16-18 | 6 04 110 (95| 1315119
267910605 Uons-18 | 8 05 110 132 [355]19
26791-06-06 N8 | 10 06 110 345 136519
NAsmiE 267910606 U316 | 10 6 1134 | |8 %
: 26791-08-08 267920808 | U316 | 12 08 |11 |48 48| 82 |2
T %79 26791-10-08 26791008 | U784 | 12 08 | 11148 48| & |7
%791-10-10 267921010 | U744 | 16 10 |12 1505 (505 485 | 7
267911208 2%7921208  ULAI6-12| 12 08 (135 475 1475 (445 | 32
i 2%79112-12 67921212 ULa/16-12 | 20 12 1135 1585 | 60 | 55 | 32
26791-1612 | 261921612 U15/16-12| 20 | 12 145 585 |60 | 57 | 41
= 2%6791-16-16 267921616 U1.5/16-12 16 1145 | 72 | 72 1665 | 41
26791-20-16 267922016 | ULSBM12 | 25 16 1155 1755 (765 | 70 | 50
T 26791-20-20 267922020 | U158412 | 3R 0 1155 1925 | 93 | 81 | 50
E 26791-24-20 67902420 (0178412 | 3 0 1185 1925 | 93 | 81 | 55
= 67912424 | 26792-24-24 (17812 | 40 24 185 (110 111 | 91 | 55

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A IEI



il

B. HOSE FITTINGS

26711D

H.L ,
s . 26712D
MI I_IF !1 ﬂ “F T
26713

26793

NF/AXXIONFLEX

JIC FEMALE 74°CONE SEAT DOUBLE HEXAGON
Part No. Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH [ C|L|LI|S | S
267110-04-04 U7/16"-20 i 04 85 |225 17 |17
~ 26711D-05-04 U1/2°-20 6 04 195 |235 19 | 19
26711D-05-05 U1/7°-20 8 05 195 |245 19119
26711D-06-04 Ug/16™18 6 04 10 |245 19 | 19
26711D-06-05 Ug/16"-18 8 05 |10 245 19 119
26711D-06-06 U916"18 10 06 |10 [245 19119
26711D-08-06 U3/4-16 10 06 |11 255 2 | A
26711D-08-08 267120-08-08 | U3/4™-16 12 08 |11 (275|275 |24 M
26711D-10-10 26/120-10-10 | U7/8™14 16 10 |12 [285 (28527 | 17
26710-12-12 | 267M20-12-12 |UL1/1612 | 20 12135 | 31 132532 |32
26711D-16-16 267120-16-16 | U1.5/16™12 25 16 145 |35 |36 | 41 4
26711D-20-20 267120-20-20 | U1.5/812 32 20 /155 (385 | 39 | 50 | 50
- 26711D-24-24 | 267120-24-24 | U1.7/8-12 40 24 185 |385 | 39 |55 | 55
 26711D32-32 267120-32-32 | U2.1/2%12 50 32 24.5 47 (47 |15 |75
JIC FEMALE 74°CONE SEAT
Part No. Hose Bore Dimensions
Inthe lock hose Thread E DN DASH C|lL]S
26713-12-12 U1.1/16%12 20 12 135 (235 | 32
26713-16-16 U1.5/16"12 25 16 14.5 26.3 41
26713-20-20 U15/8%12 32 20 155 | 28 | 50
6713-244 | U782 | 40 | 24 185 |283 |55 |
26713-32-32 U2.1/2°-12 50 32 245 (315 | 75
45°JIC FEMALE 74°CONE SEAT
Part No. Hose Bore Dimensions
Inthe lock hose Thread € DN | DASH | C | L H S5
26743-12-12 U1.1116"12 20 12 135 (725 | 28 | 32
26743-16-16 U15/16"-12 25 16 145 | 89 | 32 | 41
26743-20-20 U15/8"12 32 20 [155 (99 |36 |30
26743-24-24 U1.7/8"-12 40 24 185 | 111 1385 | 55
26743-32-32 U2.1/2"12 50 32 245 1435 | 54 | 75
90°JIC FEMALE 74°CONE SEAT
Part No. Hose Bore Dimensions
In the lock hose Thread E DN DASH C|L|IH]|S
267931212 VL1612 20 12 [135 | 61 | 54 |32
26793-16-16 U1.5/16%12 25 16 145 | 79 (685 | 41
26793-20-20 U15/8°-12 32 20 155 | 95 | 81 | S0
26793-24-24 - UL7/8" 12 40 L} 185 [115 | 91 | 55
26793-32-32 AN 50 32 245 137 1175 | 75

Im sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com




P—

B. HOSE FITTINGS

26791K
L 90°JIC FEMALE 74°CONE SEAT DOUBLE HEXAGON
YQH Part No. Hase Bore Dimensions
T Braided hose Spiral hose Thread E DN DASH | C{LILI|H|S|A
= 26791K-04-04 U7/16™-20 6 04 |85 175 KN E
) 26791K-06-04 U9/16™18 6 04 (10 |19 214 |19
o) 26791K-06-06 U916-18 | 10 06 |10 | 20 21 [17 |19
26792K _26791K-0806 | U3/4-16 10 | 06 |11 (23] 1251924
tn ~ 26791K0808 | 26792K-08-08 | U3/4-16 12 08 | 112351235125 |22 |24
5 26791K-1008 | 26792K-10-08 | U7/8™-14 12 08 [12 ;35|Bs (s 2l
—thmn 2691K1010 | 22692K-10-10 | U7/814 | 16 10 |12 1265 1265 (275 | 22 | 27
26791K-12-12 26792612412 (U162 1 20 12 (135127529 (3027 |32
= 6791K-16-16 | 26792K-16-16  [U15/1612 | 25 16 14537 |38 (37 33|41
i/ E |
. JICFEMALE 74°CONE SEAT
Hose Bore Dimensions
26711-PO Part No. Thread E DN DASH el s
26711-0404 PO U71620 | 6 04 85 | 17
26711-0504 PO u1/2-0 6 04 95 | 19
: 267110606 PO U9ne-18 | 10 06 10 |19
 26711-0806 PO U344 | 10 06 | 11 [2d
o Fm 267110808 PO g6 | 12 08 n |4
| IILﬂW 26711-10-08 PO U714 | 12 08 12 |27
— 26711-10-10 PO U714 | 16 10 2|7
< 26711-12-12 PO ULi16-12 | 20 1 1352
26711-16-16 PO U1s/16-12 | 25 16 |145 | 41
JIC COMPACT FEMALE 74°CONE SEAT
26?9] K PO Hose Bore Dimensions
5 Part No. Thread E DN | DasH | Cl H | S |81
26791K-04-04 PO U71620 | 6 o4 |85 |18 |11 |17
[T 26791K-06-04 PO U9/16-18 | 6 04 10 (205 [ 14 [ 19
1 26791K-06-06 PO U9/16™-18 | 10 06 0121 117 |19
‘[ 26791K-08-06 PO 3416 | 10 06 n (25 (17 | 4
- 26791K-08-08 PO U4~16 | 12 08 N 2519 [ 4
o L1 26791K-10-10 PO U714 | 16 10 12 75 [0 (7
T 26791K-12-12 PO ULine-12 | 2 12 135 130 [27 | 32

www.axxionflex.com

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A



_,.‘

B. HOSE FITTINGS

NF/AXXIONFLEX

NPSM FEMALE 60°CONE
21611 Part No. Hose Bore Dimensions
Braided hose Spialhose | Thread E DN |DMH | Cl L LS
ot 21610002 NPSMIB27, 4 | 02 |55 165 14
21611-04-04 NPSM1/4-18] 6 04 |55 18 19
21611-06-06 NPSM3/8-18| 10 06 | 8 |19 7
21611-08-08 21612-08-08  |NPSM1/2%-14| 12 |8 195 | A 1N
21611-12-12 206121212 | NPSM3/4-14] 20 12 (15 | 23 (24532
21611-16-16 206121616 | NPSM1-115| 25 6 (115 | 28 | 29 | 41
21611-20-20 216122020 (NPMLIASTS| 32 | 20 | 12 | 31 (315 50
21611-24-24 26122424 | NSMIIZEIS| 40 24 1125 1325 | 32 | 55
21611-32-32 216123232 | NPSM2™115| 50 2 13383870
21641
L  4SPSMFEMALE G0CONE
Part No. Hose Bore Dimensions
T3 e%{fjm Braided hose Spialhose | ThreadE | DN | DASH | C| L |LI| H|S
“@ﬂ\ 21641-04-04 NPSM1/4-18| 6 04 |55 40 1819
21641-06-06 NPSM3/8-18| 10 06 |8 455, |2 |0
¢ 21641-08-08 216420808 | NPSM1/2-14| 12 08 |95 (585 1585 245 | 27
21642 21641-12-12 21642-12-12 | NPSM3/4™-14 | 20 2 11567571 | 9 | 2
. 26411616 | 206021616 NPSWII1S | 25 | 6 (115 |87 | 89 |34 |41
21641-20-20 21642-2020 | NPSMIIEAIS | 32 20 |12 [101 (98538 | 50
21641-24-24 26422424 | NOMIIZAIS | 40 24 [125 [108 (1085 42 | 55
* %ﬂ% 21641-32-32 21642-32-32 | NPSM2"-115 | 50 32|13 1445/1445| 54 | 70
£ £
L 21691 90°NPSM FEMALE 60°CONE
% PartNo. _ HoseBore | Dimensions
; ] Braided hose Spiralhose | ThreadE | DN | DASH | C | LILI| HI S
21691-04-04 NPSM1/4-18| 6 04 |55 31 31
% 21691-06-06 NPSM3/8-18 | 10 %6 | 8 |36 0|2
21691-08-08 216920808 NPSM1/2-14 | 12 08 |95 |49 |49 |44 | 7
s L v 21691-12-12 21692-12-12  [NPSM3/4-14| 20 12 (11557559 | 5 | 32
£ 21692 | aieot-iede | 216921616 INPSMI-115 | 25 16 115 | 71|72 (695 | 41
o 21691-20-20 206922020 INPMILIAIS 3 0 12 1925193 1845 50
21691-24-24 216922424 INPMLIZEIS | 40 24 (125 [110 |11 1955 | 55
E_E\_[H”—‘ T 2169132-32 216923232 |NPSM2-115 | 50 32|13 1136|136 | 121 70
ST 1o

Im sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



J—

B. HOSE FITTINGS

AFAXXIONFLEX

UHFS FEMME FLAT SE."LT
24213 i Part No. Hose Bore | Dimensions
Inthe lock hose Thread E DN DASH €| L5
28213-12-12 U1.3/16™12 0 12 |135 385 | 36
) 28213-16-16 U1.7/16™12 b5 16 | 145 403 | 41
: 24213-20-20 UL1116"12 32 20 (155 |42 |50
. T 242132424 UZ-12 40 24195 (463 | 60

 ORFS FEMALE FLAT SEAT
__Patho | _ HoseBore Dimensions
Braided hose Spiralhose | ThreadE | DN DASH | C| L Uuls
34211-04-04 U9/16-18 6 04 8 |25 19
34211 34211-06-04 UNe-16 | 6 04 |85 |BS5 553l
s 342110605 Ul1/1616 | 8 05 |85 |25 7l
% 34211-06-06 UNA6-6 | 10 06 |85 | 245 0
. 34211-08-06 UI3/1616 | 10 06 N 245 27
e 34211-08-08 2120608 | V131616 | 12 08 11265 (265 | 27
c] L 34211-10-08 342121008 | UT-14 12 08 [135 [285 |285 | 30
' 34212 34211-12-08 M212-1208 | U3nem2 | 12 08 13 (215 215 | 36
s 34211-10-10 34212-10-10 U114 16 10 135 | 285 | 285 | 30
1_% 34211-12-10 34212-12-10 | n3ne-n 16 10 13 (215 (215 | 3
w _34211-12.12 | 342121212 | U316 . 12 |13 [ 33 | 34 | 36
- 3N612 | M02-1612 | Lne2 | 20 12 15 | 33 [345 | 41
i 3211-16-16 WN1616 | UIne-2 | 25 16 15 | 35 | 35 [ 41
! 34112016 M1220-16 |ULne-12 | 25 16 (155 | 36 | 37 | 50
34211-20-20 42122020 |uLne-2 | 32 20 155 3715 38 | 50
34211-24-20 34212-24-20 Uz-12 40 24 19 375 38 [ 60
34211-24-24 34212-24-24 uz-12 40 24 19 395 | 39 | 60
45°0RFS FEMALE FLAT SEAT

Part No. Hose Bore Dimensions
34241 Braided hose Spiralhose | Thread E DN DASH | C|L|[LI|H|S
34241-04-04 U9/16-18 6 o4 | 8 |40 17 119
34241-06-04 U166 | 6 04 |85 |40 7 2|
34241-06-06 UI16~16 | 10 06 |85 | 45 0 |2
= 34241-08-06 131616 | 10 06 | 11 |46 0 |27
34241-08-08 342420808 [U13/16-16 | 12 08 | 11|57 |57 |2 |2
MAI008 | 3441008 | U4 | 12 | 08 (135 |60 |60 |21 |30
34242 34241-1208 M4-1208 | uane-iz | 12 08 | 13 [595 (595 225 | 36
34241-10-10 34242-10-10 U114 16 10 135 |585 (585 |23 | 30
34241-12-10 42-1210 | ULane12 | 16 10 |13 |62 |62 |24 | 36
3441-12-12 | 3424-12-12 | Uianet2 | 20 12|13 |68 | 70 255 | 36
= 34241-16-12 32421612 | ULane-12 | 20 12 15 675 |69 |26 | 41
34241-16-16 WM-16-16 | ez | 25 6 (1517907920 4
34241-20-16 3M24220-16  [uLnne2 | 25 16 115579 [79 [29 |50
M0N0 | 34242200 |uLnng2 | 32 20 155 (925 | 93 325/ 50
34241-24-24 34242-24-24 Uz-12 40 24 19 115 1155/375] 60

www.axxionflex.com sales@axxionflex.com » Phone: +1 786 655 7577 U.S.A BEEL



B. HOSE FITTINGS

il

NF/AXXIONFLEX

90°ORFS FEMALE FLAT SEAT
Part No. Hose Bore Dimensions
34291 Braided hose Spiral hose Thread E DN DASH | C|L|LI|H|S
L 34291-04-04 U9/16-18 6 04 | 8 |35 ¥ |19
~—THirrrmmm 34291-06-04 unns-61 6 04 |85 |33 3 (2
34291-06-06 Uni/is~16 | 10 06 |85 |33 ¥ | 2
= Ll 34291-08-06 UI3ie~16 | 10 06 | 11 |33 3 | 27
34291-08-08 342020808 | UI3/16-16 | 12 08 |11 |51 |5 |39 |27
. T 34291-10-08 39291008 | y1-14 12 08 [135 | 51 | 51 |39 | 30
| 34292 34291-12-08 9108 | w2 | 12 08 |13 51|51 |41 |36
u 34291-10-10 3429210410 | U114 | 16 10 135152 |52 |41 | 30
34291-12-10 34921210 | n3ne-2 | 16 10 (13 |53 [53 |46 | 36
7ol I||TII'1TII‘I]‘I1'T1‘| 342911212 | 34292412412 (wane-z | 0 12 |13 |58 |58 5505 | 36
34291-16-16 382921616 | ULINE12 | 25 16 | 15 (745 (705 |64 | 41
= ,_({T_W—J 34291-20-16 34292016 |UiNe-2 | 35 16 155 | 76 765 | 64 | 50
34291-20-20 34292200 |2 | 32 0 (155 |93 (935 | 76 | 50
] 34291-24-24 34922424 | W2 40 2419 1111 111586 | 60
E
45°0RFS FEMALE FLAT SEAT
24243 Part No. | Hose Bore Dimensions
i Inthe lock hose Thread E DN DASH | CI L[ H]S
242431212 U1.3/16-12 20 12 135 |83 (315 36
. 242431616 U1.7/16-12 25 16 145 | 94 | 42 | 41
2| 2SS 24243:2020 ue2 | R 20 (155 (112 | 48 | 50
24243-24-24 U212 40 24 195 1275 505 | 60
&
90ORFS FEMALE FLAT SEAT
24293 Part No. Hose Bore Dimensions
X Inthe lock hose Thread E DN DASH | CT L] HT S
,;ﬁ}ﬂnrﬂ'm 242931212 U1.3/16™12 20 12 |135 625 |695
24293-16-16 U1.7/16~12 25 16 145 | 79 [825 | 41
= 24293-2020 U1.11/1612 E}] 20 15595 | 95 | 50
24293-24-24 U212 40 24 195 |15 108 | 60
5
E
24211D 'ORFS FEMALE FLAT SEAT DOUBLE HEXAGON
s e Pt | | HoseBore |  Dimensons
( .
T Hirorm— __ Bridedhose | Spiralhose | ThreadE | DN DASH | C | LU S
b . 24211D-04-04 U9/16™18 6 04 |10 1315 19
24211D-06-06 Ull/1I6-16 | 10 06 111345 N
2211D08-08 | 2421200808 | U13/16-16 | 12 08 | 12 |375 |375 | 27
242120 2421101010 | 2421201010 | U114 16 10 |135 (395 (395 | 32
" s WNN0D-12-12 | 2421201292 | ni3ne12 | 20 12 [135 | 45 [465 | 36
21D1616 | 24212D-1616 | Wiane-i2 | 25 16 [145 | 50 | S1 | 41
2421102020 | 242120200 |utnng2 | 32 20 (155 [515 | 52 | %0
2421102424 | 2421202424 | Ur-12 40 24 195 [545 | 55 | 60

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com




————

B. HOSE FITTINGS

o 17811 JICMALE 74°CONE
Tﬂ‘ﬂ Jl Part No. Hose Bore Dimensions
w Braided hose Spiralhose | Thread E DN DASH Al LS
S 178110404 U620 | 6 04 127 [255 12
17811-05-05 U1/2-20 8 05 142 | 27 14
L 17812 17811-06-06 15/8"-18 10 06 15.7 |305 17
A 17811-08-08 178120808 U3/4"16 12 08 19 (355 [355 | 22
Al 17811-10-10 17812-10-10 U7/8"-14 16 10 224 1395 (395 | M4
“ :}u_ru—-‘ 17811-12-12 17812-12-12 U1.1116%12 20 12 254 1445 | 46 | 30
SAE FEMALE 90°CONE SEAT
Part No. Hose Bore Dimensions
27811 27812 Braided hose Spiral hose Thread E DN DASH | € | L | L1 S
27811-04-04 U7/16"-20 6 04 85 [155 17
278110505 U1/2-20 05 |95 |165 19
27811-06-06 ] U5/8"-18 10 06 |115 |165 22
27811-08-08 27812-08-08 U3/4'-16 . 08 11 [185 [185 | 24
27811-10-10 27812-10-10 U7/8"14 6 10 11 1205 (205 | 27
27811-12-12 2781212412 [U1.1/16™12 12 (13521 (835[3
45°5AE FEMALE 90°CONE SEAT
PartNo. _ Hose Bore Dimensions
Braided hose Spiral hose Thread E DN DASH | CI L (LI H|S
27841-04-04 U7/16"-20 ] 04 185 395 18 [ 17
27841-05-05 U12"-20 8 05 |95 455 18 |19
27841-06-06 U5/8"-18 10 06 115 | 46 20 |2
27841-08-08 27842-08-08 U3/4-16 12 08 11 |59 |59 235 | M4
27841-10-10 27842-10-10 U7/8"-14 16 10 11 /166 |66 |26 |27
27841-12-12 27841212 (0116412 20 121135168 715 |28 |32
90°SAE FEMALE 90°CONE SEAT
27891 27892 — - FRAES
L Braided hose Spiral hose Thread £ DN DASH | C| L |LI|H|S
27891-04-04 U160 6 04 85 305| 30517
27891-05-05 U1/2"-20 8 05 |95 |32 3/ [19
27891-06-06 Us/8"-18 10 06 115 345 365 | 2
= 27891-08-08 27892-08-08 U3/4"-16 12 08 11 /48 |48 |42 | 24
27891-10-10 27892-10-10 U7/8™-14 16 10 11 /505 (505 |48.5 | 27
= 27891-12-12 278921212 |ULII6-12| 20 12 135585 |60 |55 |32 |

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A B4D



B. HOSE FITTINGS

NF/AXXIONFLEX

SAE FLANGE 3000 PS|
Part No. Hose Bore Dimensions
Braidedhose | Spialhose |FLANGESIZE DN | DASH | L | D | d | A
873110608 | 873120808 | 112 12 08 | 4 |302 | 239 | 7
8?31 ‘| 87311-12-08 87312-12-08 EILY 12 08 42 W1 | 317 7
87311-12-10 | 8731212-10 | 34" 16 10 | 525 | 381 317 | 7
87312 87311-12-12 | 8m312-12-12 | 34 20 12 535 | 381 [317 | 7 |
L 87311-12-16 | 873121216 1L 25 16 59 8.1 | 317 7
[ 87311-16-12 | 873121612 | 1" 2 12| 535 | 444 | 38 | 82
87311-16-16 | 873121616 | 1" 25 16 | 59 | 444 | 38 | 82
o | L 1=[Hrrmrmmn | 87311-2016 | 873122016 | 1.1&° 25 16| 59 | 508 | 432 | 82
e 873112020 | 87312-20:20 | 1.1/4° 32 20 75 | 508 | 432 | 82
S 873112420 | 873122420 | 111" 32 20 | 8 | 603 | 503 | 82
87311-2424 | 873224 | 111 40 24 | 79 | 603 | 503 | 82
813113224 | 8132RM | 2 40 % | 79 |74 | 622 | 98
873113232 87312-32-32 T 50 32 80 714 | 622 9.8
873114032 | 873124032 | 212" 50 32| 80 | 841 | 742 | 98
8731140-40 2112 64 40 | 80 | 841 | 742 | 98
45°SAE FLANGE 3000 PS|
87341 Part No. Hose Bore Dimensions
Baidedhose | Spialhose |FLANGESIZEL ON | DASH | L | D | d | H | A
87342 873410808 | 873420808 | 1/ 12 | 08 |[585 (302 (289|223 |7
87341-12-10 | 87342-12-10 | 34" 16 10 |625 381 (317 |265 | 7
E 87341-12-12 87342-12-12 1LY 20 12 715 1380 17 |55 | T
—TH _87341-16-16 | B7342-16-16 | 1" 25 16 [ 855 |444 | 38 1325 | B2
- 3 87341-20-16 87342-20-16 (RIS 25 16 | 855 | 508 (432 [325 | B2
= A" 87341-2020 | 873422020 | 114" 3 20 | 95 |508 432 | 35 | 82
87341-24-20 87342-24-20 1112 32 il 99 |603 |503 |365 | 82
o 87341424 | 87342424 | 112" 40 241055 | 603 |503 |395 | 82
873413232 | 8123231 | 2 50 32 (1245 714 (622 [455 | 98
90°SAE FLANGE 3000 PSI
Part No. Hose Bore Dimensions
Braidedhose | Spralhose FLANGESIZE ON | DASH | L | D | d | H [ A
87391 [‘e;ors08 | o088 | 12 | 12 | 08 [475 (302 (339 |43 [ 7
87391-12-08 87392-12-08 1LY 12 08 [475 | 381 [317 | 44 7
87392 873911210 | 873921210 | 3 16| 10| 57 |381 317 |50 | 7
A 87391-12-12 | 873021212 | 3 20 12615 | 381 [317 |545 | 7
873911612 | 873021612 | 1" 2 121635 (444 | 38 [565 |82
,,x"_[ﬂ'f 87391-16-16 87392-16-16 1" 25 16 725 444 | 38 | 66 | 82
1 873912016 | 87302-20-16 | 114" % 16 | 755 |508 [432 | 67 |82
é 87912020 | 8BR22020 | LA | 32 | 20 | 93 |508 432 [805 | 82
= e 873912420 | 873022420 | 112" E7) 20 | 93 |603 |503 | 80 |82
b 873912424 | 873022424 | 117" 40 24 1105|603 [503 | 92 |82
<| 873913224 | 8302-30M | ' 40 24 [1105 (714 (622 | 92 | 98
D 873013232 | 81303232 | 0 50 32 (137 |74 622 |12 |98
873014032 | 873924032 | 217° 50 32137 841 [742 (12 |98

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



———

B. HOSE FITTINGS

@AXX!ON FLEX
SAE FLANGE 6000 PS|
Part No. Hose Bore Dimensions
Braidedhose  |Spiral hose FLANGE SIZE DASH L D | d A
876110808 | 876120808 | 1/2° 12 08 | 43 | 317 | 239 | 19
87611 876111208 | 87612-1208 | 3/4" 12 08 | 47 | 413 | 317 | 89
87611-12-10 | 876121210 | 3/4° 16 0 [ 575 | 413 | 317 | 89
87612 876111212 | 876121212 | 34 20 12| 585 | 413 | 317 | 89
L 87611-16-12 | 87612-16-12 1 20 12 585 | 476 | 38 | 96
A 87611-16-16 | 87612-16-16 1 25 6 | 62 | 476 | 38 | 96
87611-1620 | 87612-16-20 ¥ E7) 20 79 | 476 | 38 | 96
af |1 1= Hrmrmrm 87611-20-16 | 87612-20-16 | 1.1/4" % 6 | 64 | 54 | 436 | 104
e 87611-20-20 | 87612-2020 | 1.1/4" 2 2 79 | 54 | 436 | 104
876112420 | 876122420 | 1.1/7° 2 2 80 | 635 | 508 | 127
876112424 | 876122424 | 1.1/7° 40 % 89 | 635 | 508 | 127
8761132-24 | 87612:32-24 s 40 2% 89 | 794 | 665 | 127
87611-32-32 | 876123232 7 50 R 90 | 794 | 665 | 127
45°SAE FLANGE 6000 PSI
Part No. Hose Bore Dimensions
Braided hose Spiralhose |FLANGESIZEL DN [ DASH | L [ D[ d | H | A
87641 876410808 | 876420808 | 12" | 12 | 08 | 60 (317 |239 |45 |79
 B7641-1208 | 876421208 | 34" 12 08 625 |413 |317 1275 | 89
87642 87641-12-10 | 876421210 | 34" 16 10 675 413 [317 295 | 89
L 87641-12-12 | 87642-12-12 | 3/4" 20 12 (735 |413 (317 | 30 | 89
876411612 | 87642-16-12 I 20 12 (745 (476 | 38 | 30 | 96
1M 876411616 | 876421616 | 1" 25 16 1845 |476 | 38 | 34 | 96
=| X _87641-20-16 | 87642-20-16 | 1.1/4 5 16 | 8 | 54 |436 | 36 |104
N 87641-20-20 | 87642-2020 | 1.1/4° 2 0 | 98 | 54 (436 |385 104
% 87641-24-20 | 87642-2420 | 1.1/2° 32 20 (995 1635 (508 (405 [127
876412424 | 876422424 | 1.1/7° 40 24 1095 635 508 (435 [127
87641-32-24 | 87642-32-24 P 40 24 1055 794 |665 (435 [127
87641-32-32 | 87642-32-32 iy 50 32 129 (794 665 495 [127
90°SAE FLANGE 6000 PS|
87691 Part No. Hose Bore Dimensions
87692 Braidedhose | Spiralhose |FLANGESIZEE ON | DASH | L | o | d | H | A
87691-08-08 | 87692-08-08 | 1/2" 1 08 |475 |317 (239 | 45 | 79
) 876911208 | 676921208 | 3/4" 12 08 (475 |413 (317 | 49 |89
§7691-12-10 | 876921210 | 3/4" 16 10 | 54 |413 (317 | 54 |89
87691-12-12 | 876921212 | 34" 20 12 (625 [#413 (317 |605 | 89
87691-16-12 | 87692-16-12 T 20 12 (625 (476 | 38 605 | 96
87691-16-16 | 87692-16-16 T 25 16 (715 |476 | 38 | 69 | 96
87691-20-16 | 87692-20-16 | 1./4" 25 16 |765 | 54 436 | 72 |104
87691-2020 | 87692-2020 | 1./4° 32 0 |93 | 54 1436 | 85 |104
87691-24-20 | 87692-2420 | 1.1/2° 3 0 | 93 |635 1508 | 88 |127
87691-24-24 | 87692-2424 | 1.1/2° 40 24 [ 111 635 (508 | 98 [127
876913224 | 87692-32-24 g 40 24 | 111 (794 |665 | 98 [127
87691-32-32 | 87692-32-32 2 50 32 137 794 l665 | 118 [127

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Iza



il

B. HOSE FITTINGS

NF/AXXIONFLEX

87912

87992

87313

L
L
(=] fl
h

SAE FLANGE 9000 PSI
Part No. Hose Bore Dimensions
Spiral hose FLANGE SIZE DN DASH L D d A
87912-12-12 34 20 12 635 | 413 | 317 | 143
87912-16-12 1" 20 12 655 | 476 38 143
87912-16-16 i 25 16 67 | 476 38 143
87912-20-16 1.1/4" 25 16 68 54 436 | 143 |
87912-20-20 1.1/4" 32 20 83 54 436 | 143
L 87912-24-20 1.1/2° 32 | 0 | 91 [635 |08 | 143
87912-24-24 1.1 40 24 9 635 | 508 | 143
87912-32-32 F 50 32 a0 794 | 665 | 143
45°SAE FLANGE 9000 PSI
Part No. Hose Bore Dimensions
Spiral hose FLANGE SIZE DN DASH L D| d H| A
87942-12-12 g 20 12 775 (413 (317 (345 | 143
87942-16-12 1" 20 12 78 1476 | 38 | 34 143
879421616 | 1" B 16 |895 [476 | 38 | 37 [143
87942-20-16 1.1/4° 25 16 89 | 54 (436 385 |143
87942-20-20 14 32 | 0 100 | 54 1436 | 41 |143
87942-24-20 1.1/ 32 20 1001 | 635 |508 | 41 143
87942-24-24 1.1/ 40 24 107 |635 |508 |445 |143
87942-32-32 r 50 32 1315 | 794 (665 (505 [143
90°SAE FLANGE 5000 PSI
PartNo. Hose Bore ~ Dimensions |
Spiral hose FLANGE SIZE DN DASH L D| d H| A
87992-12-12 34 20 12 62 |M3 |37 | 64 143
87992-16-12 1" 20 12 625 |476 | 3§ 1635 [143
87992-16-16 1" 25 16 72 1476 | 38 735 |143
87992-20-16 1.1/4° 25 16 76 | 54 (436 (775 |143
87992-20-20 1144 32 0 93 | 54 (436 | B9 143
_ 87992-24-20 1.1/ _ 20 93 635 |508 |895 |143
 87992-24-24 1.1/ 40 24 111|635 |508 |995 143
87992-32-32 Z 50 2 137 1794 (665 | 120 143
SAE FLANGE 3000 PSI
Part No. Hose Bore Dimensions
In the lock hose FLANGE SIZE DN DASH LiD|d| A
87313-12-12 LY 20 12 535 (381 317 | 7
87313-16-12 i 20 12 535 (444 | 38 | 82
87313-16-16 " B 16 593 444 | 38 |82
87313-20-16 114 25 16 593 1508 1432 | 8.2
87313-20-20 1.4 32 20 75 |508 (432 | 82
87313-24-20 112" 32 20 83 1603 |503 | 8.2
87313-24-24 12/ 40 24 803 (603 (503 | 82
87313-32-14 2 40 4 803 |14 622 | 98
87313-32-32 2 50 32 825 714 1622 | 98

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



J—

B. HOSE FITTINGS

AFAXXIONFLEX
87343
87393
4 : i
87313L

87393L

"—-

www.axxionflex.com

45°SAE FLANGE 3000 PSI
Part No. Hose Bore Dimensions
Inthe lock hose FLANGE SIZE DN DASH LI D|d| H| A
87343-12-12 1LY 20 12 695 |381 |31.7 (275 | 7
87343-16-12 12 20 12 73 (444 | 38 | 29 | B2
87343-16-16 1 25 16 B6 (444 | 38 | 32 | B2
87343-20-16 114 25 16 86 (508 (432 | 32 |82
8734300 1.1/4° 32 20 |9 |508 432 | 35 |82
87343-24-20 117 32 20 % 603 (503 365 | 82
87343-24-24 1.1/ 40 4 |103 |603 (503 | 39 | 82
87343-32-24 z 40 24 103 (714 (622 | 39 | 98
87343-32-32 " 50 12 139 (714 [622 |485 | 98
90°SAE FLANGE 3000 PSI
Part No. Hose Bore Dimensions
In the lock hose FLANGE SIZE DN DASH L D|d| H| A
B7393-12-12 374" 20 12 605 (381 (317 (545 | 7
87393-16-12 1" 20 12 |635 |[444 | 38 565 | 82
87393-16-16 1" 25 16 73 |444 | 38 | 66 | 82
87393-20-16 114 25 16 76 1508 (432 | 67 |82
i 87393-20-20 1.1/4° 32 20 | 9 |508 432 | 80 | B2
87393-24-20 112 7] 0 | 95 603 (503 | 82 |82
87393-24-24 1.1/ 40 24 115 1603 (503 | 92 |82
_ B7393-32-M4 7 40 4 N5 (N4 622 | 92 | 98
. 87393-32-32 7 50 32 1143 |74 (622 | 112 | 98
SAE FLANGE 3000 PSI
Part No. Hose Bore Dimensions
In the lock stronger hose FLANGE SIZE DN DASH D | d| A
B7313-20-20L 1.1/4 32 20 508 [432 | 8.2
B7313-24-24L 112 40 24 603 (503 | 8.2
B7313-32-32L 7 50 32 714 622 | 98
45°SAE FLANGE 3000 PSl
Part No. Hose Bore Dimensions
Inthe lock stronger hose FLANGE SIZE DN DASH D|d| H| A
87343-20-200 114" 32 20 508 (432 (355 | 82
87343-24-24L 1.142" 40 24 603 (503 | 41 | 82
87343-312-30L 2 50 32 714 1622 | 48 | 9.3
90°SAE FLANGE 3000 PSI
Part No. Hose Bore Dimensions
In the lock stronger hose FLANGESIZE DN DASH D | d H| A
87393-20-200 1.1/4" 32 20 508 (432 (805 | 8.2
87393-24-241 112" 40 24 603 |503 | 4 | 82
87393-32-32L r 50 32 714 1622 | 116 | 98

sales@axxionflex.com » Phone: +1 786 655 7577 U.S.A B:LES




il

B. HOSE FITTINGS

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

@AXXION FLEX
SAE FLANGE 6000 PS|
~ PartNo. . Hose Bore Dimensions |
87613 In the lock hose FLANGE SIZE DN DASH L|D|d| A
B7613-12-12 KIS 20 12 575 413 317 | 89
L B7613-16-12 1 20 12 575 (476 | 38 | 96
1A B7613-16-16 1" 25 16 23 (476 | 38 | 96
87613-20-16 1.1/4" 25 16 593 | 54 |436 (104
o | = 87613-20-20 1.1/4" 32 20 79 | 54 (436 (104
T 87613-24-20 112" 32 20 80 |635 |508 (127
B7613-24-24 1.1/2" 40 24 903 (635 (508 1127
87613-32-4 r 40 24 B63 [794 (665 1127
B7613-32-32 7l 50 32 885 (794 (665 127
45°SAE FLANGE 6000 PSI
Part No. Hose Bore Dimensions
87643 In the lock hose FLANGE SIZE DN DASH | L | D|d| H| A
B7643-12-12 374" 20 12 735 (413 (317 | 31 | 89 |
B7643-16-12 1" 20 12 685 (476 | 38 | 30 | 96
L B7643-16-16 1" 25 16 85 [476 | 38 (33596
876432016 LU 5 16865 | 54 |436 355 104
= 7 87643-20-20 1.1/4" 32 20 985 | 54 |436 |385 (104
= B7643-24-20 1.1/2" 32 20 995 1635 |508 (405 127
r; 87643-24-24 L1/2" 40 24 112 [635 |508 (435 [127
B7643-32-24 oz 40 24 110 |794 |665 435 [127
B7643-32-32 % 50 32 13851794 |665 495 127
90°SAE FLANGE 6000 PSI
Part No. Hose Bore Dimensions
87693 In the lock hose FLAMGE SIZE DN DASH | L | D| d| H| A
87693-12-12 KIS 20 12 635 1413 |31.7 |595 | &9
L 87693-16-12 1" 20 12 635 476 | 38 [595 | 96
87693-16-16 {3 25 16 72 |476 | 38 | 69 | 96
f B7693-20-16 1.1/4" 25 16 77 |54 (436 | 72 (104
/  87693-20-20 114" 32 | N 9% |34 [436 | 8 1104
o B7693-24-20 1.1/2" 32 ] 95 1635 |508 | 88 (127
| 87693-24-24 1172 40 24 | 115 635 (508 | 98 |127
: T 87693-32-24 ry 40 24 115 |794 |665 | 98 |127
87693-32-32 g 50 32 143 |794 (665 | 118 [12.7
SAE FLANGE 6000 PSI
87613L Part No. Hose Bore Dimensions
A In the lock stronger hose FLANGESIZE | DN DASH | D | d | A
I__ﬂﬁm'rmmﬂ'l“ 87613-20-20L 1.1/4" 32 20 54 1436 104
J :
i 87613-24-24L B 40 24 63.5 (508 (127
T 87613-32-32L 2 50 32 794 |665 |127

www.axxionflex.com




J—

B. HOSE FITTINGS

45°SAE FLANGE 6000 PSI
87643L Part No. Hose Bore Dimensions
Inthe lock stronger hose FLANGE SIZE DN DASH D| d H| A
87643-20-20L 114" 32 20 54 |436 (385 |104
o 87643-24-24L 112" 40 A 635 (508 | 45 |127
87643-32-32L 2 50 32 794 1665 | 52 [127
90°SAE FLANGE 6000 PSI
87693L Part No. Hose Bore Dimensions
Inthe lack stronger hose FLANGE SIZE DN DASH D | d H A
87693-20-20L 1.1/4" 32 20 54 (436 | 85 [104
87693-24-241 112" 40 24 63.5 (508 [ 100 |127
87693-32-32L Ca 50 32 (794 l665 122 [127
SAE FLANGE 9000 PSI
Part No. Hose Bore Dimensions
Inthe lock hose FLANGE SIZE DN DASH L|D|[d]| A
L 87913-12-12 34" 20 12 635 (413 (317 (143
s 87913-16-12 1" 0 12 755 (476 | 38 |143
F §7913-16-16 1" 25 16 673 (476 | 38 143
s | 87913-20-16 1.1/4" 5 16 633 | 54 |436 (143
e S 87913-20-20 114" 32 20 83 | 54 (436 143
87913-24-20 1172 32 20 80 (635 (508 143
B7913-24-24 1.1/ 40 24 903 635 |508 |143
45°SAE FLANGE 9000 PSI
8?9 43 Part No. Hose Bore Dimensions
In the lock hose FLANGE SIZE DN DASH L|D|d]| H| A
87943-12-12 34" 20 12 78 413 (317 | 34 |143
87943-16-12 T 20 12 78 (476 | 38 | 34 143
87943-16-16 1" 25 16 91 (476 | 38 | 37 143
e 87943-20-16 1.1/4" 25 16 |895 | 54 (436 385 |143
B 87943-20-20 L4 32 20 [101 |54 |436 | 41 |143
87943-24-20 1.1/ 32 20 101 |63.5 (508 | 41 |143
§7943-24-24 112 40 24 1105 (635 [508 [445 [143
90°SAE FLANGE 9000 PSI
87993 Part No. Hose Bore Dimensions
In the lock hose FLAMGE SIZE DN DASH L] B H @ A
87993-12-12 34 20 12 162 |43 |317 | 65 | 89
87993-16-12 1" 20 12 62 (476 | 38 | 65 | 96
- 87993-16-16 1" 25 16 72 |476 [ 38 | 74 | 96
87993-20-16 1.1/4" i 16 77 |54 |436 | 78 |104
= Pé 87993-20-20 114 32 20 95 | 54 436 | 89 104
q 87993-24-20 1.172" 32 20 95 |A35 (508 | 89 |127
e 87993-24-24 112" 40 Pl 115 |635 |508 [995 (127

www.axxionflex.com

sales@axxionflex.com » Phone: +1 786 655 7577 U.S.A R:LI



B. HOSE FITTINGS

NF/AXXIONFLEX

87913L

-

87943L

87311P-A
87311P-B

87312P-D

87341P-A
87341P-8
87342P-D

L

1B

N

&

SAE FLANGE 9000 PSI
Part No. Hose Bore Dimensions
In the lock stronger hose FLANGE SIZE DN DASH D | d | A
87913-20-20L 1.1/4" 2 20 54 (435 143
87913-24-24L 11/2" 40 24 635 508 143
B7913-32-32L ril 50 32 794 665 143
- - 45°SAE FLANGE 9000 PSI
Part No. Hose Bore Dimensions
In the lock stronger hose FLANGESIZE DN DASH D|{d| H| A
87943-20-20L 1.1/4" 32 20 54 (436 | 41 |143
B7043-24-24 1.1/2" 40 24 635 |508 | 46 143
87943-32-32L J* 50 32 794 |665 535 (143
90°SAE FLANGE 9000 PSI
Part No. Hose Bore Dimensions
In the lock stronger hose FLANGE SIZE DN DASH D|{d| H| A
| 8799320200 LI R0 |54 836 8 |143
87993-24-24L 112" 4 24635 (508 1015|143
87993-32-32L I 50 32 794 665 1235 |143
SAE FLANGE 3000 PSI ONE PIECE FITTING
Part No. Hose Bore Dimensions
Braided hose | Spiral hose FLANGE SIZE DN DASH | L | L1 D  d| A
87311P-08-08A 87312P-08-08D 12" 12 08 415 (415 1302 1239 | 7
B7311P-12-12A/B B7312P-12-12D 3 20 12 58 (505 1381317 | 7
87311P-16-12A/B 87312P-16-12D 1" 20 12 58 |505 444 138 182
87311P-16-16A/B 87312P-16-16D 1" 25 16 645 | 56 444 | 38 |82
B7311P-20-20A/B 87312P-20-20D 1.1/4" 32 20 74 [755 (508 432 |82
87311P-24-24A/B 87312P-24-24D 1.1/2* 40 24 74 |755 603 1503 | 82
B7311P-32-24A/B 87312P-32-24D 2 40 24 74 [755 714 622 | 98
B7311P-32-32A/B 87312P-32-32D rh 50 32 815 815 714 622 | 9.8
45°SAE FLANGE 3000 PSI ONE PIECE FITTING
Part No. Hose Bore Dimensions
Braided hose Spiral hose FLANGESIZE! DN DASH LiL| Dld|H|A
87341P-08-08A 87342P-08-08D 12" 12 08 |57 |57 302 239/20 | 7
87341P-12-12A/B 87342P-12-12D 34 20 12 69 |695/38.1131.7/25 | 7
87341P-16-12A/8 87342P-16-12D I 20 12 7 (7151444 |38 | 25 82
B7341P-16-16A/B 87342P-16-16D | 25 16 | B2 |B25/444 38 |32 82
87341P-20-20A/B 87342P-20-20D 1.1/4 32 20 [1055/107 (508 |43.2| 40 | 8.2
87341P-24-24A/8 87342P-24-24D 1.1/ 40 24 [1105]113 603 503149 (82
87341P-32-24A/B 87342P-32-24D 2 40 24 11051113 714 622 49 (98
87341P-32-320/8 87342P-32-32D 2 50 32 137 137 [714162.2|50 |98

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



J—

B. HOSE FITTINGS

AF/AXXIONFLEX

87391P-A
87391P-B

87392P-D

87611P-A
87611P-B
87612P-D

A,

JiEs |k

=
L

87641P-A
87641P-B

87642P-D

L

' o

—m® h

)

NIy

87691P-A
87691P-B
87692P-D

L

.

Y]

d
3 ——

90°SAE FLANGE 3000 PSI ONE PIECE FITTING
Pt __Hose Bore __ Dimensions
Braided hose Spiral hose | FLANGE SIZE DN DASH tful ol d[H]A
__87391P-08-08B | 87392P-08-08D 112" 12 08 138 38 302239 41 |7
87391P-12-120/8 |  87392P-12-12D 1y 20 12 [545/55 38131758 | 7
87391P-16-12A/8 | 87392P-16-12D 1" 20 12 |585|59 144438 |58 |82
87391P-16-16A/B | 87392P-16-16D 1" 25 16 |76 675 44438 |68 |82
87391P-20-200/B | 87392P-2020D | 1.1/4" 32 | 0 855/93 508|432 80 |82
87391P-24-24AB | 87392P-24-24D 1.1/2" 40 24 1015104 |60.3 503 85 |82
87391P-32-240B | 87392P-32-24D 7 40 24 10550108 714 62.2/104 |9.8
87391P-32-3208 | 87392P-32-32D > 50 32 135 1135 (714 162.2/114 |9.8
SAE FLANGE 6000 P51 ONE PIECE FITTING

Part No. Hose Bore Dimensions
Braiced hose Spiral hose | FLANGE SIZE DN DASH LIiL| D|d| A
87611P-08-08A 87612P-08-08D 172" 12 08 435 435 (317 (239 |79
87611P-12-1208 | 87612P-12-12D 38 20 12 63 555 (413 |31.7 | 89
 87611P-16-12A/B | 87612P-16-12D 1" 20 12 63 555 476 | 38 | 96
87611P-16-16A/B |  87612P-16-16D T 25 16 67559 47638 |96
_ B7611P-20-16A/B | 87612P-20-16D | 104" 25 16 695 | 61 | 54 (435 104
87611P-20-20A/B 87612P-20-20D 1.1/4" 32 20 73 1745 | 54 (436 104
87611P-24-24A8 | 87612P-24-24D | 102" 40 % 83 1855 (635 (508 27
87611P-32-32A8 | 87612P-32-320 F 50 32 925 (925 794 1665 127
45°SAE FLANGE 6000 PSI ONE PIECE FITTING

Part No. Hose Bore Dimensions
Eraidedhosg“ Spiral hose FLANGE SIZE DN DASH LIl D|d|[H|A
87641P-12-12A/8 | 87642P-12-12D 34 20 12 |71 71541331729 |89
 B7641P-16-12A/B | 87642P-16-12D i 20 12 |71 547638 |29 |96
87641P-16-16A/R | 87642P-16-16D 1 25 16 |82 82547638 |32 |96
87641P-20-16A/B | 87642P-20-16D 1.1/4" 25 16 |84 845 54 43632 104
87641P-20-2008 | 87642P-20-20D 1.1/4" 32 20 1925 94 |54 43638 104
87641P-24-24A/B |  87642P-24-24D 112" 40 24 1055108 635 (508 | 44 127
87641P-32-320/R | 87642P-32-32D 2 50 32 1139 (139 (794 665 | 52 127
90°SAE FLANGE 6000 PSI ONE PIECE FITTING

Part No. Hose Bore Dimensions
Braided hose Spiralhose | FLANGESIZE, DN DASH | L|L| D|d|H|A
87691P-12-12A/B |  87692P-12-12D 38 20 12 615|62 41331758 |89
_ 87691P-16-12A/8 | 87692P-16-120 | 1" 20 12 615/62 |476/38 |58 |96
87691P-16-16A/B |  87692P-16-16D 1" 25 6 |70 [705/476/38 | 70 |96
87691P-20-16A/B | 87692P-20-160 | 1.1/4" 25 16 |75 |[755|54 (436) 70 104
87691P-20-20A8 | 87692P-20-20D 1.1/4" 12 20 (855/87 |54 (436 83 104
B7691P-24-24A/B |  B7692P-24-24D | 10/2" 40 | 24 [111[1135/635 (508100 127
87691P-32-32A/B |  87692P-32-32D > 50 32 [135 [135 (794 |665/118 12.7

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A B4B




B —

B. HOSE FITTINGS

-

88112

= o

=

L

88192

AF/AXXIONFLEX
JIS FLANGE
Part No. Hose Bore Dimensions
Spiral hose FLANGE SIZE DN DASH L D d A
88112-10-08 5/8" 12 08 42 | 342 | 2718 | 67
BE8112-10-10 5/8" 16 10 455 342 278 6.7
45°)IS FLANGE
Part No. Hose Bore Dimensions
Spiral hose FLANGE SIZE DN DASH L D| d H| A
88142-10-08 58 12 08 62 (342 278 | 4 | 67
88142-10-10 58 16 10 69 (342 1278 | 26 | 67
00°JIS FLANGE
Part No. Hose Bore Dimensions
Spiral hose FLANGE SIZE DN DASH L D | d H A
88192-10-08 5/8" 12 08 50 |342 (278 | 48 | 67
88192-10-10 5/8" 16 10 53 1342 [278 | 49 | 67

B49

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



—

B. HOSE FITTINGS

30011 METRIC FEMALE WATERWASH INSERTS
Part No. Hose Bore Dimensions
— Braided hose Thread E DN DASH d | L
e 30011-22-04 M2X15| 6 o4 | 14 |325
w) e 30011-2205 M2X15| 8 05 |14 |325
30011-2206 M22X15] 10 06 | 14 |325
L
60011 MT STAPLELOCK MALE
¢ Part No. Hose Bore Dimensions
M[III ||1lmnmrm Braided hose Spiral hose DN DASH dlolalLu
60011-10-04 6 04 10 [15 |29 335
i 60011-14-05 8 05 1420 |20 35
1 60011-14-06 10 06 14 (20 |29 [335
60012 60011-18-08 60012-18-08 1 08 18 |24 | 29 345 1345
) 60011-21-10 60012-21-10 16 10 21126 | 29 345 345
T Koo 600112412 | 60012-24-12 20 12 |24 2929 |3 365
. "[ 60011-31-16 60012-31-16 25 16 3139 |35 |43 |44
e 60011-38-20 60012-38-20 ED) | 38 |46 |35 435 |44
A 60011-47-24 60012-47-24 40 2% 47 |55 |40 1485 | 49
. 60011-56-32 60012-56-32 50 12 5 |64 |40 |50 |50
90011 DOUBLE CONNECTOR
Part No. Hose Bore Dimensions
ot Hirmrm— Braided hose Spiral hose DN DASH L L1
L 00011-04 [ 04 74
L 90011-05 8 05 78
90011-06 10 %6 78
90011-08 90012-08 12 08 86 86
90012 90011-10 90012-10 16 10 90 %
90011-12 90012-12 2 12 % 13
90011-20 90012-20 E}) 20 130 158
90011-24 90012-24 40 2 136 166
b 90011-32 90012-32 50 Ey) 177 177

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Im










C. BSP ADAPTERS

1B4

189
R
!
"5

@AXXION FLEX
- BSP MALE 60°SEAT OR BONDED SEAL
Thread Dimensions
Part No. L E F A B L 5
18-02. Gl/g-28 | GI/8"28 9 9 2 14
18-04-02 | G1/4™-19 G1/8-28 12 9 o 19
16-04 G1/4-19 G1/4-19 12 12 30 19
1B-06-04 | G3/8*-19 G1/4™19 135 12 | 3 | 2
18-06 G3/8-19 | G3/8~19 135 | 135 | WS | R
1B-08-06 | G1/2-14 G3/8"19 16 135 375 27
1808 G1/2-14 G1/2-14 16 16 40 27
| 1B-10-08 | G5/8%-14 G1/2-14 16 6 | &a [ 30
1B-10 G5/814 G5/8™14 16 16 40 30
18-12-08 G3/4™14 G1/2"-14 18 16 44 32
1812 | G344 G3/4-14 18 18 465 | 32
16-16-12 GI™11 G3/4"-14 19 18 485 41
1B-16 G111 G111 19 19 495 41
1B-20-16 | G1.1/4™11 GI-11 20 19 51 50
18-20 GL14-11 | GL.1/411 20 20 22 30
18-24-20 G1L1/2"1 GL1/4-1 R 20 54.5 55
1B-24 G11/2*N G1.1/2"1 2 2 56.5 55
832U | G I GLI2AT | 255 2 64 70
18-32 G211 G211 55 | 255 67.5 70
45°BSP MALE 60°SEAT
Thread Dimensions
Part No. E F A B | §
184-02 Gl/fg~28 | GI/8-28 18 18 n
1B4-04 G1/4-19 G1/4-19 20 20 14
184-06 G3/8-19 G3/8™19 23 23 17
1B4-08 G1/2-14 G1/2-14 27 7 ol
184-12 G3/4"-14 G3/4™14 3 3 7
1B4-16 G111 G1™-1 355 355 33
184-20 GLIA-11 | GLIA-11 40 | 4 44
184-24 G11/2"1 G121 47 47 50
184-32 G211 G211 5% | 5 65
 90°BSP MALE 60°SEAT
Thread _ Dimensions
- i F Al B [ s
1B9-02 G1/8"-28 (G1/8'-28 )] 20 1
18904 | GIA4-19 | GIM~9 | | 25 | 25 | 14
189-06 G3/8-19 | G38-19 7. 2 17
189-08 G1/2-14 G1/2-14 35 35 22
18912 G3/4™-14 G344 4 | 4 27
189-16 GI-N GI*1 46 46 33
189-20 G11/4-1 G1.1/4'1 54 54 41
18924 | GLI2MN GL1/2*11 58 58 48
18332 | G2MN G2"-11 69 | 69 | 6

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



C. BSP ADAPTERS

AF/AXXIONFLEX
BSP MALE 60°SEAT /FEMALE SWIVEL 60°CONE
Thread Dimensions
Part No. E F A B L S S1

280202 | G1/8™-28 G1/8"-28 9 23 25 |14 14
2B-04-04 | G1/4™19 G1/4™-19 12 155 | 285 |19 19
B 28-04-06 | G1/4-19 G3/8"-19 12 [ 65 | 295 | 19 2

280604 | G3/8™19 G1/4-19 135 | 55 N |12 |19
| 280608 | G3/8™19 G3/8-19 135 | 65 a2 | |50

L |__2B-08-06 | G1/2-14 G3/8™19 16 | 65 | 36 | 27 | 22 |
A " 2B-08-08 | G1/2°-14 G1/2'-14 16 8 |365 | 27 | &
o 28-08-12 | G1/2"-14 G3/4'-14 16 [115 | 385 | 27 | 32

2B-10-08 | G5/8-14 G1/2™14 16 8 8 |30 | %7

"aﬂﬂ 281208 | G3/4-14 | GI/214 18 | 8 | & | 32 | 7
5 *\ W12-12 | G414 | G414 18 115 | 2 | 32 | 22

2B-12-16 | G3/4-14 G111 18 |15 | 4 | 32 | 4]

: | 2B-16-16 G111 G111 19 [1S5 |45 | 4 41
BN 28-20-20 |G1.1/4%-11  |G1.1/4%-1 20 | 12 50 | 50 [ 50
5 B 28-2424  GLI2-11  GL12-11 22 13 ]535 | 55 55

28-32-32 G211 G211 55 | 16 65 | 70 | 70

289 90°BSP MALE 60°SEAT /FEMALE SWIVEL 60°CONE
Thread Dimensions
Part No. E F A B S 51
—— 2890202 | GI828 | GI/8"28 20 | 55 n 14
=% Bl [ 51 289-04-02 | G1/4-19 G1/4°19 25 55 14 19
2890606 | G3/B-19 | G3/8-19 % [ 65 | 17 | »
2B9-08-08 | G1/2"-14 G1/2"-14 35 8 22 27
289-12-12 | G3/4"-14 G3/4"14 41 11.5 27 32
2B9-16-16 G111 G111 46 115 33 41
A 289-20-20 |G1.1/4%11  |G1.1/4°-1 54 12 4 50
2B9-24-24 |G1.1/2"N (G1.1/2°11 58 13 48 55
g 2B9-32-32 G211 G211 69 16 65 70
A
284 45°BSP MALE 60°SEAT /FEMALE SWIVEL 60°CONE
Thread Dimensions
o Part No. E F A B S 51
~ 2B4-02-02 | G1/8"-28 G1/8"-28 18 55 11 14
2B4-04-04 | G1/419 G1/419 20 5.5 14 19

2840606 | G3/B-19 | G3/8-19 3 65 17 2
40808 | GI/2-14 | GI/2-14 7 8 2 7
B412-12 | G414 | G3/4™-14 3| 115 27 32
841616 | GI-11 GI™-11 35 | 115 3 41
- 842020 [GLIA-1T__[GLIAM 40 12 44 50
Al \s 842424 [GLIZN |61 47 13 50 55
843232 | G211 G211 56 16 65 70

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



3B

P

C. BSP ADAPTERS

7
@AKNON FLEX
BSP FEMALE SWIVEL 60°CONE
Thread Dimensions

Part No. E F A B L S 51
3B8-02-02 G1/8"-28 | G1/8"-28 5.5 5.5 22 14 14
3B-04-02 G1/4*19 | G1/8%28 55 55 24 19 14
3B-04-04 G1/4"-19 | G1/4"19 5 55 25 19 19
3B-06-04 G3/8™19 | G1/4"19 65 55 | 265 22 19
3B-06-06 G3/8"19 | G3/8"19 6.5 6.5 28 22 22
3B-08-04 G1/214 | G1/4"19 8 55 | 265 | 27 19
3B-08-06 G1/2"-14 G3/8"-19 8 65 28 27 22
3B-10-08 G5/8"-14 G1/2"-14 105 8 29 30 Py
3B-12-08 GI/2°-14 | G1/2"-14 8 8 28 27 27
3B-12-10 G3/4-14 | G5/8™-14 115 | 105 3 32 30
3B-12-12 G344 | G3/4™-14 115 | 115 3 32 32
3B-16-12 G11 G3/4"-14 115 | 115 | 345 41 32
3B-16-16 G1"-11 G1*-11 115 | 115 37 4] 41
3B-20-20 G1.1/411  |G1.1/4"11 12 12 415 50 50
3B-24-24 G1.1/211 |G/ 13 13 435 55 55
3B-32-32 G2"11 G211 16 16 52 70 70

90°BSP FEMALE SWIVEL 60°CONE

Thread Dimensions

Part No. E F A B S S1 52
340202 | GIS28 | GI/828 | 55 | 55 | 11 | 14 | 14
IB4-04-04 | G1/4°-19 G1/4"19 55 5.5 11 19 19
3B4-06-06 (3/8"-19 G3/8"-19 6.5 6.5 14 22 22
364-08-08 | G1/2-14 | G1/2-14 8 8 19 27 27
384-12-12 G3/4'-14 G3/4"14 15 | 115 M4 12 32
3B4-16-16 G111 611 NS | 115 27 41 41
384-20-20 GL1/M4-11 | GL.1/M4™-N 12 12 4] 50 50
3B4-24-24 | GLI/2-11 | G121 13 13 48 55 55
343232 | G211 | G2 6 | 16 | 65 | 70 | 70

90°BSP FEMALE SWIVEL 60°CONE

Thread Dimensions

Part No. 4 F A B S S1 52
3890202 |GIB28 | GI/B-28 | 55 | 55 | 11 | 14 | 14
389-04-04 | G1/4-19 G1/4"19 55 5.5 11 19 19
IB9-06-06 | G3/8'-19 (3/8%19 6.5 6.5 14 22 22
389-08-08 | G1/2'-14 G1/2°-14 8 8 19 27 27
3B9-12-12 | G3/4"14 G414 | 115 | 115 24 32 32
3B9-16-16 G1*11 G1*-11 115 | 115 27 41 41
3B9-20-20 |G1.1/4™11 G1.1/4"11 12 12 41 50 50
389-24-24  |G1.1/2*-11 G1.1/2"11 13 13 48 55 55
3B9-32-32 G2"11 G211 16 16 65 70 70

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



-

C. BSP ADAPTERS

@A}(XION FLEX
4B BSP MALE 60°SEAT OR BONDED SEAL PLUG
Thread Dimensions
L Part No. E A L S
A 4802 G1/8™-28 9 15 14
— 48-04 G1/4"19 12 18 19
- 48-06 G3/8™19 135 21 2
Ir H 48-08 GI/2-14 16 % | o
g 48-10 G5/8™14 16 25 30
48-12 G3/4™14 18 285 32
] 48-16 G111 19 305 41
SL/ 48-20 GLI4™ N 20 32 50
5 48-24 G1.1/2"N N 345 55
48-32 G211 % Y] 70
4BN-WD BSP MALE CAPTIVE SEAL HOLLOW HEX PLUG
Thread Dimensions
L Part No. E A L S
N | 4BN-02WD | G1/8™28 8 123 5
4BN-04WD | G1/4™19 12 173 6
4BN-06WD | G3/8™19 12 173 8
4BN-08WD | G1/2"14 14 193 10
- 4BN-12WD | G3/4™14 16 213 12
4BN-16WD - G}“-H 18 28 17
4BN-20WD | G1.1/4™1 20 268 2
& 4BN-24WD | G1.1/2"1 20 268 24
4B-WD BSP MALE CAPTIVE SEAL PLUG
Thread Dimensions
L Part No. E A L S
48-02WD | G1/8"28 8 145 17
: > il 48-04WD | G1/4™19 12 18 19
‘ “ 4B-06WD | G3/8™-19 12 205 2
4B-08WD | G1/2-14 14 3 27
L / 4B-12WD | G3/4™-14 16 26 32
4B-16WD G1™-11 18 30 41
4=r~!\_/ 48-20WD | GLI/4™1 20 32 50
48-24WD | G121 20 36 55

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A E.




___g.d

C. BSP ADAPTERS

5B

—
L]

5

589

bk

@AXXION FLEX
BSP MALE DOUBLE USE FOR 60°SEAT OR BONDED SEAL/BSP FEMALE
Thread Dimensions
Part No. E F A L 5
5B8-02-04 G1/8"-28 (G1/4™19 9 27 19
5B-04-02 G1/4"-19 (1/8"-28 12 30 19
5B-04 G1/4"-19 (G1/4™19 12 30 19
5B-04-08 G1/4"-19 G1/2"-14 12 36 27
58-06-04 (G3/8"-19 (1/4™19 135 30 22
58-06 G3/8"-19 (33/8™19 135 32 22
5B-08-04 (G1/2"14 G1/4"19 16 33 27
5B-08-06 G1/2"14 (3/8"19 16 36 2]
5B-08 G1/2"-14 G1/2"14 16 36 27
5B-08-12 G1/2"-14 G3/4"-14 16 40 32
5B-12-08 G3/4™14 G1/2"14 18 40 32
5B-12 G3/4™-14 G3/4"-14 18 43 32
5B-16-12 G1"-1 G3/4"-14 19 43 41
5B-16 G111 G1™11 19 49 4]
58-20-16 | G1.1/4"-11 G1™-11 20 50 50
58-20 G1.1/4"-11 G1.1/4"1 20 52 50
58-20-24 | G1.1/4-11 | G1.1/2"11 20 55 55
5B-24 G1.1/2-11 | G1.1/2"11 22 57 55
5B-32-24 G2"1 G1.12"-11 25.5 60 70
58-32 G2"1 G211 25.5 63 70
90°BSP MALE 60°SEAT/BSP FEMALE
Thread Dimensions
Part No. E F A B S
589-02 G1/8"-28 (G1/8"-28 17 3 14
5B89-04 G1/4™-19 G1/4"-19 22 28 19
5B9-06 G3/8°-19 G3/8"-19 25 30 22
5B9-08 G1/2"14 G1/2"-14 28 36 27
5B9-12 G3/4"-14 (G3/4-14 33 41 33
5B9-16 GI™11 G111 39 50 41

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



C. BSP ADAPTERS

AF/AXXIONFLEX
BSP MALE 60°SEAT BULKHEAD
Thread Dimensions

6B-LN Part No. E F Al B L] ST s
6B-02LN | G1/8"-28 (G1/8-28 9 33 48 14 14

L 6B-04LN | G1/4-19 G1/4"-19 12 28 47 19 19
6B-06 LN | G3/8'-19 G3/8'-19 135 32 53 22 22

6B-08LN | G1/2'-14 G1/2%14 16 35 | 595 27 27

6B-12LN | G3/4"-14 G3/4-14 16 38 | 645 32 32

6B-16LN | G1™11 G111 19 41 75 41 4]

6B-20LN [G1.1/4™11  |G1.1/4"1 20 52 | 895 50 50

68-24LN  |G1.12%11  |G1.1/2" 1 22 55 95 55 55

6832LIN | G2-11 G211 | 255 | 55 | 985 | 70 | 70

Please delete "LN" after the part number if don't need with lock nut,for example 68-06.

90°BSP MALE 60°SEAT BULKHEAD

8B

Thread Dimensions
Part No. E F A B 5 51
6B9-04 LN | G1/4™-19 G1/4'-19 25 51 14 19
6B9-06 LN | G3/8™-19 G3/8"-19 29 535 17 22
6B9-08 LN | G1/2'-14 G1/2"14 35 58.5 22 2
6B9-12LN | G3/4'-14 (G3/4-14 4 64 Py 32
6B9-16 LN G1™11 G1™11 46 7 33 41
Please delete "LN" after the part number if don't need with lock nut.for example 689-06.
BSP LOCKNUT
Thread Dimensions
Part No. E L 5
88-02 (1/8"-28 55 14
8B-04 G1/4"-19 6.5 19
8B-06 G3/8"-19 7 22
8B-08 G1/2°-14 9 27
8B-12 G3/4"14 10.5 32
8B-16 G1"1 105 41
8B-20 G1.1/4'11 105 50
8B-24 G1.1/2"11 10.5 55
8B-32 G2"-11 105 70

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A m




___g.d

C. BSP ADAPTERS

789

-

|

s
C

AF/AYXIONFLEX
BSP FEMALE
Thread Dimensions
Part No. E F L S
78-02 (1/8"-28 G1/8"-28 ) 14
7B-04 G1/4™19 G1/4™19 24 19
7B-06 G3/8-19 G3/8"-19 30 22
78-08 G1/2"-14 G1/2"-14 32 27
78-12 G3/4'-14 G3/4™-14 4] 36
7B-16 G1"11 G111 50 41
78-20 GLIA-11 | GlIA4™N 55 50
78-24 G121 | G1.1/2"1 55 55
7B-32 G2"11 G211 60 70
00°BSP FEMALE
Thread Dimensions
Part No. E F A B S
789-02 G1/8"-28 (1/8"-28 17 17 14
7B9-04 G1/4"-19 G1/4™19 21 21 17
7B9-06 (3/8"19 (G3/8™19 245 | 245 22
7B9-08 G1/2"-14 G1/2-14 285 | 285 | 26
7B9-12 G3/4'-14 (3/4"-14 33 33 34
7B9-16 G1"11 G1™11 39 39 41
7B9-20 G1.1/411 | G1.1/4"11 46 46 54
7B9-24 G121 | GL1/2"11 48 48 54
7B9-32 G2"-1 G211 61 61 68
BSP FEMALE 60°CONE PULG
Thread Dimensions
Part No. E C L S
9B-04 G1/4-19 55 15 17
9B-06 (3/8™19 7 165 22
98-08 G1/2"-14 7 17.5 27
9B-10 G5/8"-14 8.5 18 27
9B8-12 G3/4"-14 9 20 32
9B-16 G1"™11 11 23 38
98-20 G1.1/4™11 11 26 50
9B-24 G1.1/2"11 12 30 55

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



C. BSP ADAPTERS

AEAXXIONFLEX
AB BSP MALE 60°SEAT TEE
Thread Dimensions
Part No. EF G A B C S
F AB-02 | GI/§-28 | GI/g-28 2 20 20 1
——] AB-04 | GI/4-19 | GI/4-19 25 2 25 14
i AB-06 | G3/8-19 | G3/8-19 29 29 29 17
AB-08 | GI/2-14 | GI/2-14 35 3% 35 )
AB-12 | G3/4-14 | G3/4™-14 41 41 ] 27
wl | AB16 | GI'MI GI-11 %6 | 46 | 46 | 3
- AB-20 | GLUA-1T | GLI/&-1] 54 54 54 4
L AB-24 | GLI2-11 | GLI/211 58 58 58 48
AB-32 G211 G211 69 69 69 65
BB
BSP MALE 60°SEAT /FEMALE SWIVEL 60°CONE BRANCH TEE
Thread Dimensions
Part No. EF G AB C S 51
BB02-0202 | GI/828 | Gi/g-28 | 20 55 N 14
ol ] BB-0404-04 | GIA™19 | GIA-19 | 25 | 55 | 14 | 19
BB-06-0606 | G3/8-19 | G3/8~19 | 20 | 65 17 2
BB08-0808 | GI/2-14 | GI/Z-14 | 35 8 2 27
BB-12-12-12 | G3/4™14 | G3/4-14 a | 115 27 )
| BB-16-1616 |  GI™-11 G111 % | 115 33 4
= BB-20-2020 | GI.I/&-11 | GLI/A-11 | 54 12 4 50
BB-24-2424 | GLI/2-11 | GLI/2-11 | 58 13 48 55
) BB-32-3232 | G211 G211 69 16 65 70
BSP MALE 60°SEAT /FEMALE SWIVEL 60°CONE RUN TEE
CB Thread Dimensions
Part No. EF G AB C S 51
; CB-02-02-02 | GI/828 | GI/8™28 | 20 55 N 14
CB-0404-04 | GI/4-19 | GI/4-19 | 25 5.5 14 19
c CB-060606 | G3/8-19 | G3/8-19 | 20 | 65 17 2
o = CB-08-08-08 | GI/2-14 | GI/2-14 35 8 2 27
7 CB-12-12-12 | G3/4-14 | Gy/4-14 4 | 15 27 2
. I CB16-16-16 | GI'-11 G111 % | 115 3 4
w' i CB-20-20-20 | GLI/A-11 | GLI/-11 | 54 12 41 50
: CB-242424 | GLIZ-1T | GLI/Z-11 | 58 13 I 55
. | (8323232 | G211 G211 69 16 65 70
5

www.axxionflex.com

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A




.—-—Eﬂ

C. BSP ADAPTERS

-

AN

i
@AX XIONFLEX
BSP FEMALE SWIVEL 60°CONE TEE
Thread Dimensions
Part No. EF G AB C 5 51
DB-02-02-02 | G1/8°-28 (1/8"-28 5.5 55 11 14
DB-04-04-04 | G1/419 | G1/4™19 55 55 11 19
DB-06-0606 | G3/8-19 | G3/8-19 | 65 | 65 | 14 | 2
DB-08-08:08 | GI2-14 | GI/2-14 g 8§ | 19 | 2
DB-12-12-12 | G3/4-14 | G3/4™14 115 115 24 32
DB-16-16-16 G111 G1"-11 11.5 11.5 27 4]
DB-20-20-20 | G1.1/4*11 | G1.1/4"1N 12 12 41 50
DB-24-24-24 | G1.1/2%11 | GL.1/2"1N 13 13 48 55
DB-32-32-32 G2"-11 G2*-11 16 16 65 70
FEMALE SWIVEL 60°CONE/BSP MALE 60°SEAT /FEMALE SWIVEL 60°CONE TEE
Thread Dimensions

Part No. EF G AC B S S1
£8020202 | GI/828 | GIB28 | 55 | 20 | 1 | 14
EB-04-0404 | GIA-19 | GIA-19 | 55 | 25 | 14 | 19
EB-06-06-06 G3/8"-19 G3/8"19 6.5 29 17 21
EB-08-08-08 | GI1/2"-14 G1/2"-14 B 35 22 27
EB-12-12-12 | G3/4'-14 G3/4"-14 115 41 27 32
EB-16-16-16 G1"-11 G1"-1 115 46 3 41
EB-20-20-20 | G1.1/4"11 | G1.1/4"11 12 54 41 50
EB-24-24-24 | G1.1/2-11 | GLI/2-11 13 58 48 55
EB-32-32-32 G211 G2"11 16 69 65 70

BSP MALE 60°SEAT /FEMALE SWIVEL 60°CONE/FEMALE SWIVEL 60°CONE TEE

Thread Dimensions
Part No. E FG AC B S $152
FB-02 G1/8"-28 G1/8"-28 55 20 11 14
FB-04 G1/4"-19 G1/4"19 55 25 14 19
FB-06 G3/8"-19 G3/8%19 6.5 29 17 22
FB-08 G1/2"-14 G1/2*-14 8 35 22 27
FB-12 G3/4"-14 G3/4"14 11.5 41 27 32
FB-16 G1"-11 G1°-11 11.5 46 33 41
FB-20 G1.1/M4-11 | GL1/4™-11 12 54 41 50
FB-24 G111 | G1.1/2%11 13 58 48 55
FB-32 G2'-11 G211 16 69 65 70

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



C. BSP ADAPTERS

@AXXION FLEX
BSP FEMALE TEE
GB Thread Dimensions
Part No. EF G A B £ S
J GB-02 GI/g-28 | Gi/g~28 | 17 | 17 [ 17 | 14
B 1 o GB-04 Gi4-19 | G419 | 2 | a1 [ 21 |17
S GB-06 G819 | G3/8~19 | 25 | 25 [ 25 | 2
GB-08 GI/2-14 | G214 | 29 | 29 | 29 | 2
GB-12 G3/4-14 | G414 335 [335 [335 | 4
‘\5_ GB-16 G1"11 G111 40 | 40 | 40 | &
; : GB-20 GLY4-11 | G11/4-11 | 525 | 525 [525 | 54
GB-24 GLY211 | G211 ] 50 | 50 [ S0 | 56
GB-32 G2"11 G211 61 | 61 | 61 | 68

1BF

B

1BG

[
—

BSP MALE DOUBLE USE FOR 60°SEAT OR BONDED SEAL/ORFS MALE O-RING

Thread Dimensions
Part No. E F A B L S
1BF-04 G1/4"-19 U9/16"-18 12 14 32 19
1BF-06 | G3/8"-19 U11/16™16 | 135 14 35 22
1BF-08 G1/2"14 U13/16"-16 16 15 39 27
1BF-12 | G3/4™14 U1.3/16™12 18 17.5 46 32
1BF-16 G111 U1.7/16*12 19 18.5 49 4
18F-20 G1.1/4"-11 U1.11/1612 20 19.5 52 50

BSP MALE DOUBLE USE FOR 60°SEAT OR BONDED SEAL /MALE O-RING

Thread Dimensions

Part No. E F A B L S
1BG02-02 | G1/8"28 | Gi/8"-28 9 8 23 14
1BG-04-04 | G1/4™19 | G1/4™19 12 12 30 19
1BG06-06 | G3/8-19 | G3/8-19 | 135 12 3 22
1BG08-08 | G1/2-14 | GI/2-14 16 14 385 27
18G-12-12 | G3/4-14 | G3/4-14 18 16 445 32
18G-16-16 GI™11 G111 19 18 485 41
1BG-20-20 | GI.1/4-11 | G1.1/d4™11 20 20 52 50
18G-24-24 | GLI/Z-11 | GLI/Z'N 2 22 565 55

Please add "TO"after the part number if there is nowasher out of the O-ring on the product,
forexample 18G-06-06TO

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A EII



___g.d

C. BSP ADAPTERS
NF/AXXIONFLEX
45°BSP MALE 60°SEAT/MALE ADJUSTABLE STUD END

18G4-0G

|

-
[\

1BG9-0G

5l

1BH

DS
=

Thread Dimensions
Part No. E F A B S S1
18G4-04-040G | G1/4™19 | G1/4-19 20 28 14 19
18GH06060G G319 | GBI | B | 3 | 19 | 2
1BG4-08-080G | G1/2"-14 G1/2-14 27 37 22 27
1BG4-12-120G | G3/4™-14 G3/4"-14 32 42 27 32
18G4-16-160G | G1°-11 G1"-11 35 45 33 41
18G4-20-200G | G1.1/4™11 | GLIA™1 | 395 | 47 41 50
1BG4-24-240G | G1.1/211 | G112 445 52 48 55
90°BSP MALE 60°SEAT/MALE ADJUSTABLE STUD END
Thread Dimensions
Part No. E F A B S S1
1BG9-04-040G | G1/4™-19 G1/4'-19 26 32 14 19
1BG9-04-060G | G1/4™19 G3/8-19 27 35 19 22
1BG9-04-080G | G1/4-19 | G1/2-14 12 12 2 27
18G9-06-060G | G3/8™19 | G3/8-19 | 30 “ 2 2
1BG3-06-080G | G3/8™19 G1/2"14 32 44 22 21
1BG9-08-080G | G1/2"-14 G1/2-14 34 44 22 27
1BG9-12-120G | G3/4"-14 G3/4™-14 41 50 27 32
1BG9-12-160G | G3/4'-14 G1™-11 45 55.5 33 41
1BG9-16-120G | G1™11 G3/4-14 | 45 53 33 2
11BG9-16-160G | G111 G111 46 55.5 33 41
1BG9-20-200G | GLIM"11| GL1M4-11| 515 57 41 50
BSP MALE 60°SEAT OR BONDED SEAL/METRIC MALE O-RING SEAL
~ Thread ) Dimensions
Part No. E F A B L S
1BH-04-12 | G1/4™19 M12X1.5 12 12 30 19
1BH-04-14 | G1/4"19 M14X1.5 12 12 30 19
 1BH-06-16 | G3/8"-19 M16X1.5 135 12 33 22
1BH-06-18 |G3/8™19 M18X1.5 135 12 33 24
1BH-08-18 | G1/2"-14 M18X1.5 16 12 36 27
1BH-08-22 |G1/2"14 M22X1.5 16 15 39 27
1BH-10-22 | G5/8™11 M22X15 16 o | =39 30
1BH-12-27 | G3/4™14 M27X2 | 18 16 44,5 R
1BH-16-33 | G1™11 M33X2 19 18 485 41
1BH-20-42 | G1.1/4™11 M42x2 20 20 52 50
1BH-24-48 | G1.1/2"-11 M48x2 22 22 56.5 55

Please add "TO"after the part number if there is nowasher out of the O-ring on the product,for example
1BH-08-18 TO,1BG9-08-08 OG/TO

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



B

C. BSP ADAPTERS

@A}IXION FLEX
1BH4-0G 45°BSP MALE 60°CONE/METRIC MALE ADJUSTABLE STUD END
Thread Dimensions
- Part No. E F A B S 51
e 1BH4-04-140G | G1/4™-19 | M14X15 20 29 14 19
1BH4-04-160G | G1/4™19 | M16X15 20 27 14 2
1BH4-06-160G | G3/8~19 | M16X15 21 27 14 2
1BH4-06-180G | G3/8~19 | M18X15 23 3 19 4
" M 1BH4-08-180G | G1/2'-14 |  M18X1.5 26 3 19 24
1BH4-08-220G | G1/2-14 | M22X15 u 3 2 7
A \_ 1BH4-12-270G | G3/4-14 | M27X2 32 4 b] kY,
5 1BH4-16-330G| GI'-11 M33X2 35 42 33 41
1BH4-20-420G | GL1I/4-11|  M42X2 395 47 41 50
1BH9-0G 90°BSP MALE 60°CONE/METRIC MALE ADJUSTABLE STUD
F Thread Dimensions

Part No. E F

1BH9-04-140G | G1/4-19 M14X1.5 33 14 19
1BH9-04-16 0G| G1/4-19 M16X1.5 31 14 22

A B S S

2

2
1BH9-06-160G | G3/8-19 | MIEX15 | 29 3% 19 2

30

3

1BH9-06-180G | G3/8'-19 M18X1.5 37 19 24
1BH9-08-180G | G1/2"-14 M18X1.5 395 22 24
1BH9-08-220G | G1/2™-14 M22X1.5 34 40.5 22 27
1BH9-12-270G| G3/4-14 | M27X2 39.5 50 2] 32
1BH9-16-330G | G1™11 M33X2 45 53 33 4
1BH9-20-420G | G1.1/4-11| M42X2 515 57 4 50

Please add "TOafter the part number if there is nowasher out of the O-ring on the product,

for example 18H9-04-16 OG/TO
1BJ9 90°BSP MALE 60°CONE/JIC MALE 74°CONE
Thread Dimensions
Part No. E F A B S
| 1B)9-04 G1/4'-19 U7/16"-20 25 25 14
F 18J9-04-05 | G1/4"-19 U1/2°-20 25 25 14

1BJ9-04-06 | G1/4°-19 U9/16"-18 25 25 14
1BJ9-06 G3/8'-19 U9/16"-18 29 29 17
1BJ9-06-08 | G3/8"-19 U3/4'-16 285 32 19
18J9-08 G1/2-14 U3/4'-16 345 345 22
18J9-12 G3/4°-14 U1.1/16™12 41 44 27

w 18J9-16 G1*-11 U1.5/16™12 46 47 3
\J 1BJ9-20 GL.1/4-11 | U15/812 54 37 4]
i NS 18)9-24 GL1/2'11 | UL7/8™-12 36 59 48

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



- el

C. BSP ADAPTERS

1BJ
L -
A B
” | "
s |
1BM
- L -
A B
w | &
- N

AF/AYXIONFLEX
BSP MALE DOUBLE USE FOR 60°SEAT OR BONDED SEAL/JIC MALE 74°CONE
Thread Dimensions

Part No. E F A B L S
18J-02-04 | G1/8"-28 U7/16"-20 9 14 29 14
~ B-04 | GI/4-19 |U7N6~20 | 12 14 32 14
1BJ-04-05 | G1/4'-19 U1/2"-20 12 14 32 19
1BJ-04-06 | G1/4-19  |U9/M16~18 | 12 | 141 2 [ 19
1806 | G3/8-19 |U9M6-18 | 135 | 14 35 2
1BJ-06-04 | G3/8-19 | U7/16™20 | 135 14 35 2
18J-06-08 | G3/8"-19 U3/4"-16 135 16.7 37 22
18J-08 G1/2-14 U3/4*-16 16 16.7 41 27
1BJ-08-10 | G1/2"-14 U7/8"-14 16 193 435 24
1B-10 | G5/8-14 | U7/8™14 16 193 | 45 30
18)-1008 | G5/8%-14 | U3/4™16 6 | 167 | 4 | 3
1BJ-10-12 | G5/8™-14 U1.1/16"12 16 219 47 30
1BJ12 G3/4'-14 U1.1/16"12 18 219 50.5 32
1BJ-12-08 | G3/4™14 U3/4"-16 18 16.7 45 32
18J-12-10 | G3/4™-14 U7/8'-14 18 193 475 32
1B)-12-14 | G3/4"-14 U1316™12 | 18 26 51 36
1BJ-12-16 | G3/4"-14 U1.5/16"12 18 23.1 52 36
1BM6 | G111 U1516%-12 | 19 5l 4 4
1BJ-16-12 | G1"11 U1.1/16"12 19 219 52 4]
1B-16-14 | G111 Utsne-12 | 19 | 226 | 53 41
18J-16-20 | G111 U1.5/8"12 19 243 55.5 46
1820 | GLIA-11 | U15/8-12 | 20 | 243 | 565 50
1BJ-20-16 | G141 | U15/16~12 | 20 | 231 | 555 50
1BJ20-24 | GLA/4-11 | U7/812 | 20 | 275 | 60 | 50
18J-24-20 | GL.1/2%11 | U15/8"12 2 | 43 59 55
1BJ-24 G11/211 | U17/8"-12 22 215 62 55
18J-24-32 | GLI/2Z11 | V217212 2 339 725 70

_ 1BF32 | G211 | U21f212 | 255 339 76 0
18J-32-24 | G211 U7/812 | 255 | 215 | 695 70

BSP MALE 60°SEAT OR BONDED SEAL/METRIC MALE BONDED SEAL

Thread Dimensions

Part No. E F A B L S
(1BM-02-10 | G1/8"-28 M10X1 i3 8 85 14
_1BM-04-12 | G1/8-28 m2qas5 | 12 10 | 295 19
1BM-04-14 | G1/4'-19 Miax1s | 12 1| 305 19
_1BM-06-16 | G3/8-19 MieX1.5 | 135 12 | 45 2

 1BM-06-18 | G3/8"19 | MiI8X15 | 135 | 12 355 4
~ 1BM-08-20 | G1/2-14 M20X1.5 16 14 40 27
~1BM-08-22 | G1/2-14 M2X15 | 16 14 40 2
1BM-10-26 | G5/8™14 M26X1.5 16 16 2 30
1BM-12-24 | G3/4™-14 M24X1.5 18 16 46 32
1BM-12-27 | G3/4"-14 M27X2 18 16 46 32

EH sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



h—-—

C. BSP ADAPTERS

AF/AXXIONFLEX
BSP MALE 60°CONE OR BONDED SEAL/NPT MALE

Thread Dimensions
Part No. E F A B L S
BNO2 | GIF8 | zigr | 9 | 10 | 25 | 1
1BN-0204 | GI/g-28 | zi4-18 | 9 | 145 | 305 | 14
BNO4 | GUA19 | Zzi48 | 12 | 145 | 335 | 19
BN BN0402 | GIAM9 | 2187 | 12 | 10 | 28 | 19
1BN-0406 | GIA™19 | 738™18 | 12 | 145 | 325 | 19
1BN06 | G389 | 73818 | 135 | 145 | 355 | 2
L BNOG04 | G3/8-19 | Z1/418 | 135 | 145 | 355 | 2
A 5 BNOG08 | G3/8-19 | 21214 | 135 | 195 | 405 | 22
e BNO8 | G214 | 71714 | 16 | 195 | 4 |
: 1BN-0806 | GI/214 | 738718 | 16 | 145 | 30 | 7
I”H BN08-12 | G214 | 73414 | 16 | 195 | 44 |
" 1BN-1008 | G5/8%14 | 712414 | 16 | 195 | 445 | 30
| BN-10-12 | GS/B™14 | z3/414 | 16 | 195 | 45 | 30
N2 | G344 | zyatia | 18 | 195 | 48 |
: TBN-1208 | G344 | zi/2-14 | 18 | 195 | 48 | %
5 1BN-1216 | G4 | 71~115 | 18 | 245 | 53 | 36
BN16 | GIM1 | zi-115 | 19 | 245 | 56 | 4
BNI612 | GIWIl | z3/4~4 | 19 | 195 | 51 | 41
BN620 | G- | Z1ais| 19 | 25 | 51 | 4
1BN-20 | GLIA-IT | 714115 20 | 25 | 60 | %0
BN-20-16 | GLIA™IT | 71115 | 20 | 245 | 595 | 50
1BN-2024 | GLIA™T | 712"115] 20 | 26 | 60 | 50
BN-24 | GLI2AT | 712115 | 2 | 26 | 64 | 55
1BN-2420 | GLIZ-1T | 2104115 2 | 25 | 63 | 55
BN2432 [GLIZYT | 215 | 22 | 9 | 66 | 65
BN32 | G2MT | 22415 | 255 | 29 | 71 | 70
BN3220 | 21| Z14MIS| 255 | 25 | 67 | 70
1BN-32-24 | G211 | z1a2115] 255 | 26 | 68 | 10

1BN4 ;
45°BSP MALE 60°CONE OR BONDED SEAL/NPT MALE
' Thread Dimensions

Part No. ‘ f A | 8 | s

BNKO4 | GIA-19 | zi4-i8 | 20 | 21 | 14

1BNAO6 | G389 | pgt8 | B | 2 | 17

w BNGO8 | GVZ14 | a4 | w7 | o | 2

3 BNG12 | G4 | zya4 | 31 | 31 |

R BNA16 | G- | ZI~115 | 36 | 38 | 33

s 1BNA20 [ GLIA™T | ZLU4NS| 40 | 42 | 4

1BN424 | GLUZ-T | 21129115 45 | 47 | 48

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A EII




1BN9

..-—--d

C. BSP ADAPTERS

NF/AXXIONFLEX

90°BSP MALE 60°CONE OR BONDED SEAL/NPT MALE

1B04-0G

51

Thread Dimensions
Part No. E F A B S
1BN9-04 G1/4°19 Z1/4"-18 25 26 14
1BN9-04-02 | G1/4™19 Z1/8"-27 25 25 14
1BN9-06 (3/8™19 Z3/8'-18 30 29 17
1BN9-06-04 | G3/8™-19 Z1/4'-18 30 29 17
1BM9-06-08 | G3/8-19 21/2"14 32 37 22
1BN9-08 G1/2"-14 Z1/2"-14 345 37 22
1BN9-08-06 | G1/2'-14 Z3/8'-18 345 32 22
1BN9-12 G3/4'-14 23/4"-14 41 41 27
1BMN9-12-08 | G3/4'-14 Z1/2"14 41 {1 27
1BN9-12-16 | G3/4'-14 21115 44 49 33
1BN9-16 G111 21115 46 49 33
1BN9-20 | G1.1/4™-11 £1.1/4 115 54 55.5 44
1BN9-24 | G1.1/2"-11 21112115 56 59 48
1BNS-32 G211 22115 68 68 B5
BSP MALE 60°SEAT OR BONDED SEAL/SAE MALE O-RING SEAL
Thread Dimensions
Part No. E F A B L 5
1B0-04 G1/4"-19 U7/16"-20 12 914 28 19
1B0-04-06 | G1/4"-19 U9N16™18 12 0.93 295 19
1B0-06-04 | G3/8"-19 U7/16°-20 13.5 0.14 30 22
1B0-06 G3/8'-19 U9/16™18 13.5 993 31 22
1B0-06-08 | G3/8"-19 U3/4"-16 13.5 11.13 325 24
1B0-08-06 | G1/2"-14 U9/16"18 16 993 34 27
1B0-08 G1/2"-14 U3/4"-16 16 11.13 35 27
1B0-08-10 | G1/2"-14 U7/8"-14 16 12.7 38 27
180-12-10 | G3/4"-14 U7/8"-14 18 1.7 41 32
1B0-12 G3/414 U1.1/16"12 18 15.09 43 32
1BO-16 G1"-1 U1.5/16"12 19 15.09 46 41
180-20 |G1.1/4"-11 U1.5/8"12 20 15.09 49 50
180-24  [G13/2-11 U1.7/8"12 22 15.09 525 55
180-32 G2 U2.1/2"12 25.5 15.09 57.5 70
45°BSP MALE 60°SEAT OR BONDED SEAL/ SAEMALE ADJUSTABLE STUD END
Thread Dimensions
Part No. E F A B S 51
1804-04-04 0G | G1/4"-19 U7/16"-20 20 26 14 17
1804-06-06 0G | G3/8"-19 U9/16™20 20 26 14 19
1804-08-080G | G1/2™14 U3/4"-16 27 3 22 24
1B04-12-120G | G3/4™14 U1.1/16%12 32 43 27 32
1B04-16-160G | G111 U1.5/16™12 35 47 3 4
1804-20-200G |G1.1/4™11 U1.5/8"12 40 49 {1 50
1804-24-24 0G |G1.1/211 | U1.7/8"12 45 52 48 55

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



B

C. BSP ADAPTERS

@A}:XION FLEX
90°BSP MALE 60°SEAT OR BONDED SEAL/ SAEMALE ADJUSTABLE STUD END
1B0O9-0G Thread Dimensions
: Part No. E F A B S 51
1B09-040406 | GI/A-19 | U7/1620 | 26 | 20 | 14 | 17
1B09-06-060G | G3/8"19 | U9/16"-20 26 32 14 19
1809-08-08 0G | G1/2"-14 U3/4'-16 34 375 22 24

1B09-12-1206G | G3/4-14 | U1.1/16"12 4 50 27 32
1B09-16-160G | GI™-11 | U1.5/1612 | 46 35.5 33 4
1B09-20-200G | G1.1/4-11 | U15/8™12 | 395 595 41 50

BSP MALE 60°CONE OR BONDED SEAL/BSPT MALE

Thread Dimensions
Part No. E F A B L )

18102 | GI/8-28 | 761/8-28 | 9 10 25 14
1BT-02-04 | GI/8™28 | 261/4-19 | 9 | 145 | 305 | 14
B1-04 | GI/4#-19 | Z61/4~19 | 12 | 145 | 335 19
18T 18T-0402 | GIA-19 | 7G1/8=28 | 12 10 28 19
18T-0406 | GI/4-19 | 7G3/8-19 | 12 | 145 | 325 19

18T-0408 | GI/4-19 | 261/2-14 | 12 | 195 39 2
L 1BT-06 | G819 | 7G3/8-19 | 135 | 145 | 355 | 22

A B 18T-06-04 | G3/8-19 | 261/4-19 | 135 | 145 | 355 | 2
18T-0608 | G3/8-19 | 2G1/214 | 135 | 195 | 405 | 2
1BT-08 | G1/2"-14 2G1/2-14 | 16 | 195 4 27
18T-08:06 | G1/2-14 2G3/8-19 | 16 | 145 39 27
. 187-08-12 | G1/2"14 763414 | 16 | 195 44 %7
I 18T-08-16 | G1/2-14 26111 | 16 | 245 51 3%

| 1BT-1008 | G5/8™14 | ZG1/2-14 | 16 | 195 | 445 | 30
2 1BT-1012 | G5/8™14 | 7G3/4™14 | 16 | 195 | 445 | 30

g 1BT-12_ | G3/4™14 | 2G3/4~14 | 18 | 195 | 48 3

1BT-1208 | G3/4-14 | 7G1/2-14 | 18 | 195 | 48 3
1BT-12-16 | G3/4™14 G111 | 18 | 245 | 53 3
1816 | GI-11 G111 | 19 | 245 | 56 41
BT-1612 | GI-11 | 2G3/4™14 | 19 | 195 | S 41
1811620 | G111 | ZGL.I/A4“11 | 19 25 57 | 46
18120 |GLIA-11_ | ZGL1411 | 20 | 25 60 | 50
18T-20-16 | GL.1/4™11 611 | 20 | 245 | 595 | S0
1812024 |GLIA-TT | ZGLI211 | 20 | 26
18124 |GLI2-11_ | 7611211 | 2 2%
1812420 |GLI2-11 | ZGLIA4™11 | 22 | 25
2

255

255

18T-2432 | GLI/2-11 26211 29
18132 | G211 26211 29
1873224 | G2-11 | ZGL.1/211 26

SZRT RS

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



.—-—Eﬂ

C. BSP ADAPTERS

NF/AXXIONFLEX

45°BSP MALE 60°CONE/BSPT MALE

1BT4

28]

Thread Dimensions
Paﬂ No. E F A B )
1BT4-04 G1/4"-19 26G1/4"19 20 21 14
1BT4-04-02 | G1/4-19 | ZG1/8"-28 20 20 14
1BT4-06 G3/8"19 | ZG3/8™19 3 22 17
18T4-06-04 (3/8™19 1G1/4"19 23 12 17
18T4-06-08 (3/8"-19 2G1/2°-14 25 27 22
1BT4-08 G1/214 | IG1/2-14 27 27 2
1BT4-08-06 | G1/2-14 | 7G3/8"19 27 24 22
187412 | G314 | ZG3/4-14 | 31 N | %
1BT4-16 GI™1 761™1 36 38 3
1BT4-20 GLIA-T | 2G1.1/4™1 40 42 44
- 1BT4-24 | GLUZ-IT | ZG1.1/2%11 45 47 48
90°BSP MALE 60°CONE/BSPT MALE
Thread Dimensions
Part No. E F A B S
1BT9-04 GI/419 | ZG1/4-19 25 26 14
18T9-04-02 G1/4*-19 2G1/8"-28 25 25 14
1BT9-06 G3/8°-19 2G3/8"19 30 29 17
| 1BT9-06-04 | G3/819 | 7G1/4™19 30 29 17
1B79-06-08 | G3/8™-19 | 7G1/2-14 32 37 2
1BT9-08 G1/214 2G1/214 | 345 37 22
1BT9-08-06 G1/214 2G3/8"19 345 32 22
1BT9-12 G3/M4-14 | 7G3/4-14 4] 4 7
1879-12-08 G3/4"-14 2G1/2"-14 41 4] 27
1879-12-16 | G3/4"-14 26111 44 49 3
1BT9-16 G1"1 26111 46 49 33
1879-20 | GLIM4-11 | 7G1.1/4™11 54 55.5 44
18T79-24 GLIR211 | 7G1.1/2"1 56 59 48
1B79-32 G211 26211 68 68 65
BSP MALE 60°SEAT OR BONDED SEAL/JIC FEMALE 74°SEAT
Thread Dimensions
Part No. E F A B L 5 51
2B)-04 G1/4'-19 U7/16"-20 12 | 85 26 19 19
2BJ-06 G3/8"19 Uo/16™18 | 135 | 10 | 30 | 22 |19
2BJ-08 G1/2"-14 U3/a-16 | 16 11 ¥ |7 M
2B)-10 G5/8"-14 U7/8"14 16 11 36 30 21
2BJ-12 G3/4'-14 | UL1N6-12 ] 18 115 40 32 32
| 2B)16 GI"-1 U1.5/16"-12 | 19 145 | 44 4] 41
2BJ-20 G1.1/4"11 U1.5/812 | 20 155 | 47 50 50
2BJ)-24 G121 | ulz/g~12 | 2 185 49 5% 55
28)-32 G2"-11 U21/2"12 | 2558 248 | 578 10 75

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



C. BSP ADAPTERS

@AXK]ON FLEX
BSP MALE DOUBLE USE FOR 60°CONE OR BONDED SEAL/NPT FEMALE
Thread Dimensions

Part No. E F A L S

58BN SEN-04-02 | GI/A-19 /8- | 12 28 19

SgN-04 | G1/4™-19 Zi4-18 | 12 P 19

L SBN-04-06 | G1/4™-19 738-18 | 12 E}) 2

R SBW ggmg 214418 | 135 | 30 2

SBN-06 E 73/8-18 | 135 | 335 | 22

(R 5BN-08-06 | G1/2™-14 3/8-18 | 16 3% 27

| “ 7—°—°—< 5BN-08 G1/214 211214 16 41 27
5BN-12-08 | G3/4™14 Z1/2'14 18 43 32

5BN-12 G3/414 23/4'-14 18 43 32
SBN-16-12 G1™11 23414 19 44 41

g SBN-16 | GIIl | 21Mnis | 19 | 44 | 4
& SBN-20 | GLIA-T | Z11/4-115] 20 50 50
5BN-24-20 | G1.1/2-11 2114115 22 52 55
5BN-24 G1.1/2"11 2112115 22 52 55
BSP MALE DOUBLE USE FOR 60°CONE OR BONDED SEAL/BSPT FEMALE
Thread Dimensions
Part No. E F A L S
5BT SBT-0402 | GIA-19 | ZG1/8-28 | 12 28 19

5BT-04 G1/4™-19 G149 [ 12 2 19
L 5BT-04-06 | G1/4-19 7G3/8-19 | 12 R 22
2 5BTéTnﬁ-D4 gaﬁ"-lg 2G1/4"19 | 135 30 22

587-06 3/8™19 7G3/8-19 | 135 | 335 22
] {' ) SBT-08-06 | G1/2-14 2G3/819 | 16 36 27
?—q SBT-08 G1/2"-14 2G1/214 | 16 41 27

| " 5BT-1208 | G3/4™14 G114 | 18 43 32
SBT-12 | G3/4-14 7G3/4-14 | 18 43 32
5BT-16-12 Gi"11 263414 | 19 44 4

F SBT-16 | GI™I1 G| 19 | o4 | o4

5 5BT-20 | G1.1/4"-11 G141 20 50 50

5BT-24-20 | G1.1/2"-11 G141 22 52 55

5BT-24 G1.1/2"11 2G1.1/211 22 52 55

46 BSP MALE O-RING PLUG

: Thread Dimensions
% Part No. E Xl L | §

I 4G-04 G1/419 12 (195 | 19
- ] 4G-06 G3/8"19 2102
i 4608 | G124 4 | 24 |27
= 4G-12 G3/4°-14 16 | 29 | 32

4G-16 G111 18 | 33 | 41

L%al

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



R

C. BSP ADAPTERS

1T

)

T
]

1T4

i
AF/AYXIONFLEX
BSPT MALE
Thread Dimensions
Part No. E F A . L $
17-02-02 7G1/8™-28 7G1/8"-28 10 10 26 12
17-04-02 2G1/4°-19 2G1/8"-28 14.5 10 30 14
1T-04-04 2G1/4*-19 2G1/4'-19 145 145 34 14
1T-06-04 2G3/8"-19 2G1/4-19 145 145 34 19
1T-06-06 7G3/8™19 1G3/8"-19 145 145 34 19
1T-08-06 2G1/2"-14 2G3/8'-19 19.5 145 415 a2
1T-08-08 IG1/2°-14 2G1/2"-14 19.5 19.5 46 22
1T-12-08 7G3/4"-14 2G1/2"-14 195 195 47 27
T-12-12 1G3/4"-14 2G3/4"-14 19.5 19.5 48 27
1-16-12 ZG1"11 1G3/4"14 245 19.5 53 36
1T-16-16 G111 2G1"11 245 245 58 36
1T-20-16 2G1.1/4-11 2G1"11 25 245 62 46
1T-20-20 2G1.1/4°11 261.1/4°-11 25 25 63 46
1T-24-20 2G1.1/2°1 261.14°-11 25 25 65 50
T4 G121 | 2611211 25 25 65 50
17-32-24 2G2"11 1G1.1/2"11 29 25 72 70
17-32-32 262" G2"11 29 29 76 70
45°BSPT MALE
Thread R Dimensions
Part No. E F A B S
174-02-02 2G1/8"-28 2G1/8"-28 175 175 11
174-04-04 2G1/4"19 2G1/4"19 21 21 14
1T4-06-06 ZG3/8"19 ZG3/8"19 Fi 21 17
1T4-08-08 2G1/2"-14 2G1/2"-14 28 28 22
1T4-12-12 7G3/4"-14 2G3/4"-14 32 32 27
1T4-16-16 ~IG1-11 26111 37 37 33
174-20-20 LA | 61T | @ [}) 44
174-24-24 261.1/27°-11 26117211 47 47 48
174-32-32 2G2"11 2G2"11 53 53 65
90°BSPT MALE
Thread Dimensions
Part No. E F A B S
179-02-02 ZG1/8"-28 2G1/8"-28 22 22 11
179-04-02 2G1/4°-19 2G1/8"-28 27 25 14
179-04-04 2G1/4"-19 2G1/4"-19 27 a7 14
179-06-06 £G3/8™19 2G3/8"-19 28 28 17
179-08-08 2G1/2"-14 7G1/214 35 35 22
179-12-12 1G3/4'-14 7G3/4"-14 39 39 27
1T9-16-16 ZG1"-11 7G1"11 47 47 33
179-20-20 G114 1 2G1.1/4"-11 55 55 41
179-24-24 2611211 2611211 59 59 48
179-32-32 762"-11 26211 69 69 65

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



C. BSP ADAPTERS

@AXXION FLEX
BSPT MALE PLUG
41 Thread Dimensions
: Part No. E A L S
z 4T-02 7G1/8"28 0 |16 | 12
4T-04 7G1/4™19 145 | 20 [ 14
- 4T-06 7G3/8"19 45 [ 21 [ 19
h 4T-08 1G1/2"14 195 | 7 | 2
4T-12 7G3/4"14 195 | 29 | 27
4T-16 26111 245 | 36 | 36
4T-20 | 2G1.1/4™11 5 | 38 | 46
-4 | 761121 25 | 40 | 50
y E 4132 6211 B | 4 | 65
BSPT MALE HOLLOW HEX PLUG
41N Thread Dimensions
. Part No. E L g
ATN-02 | 2G1/8™-28 8 5
= ATN-04 | 2G1/4™19 0 | 6
T S ATNO6 | 2G3/8™19 12 | 8
ATN-08 | ZG1/2™14 15 | 10
ATNI2 | 7G3/4™14 18 | 12
4TN-16 26111 20 | 17
E ATN-20 | ZG1.1/4"11 2 | n
BSPT MALE/BSPT FEMLAE
5T Thread Dimensions
L Part No. E F A L S
i 5T-02-04 | 7G1/8"28 | ZGi/a~19 | 10 | 28 | 19
/ \ 5T-0402 | 761/419 | ZG1/8"28 | 145 | 20 | 17
5T-04-04 | 7G1/4-19 | ZG1/4™19 | 145 | 32 [ 19
? < 5T-06-04 | 263/819 | ZG1/419 | 145 | 1 | 19
50606 | 7G3/8-19 | 7G3/8™19 | 145 | 34 | 22
5T-06-08 | 7G3/8"-19 | 7G1/2-14 | 145 | 40 | 27
5T-08-04 | 7G1/2-14 | ZG1/4™19 | 195 | 27 | 24
E \E 5T-08-06 ZG1/214 | 7G3/8™19 | 195 27 24
s 5T-08-08 | 7G1/214 | 7G1/2-14 | 195 | 46 | 27
5T-12-06 | 7G3/4"14 | 7G3/8™19 | 195 | 29 | 27
L 5T-12-08 | 7G3/4"14 | 7ZG1/214 | 195 | 29 | 27
5T-12-12 | 7G3/4"14 | 7G3/4~14 | 195 | 49 | 36
A 57-16-08 761~11 | 2617214 | 245 | 34 | 36
— 5T-16-12 261-11 | 7G3/4™14 | 245 | 34 | 36
H 5T-16-16 26111 2G1~11 [ 245 | 58 | 41
57-20-16 | 261.1/4"11 | 2G61~11 | 25 | 38 | 46
5T-24-16 [ 2G1.1/2%11 | ZG1~11 | 25 | 42 | 50
)—J\ | 5T-2420 | 26117211 [ZGrae1 | 25 | 42 | s0
NCE 5T-32-24 76211 126107211 | 29 | 47 | 65

5

www.axxionflex.com

sales@axxionflex.com

*» Phone: +1 784 655 7577 U.5.A



.—-—Eﬂ

C. BSP ADAPTERS

5T9
A
5
7T
L
7
719
A

i
@AKMON FLEX
90°BSPT MALE/BSPT FEMLAE
Thread Dimensions
Part No. E F Al B s
5790202 | ZG1/8™-28 | ZG1/8'-28 17 23 14
5T9-04-04 | ZG1/4™19 | ZG1/4'-19 22 28 19
5190606 | 2G3/8-19 | 2G3/8-19 | 25 | 30 | 2
5T9-08-08 | ZG1/2*14 | ZG1/2"-14 30 36 27
579-12-12 | ZG3/4™14 | 2G3/4'-14 33 41 33
579-16-16 ZG1"1 ZG1-1 39 50 41
5719-20-20 | 7G1.1/4"11 | ZG1.1/4"11 | 48 58 48
5T9-24-24 | 7G1.1/2"-11 | ZG1.a/2"11 | 57 67 65
BSPT FEMALE
Thread Dimensions
Part No. E F L S
71-02-02 7G1/8"-28 | 7G1/8"-28 22 14
7T-04-02 ZG1/4™19 | 7G1/8'-28 26 19
7T-04-04 7G1/4"-19 | 7G1/4'-19 28 19
71-06-04 7G3/8"19 | 72G1/4-19 29 22
71-06-06 2G3/8"19 | ZG3/8-19 30 22
771-08-04 ZG1/2"14 | 7G1/4-19 34 27
71-08-06 7G1/2°14 | 7G3/8-19 35 27
7T-08-08 2G1/2"14 | ZG1/2"-14 38 27
7T-12-06 ZG3/4-14 | 7G3/8-19 37 36
71-12-08 ZG3/4-14 | 1G1/2-14 40 36
71-12-12 2G3/4"14 | ZG3/4"-14 42 36
71-16-08 2G1"-11 2G1/2"-14 50 41
1612 | ZG1-11 | 2G3/4-14 50 | 41
71-16-16 2611 G111 50 41
71-20-20 | 2G1.1/4"-11 | 2G1.1/4"11 55 50
71-24-24 | 2G1.1/2°-11 | 2G1.1/2"-11 55 55
71-32-32 ZG2'-11 2G2"-11 60 70
90°BSPT FEMALE
Thread Dimensions
Part No. E F A B S
719-02-02 | ZG1/8"-28 | ZG1/8"-28 17 17 14
779-04-04 ZG1/4"-19 | ZG1/4%-19 21 21 17
719-06-06 | 7G3/8'-19 | 7G3/819 | 245 | 245 | 22
719-08-08 | ZG1/2°-14 | ZG1/2-14 | 285 | 285 | 26
719-12-12 2G3/4"-14 | ZG3/4'-14 33 33 34
719-16-16 ZG1"11 G111 39 39 41
719-20-20 [ 2G1.1/4"11 | Z2G1.1/4™11 | 46 46 54
719-24-24 | 2G1.1/2°-11 | 2G1./2°11 | 48 48 56
719-32-32 26211 26211 61 61 68

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



C. BSP ADAPTERS

@A}IXION FLEX
BSPT MALE/BSP FEMALE 60°CONE
Thread Dimensions
Part No. E F A B L 51
21B-02-02 2G1/8"-28 G1/8"28 10 55 | 255 12 14
2TB-02-04 2G1/8"-28 G1/4-19 10 55 26.5 12 19
TR 280402 | 7G1/419 | GI/828 | 145 | 55 | 305 | 14 | 14
2TB-04-04 ZG1/4-19 G1/4"-19 14.5 55 31.5 17 19
21B-04-06 ZG1/4"-19 G3/8-19 | 145 6.5 32 19 22
L 2TB-04-08 Z2G1/4-19 G1/214 | 145 8 33 19 27
A 51 2TB-06-06 ZG3/8"19 G3/8°-19 | 145 6.5 33 19 22
== 2 21B-06-08 2G3/8"19 G1/214 | 145 8 33 19 27
; ig ﬁ 2TB-08-04 £G1/2"-14 G1/4-19 | 195 55 37 22 19
_._q 2TB-08-06 2G1/2"-14 G3/8™19 | 195 6.5 38 22 22
| ""} 21B-08-08 | 7G1/2™-14 G1/2-14 | 195 8 385 22 27
" 2TB-08-12 ZG1/2"14 G3/414 | 195 | 115 42 27 32
- = 2TB-12-08 2G3/4"-14 G1/2"-14 | 195 8 40 27 27
s 2 2TB-12-12 2G3/4"-14 G3/414 | 195 | 115 43 27 32
21B-12-16 2G3/4™14 G1"™11 195 [ 115 45 32 41
2TB-16-12 2G1"11 G3/4"14 | 245 | 115 | 495 36 32 |
21B-16-16 2G1"11 G1™-11 245 | 115 51 36 41
2TB-16-20 G111 GLI/M4-11 | 245 12 56 41 50
21B-20-20 | ZG1.1/4™11 | GL1/M4™11 25 12 56 46 50
2182424 | 26107211 | GLIZ-1 | 25 | 13 | 615 | 50 | 55
2TB-32-32 2G2"11 G2"11 29 16 68 70 70
45°BSPT MALE/BSP FEMALE 60°CONE
Thread Dimensions
2TR4 Part No. E F Al B S | S
2MB4-02-02 | ZG1/8'28 | GI/g28 | 18 | 55 | 11 | 14
o 2TB4-04-04 | ZG1/4'-19 G1/4"-19 22 55 14 19
2TB4-04-06 | 7G1/4"-19 G3/8"19 22 6.5 17 22
£ 2TB4-06-04 | 7G3/8"-19 G1/4"19 22 55 17 19
2TB4-06-06 | 7G3/8'-19 G3/8"-19 22 6.5 17 22
E 2TB4-06-08 | 7G3/8"-19 G1/2"-14 24 8 19 27
2TB4-08-06 | 7G1/2"-14 G3/8'-19 28 6.5 22 22
) 2TB40808 | 761214 | G124 | 8 | 8 | 22 | 7
| 2TB4-08-12 | ZG1/2"-14 G3/4"-14 31 11.5 27 32
21B4-12-08 | 7ZG3/4"-14 G1/2-14 31 8 27 27
A \i 2TB4-12-12 | ZG3/4"'-14 G3/4"-14 31 11.5 27 32
21B4-12-16 | 7ZG3/4"-14 G111 33 11.5 33 41
21B4-16-12 2G1™11 G414 38 11.5 33 32
MB416-16 | 76111 | G111 | 38 | 115 | 33 | 41
21B4-20-20 | ZG1.1/4-11 | GL1/4™1 42 12 44 50
21B4-24-24 | ZG1.1/2-11 | GL1/2"11 47 13 50 55

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A m



.-—--d

C. BSP ADAPTERS

Ll
@AXMON FLEX
90°BSPT MALE/BSP FEMALE 60°CONE
Thread Dimensions
2TB9 | PartNo. E F A B S St
2T89-02-02 | 7G1/8"28 | Gi/8-28 | 22 55 1 14
2TB9-04-06 | ZG1/419 | G3/8-19 | 27 65 17 2
2T89-04-04 | ZG1/419 | Gi1/4-19 | 25 55 14 19
F 2T89-06-04 | 7G3/819 | G14-19 | 27 55 17 19
' . 2TB9-06-08 | 7G3/8™19 | G12-14 | 9 8 19 27
o 7 2TB-0606 | 2G3/8-19 | G3/8-19 | 29 | 65 | 17 | 2
21890806 | ZG172-14 | G3/8™-19 | 37 65 2 22
E g 2189-08-12 | 7617214 | G314 | 37 115 7 £V
2T89-08-08 | 7617214 | G12-14 | 36 8 n 27
F— 2T89-12:08 | ZG34™14 | G12-14 | 37 8 Y] 27
| 2T89-12-16 | 7G3/4™14 | G1™11 45 115 3 41
K g 2TB9-12-12 | ZG3/4™14 | G314 | 4 115 27 32
A 21B9-16-12 | 76111 | G3/4-14 | 49 115 3 32
2TB9-16-16 | 7G1™11 G111 49 115 3 41
2T89-20-20 | ZG1.1/4™11 | GL.1/4™-11 | 555 12 41 50
2189-2424 | ZG1.0/211 | G61.1/211 | 58 13 48 55
BSPT MALE/NPT FEMALE
5TN ———
Thread Dimensions
Part No. E F A L g
L 5TN-0402 | ZGi/4™-19 | Z1/8~27 |15 | 20 | 17
2 mm 2614419 | 7418 (145 | 32 | 19
0406 | ZG1/419 | 7318 (145 | u [ 2
; STN-06-02 | ZG3/8™19 | Z1/8~27 | 145 | 22 | 19
?—'—°—ﬂ STN-06-04 | 2G3/8-19 | Zu/4-18 [145 | 21 [ 19
5TN-06-06 | 7G3/8™19 | Z3/8-18 [145 | 34 | 22
)_ S5TN-0608 | 2G3/8-19 | 21214 | 145 | 40 | 27
{ 5TN-08-04 | ZG1/2-14 | Z1/4~18 | 195 | 27 | 24
£ bop 5TN-08-06 | ZG1/2-14 | 73/8~18 | 195 | 27 | 4
s 5TN-08-08 | ZG1/2-14 | Z1p14 | 195 | 46 | o7
5TN-08-12 | 7G1/2-14 | 23414 | 195 | 49 | 36
STN-12-06 | 7ZG3/414 | 73/8~18 | 195 | 29 | o7
L | STN-12-08 | ZG3/4-14 | 71/2~14 195 | 29 | 27
5TN-12-12 | 7G3/4™14 414 195 | 49 | 36
A [ STN-16:08 | 76111 | 21214 | 245 | 34 | 36
SINI612 | Z61-11 | 234414 | 245 | 34 | 3
7—¢—§ SINT616 | Z61-11 | Z1115 | 245 | 58 | 41
STN-20-16 | ZG1.1/411 | 71115 25 | 38 | 46
| || 5TN-2020 | ZG1ya-1 [Z1/a-115 | 25 | 59 | 50
SIN2416 [ZG102-11 | zmns | 25 | 42 | 50
E NE 5TN-24-20 | ZG1.1/211 |Z1.0/4115 | 25 | 42 | 50
5 STN3224 | 7611 |21/ 115 | 29 | 47 | 65

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



—

C. BSP ADAPTERS

/AFAXXIONFLEX
IS GAS MALE 60°CONE
15 Thread Dimensions
Part No. E F Al B|L|S
L 150002 | GI/8-28 | GI/g-28 122 [12 [30 [14
A B 150404 | GIA~19 | GI/4™19 15 [15 |36 [ 17
- 150606 | G38-19 | G3/8-19 16 |16 | 39 |19
— — 150808 | G214 | G114 19 |19 |46 | 2
— 1591212 | G414 | G3/4™-14 B |23 | 5% |30
s 151616 | G111 GI™11 2% |25 |61 |36
— 152020 | GLIA-11 | GL.I/4-11 27 |27 |67 | %
j\]d 152424 | GLIZ11 | GLI2A1 7 |27 68 |50
153232 | 6 G211 30 (37770
JIS GAS MALE 60°CONE PLUG
45 Thread Dimensions
Part No. E |k | 5
L 4502 G1/8-28 12 |18 |14
A 4504 G1/4™-19 15 [ 21 |17
Ly 4506 G3/8-19 16 | 23 |19
= 4508 | GI/2-14 9|27 |2
4512 G3/4"-14 23132 13
s 4516 G111 2% |36 | 36
.’ 4520 | G141 7 [ 40 | %
>=}7u 4524 | G121 27 | 41 |50
45-32 G211 30 |47 |70
65N JIS GAS MALE 60°CONE BULKHEAD
Thread Dimensions
k Part No. E F AlB[L]s [
B e gt 6S04IN | GI/4-19 | G1/4™-19 15 [ 32 [54 [19 |19
K 6506 IN | G3/8-19 | G3/8™19 6 | 36 | 60 | 22 | 22
il QI |:1 6508IN | GI2-14 | GI“14 19 |40 |68 |27 |27
6512IN | G3/4~14 | G3M4™14 TR R RERE:
6516 IN | 6111 G111 25 |45 |85 | 41 | 41
Please delete "LN" after the part number if don't need with lock nut for example 65-16.
JIS GAS FEMALE 60°SEAT PLUG
05 Thread Dimensions
Part No. E Al LS
C% 9504 G1/4™19 8 |14 |17
[ ) 9506 G3/8™19 9 |15 [
—— 9508 G1/2"-14 95 [155 | 27
...t 9512 G3/4"14 115 [185 | 32
| LY 95-16 G111 4 | 20 | 4
;l==‘7‘ 9520 | GLIA1 15 |28 |50
9524 | GLI2M 17 |25 |55
AL L 95-32 G211 B |80

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A EI



C. BSP ADAPTERS

@AXXION FLEX
15G JIS GAS MALE 60°CONE/BSP MALE O-RING
Thread Dimensions
L [ Part No. mE F A B | q_|_ 55
A B 1560202 | GI/8"28 | G1/8-28 12 |8 |26 |14
] 15G-04-04 | GI1/4-19 | G1/4~19 15 | 12 1335 | 19
TR I : 1560606 | G3/8-19 | G3/8-19 16 |12 [36 | 22
T |H| | 1560808 | G1/2-14 | G1/2-14 19 |14 |42
= w 1561212 | G314 | G414 B |16 |49 |32
1561616 |  G1"11 GI™11 25 |18 | 54 | &
;=}LF— 1562020 | GLI4-11 | GL1/4-11 27 | 20 | 61 | 50
15G-24-24 | GLI211 | G121 0 [ 22 64 |55
1569-0G JIS GAS MALE 60°CONE/BSP MALE O-RING ADJUSTABLE STUD END
Thread Dimensions
3 Part No. E F Al B[S s
1569-02-020G | G1/8-28 | G1/8™-28 3 (265 | 11 |14
’ 15G9-04-040G | G1/4~19 | G1/4™19 % |32 |14 |19
] w 15G9-06-060G | G3/8™19 | G3/8™19 ¥ [3|19|n
e 15G9-08-0806 | G1/2-14 | G1/2-14 7 |42 lw
1569-12-120G | G3/4"-14 | G3/4-14 44 |50 |7 132 |
" 1569-16-160G | G1™11 G1™11 48 555 | 33 | 41
||| J 1569-20-200G [G1.1/4-11 | G1.1/4"11 27 |57 | 41|50
i J Nog 1569-24-240G [G1.1/2-11 | G211 59 | 63 | 48 | 55
it Please add "TO"after the part number if there is nowasher out of the O-ring on the product,
for example 15G-12-12T0,15G8-12-12 0G/TO
JIS GAS MALE 60°CONE/NPT MALE
Thread Dimensions
Part No. E F Al B LTS
1SN 1SN-0202 | GI/8-28 | Z1/8-27 12 10|28 |14
15N-04-04 | GI/4-19 | 21/4-18 15 [145 [355 | 17
; 1SN-04-06 | G1/4™-19 | Z3/8™18 15 [145 1355 | 19
1SN-06-04 | G3/8™19 | Z1/4-18 16 [145 [365 | 19
A B 1SN-0606 | G3/8™19 | Z3/8™-18 16 145 365 | 19
. 1SN-0608 | G3/8-19 | Z1/2-14 16 [195 1435 | 22
T === 15N-08-06 | G1/2-14 | 73/8™18 19 (145 [415 | 2
n 15N-08-08 | G1/2-14 | 71/2-14 19 [195 [465 | 2
1SN-1208 | G3/4™14 | Z1/2-14 23 (195 [525 | 30
= > 1SN-1212 | G3/4™14 | Z3/414 3 (195 [525 | 30
f 15N-16-16 | G1™11 21115 25 (245 | 62 | 41
15N-2020 | GLIAMI|Z1.0/4%115 27 | 25 |65 | 46
I5N-24-24 | G111 |Z1.1/211.5 .27 [ 25 | 66 | 30
1N-3232 | G2“-11 22'11.5 01207 |70

m sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



—
C. BSP ADAPTERS

AFAXXION FLEX

JIS GAS MALE 60° CONE/ NPT MALE

Thread Dimensions
1SN4 Part No. E F AlLI|Ss
1SN4-02:02 | GI/8~28 | zim-a7 21 | 175 | 11
1SN4-04-04 | GI/4~19 | Z1/4™-18 22 |22 | 14
1SN4-06-06 | G¥819 | Z3/B-18 25 | 22 | 19
F 1SNA-0B-08 | G1/2-14 | Z1"-14 28 | 28 | 22
" \l 5 1SN4-12-12 | GI4™-14 | Z31™14 CHIEREL
1SN4-16-16 | G1%-11 Z1-115 38 | 38 | 33
A \s 1SN420-20 | GLAM11 | Z1.14%115 02| “
15N4-24-24 | G111 | 2142115 47 | 47 | 48
90° JIS GAS MALE 60° CONE/ NPT MALE
Thread Dimensions
1SN9 Part No. E F AlL]|S
1SN9-02-02 | GI/8"-28 | 2127 2 | 2 | 1
_1‘ 1SN9-04-04 | GUA19 | Z1/4-18 25 | 25 | 14
E . 1SNG-0406 | GUA-19 | Z3B-18 28 | 28 | 17
1SNS-06-04 | G319 | Z1/4™-18 26 | 28 | 17
1SNG-06-06 | G3/a™-19 | Z3m-18 28 | 28 | 17
= Iu 1SN9-08-08 | GI/2-14 | Z1R"-14 37 | 36 | 2
1SN9-12-12 | GI&"14 | Z314"-14 2| 0| 2
A S 1SNS-16-16 | G1™-11 Z1-115 TR EE
1SN9-20-20 | G141 | 2114115 57 | 53 | 41
1SNS-2424 | G121 | Z14R~15 50 | 59 | 48
JIS GAS MALE 60° CONE/ BSPT MALE
Thread Dimensions
Part No, E F A | B L 5
15T-02-02 | G18™28 | ZG1#@"-28 12 110 |28 | 14
1ST 1ST-04-04 | GI/4~19 | ZG1/4™19 15 |145 |355 | 17
1ST-04-06 | GI/4"19 | ZG38™-19 15 (145 [355 | 19
L 1ST-06-04 | G819 | 2G1/4™-19 16 |145 |365 | 19
A B 1ST-06-06 | G319 | ZG3B™-19 16 (145 365 | 19
i 1ST-06-08 | GaB™19 | ZG1/2-14 16 |195 |435 | 22
15T-08-06 | G114 | ZG3/@™19 19 [145 [#15 | 22
1ST-08-08 | G114 | ZG1/2"-14 19 (195 |465 | 22
L 1ST-12-08 | Ga/d™14 | ZGiR-14 23 (195 |525 | 30
_ . 1ST1212 | G414 | ZG3M™14 23 195 |525 | 30
>=’;\7,_)‘==§ 1ST-16-16 | G1~11 ZG1-11 25 (245 |615 | 41
15T-2020 | G111 | ZG1.1/4"11 27 |25 |65 | 46
15T-24-24 | G111 | ZG1AR™1 27 | 25 | 66 | 50
15T-32-32 | G211 2G2"-11 30 |29 | 76 | 70

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A m




_,.‘

C. BSP ADAPTERS

15T4

51

@AXXION FLEX
45°J1S GAS MALE 60°CONE/BSPT MALE
Thread Dimensions
Part No. £ F A|B| S
15T4-02-02 | G1/8-28 | ZG1/8"-28 2 11751
15T4-04-04 | GI1/4-19 | ZG1/4'-19 |2
15T4-06-06 | G3/8"-19 2G3/8"-19 2512 |19
15T4-08-08 | G1/2'-14 ZG1/2"-14 28|28 | 22
15T4-12-12 | G3/4"-14 2G3/4"14 3313 |27
15T4-16-16 G1™11 G111 38 | 38 | 33
15T4-20-20 | G1.1/4*~11 | ZG11/4"1 42 | 42 | 4
15T4-24-24 | G1.1/2"11 | ZG1.1/2"1 47 | 47 | 48
90°JIS GAS MALE 60°CONE/BSPT MALE
Thread Dimensions
- Partio. E F Al B| S
15790202 | G1/8-28 | ZG1/8"-28 21211
15190404 | G1/4'-19 | ZG1/4™-19 5 |25 |14
15T9-06-06 | G3/8-19 2G3/8"-19 28 | 28 | 17
15190808 | G1/2-14 | ZG1/2-14 | 37 136 | 2
1519-12-12 | G3/4"-14 2G3/4™14 42 |40 | 7
15191616 | G111 | 761 8 |47 |33
1579-20-20 | G111 | ZG1.1/4"1 57 | 53 | 41
15719-2424 | G121 [ZG11/211 | 159 |59 [48
JIS GAS MALE 60°CONE TEE
Thread Dimensions
Part No. E F F Al B| C| S
AS-04 G1/4"-19 G1/4-19 | G1/4~19 | 26 | 26 | 26 | 14
AS-06 G3/8-19 G3/8~19 | G3/8-19 |29 | 29 | 29 | 19
AS-08 G1/2"-14 GI/214 | G1/214 |37 |37 |37 | 2
AS-12 (G3/4"14 G3/414 | G3M4-14 |44 |4 (M4 |17
AS-16 G1™11 G1™-11 GI"-1 48 | 48 | 48 | 313
JIS GAS MALE 60°CONE/FEMALE 60°SEAT BRANCH TEE
Thread Dimensions
Part No. E F F A|l B| C| S| S
BS-04-04-04 G1/4"-19 G1/4-19 | G1/M4~19 | 26 | 8 | 26 |14 |19
BS-06-06-06 G3/8"-19 G3/8-19 | G3/8-19 | 29 |85 | 29 |19 | 22
BS-08-08-08 G1/2"-14 G214 | GI/214 | 37 |105 [ 37 |22 |27
BS-12-12-12 G3/4"-14 G3/414 | G3/4-14 | 44 |14 | M |27 | B2
B5-16-16-16 G1°-11 G611 G1"-11 48 |145 | 48 | 33 | 41

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com




AF/AXXIONFLEX







www.axxionflex.com




F

D

1C-RN 1D-RN

P

D. METRIC TUBE ADAPTERS

(

m

D2

—
e

- — —

109 109

1C9-RN 1D9-RN

F'JM

s
( |

| A=
D2

A

Ll
@AKRION FLEX
METRIC MALE 24°
Thread TUBEOD Dimensions
Part No. F D1 D2 | Al B L[S ]S
1C-12 MI2X15 | MI2X1.5 i} b M 110 | 24 12 |14
1C-14 M14X1.5 | M14X1.5 B 8 10 110 125 |14 |17
1C-16 M16X15 ] MieX15| 10 10 nmjinm|a (17 (19
1C-18 MIBX15 | MIBX1S| 12 12 N5 1N5129 |19 | 2
1¢-22 M22X15 | M22X15| 15 15 125 [125 | 31 | 4 | &7
1C-26 M26X15 | M26X15]| 18 18 125 125 | 32 | 37 | 32
1C-30 M30X2 | M30X2 22 22 14 |14 |35 |32 | 3
1C-36 M36X2 | M3BX2 28 28 15 |15 | 38 | 41 | 41
1C-45 Ma5X2 | M45X2 35 35 16 | 16 | 44 | 46 | 50
1C-52 M52X2 | M52%2 42 42 16 | 16 | 43 | 55 | é0
10-14 | M14X1.5 | M14X1.5 i} 6 12 112 130 [ 14 |17
1D-16 M16X1.5 | MI6X1.5 8 B 12 112 130 [17 |19
10-18 M18X1.5 | MI8X1.5 10 10 12 112 |32 |19 | 22
1020 | M20X1.5 | M20X15 | 12 12 (112
10-22 | M22X1.5 | M2X15( 14 14 14 114 138 |4 |2
1D-24 | M24X1.5 | M24X1.5 16 16 14 |14 | 38 | 27 | 30
1D-30 | M30X2 | M30x2 20 20 16 116 | 44 |32 | 36
1D-36 M36%2 | M36X2 25 25 18 |18 | 50 | 41 | 4
1042 | M42X2 | M42X2 30 30 20 [ 20 [ 54 [ 46 [ 50
D52 | M52X2 | M52X2 | 38 38| 22 [ 22 | 61 155 | 60
90'METRIC MALE 24°
Thread TUBEOD Dimensions
Part No. E F D (1] A B 5 | 51| S2
169-12 | M12X15 | M1205| 6 6 || n |14
109-14 | M14X15 | MI4X15| 8 8 |2 |27 |17
109-16 | M16X1.5 | M16X1.5 10 10 23 1023 |14 119 |19
1C9-18 | MIBX15 | MI1BX15 12 12 5|5 |77 | 2|2
109-22 | M22X15 | M22X15 15 15 29129 |19 |27 |27
10926 | M26X15 | M26X15 18 18 32 |32 | 4 |32 |32
109-30 | M30X2 | M30X2 22 22 36 | 3 | 27 | 36 | 36
109-36 | M36X2 | M36X2 28 28 39 139 |33 | &1 | 4
10945 | M45X2 | M45X2 35 35 47 | 47 | 41 | 50 | 50
109-52 | M52%2 | M52)2 42 42 52 | 52 |48 | 60 | 60
109-14 | M14X15 | M14X15 ] 6 2RI
10916 | M16X1.5 | MI6X15| 8 8 |24 |24 [14 [ 19 [19
109-18 | M1BX1.5 | MIBX15 10 10 % | 2w |17 | 22 | 22
109-20 | M20X1.5 | M20X15] 12 12 292917 24|
109-22 | M22X1.5 | M22X15 14 14 305 1305 | 19 | 27 | 27 |
109-24 | M24¥15 | M24X15 16 16 33 ] 33 | 24 | 30 | 30
109-30 | M30X2 | M30X%2 20 20 37 | 3|7 | 36|36
10936 | M36X2 | M36X2 | 25 5 |48 |83 [ 44
109-42 | M42X2 | M42X2 30 30 50 | 50 | 41 | 50 | S0
10952 | M52X2 | M52 38 38 57 157 148 [ 60 | 60

If you are interested to order the adapter in complete set with cutting ring and nut, it is necessary to insert
suffi"RN"after our part NO, for example "1C9-22 RN",

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



D. METRIC TUBE ADAPTERS

AF/AXXIONFLEX

206w 2D-W

METRIC MALE/FEMALE SWIVEL 24°
Thread TUBEQ.D Dimensions
PartNo. | E F | or | 02| AlBl LSS
CIIW | MI2Kis| M5l 6 | 6 |10 (05 |28 (12 (17 |14
JCI4-16W | MIAXT5| MIeXIS| 8 |10 |11 |15 (33 [17 |19 |17
C1AW [ MIaXIs| Maas| 8 | 8 |1 [15 [31 |14 |17 |17
CI6W | MI6Kis| MIeXis| 10 |10 |11 |15 (3 17 [19 |19
2C-16-19W | MI6X15| MI8XIS| 10 | 12 |1 |2 (33 (17 |22 |19
218N [MIBIS|MIBKIS| 12 [ 12 115 |2 B35 [19 |2 |22
W [MXIS[MZXI5[ 15 [ 15 25 [1i5 (30 (24 (27 |27
C26W | NZ6X15 [ MIKiS| 18 |18 K25 |1 895 [27 (32 |32
30 [M30X2 [WB0K2 | 22 (22 (14 |3 (43 (37 (3% |%
2CWRN ID-WRN 360 [M36X2 [M36X2 | 28 | 28 (15 (25 (46 (41T |41 |41
AW [NESX2 [WASK2 |35 |35 (15 (25 555 (50 (50 |41

= . 050W [Ms2X2 (M52 |42 |42 |18 25 |60 |60 |60 |50
k 20-14W [ M14X1.5 | M14X15] 6 6 |12 [2 B5 [7 [17 [17
r 20-16W [ M16X1.5 | M16X1.5]| 8 8 112 |2 33 17 _[19 [19
5 5 08w [misasimisxas| 10 [0 [12 |1 Bas [19 |2 |22
) 020w (Mo |Maoxas| 12 |12 12 |2 (38 (2 |a |
. 020w [Maas|Maasid [ 14 14 [2s Bes (a4 |7 (@
024W [ M24X1.5[M24X15[ 16 |16 [14 1.5 (42 [27 (30 |30
030w [m3ox2 [m30x2 |20 [ 20 [16 [25 [50 [32 |36 |36
036W  [mex2 |[Mex2 |25 |25 [18 |2 [54 |41 [a1 |41
04W [m42x2 [max2 (30 [30 [0 |5 [56 [46 |50 |50
05w [Ms2x2 [ms2 |30 [38 [2 [6 |58 [50 |60 |60
METRIC FEMALE/FEMALE SWIVEL 24°
Thread TUBEQD Dimensions
Part No. E F D DI | A| B | L|S]|S
3CW 3D-W 3C12W [ Miaxis| mixis| 6 6 |05 (05 |31 [17 |17
3C14W [ M14X15|Mi415| 8 | 8 |15 |15 [ 31 [17 |17
3C-16W | M1ex1.s|Miexts] 10 | 10 |15 {15 [ 37 [19 [ 19
318w [Misxis(miexis| 12 [ 12 [ 212 (3 [0 |2
32w [Maxas maaas] 15 | 15 15 (1.5 |41 |27 [ 27 |
3C-26W [ M26X1.5|M26X15] 18 | 18 | 1 | 1 |42 [32 |32
3C30W | Mm30x2 [M30X2 | 22 | 22 [ 3 |3 [44[36 |36
3C36W [ M36X2 [M36x2 | 28 | 28 |25 [25 [ 50 [ 41 | 4
3C45W [ m4sx2 |m4sx2 | 35 | 35 [ 3 | 3 [53]50 |50
3C5IW | Ms2X2 [ Ms2x2 | 42 | 42 [25 |25 [ 62 | 60 | 60
3D-18W [M18X1.5 MT8Xis| 10 [ 10 [ 1 | 1 [37 |22 |22
30-20W [ m20x1.5/M20X15] 12 | 12 [ 2 [ 2 |40 |24 [ 24|
3D-22W [ M22X1.5 M22X15] 14 | 14 25 25 [39 |27 |27
30-24W | M24x1.5M24X15] 16 | 16 |15 [15 [ 41 [ 30 | 30
30-30W | M30x2 [M30X2 | 20 | 20 [25 [25 [44 |36 |36
30-36W | M36x2 [M3eX2 | 25 | 5 [ 2 12 s[4 [ 4
30-42W | M42x2 [M42X2 | 30 | 30 [ 5 | 5 |49 |50 | 50
352w (M52 (M52 | 38 | 38 [ 6 [ 6 |55 |60 |60

If you are interested to order the adapter in complete set with cutting ringand nut, it is necessary to
insert suffix"RN"after our part NO, for example "2C-22 RN".

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Iﬂ



P

D. METRIC TUBE ADAPTERS

209-W 209-W
F
= 1]
'—

209-WRN 2D9-WRN

4C 4D

4C-RN 4D-RN
st

1t

Ll
@AXMON FLEX
90°METRIC MALE/FEMALE SWIVEL 24°
Thread TUBEOD Dimensions
Part No. E F D D1 A R S 1| S2
209-12W [ M12X1.5] M12X15] 6 6 A los [ 7] 1
209-14W [ M14X1.5] M14X15] 12 2 12 15 [ 12 [ |7
209-16W | M16X1.5| M16X1.5] 10 0 |23 [15 |14 [19 ] 19
209-18W [ M18X1.5] M18X15] 12 R’ IS 1T3 177 1T 23]%
209-2W | M22X1.5] M22X1.5] 15 15 |29 |15 |19 || 27 ]
209-26W | M26X1.5| M26X15] 18 B | R 1 THE'EE
| 209-30W [ m3ox2 [M30X2 | 22 | 2 [ 36 | 3 27 |36 | 3
20936W | M36X2 | M36X2 | 28 | 28 | 39 |25 | 33 | &1 | &
209-45W [ Masx2 [ masx2 | 35 [ 35 | 47 | 3 41 | 50 | 50
209-52W [ Ms2x2 [ M52X2 | 42 | 42 | 52 |25 | 48 | 60 | €0
200-14W [ M14x1.5] M14X15] 6 6 | 2 2 2 177
209-16W | M16X1.5| M16X15] 8 8 [ 24 | 2 [ 14 |19 [ 19
209-18W | M18X1.5] M18X15] 10 0 | 2% ] 7 |2 | n
2D9-20W | M20X1.5] M20X1.5] 12 12 w9 2 19 | 24 | M4 |
209-22W | M22X1.5] M22X15] 14 4 130525 9[22 | &
209-24W [ m2dxas|m2ax1s] 16 | 16 | 33 |15 | 24 | 30 | 30
209-30W [M30X2 [ M30X2 | 20 | 20 | 37 |25 | 27 | 36 | 36
209-36W [M36X2 [ M36X2 | 25 | 25 | 43 | 2 [ 33 | &1 | 4
209-42W [ M42X2 [M42X2 | 30 | 30 [ 50 | S 41 | 50 | 50
20052W [Mms2x2 IMs2X2 | 38 | 38 [ 57 | 6 [ 48 | 60 | 60
METRIC MALE 24°PLUG
Thread TUBE 0D Dimensions
Part No. E D I ERES
4C12W M12X1.5 b 10 [14]12]14
AC-14W M14X15 8 10 {15 [17 |17
4C-16W M16X15 10 1n 161719
4C-18W M18X15 12 115|175 [ 19 [ 22
4C-22W M22X15 15 125 (185 [ 2 | &7
4C-26W M26X1.5 18 125 (195 [ 27 | 32
4C-30W M30X2 0 4l a]3213%
4C-36W M36X2 28 5344
4C-45W M45X2 35 16 | 25 | 46 | 50
4C-52W M52X2 42 16 | 27 |55 |60
4D-14W M14X15 3 21177
4D-16W M16X15 8 12 117 [17 |19
4D-18W M18X15 10 12 (2019 |2
4D-20W M20X1.5 12 N2 |n |24
4D-2W M22X15 14 14 |24 |4 |7
4D-24W M24X15 16 HEFEFAE
4D-30W M30X2 20 16 |28 |32 |3
4D-36W M36X2 25 18 [ 32 | 41|41
4D-42W M42X2 30 20 [ 34 |46 | 50
4D-52W M52x2 38 2 [39 |55 |60

If you are interested to order the adapter in complete set with u.rttl“r:g ring and nut, it is necessary to

insert suffix"RN"after our part NO, for example 4C-22 RN.

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



- —
D. METRIC TUBE ADAPTERS

@AKI\' IONFLEX
BSP MALE 60°SEAT BULKHEAD
6C-LN Thread TUBEOD Dimensions

6D'LN Part No. E F D D1 A B L S 1 51| %2

6C-14LN | M14X15] M14X15] 8 8 10 | 34 [ 49 [19 [ 19 [17

L 6C-16LN | M16X1.5| M16X1.5] 10 10 11 | 35 |52 |2 | 2119

X : 6C-18LN | M18X1.5] M18X1.5] 12 12 (NS5 [36 [ 53 |24 |24 |22
| 6C-22 LN | M22X15]| M22X1.5| 15 15 (125 | 38 | 57 | 27 |30 | 27 |

= - |_6C26LN_ | M26X1.5| M26X1.5| 18 | 18 [125 | 40 |615 | 32 | 36 | 32
) 6C-30LN_ | M30X2 [M30X2 | 22 | 22 |14 |42 [ 66 | 36 | 41 | 36
wlo “| [6C36IN_ | M36X2 [ M36X2 | 28 | 28 |15 |43 | 70 | 41 | 46 | 41
6C45IN | M45X2 | M4sX2 | 35 | 35 |16 | 47 | 76 | 50 | 55 | 50
W 6C-52IN_ | M52x2 [Ms2x2 | 42 | 42 |16 |47 | 77 | 60 | 65 | 60
6D-18LN | M18X15] M18XIS] 10 | 10 [ 12 | 37 | 59 | 24 | 24 | 22

6D-20LN | M20X1.5| M20X1.5] 12 12 112 |38 |60 |27 [ 27 | 4

D

6C-LN/RN 60-22IN | M22X15] M22X1.5] 14 | 14 |14 | 40 | 65 |30 |30 | 7
6D-24LN | M24X15| M24X15] 16 | 16 | 14 | 40 | 65 | 32 | 32 | 30

6D- LN/RN 6D-30LN_ | M30X2 | M30X2 | 20 | 20 |16 | 44 | 72 | 41 | 41 | 36
o 6D-36IN | M36X2 | M36X2 | 25 | 25 |18 | 47 | 79 | 46 | 46 | 41

6D-42LN_ | M42X2 | M42X2 | 30 | 30 |20 | 51 | 8 | 50 | 50 | 50
8:, 6D-52IN | M52x2 | M52X2 | 38 | 38 | 22 | 55 | 91 | 65 | 65 | 60

|
o S s
)

e —

_
90° METRIC MALE 24°BULKHEAD
Thread TUBEQD Dimensions
Part No. E F D Dl | Al B| S| S1] %
6CO-14LN | MI&X15| M14X15| 8 | 8 | 21 | 51 |12 | 19 | 17
6C9-LN/RN 6C9-16LN | M16X1.5| M16X15] 10 | 10 |22 |53 [ 14 [ 22 [ 19
6CO-18IN [ MIgX15|misX1s| 12 | 12 [ 24 |56 |17 |24 | 22
6D9-LN/RN 6C9-22IN | M22X15| M22x15| 15 | 15 | 28 | 61 | 19 | 30 | 27
6C9-26LN | M26X1.5|M26X1.5| 18 | 18 | 34 | 64 | 24 | 36 | 32
F 6C9-30LN [ M30X2 [M30X2 | 22 | 22 [ 38 | 73 |26 | 41 | 36
D1 6C9-36LN | M36X2 | M36X2 | 28 | 28 (405 | 79 | 34 | 46 | 41
— 6C9-45LN | M45X2 |M4SX2 | 35 | 35 |45 | 86 | 41 | 55 | 50
. 6C952LN | M52X2 |M52%2 | 42 | 42 [ 57 | 95 | 50 | 65 | 60
| 6D9-18LN | MI8X15] MI8X15] 10 | 10 | 25 | 57 | 17 | 24 | 22
@ 6D9-20LN | M20X15| M20X15[ 12 | 12 | 29 | 59 | 17 | 27 | 24
g ] 6D9-22LN | M22X15| M22X15] 14 | 14 |30 |63 |19 |30 | 27
o 6D9-24IN | M24X15| M24X15| 16 | 16 | 33 | 64 | 24 | 32 | 30
u| o] | = 609-30LN | M30X2 | M30X2 | 20 | 20 | 38 | 74 | 26 | 41 | 36
| S, 609-36LN | M36X2 | M36X2 | 25 | 25 | 42 | 81 | 34 | 46 | 41
" 6D9-42IN | M42X2 | M42X2 | 30 | 30 |49 | 90 | 41 [ 50 | 50
6D952LN | M52X2 | M52X2 | 38 | 38 | 57 | 96 | 50 | 65 | 60

If you are interested to order the adapter in complete set with cutting ring and nut, it is necessary to insert
suffix"RN"after our part NO, for example 6C9-22 RN.

Please delete "LN" after the part number if don't need with lock nut for example 60-36.

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



P

D. METRIC TUBE ADAPTERS

8C 8D

il
o)

9C 9D

———
——

@AKKION FLEX
METRIC LOCK NUT
Thread Dimensions
Part No. E L | S
8C-10 M10X1 6 | 14
8C-12 M12X1.5 15 | 17
8C-14 M14X1.5 75 | 19
8C-16 M16X1.5 6 | 22
8C-18 M18X1.5 75 | 4
8C20 | M20X1.5 8 |27
8C-22 M22X1.5 8 | 30
8C-24 M24X1.5 8 | 32
8C-26 M26X1.5 8 | 36
8C-27 M27X1.5 8 | 36
8C-27X2 | M27X2 8 | 36
8D-30 | M30X2 85 | 41
8C-33 M33X2 9 | 41
8D-36 M36X2 9 | 46
8C-42 M42X2 10 | 50
8C-45 M45X2 10 | 55
8C-48 | M48X2 10 | 55
8C-52 M52X2 10 | 65
METRIC FEMALE 24°L/H.T.CAP
Thread TUBEOD Dimensions
Part No. E D L 8
9C-12-06 | M12X1.5 b 185 14
9C-14-08 | M14X1.5 8 18.5 17
9C-16-10 | M16X1.5 10 20 19
9C-18-12 | M18X1.5 12 205 22
9C-22-15 | M22X1.5 15 20.5 27
9C-26-18 | M26X1.5 18 26 32
9C-30-22 | M30X2 2 255 36
9C-36-28 | M36X2 28 25.5 41
9C-45-35 | M45X2 35 30 50
9C-5242 | M52R2 5] 30 60
9D-16-08 | M16X1.5 8 215 19
9D-18-10 | M18X1.5 10 235 22
9D-20-12 | M20X1.5 12 24 24
9D-22-14 | M22X1.5 14 25 27
9D-24-16 | M24X1.5 16 26 30
9D-30-20 | M30X2 20 31 36
9D-36-25 | M36X2 25 3 41
9D-42-30 | M42X2 30 335 50
9D-52-38 | M52X2 38 355 60

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



—

D. METRIC TUBE ADAPTERS

AXXION FLEX
METRIC MALE 24°/BSP MALE CAPTIVE SEAL
1CB-WD 1DB-WD Thread TUBEO.D Dimensions

Part No. E F D Al Bl L[S |8

L 1CB-12-04WD| MIZX1.5 [G1/4~19 | 6 10 112 [31 119 |14

X 5 1CB-14-04WD| M14X1.5 [ G1/4~19 | 8 0 [12 [29 [19 [ 17
1CB-16-04WD| M16X1.5 | G1/419 | 10 1M 112 [30 |19 [19

1CB-16-06WD| M16X1.5 | G3/8-19 | 10 1 [12 (31522 119

1CB-18-06WD| M18X1.5 [ G3/8~19 | 12 s (2 l2l2

“ e & 1CB-22-06WD| M22X15 | G3/819 | 15 s lxalnlxa
- 1CB-26-08WD| M26X1.5 [ G1/2-14 | 18 125 | 14 [355 [ 27 | 32
Jk]u’ 1CB-26-12WD| M26X15 | G3/414 | 18 125 | 16 1385 | 32 | 32
1CB-30-12WD| M30X2 | G3/4™14 | 22 14 [ 16 |40 [32 |36

1c&3&15wn| M36X2 | G111 28 15 118 #4414

1CB-45-20WD| M45%2 [GL.1/4-11 35 16 |20 [ 48 |50 |50

1CB-52-20WD| M52%2 [GL.1/4-11| 42 16 | 20 |50 |55 | 60

1CB-52-24WD| M52X2 lar.1/2-11] 42 16 | 20 |52 |55 |60

1CB-WDRN 1DB-WDRN 1DB-18-06WD] M18X1.5 | G3/8-19 | 10 12 |12 |33 |22 |22
10B-20-08WD] M20X1.5 [ G1/2-14 | 12 12 [ 14 38 |27 |24

% 10B-22-08WD] M22X1.5 [G1/2-14 | 14 14 114 Ja05 [27 |27
— | 1DB-24-0BWD] M24X1.5 [ G1/2-14 | 16 14 114 [41 127 [30

T 1DB-30-12WD] M30X2 | G3/414 | 20 16 116 |49 132 |3

B 1DB-36-16WD] M36X2 | G111 | 25 18 118 |52 |41 41

o ) -20WD] M42x2 laL1411] 30 20 120 [ 57 [50 [50
} Wil 108:52:24W0[ Ms2X2 JG1.1211] 38 2 12 et |55 | 60
“—*’ METRIC MALE 24°/BSP MALE 60°CONE

Thread TUBEQD Dimensions

Part No. E F D Al B L[S ]S

1CB 108 1081202 | M12X1.5 | G1/8™-28 | 6 108 [ 24 [14 14

1CB-14-04 | M14X15 [ G1/4~19 | 8 1121291917

L 1CB-16:06 | M16X1.5 | G3/819 [ 10 1 (13532 [22 119

A B 1CB-18:06 | M18X1.5 [ G3/8-19 | 12 NS (13533 [2 [ 2

— T 1CB-2208 | M22X15 | GI/2-a | 15 125 [ 16 [365 | 27 | 27

1 r 1CB-2608 | M26X15 | G1/2-14 | 18 125 [ 16 (365 | 27 | 32
[ " I || | | 10830-12 | M30X2 | G3/4-14 | 22 14 [ 18 [41 [32 |36
[ 1CB36-16 | M36X2 | GI™11 28 5 119 8384 4a

= — 1084520 | M45X2 [G1a/a11] 35 16 | 20 [ 48 |50 |50
_bJ 108-52-24 | M52 lena2-n| 4 16 | 22 |52 |55 |60

1DB-14-04 | MI4X15|G1/4-19 [ 6 12 (12 [32 [19 [17

1DB-16:04 | M16X15 | G1/4~19 | 8 12 112 32119 |19

1CB-RN  1DB-BN 1DB-18-06 | M18X1.5 | G3/8"-19 10 12 [135 |335 |22 | 22
1DB-20-06 | M20X1.5 | G3/8-19 | 12 12 1135 (335 |22 | 24

il 10B-2208 | M22X1.5 | G1/2-14 | 14 4w |07 |2

M 10B-24-08 | M24X1.5 | G1/2-14 | 16 14 |16 |40 |27 |30

\ mr~-|= 1DB-30-12 | M36X2 | G3/4~14 | 20 16 |18 |46 |32 |36
il _1DB-36-16 | M36X2 | G111 | 25 18 |19 [ 41 [50 | 41
) 1 | 1084220 | M42X2 [GLIA™-TT]| 30 20 120 [ 54 [50 |50
¢ E — 1DB-52-24 | M52X2 IGLI/211] 38 2 |22 [60 155 |60

In case if you are interested to order the adapter in complete set with cutting ring and nut, it is necessary to
insert suffix"RN"after our part NO, for example 1CB-22-08WD/RN.

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



i

D. METRIC TUBE ADAPTERS

1CG-RN

|

——

1DGAN

]

i
AF/AYXIONFLEX
METRIC MALE 24°/BSP MALE CAPTIVE SEAL
Thread TUBEQ.D Dimensions

Part No. E F D A|lB|lL]S]|S
1CG-12-02 | M12X1.5 | G1/8™-28 6 10 | 8 |245 |14 | 14
10G-12-04 | M12X1.5 | G1/4-19 6 10 [ 12 129 |19 |14
10G-14-04 | M14X1.5 | G1/4-19 8 10 [12 129 |19 |17
1CG-16-04 | M16X1.5 | G1/4™-19 10 1M {12 1305119 |19
1CG-1606 | M16X1.5 | G3/8™-19 10 112 3512 |19
10G-18-06 | M18X1.5 | G3/8™19 12 NS 112 132 12 |22
1CG-18-08 | M1BX1.5 | G1/2"14 12 15 |14 [ 34 |27 | 22
10G-22-08 | M22X15 | G1/2™-14 15 125 (14 |35 |27 | 27
10G-22-10 | M22X1.5 | G5/814 15 125 [ 15 | 37 | 30 | &7
10G-26-08 | M26X1.5 | G1/2°-14 18 125 114 |35 |27 | 2

10G-26-12 | M26X1.5 | G3/4™-14 18 125 | 16 385132 | 32
10G-30-12 | M30X2 | G3/4™14 22 14 |16 | 40 | 32 | 36
10G-36-12 | M3X2 | G3/4™-14 28 15 |16 [ 41 |4 | &
10G-36-16 | M36X2 | G111 28 15 118 |43 | 41 | &4
10G-45-20 | M45X2 |G1.1/4%-11] 35 16 | 20 | 48 | 50 | 50
10G-45-24 | M45X2 |GL1/211] 35 16 | 22 |52 |5 |50
106-52-24 | M52X2 G111 | 42 16 | 22 | 54 |55 | 60
| 1DG-22-08 | M22X1.5 | G1/2"-14 14 14 |14 | 41 |27 | 27
10G-24-08 | M24X1.5 | G1/2™-14 16 14 114 [ 41 127 |30
1DG-30-12 | M30X2 | G3/4™14 20 16 [ 16 | 47 |32 |3
1DG-36-12 | M36X2 | G3/4™-14 25 18 [ 16 |50 | 41 | 4
1DG-36-16 | M36X2 | GI'-1 25 18 |18 |53 |41 |41
10G-42-20 | M42X2 |G1.1/4-11] 30 20 |20 | 57 |50 | 50
10G-52-24 | M52 |G1L.1/2-11| 38 2 |22 | 64 |5 |60

45°METRIC MALE 24°/BSP  MALE ADJUSTABLE STUD END

Thread TUBE QD Dimensions

Part No. E F D A| B| S| 81| S
10G4-12-02 OG | M12X1.5 | G1/8"-28 6 17 1|23 [ 11 [14 |14
10G4-14-04 OG | M14X1.5 | G1/4°-19 8 17 |28 |14 119 |17
1CG4-16-06 OG | M16X1.5 | G3/8"-19 10 20 0132119 (2 |19
1CG4-18-06 OG | M18X1.5 | G3/8™19 12 20 032 |19 (2 |2
10G4-22-08 OG | M22X1.5 | G1/2"-14 15 B I1217 |7
10G4-26-08 OG | M26X1.5 | G1/2"-14 18 5|18 |27 |27 |2
10G4-30-120G | M30X2 | G3/4"-14 22 275 | 42 |30 |32 |36
1064-36-160G | M36X2 | GI™11 28 30 |45 [ 33 [ 41 [ &4
10G4-45-200G | M45X2  |G1.1/411 | 35 345 | 47 | 41 | 50 [ 50
10G4-20-06 OG | M20X1.5 | G3/8™-19 12 20132 119 [22 |4
11DG4-22-08 0G| M22X1.5 | G1/2"-14 14 45 1 37 12 127 |
10G4-24-08 0G | M24X1.5 | G1/2"-14 16 265 | 42 | 27 |27 | 30
1DG4-30-120G | M30X2 | G3/4"-14 20 285 | 42 | 27 [ 32 | 36
1DG4-36-16 0G| M36X2 | G1™-11 25 33 145 |33 |41 [ 4
1DG4-42-20 0G %2 1G1.1/4%11( 30 385 | 47 | 41 [ 50 |50

In case if you are Interested to order the adapter in complete set with cutting ring and nut, It Is necessary to Insert suffix"RN"
after our part NO, for example 1DG-22-08 RN
Please add "TO"after the part number if there Is nowasher out of the O-ring on the product for example

1CH4-22-08 OG/TO

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



D. METRIC TUBE ADAPTERS

L
AF/AXXIONFLEX
90°METRIC MALE 24°/BSP MALE ADJUSTABLE STUD END
Thread TUBEQ.D Dimensions
Part No. E F D Al B|S|SI| S
1CG9-0G  1DG9-0G 1069-12-020G| M12X1.5 [ G1/828 | 6 19 {265 | 11 |14 |14
10G9-14-040G| M14X1.5 | G1/419 | 8 2 [ 32 114 |19 |17
F 1CG9-16-060G| M16X1.5 | G3/8™19 | 10 25 [36 |19 |22 |19
; 10G9-18-060G| M18X1.5 | G3/819 | 12 25 (36 |19 |2 |2
. 10G9-22-080G| M22X15 [ G1/2-14 | 15 ¥ |4 | n|ulx
n 10G9-26-080G| M26X1.5 | G1/214 | 18 U |8 |7 |7 |
10G9-30-120G| M30X2 | G3/4"14 | 22 36 | 50 |30 |32 |36
10G9-36-160G| M36X2 | G111 | 28 39 (555 133 | 41 |41
" =r 10G9-45-200G] M45X2_|G1.1/411 | 35 47 | 57 | 41 [ 50 |50
— 1DG9-20-060G| M20X1.5 | G3/8™19 | 12 25 [36 [19 22 [
—TXs 1DGS-22-080G| M22K15 | G1/2714 | 14 305 [ 4 |2 [27 |7
1DG9-24-080G] M24X1.5 [ G1/214 | 16 33 148 [27 127 [ 30
1DG9-30-120G| M30X2 | G3/4"14 | 20 37 [ 50 |30 |32 |36
1DG9-36-160G] M36X2 | G111 | 25 42 (555 [ 33 [ 41 | 41
1DG9-42-200G] M42X2 [G1.1/4"11 ] 30 50 [ 57 | 41 |50 |50
METRIC MALE 24°/MALE O-RING SEAL
Thread TUBEOD Dimensions
Part No. E F D Al Bl L[S ]S
1CH-12-10 | 125 | Miox1 | 6 10 | 8 [245 (14 |17
1CH-14-12 | M14X15 | MI12X15| 8 10 112 129 [17 [19
1CH-14-14 | M14X15 | M14X15| 8 10 |12 13 [19 [17
1CH 10H 1CH-16-16 | M16X15 | MI6X15| 10 1|12 [ 32 |22 [19
; 1CH-18-16 | M18X15 | M16X15| 12 115 [ 12 [325 [ 22 [ 22 |
1CH-18-18 | M18X15 | MisXi5| 12 115 |12 [325 | 4 [ 22 |
A B 1CH-22-18 | M22X1.5 | MIsX1.5| 15 125 [ 12 [335 | 24 |27 |
. "y 1CH-22-20 | M22X15 | M20X15| 15 125 | 12 [345 | 27 | 27
|| | | 1CH-22-22 | M22X15 | M2X15| 15 125 [ 15 [375 | 27 | 27
wl & G 1CH-26-22 | M26X15 | M22X15| 18 125 [ 15 [375 |27 | 32
- 1CH-26-26 | M26X15 | M26X1.5| 18 125 [ 16 [385 | 32 [ 32
- 1CH-26-27 | M26X15 | M27Xx2 | 18 125 [ 16 [405 | 32 | 32
1CH-30-22 | M30X2 | M22X15] 22 14 |15 [ 39 |32 ]3
1CH-30-26 | M30X2 | M26X15| 22 14 | 16 (405 | 32 [ 36
1CH-30-27 | M30X2 | M27x2 | 22 14 |16 |40 |32 |36
1CH-36-33 | M36X2 | M33X2 | 28 15 118 |4 |41 [ 4
1CH-RN  1DH-RN 1CH-45-42 | M45X2 | M42X2 | 35 16 | 20 [ 50 | 50 |50
. 1CH-5248 | M52X2 | m4gx2 | 42 16 | 22 |55 | 55 |60
1DH-20-18 | M20X15 | MIgX15| 12 12 112 134 [24 [
k 1DH-22-22 | M22X15 | M2X15| 14 14 |15 [395 |27 [ 27
1 1DH-24-22 | M2aX1.5] M22X15] 16 1415 41|27 (30
& 1DH30-27 | M30x2 | M2 20 16 | 16 | 46 | 32 | 36
i 1DH-36-33 | M36X2 | M33X2 | 25 18 11853 [ 4 [4
[ 1DH-42-42 | N42X2 | M42x2 | 30 20 [ 20 [57 |50 [50
1DH-42-48 | M42X2 | M48X2 | 30 20 | 22 [59 |55 [50
Please add "TO"after the part number if there is nowasher out of the O-ring on the product, for example
1CH-26-22 TO,1CGO-22-08 OG/TO

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



..-—--d

D. METRIC TUBE ADAPTERS

1CH4-0G  1DH4-0G

51

1CH9-0G
1DH9-0G

el

s —
]

10-RN  1DJ-RN

—

=

4
@AXMON FLEX
45°METRIC MALE 24°/ MALE ADJUSTABLE STUD END
Thread TUBEO.D Dimensions
Part No. E F D Al B| S| S| %2
1CH4-12-100G | M12X1.5 | M10X] 6 17 124 111 |14 |14
1CH4-14-120G | M14X15 | M12X1.5 B 17 128 |14 (17 [ 17
1CH4-16-14 0G | M16X1.5 | M14X1.5 10 18 | 28 |14 |19 [ 19
1CH4-18-16 OG | M18X1.5 | MIGX1S | 12 20 132 (19 |2 |2
1CH4-22-180G | M22X1.5 | MI18X15| 15 BN |2 |4 |27
1CH4-26-22 0G | M26X15 | M22X15 | 18 5 |38 |27 |27 [32
1CH4-30-27 0G| M30X2 | M27%2 | 22 275 | 42 |30 |32 | 36
1CH4-36-330G| M36X2 | M33%2 | 28 30 | 43 |33 |41 | 41
1CH4-45-420G | M45X2 | M42X2 | 35 345 1 47 | 41 |50 | 50
1DH4-20-18 0G| M20X1.5 | M18X15[ 12 21132 119 |4 [ A4
1DH4-24-22 0G| M24X15 | M22X1.5 16 245 |32 |22 |27 | 30
1DH4-30-27 0G| M30X2 | M27X2 20 285 | 42 |27 | 32 | 3B
10H4-36-33 0G| M36X2 | M33X2 25 3145 133 |41 |4
1DH4-42-420G] M42X2 | M42¥2 | 30 385 | 47 | 41 |50 | 50
90°METRIC MALE 24°/MALE ADJUSTABLE STUD END
Thread TUBEOD Dimensions
Part No. E F D A| B | S| S| S2
1CH9-12-100G | M12X1.5 |  M10X1 b 19 1265 | 11 |14 | 14
1CH9-14-120G | M14X1.5 | M12X15 B 2 132 |14 |17 |17
1CH9-16-140G | M16X1.5 | M14X1.5 10 23 | 34 |14 [19 |19
1CH9-18-160G | M18X1.5 | M1eX15 | 12 25 135 (192 |2
1CH9-22-180G | M22X1.5 | M18X15| 15 29 1395 |22 |24 | 27 |
1CH9-26-22 0G | M26X1.5 | M22X15| 18 32 |46 | 27 |27 | 32
1CH9-30-27 0G| M30X2 | M27X2 22 B |51 |30 |32 |3
1CH9-36-330G | M36X2 | M33X2 28 39 [ 54 133 141 | 41
1DH9-20-18 OG| M20X1.5 | MI8X15 12 D137 |19 | M4 |4
1DH9-24-22 0G| M24X1.5 | M22X1.5| 16 B4 [ 27|27 ]30
1DH9-30-270G| M30X2 | M27X2 | 20 38 | 51 (30 |32 ]36
1DH9-36-33 0G| M36X2 | M33X2 25 43 | 54 (33 | 41 | 41
1DH9-42-42 0G| M42X2 | M42X2 | 30 5 | 57 | 41 |50 |50
METRIC MALE 24°/JIC MALE 74°CONE
Thread TUBEOD Dimensions
Part No. E F D Al Bl L] S| S
10-12-04 | M12X1.5 | U7M16"-20 6 0 [14 129 (12 |14
10-1404 | M14X1.5 | U7/16™20 B 1M 114 131 |14 |17
10-18-06 | M18X1.5 | U9/16™18 | 12 115 [141 (315 [ 19 [ 22 |
102208 | M22X1.5 | U3/4~-16 15 125 |167 |375 | M4 | X7
10-26-10 | M26X1.5 | U7/8™-14 18 125 [19.3 |405 | 27 | 32
10-30-12 | M30%2 [U1.1/16™-12 | 22 14 [219 )46 |32 | 36
10-36-16 | M3sX2 |U1.5/16™12 28 15 |30 ]15 |4 | 41

if you are interested to order the adapter in complete set with cutting ring and nut, it is necessary to insert

suffix"RN"after our part NO, for example "1CH9-22-18 OG/RN".

Please add "TO"after the part number if there is nowasher out of the O-ring on the product, for example
"1CH3-22-18 OG/TO"

sales@axxionflex.com » Phone:

+1 784 455 7577 U.5.A

www.axxionflex.com



B

D. METRIC TUBE ADAPTERS

@A}IXION FLEX
1L 10L METRIC MALE 24°BANJO
B Thread Dimensions
R Part No. E TUBeoD| BOT [ DI d | H [ S
1CL-12-10 | M12X15 6 | 700M-10| 17 |10 | 10 | 14
N L " 1CL-1472 | MI4X15 8 |700M12{ 20 |12 [12 |17
\[ 1CL-16-14 | M16X1.5 10 |700M-14] 24 |14 |14 [19
A s 1CL-18-16 | M18X15 12 | 700M-16] 28 | 16 | 18 | 22 |
y 1CL-22-18 | M22X15 15 | 700M-18] 32 |18 [ 20 [ 27
1CL-26-22 | M26X1.5 18 |70oom2|38 [ 2 |25 |32 |
1CL:30-26 | M30X2 22 | 700M-26] 46 | 26 |30 | 36
ICL-RN 1DL-RN 1DL-14-12 | M14X1.5 6 | 70oM12] 20 |12 |12 |17
5 1DL-16-14 | M16X1.5 8 | 700M-14] 24 |14 [ 14 [ 19
—r 1DL-18-16 | M18X1.5 10 [700M16] 28 [ 16 |18 | 22
/ — ] 1DL-20-18 | M20X1.5 12 |700M18] 32 |18 |20 | 24
a 1DL-22-18 | M22X1.5 14 [700M18] 32 |18 [20 |27
\ I: ( 1DL-2422 | M24X15 16 |700M22| 38 |22 |25 [ 30
k 5 1DL-30-26 | M30X2 20 |700M-26] 46 | 26 | 30 | 36
METRIC BOLT
700M Thread Dimensions
Part No. E Al B] cl|s
c A 700M-10 | M10X1 205 |6 |14
700M-12 | MI2X15 24 |6 |6 |17
/%W' 700M-14 | M14X15 %87 |19
7 Fs J00M-16_| MI6X1.5 8| 0|75 |2
700M-18 | MI8X1S RJos5|[8 |
AL LASS 700M-22 | M22X1.5 39 |14 ]9 | 2
% 700M-26 | M26X1.5 45 |18 | 10 | 32
700M-30 | M30X2 55 |22 111 |36
METRIC MALE 24°/BSP BANJO
1CL-B 1DL-B Thread Dimensions
Part No. E TUBEOD| BOLT [ D1| d | H| S
\6;\ 1CL-12-802 | M12X1.5 6 | 720802 | 22 |99 |16 | 14
1 . 1CL-14-804 | M14X1.5 8 |720804 | 24 (13315 |17
| || 1CL-16-04 | M16X1.5 10 | 720804 | 24 {13315 |19
- ol w 1CL-18-806 | M18X1.5 12 [7208-06 | 29 [167 |20 [ 22
\l 1C1-22-808 | M22X1.5 15 720808 [ 38 | 21 | 25 | 7
S— 1CL-26-808 | M26X1.5 18 | 720808 | 38 | 21 | 25 | 32
d 1CL-30-812 | M30X2 2 [720812 | 46 (265 | 31 [ 36
1DL-14-B04 | M14X1.5 6 | 7208-04 | 24 (133 [15 | 17
1DL-16-B04 | M16X1.5 8 | 720804 | 24 (133 [ 15 | 19
1CL-BRN 1DL-BRN 1DL-18-B06 | M18X15 10 | 720806 | 29 [167 | 20 | 22
1DL-20-B06 | M20X1.5 12 [ 720806 | 29 [167 |20 | 4
— 1DL-22-B08 | M22X1.5 14 720808 38 | 21 [ 25 | &7
/ _— 1DL-24-B08 | M24X1.5 16 | 7208-08 | 38 | 21 | 25 | 30
J o 1DL-30-812 | M30X2 20 | 720812 [ 46 265 | 31 | 36
\ \ / if you are interested to order the adapter in complete set with cutting ringand nut,
it is necessary to insert suffix"RN"after our part NO, for example "1CL-22-B08 RN".

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A I:ﬂ



P

D. METRIC TUBE ADAPTERS

L
AF/AYXIONFLEX
7208 BSP BOLT
] Thread Dimensions
A Part No. E AlB[C]S
7 - 720802 | G1/8"-28 295 (48 | 5 |14
7 720804 | G1/4™19 8506 6 |19
i L 7208-06 | G3/8"19 /S| 9|7 [ 2
| 720808 | G1/2"14 44 [ 13 |85 [ 27
720812 | G3/4™14 56 | 16 [ 10 | 32
720816 | G111 685 | 22 [125 | 41
ICL 1CL-RN METRIC MALE BANJO
iDL 1DL-AN Thread
s Part No. E F |TUBEQ.D| BOLT
. T 1CL-12-10T | Mi2X15 | MI0XT_| 6 |700M-10F
i\:—\l_— : 1CL-14-12T [ M14X1.5 | MI2X15 | 8 [ 700M-12F
[T 1CL-16-14T | M16X1.5 | M14X15 | 10 |700M-14F
= i i 1CL-18-16T | M18X1.5 | Mi6X15 | 12 |700M-16F
I L 1CL-22-18T | M22X15 | M18X15 | 15 [700M-18F
T ™ 1CL-26-22T | M26X15 | M22X15 | 18 [700M-22F
— L 1CL-30-26T | M30X2 | M26X15 | 22 |700M-26F
F 10136337 | M36X2 | M33X2 28 | 700M-33F
1CL-45-42T | M45X2 | M42X2 35 | 700M-42F
B 1CL-52-48T | M52X2 | M48X2 42| 700M-48F
UL 1 1 — 1DL-20-18T | M20X1.5 | M18X15 | 12 |700M-18F
, '-T, [ 10L-22-20T | M22X1.5 | M20X1.5 | 14 | 700M-20F
| y© 1DL-24-22T | M24X15 | M22X15 | 16 [700M-22F
| b DL3027T | M30X2 | M2IX2 | 20 | J0OM-2TF
- S— 1DL-36-33T | M36X2 | M33X2 25 | 700M-33F
___| 1DL-42-42T | M42X2 | M42X2 30 | 700M-42F
1DL-5248T | M52X2 | M48X2 38 | 700M-48F
METRIC MALE BANJO
Thread
ACLC ACLC-RN Part No. E F |TUBEOD| BOLT
ADLD ADLD-RN ACLC-12-10-12T| M12X15 | M10XT 6 | 700M-10F
ACLC-14-12-14T| M14X15 | M12X15| 8 [700M-12F
. ACLC-16-14-16T| M16X15 | M14X1.5] 10 |700M-14F

g [T b ACLC-18-16-18T| M18X15 | M16X1.5| 12  |700M-16F
i ACLC-22-18-22T| M22X1.5 | M18X1.5] 15  |700M-18F

[ACLC-26-22-26T| M26X1.5 | M22X1.5[ 18 [700M-22F
HL [ACLC-30-26-30T| M30X2 | M26X1.5| 22 |700M-26F
— | - [ADID-20-18-20T] M20X15 | MIBXIS| 12 [700M-16F

] ADLD-22-18-22T| M22X1.5 | M18X1S| 14 |700M-18F
ADLD-24-20-24T| M24X15 | M2X15| 16 |700M-20F
ADLD-30-26-30T| M30X2 | M26X1.5] 20 [700M-26F

if you are interested to orcer the adapter in complete set with cutting ring and nut,
it is necessary to insert suffix"RN"after our part NO, for example "ACLC-22-18-22 T/RN".

sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



D. METRIC TUBE ADAPTERS

AF/AXXIONFLEX
METRIC MALE/BSP BANJO
Thread

1CL- B 1CL-BAN Part No. E F | TuseoD| soLr

10L- B 1DL-BRN 1CL-12-B02T | M12X1.5 | GI/8™28 | 6  [720B-02F

1CL-14-B04T | M14X1.5 | GI/4-19 | 8 | 7208-04F

s 1CL-16-B04T | M16X1.5 | G1/4™-19 | 10 | 7208-04F

=X 1CL-18-B06T | M18X1.5 | G3/8"-19 | 12 |7208-06F

g (T8 ] _ 1CL-22-B08T | M22X1.5 | G1/2™-14 | 15 |720B-06F

N L—------ - 1CL-26:B08T | M26X1.5 | G1/2-14 | 18 | 7208-08F

—E—H 8] « 1CL-30-B12T | M30X2 | G3/4-14 [ 22 |720B-12F

\ == 1CL-36-B16T | M36X2 | GI~11 | 28 |720B-16F

e | o 1CL45-B20T | M45X2 | Gl.1/411 | 35 |7208-20F

1CL-52-B24T | M52X2 | GlI/211 | 42 |7208-24F

E 1DL-14-804T | M14X1.5| G1/4-19 | 6 | 7208-04F

1DL-16-804T | M16X1.5 | G1/4-19 | 8  |7208-04F

1DL-18-B06T | MI8X1.5 | G3/8-19 | 10 |7208-06F

- 1DL-20-806T | M20X1.5 | G3/8™19 | 12 | 7208-06F

— 1DL-22-B08T | M22X1.5 | G1/2"-14 | 14 | 7208-06F

, I 1DL-24-808T | M24X1.5 | G1/2*-14 | 16 | 7208-08F

| P 1DL-30-812T | M30X2 | G3/4™14 | 20 |720B-12F

] 1DL-36-B16T | M36X2 | GI-11 | 25 |720B-16F

., 1DL-42-8207 | M42X2 | Gl.I/411 | 30 | 7208-20F

1T 1DL-52-824T | M52X2 | GL.1/211 | 38 | 7208-24F
e s - METRIC MALE/BSP BANJO

ADLD® S PartNo, : F|TUBEOD| soLT

: ACLC-12-802-12T| M12X15] G1/8™-28 | 6 | 720B-02F
—— ACLC-14-B04-14T| M14X15| GI/4™-19 | 8 | 720B-04F
- \LJ : - [ACLC-16-B04-16T| M16X1.5| GI/4™19 | 10 | 720B-04F
- =T ACLC-18-B06-18T| M18X1.5] G3/819 | 12 | 720B-O6F

Hre ACLC-22-B08-22T| M22X15| G1/2*-14 | 15 | 720B-08F
‘ . [ACLC-26-B08-26T| M26X1.5| G1/2™-14 | 18 | 720B-08F

o o ACLC-30-B12-30T| M30X2 | G3/4™-14 | 22 | 720B-12F
D ADLD-14-B04-14T] M14X15 | G1/419 6 | 720B-04F
F

ADLD-16-B04-16T] M16X1.5 | G1/419 8 | 7208-04F
ADLD-18-B06-18T M18X1.5| G3/8™-19 | 10 | 720B-06F
ADLD-20-B06-20T| M20X1.5| G3/8™19 | 12 | 720B-06F

— ADLD-30-812:307 M30X2 | G3/4™14 | 20 | 7208-12F
)

- A——I.'"_‘ ADLD-22-B08-221] M22X1.5| G1/214 | 14 | 720B-08F
o| | ],[ = ADLD-24-B08-24T M24X15| G1/2*14 | 16 | 720B-08F
— | — ifyou are interested to order the adapter in complete set with cutting ring and nut,

it is necessary to insert suffix"RN"after our part NO, for example "ACLC-22-B08-22 T/RN".

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A I:H



D. METRIC TUBE ADAPTERS

Ll
AF/AXXIONFLEX
METRIC MALE 24°/ CAPTIVE SEAL
Thread TUBEQ.D Dimensions

Part No. E F D AlB ] L[S s

1CM-WD  1DM-WD 1CM-12-10WD [M12X1.5 | M10X1 6 10 | 8 (245 |14 [ 14
L 1CM-14-12WD [ M14X1.5 | M12X15| 8 10 |12 [30 [17 |17

1CM-16-14WD | M16X1.5 | M14X15 | 10 1M | 12 (305 [19 | 19

A 8B 1CM-18-16WD [ M18X1.5 | M1gX15| 12 s [12 315 [0 [ 2
1CM-18-18WD [ M18X1.5 | M18X15 | 12 15 | 12 (325 [ 24 [ 22

1CM-22-16WD [ M22X1.5 | M16X15| 15 125 |12 |33 |4 | 2

izl | TCN-22-18WD [M22X1.5 | MI8X15 | 15 125 (12 |33 |4 |7
1CM-22-20WD [M22X1.5 | M20X15 | 15 125 (14 |37 |7 |7

TCM-22-22WD [M22X1.5 | M22X15 | 15 125 |14 (365 |27 | 27

TCM-26-22WD [M26¥1.5 | M22X15 | 18 125 (18 |37 |7 |32

1CM-30-26WD [M30X2 | M26X15| 22 14 |16 | 40 | 32 | 36

; 1CM-30-27WD [M30X2 | M27X2 | 22 14 |16 | 40 | 32 | 36
DR (IDMnDRN TCM-36-33WD [M36X2 | M33X2 | 28 15 | 18 445 | 41 | 41
5 TCM-45-42WD [M45%2 | Maz2 | 35 16 |20 [ 48 |50 | 50
—— [ TCM-5248WD [M52%2 | MdsX2 | 42 16 | 22 | 52 |55 | 60
\ 1DM-20-22WD| M20X15 | M22X15| 12 12 |14 |39 |27 | 4
U | | 1DM-24-22WD | M24X1.5 | M22X1.5 | 16 14 |14 [4 |27 |30
1DM-30-27WD [M30X2 | M27X2 | 20 16 | 16 | 47 | 32 | 36

-Lt:}):i_=_ IDM-36:27WD | M36X2_ | M27X2 | 25 18 [ 16 [ 51 | 41 | 41
1DM-36-33WD [ M36X2_ | M33X2_ | 25 18 (18 |53 [41 [ 4

1DM-42-42WD | M42X2_ | M42X2 | 30 20 [ 20 [ 57 [ 50 | 50

1DM-52-42WD|M52X2_ | M42X2 | 38 22 [ 20 [ 62 |55 |60

1DM-5248WD [ M52X2_ | M48X2 | 38 22 [ 22 [64 [55 |60

oM 1OM METRIC MALE 24°/60°CONE BONDED SEAL

L Thread TUBEO.D Dimensions

. " Part No. E F D Al Bl LSS
1CM-12-10 | M12X1.5 | M10X1 6 10 | 8 |26 |14 | 14
- - 1CM-14-12 | M14X1.5 | mixis | 8 1M [ 10 [295 [17 |17

g | | 1CM-16-14 | M16X1.5 | M14X15| 10 m 130 [19 [19
1CM-18-18 | M18X1.5 | MIsX15| 12 15 | 12 325 | 24 | 22

| 1CM-22-22 | M22X1.5 | M22X15 | 15 125 | 14 | 36 | 27 | 27

§7”J 1CM-26-22 | M26X1.5 | M22X15| 18 125 |14 |36 | 27 |32
1CM-30-27 | M30X2 | M27X15 | 22 14 | 14 | 41 | 36 | 36

1CM-36-33 | M36X2 | M33X2 | 28 14 |18 | 47 | 41 | &

1CM-RN  1DM-RN 1CM-45-42 | M4SX2 | M42X2 | 35 16 | 18 | 51 | 50 | 50
51 1CM-5248 | Ms2x2 | magx2 | @ 16 | 20 | 53 | 55 | 60
A_L 1DM-20-18 | M20X15 | MisX15 | 12 12 112 |36 |24 | 24
\ { -;ﬂ—= 10M-22-20 | M22X1.5 | M20X15| 14 14 |14 |40 |27 |27
o UL 1DM-24-22 | M24X1.5 | M22X1.5| 16 14 | 14 | 40 [ 27 |30
)| ] 10M-30-27 | M30X2 | M27X15 | 20 16 | 14 | 45 | 32 | 36
p - 10M-3633 | M36X2 | M33X2 | 25 18 | 18 | 53 | 41 | 41
N 1DM-4242 | M42X2 | M42x2 | 30 20 | 18 | 55 | 46 | 50
1DM52-48 | M52X2 | M4sX2 | 38 22 |20 [62 |55 |60

If you are interested to order the adapter in complete set with cutting ring and nut,
it is necessary to insert suffix"RN"after our part NO, for example 1CM-22-22 RN.

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A www.axxionflex.com



D. METRIC TUBE ADAPTERS

' %
@AK)\ION FLEX
METRIC MALE 24°/NPT MALE L/H.T
Thread TUBEQD Dimensions

PartNo. | F D AlelL]s s
1N 10N 1CN12:02 | M2X15| 21827 6 10 |10 |25 |12 |14
1CN-12:04 | M12X15| Z1/4-18 6 10 [145 |30 |17 |14
L 1CN1402 | M14X15] Z1/8-27 8 10 | 10 | 25 | 14 |17
A 5 1CN-1404 | M18X15] Z1/4™-18 8 10 [145 |30 |17 |17
e 1CN-14-06 | M14X15] Z3/8-18 8 10 1145 [ 30 |19 |17
- 1CN-1604 | M16X15] Z1/#18 | 10 1 (145 | 31 [17 |19
[ ‘l]=|] 1CN-16:06 | M16X15] Z23/8-18 | 10 1M (145 (32 [19 [19
w °L 1CN-18:06 | M18X15| 23/8-18 | 12 115 {145 [R5 [19 |22
72N CTCN-1808 [MTSKTS| 21214 | 12 115 {195 (375 | 22 | 22
ﬁ 1CN2208 |M22X15| 21214 | 15 125 (195 (385 | 24 | 77
IEEW M26X15| Z3/4-14 | 18 125 195 [395 | 27 | 32
1CN30-12 | M30X2 | Z23/4-14 | 22 14 (195 | 41 | 32 | 36
ICN-AN  TON-RN 1CN-36-16 |M36X2 | Z1-115 | 28 15 245 | 48 | 41 | 41
s C1ON45-20 [ M45K2 (200115 | 35 16 | 25 | 53 | 46 | 50
C1ONS2-24 | M52X2 (21015 | 4 16 | 26 | 55 | 55 | 60
1DN-2006 | M20X15| 23/8-18 | 12 12 1145 |37 | 22 |
T 1DN-2008 | M20X15] Z1/2-14 | 12 12 195 |42 |22 |
| ] 10N-22-06 | M22X15] 23/8-18 | 14 14 145 [385 | 24 | 7
J_HJ___-“ 1DN-2208 |M22X15] Z1/2-14 | 14 14 (195 (835 [ 24 [ 2
[ TDN-2308 [W28X13 2718 | 16 14 195 |44 |27 |27 |
TTONIOTZ TWE0R2 | 381 | 0 16 1195 | 48 |32 | 36
TTON3616 [ WM36X2 | 21113 P 18 245 | 57 | 41 | 41
TORAEI0 WA (217315 | 30 20 | 25 595 | 46 | 50
CTON-4Z2-24 | Ma2Xe (21177115 30 20 [ 25 [595 (50 |50
TONSZI TWS2XT (2107115 |38 22 [ 26 [ 65 |55 | 60
45°METRIC MALE 24°/NPT MALE

Rt e Thread TUBEOD Dimensions
| PartNo. E F D Al B[S [
- 1CNG-12-02 | MI2X13| Z1/8~27 6 175 |175 | 11 | 14
: 1CN4-14-04 | M14X15| Z1/418 8 19 [ 21 [14 [17
w =r 1CN4-16-06 | M16X15| Z3/8~18 | 10 19 [ 21 [17 |19
Y 1CN4-18-06 | MI8X1S| Z3/8%18 | 12 0|2 [19 |2
RS 1CNG-22-08 | M22X15] Z1/214 | 15 N | 822
1CN4-26-08 | M26X15] 21214 | 18 28 [ [
1CN-30-12 [ M30X2 | Z3/4~14 | 22 28 |32 |27 |36
1CN4-36-16 | M36X2 | 21115 28 30 | 37 |33 | 4
1CNARN 1DNA-RN 1CN4-45-20 | M45X2 [Z1.0/4-115 | 35 35 | 42 |44 |50
10N4-52-24 | MS2X2 171,172 7] 37 | 47 |48 | 60
51 1DN-2008 | M20X15| Z21/2-14 | 12 2 | 28 |2 |24
e 1DN-22-08 [ M22X15] 212714 | 14 2|8 |2 [0
=l ﬂ (1DN4-24-08 | M24X15] 2172714 | 16 1 [ 28 [ [30
o ) 1DNA-30-12 | M30X2 | Z3/4™14 | 20 29 | 32 |27 | 36
‘l 1DN4-36-16 | M36X2 | 21115 25 3|37 |3 |4
S 10N&-4220 | M42X2 [Z1.0/8-115 | 30 39 | 42 |44 |50
1DN4-52-24 | M52X2 [Z10/2115 | 38 3|47 |48 |60

if you are interested to order the adapter in complete set with cutting ring and nut,
itis necessary to insert suffix"RN"after our part NO, for example 1CN4-22-08 RN.

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



.-—--d

D. METRIC TUBE ADAPTERS

Ll
@AXMON FLEX

1CN9 1DN9 90°METRIC MALE 24°/NPT MALE

Thread TUBEQD Dimensions
:“ PartNo. | E F D Al B[S s
% 1CN9-12-02 | M12X1.5| Z1/8-27 6 A |20 |11 [
— 1CN9-14-04 | M14X15| Z1/4-18 8 2 |5 [12 [17
& .:.r 1CN9-1606 | M16X15| Z3/8-18 | 10 25 |28 [17 [ 19
/| 1CN9-18-06 | M18X15| Z3/8-18 | 12 % |28 [17 |2
s 1CN9-22-08 | M22X1.5] Z1/2-14 | 15 TREAFEF
A 1CN9-26-12 | M26X15] 23414 | 18 B4l R
ﬁgw msn% B4 | 0 % | 41|27 |36
1CN9-36-16 | M36X2 | 21115 28 39 | 47 |33 | 4
1CNS-RN TDN9-RN 1CN9-45-20 | M4SX2 [Z1.1/4115 | 35 a7 | 51 | 41 |50
1CN9-52-24 | MS2Q 7112115 | 4 51| 58 | 48 | 60
. 1DN9-20-06 | M20X1.5] Z3/8-18 | 12 29 |29 [19 | 24
g 1DNG-22-08 | M22X15| Z1/2-14 | 14 235 [2 7]
) 1DN9-24-08 | M24X1.5] Z21/2-14 | 16 3 |37 |24 [ 30
T 1 1DNG-30-12 [ M30X2 | 23/414 | 20 RN ERES
of | 1DNG-36-16 | M36Y2 | Z1-115 25 R EREL
{ — TDNG-42-20 | MA3X2 [Zi4/6115 | 30 505 | 51 | 41 | 50
L) TDNG52-20 | M52X2 |Z10/4115 | 38 575 (575148 [ 60
TDNG-52-24 [M52X2 [Z1.0/2-115 | 38 575 |575 | 48 | 60
METRIC MALE 24°/SAE MALE O-RING

Thread TUBEQ.D Dimensions

1C0 1DO Part No. E F D Al Bl LS| S
1C0-14-04 |MidXis| U7/i6-20 | 8 10 (914 | 26 |17 |17
L 1C0-16-04 | M16X15] U7/16™20 | 10 1 lo14 ] 28 [17 |19
A B 1€0-18-06_| M18X15] U9/16™18 | 12 115 [993 [285 | 19 | 22
100-18-08 | MI8X1S| U316 | 12 115 M43 [ 32 |24 |22 |

r 100-2-08 |M22X15] U3/4-16 | 15 125 a3 |33 |4
e | . 1€0-22-10 | M22X15] U7/8-14 | 15 125 [127 [355 |7 |27
100-26-08 | M26X1.5| U3/4-16 | 18 125 M3 3 [27 [22 |
i 1€0-26-10 | M26X15] U7/8-14 | 18 125 1127 355 | 27 | 32
b-r' 100-30-08 | M30X2 | U3/4-16 | 22 14 113 (345 | 32 | 36
100-30-12 | M30X2 | U1.1/i6-12 | 22 14 11509 ] 39 | 32 | 36
1C0-30-16_| M30X2 [U1.5/16-12 | 22 14 1509 | 40 | 41 | 36
1C0-36-12 | M36X2 | U.1/16-12 | 28 15 0509 [ 40 | 41 [ 41
1CO-RN  1DO-RN 100-36-16 | M36X2 | U15/1612 | 28 15 1509 | 41 | 41 | 41
s 1€0-52-20 [Ms2x2 | L1512 | 42 16 1509 | 47 | 55 | 60
o 1D0-20-06 | M20K1 5] U9/16™-18 | 12 12 1993 |32 |22 | 4
\ ) 1D0-20-08 | M20X15] U3/4™-16 12 12 Mi3[3 (4 [ 4
1 { 100-24-08 |M24XT5| U3/d-16 | 16 14 M3 |37 (27 |30
e ) 1D0-24-10 | M24X15|] U7/8%-14 16 14 1127140 [27 |30
) { 100-30-12 | M30K2_ [ Uta/1612 | 20 16 11509 | 46 | 32 | 36
_— 1D0-36-12 | M36X2_| UL1/16-12 | 25 18 1509 | 49 | 41 | 41
1D0-36-16 | M36X2_| U1.5/16-12 |25 1811509 | 49 | 41 | 41
1D0-42-20 | M42X2 | U15/812 | 30 20 11509152 | 50 | 50
1D0-52-20 | M52X2 | UL.5/812 | 38 2 N509 157 |5 |60

if you are interested to order the adapter in complete set with cutting ring and nut,
itis necessary to insert suffix"RNafter our part NO, for example 1C0-22-08 RN,1DNS-20-06 RN

sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



——

D. METRIC TUBE ADAPTERS

L
AF/AXXIONFLEX
45°METRIC MALE 24°/SAE MALE ADJUSTABLE STUD
Thread TUBEQ.D Dimensions
1COLOG 1D04-0G Part No. E F D Al B| S |S1|S
1€04-12-040G | M12X1.5 | U7/16'20 | 6 17 |24 |11 17 ]
1C04-14-06 0G | M14X1.5 | U9/16"18 | 8 19 12 |14 [19 [17
1C04-16-06 0G | M16X1.5 | U9/16™18 | 10 20 |2 |14 [19 |19
1C04-18-080G | M18X1.5 | U3/4™16 | 12 20 [ 2|19 |4 [2
1004-22-100G | M22X1.5 | U7/8"14 | 15 24 |34 [22 [30 |27
1€04-26-120G | M26X1.5 U1.1/16"12 | 18 B |42 |27 [32]3
1€04-30-120G | M30X2_Ju.1/16-12 | 22 28 |42 [30[32]3
it 1004-36-160G | M36X2 |U1.5/16"12 | 28 30 |42 |33 [ 41 |4
1€04-45-200G | M45X2 |U1.5/812 | 35 35 149 | 41 [50 |50
1004-52-240G | M52X2 |U1.7/8~12 | 42 38 | 52 |48 |55 |60
1004-20-08 0G| M20X1.5 | U3/4"16 | 12 20 |32 |19 [24 |24
1004-22-100G| M22X15 | U7/814 | 14 25 (34|20 [30 |27
1D04-24-100G| M24X1.5 | U7/8"14 | 16 25 |37 [24 {30 |30
1D04-30-120G| M30X2 |u1,m§'-u 20 29 | 42 [30 [32]36
1D04-36-16 0G| M36X2 |U1.5/16™12 | 25 3 |42 |33 |41 |4
1D04-42-200G| M42X2 |U15/8~12 | 30 39 | 49 | 41 |50 |50
1D04-52-24 0G| M52X2  [U1.7/8"12 | 38 44 |52 |48 |55 |60
90°METRIC MALE 24°/SAE MALE O-RING ADJUSTABLE STUD
Thread TUBEQ.D Dimensions
Part No. E F D Al B| S |S1| S
1€09-12-040G | M12X1.5 | U7/1620 | 6 19 |265 | 11 [ 17 [ 14
1009-0G  1D09-0G 1C09-14-06 0G [ M14X1.5 | U9/16"18 | 8 2 (30 [14 [19 |17
1C09-16-06 0G | M16X1.5 | U9/16"18 | 10 23 |30 |14 [19[19
; 1C09-18-080G | M18X1.5 | U3/4™16 | 12 25 136 |19 [24 | 22
—— 1€09-22-080G | M22X1.5 | U3/4™16 | 15 ¥ |37 |27
3 1€09-22-100G | M22X1.5 | U7/8"-14 | 15 29 |4 |2 (3|27
_ﬂ 1€09-26-120G | M26X1.5 JU1.1/16"12 | 18 3 |50 |27 [32 [32
5—'\@ ] 1C09-30-120G | M30X2 JU1.1/16-12 | 22 36 |50 [30 [32]3
D 1C09-36-120G | M36X2 JU1.1/16™12 | 28 39 |50 | 33 [32 |4
- 1€09-36-16 0G | M36X2 _|U1.5/16"12 | 28 39 |52 |33 [41 |4
. ﬁl’ 1009-45-200G | M45X2 |U1.5/8-12 | 35 47 161 | 41 ][50 |50
IL_“ ) 1€09-52-240G | M52%2 [U1.7/812 | 42 5 | 65 | 48 [ 55 | 60
N 1009-14-04 0G| M14X1.5 | U7/16"20 | 6 24 30 |14 [17[17
A 1D09-16-06 0G | M16X1.5 | U9/16"18 | 8 24 130 |14 [19 |19
1D09-18-06 0G | M18X1.5 | U9/16™18 | 10 25 133 [19 [19 22
1009-18-080G | M18X1.5 | U3/4™16 | 10 25 |36 |19 |24 [ 2
1009-20-08 0G | M20X1.5 | U3/4™16 | 12 25 3% |19 |24 [
1009-22-100G | M22X1.5 | U7/8"14 | 14 30 |44 [ 22 [30 |27
1D009-24-100G| M24X1.5 | U7/8™14 | 16 32 1465 [ 24 [30 [ 30
1D009-30-120G| M30X2 U1.1/16™12 | 20 37 150 [30[32]3
1D09-36-16 0G| M36X2 _[U1.5/16"12 | 25 315 |3 [4 [4
1D09-42-200G | M42X2 [U1.5/812 | 30 51 1 61 | 41 [ 50 |50
1D09-52-24 0G| M52%2 [U1.7/8"12 | 38 57 165 | 48 [55 | 60

www.axxionflex.com

if you are interested to order the adapter in complete set with cutting ring and nut,
itis necessary to insert suffix’RN"after our part NO, for example "1C09-22-08 OG/RN".

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A



1CT 10T

Jo LI
I

1CT-RN 1DT-RN

51

N M

a|
) |

- e

[

1CT4 1074

A \L
1CT4-RN  10T4-RN
5
e—
h A
T |
L

.-—--d

D. METRIC TUBE ADAPTERS

NF/AXXIONFLEX

METRIC MALE 24°/BSPT MALE

Thread TUBEQ.D Dimensions
PartNo. | E F D Al Bl L[S ]S
10-12-02_|M12X1.5| ZG1/8"28 | 6 10 |10 [25 [12 [14
171204 |M12K1.5| ZG1/4-19 | 6 10 [145 |30 [17 |14
1C7-14-02 | M14X15| 7G1/828 | 8 10 |10 [25 [14 17
1CT-1404 |M14X15| 2G1/4%19 | 8 10 |145 [30 [ 17 |17
1CT-14-06 | M14X15| 7G3/8~19 | 8 10 |145 [ 30 [19 [17
1CT-16:04 | M16X1.5| 7G1/4~19 | 10 1 [1as |3 [17 |19
1CT-16-06 | M16X1.5| 7G3/819 | 10 11 ]145 {32 |19 [19
1CT-18-06 | M18X1.5| 2G3/8~19 | 12 115 1145 1325 [19 | 2
1CT-22:06 | M22X1.5| 2G3/8~19 | 15 125 |145 335 [ 24 | 27
1CT-22:08 | M22X15| 7G1/214 | 15 125 1195 |385 [ 4 | 27
1CT-26-08 | M26X15| ZG1/214 | 18 125 1195 [395 [ 27 |32
1CT-26-12 | M26X15| 7G3/4™-14 | 18 125 1195 [395 [ 27 | 32
1C1-30-12 | M30X2 | 7G3/4"14 | 22 14 {195 | 41 | 32 |36
1CT-30-16 |M30X2 | 7Gi11 | 22 14 |245 | 47 | 36 | 36
1CT-36-16 | M36X2 | 76111 28 15 {45148 [ 41 | 4
1C7-45-20 | M45X2 | ZG1.1/411 | 35 16 |25 | 53 [46 | 50
105224 [Ms2%2 [ 7610211 | 42 16 |25 [55 |55 [60
2008 |M20X15] ZG1214 | 12 12 195 (42 |22 [
1DT-2-06 |M22X15 ZG3/8-19 | 14 14 [145 [385 | 24 [ 27
107T-22-08 | M22%15] 7G1/2~14 | 14 14 [195 (435 | 4 | 27
1DT-24-08 [M24X15| 7G1/2%14 | 16 14 [195 [ 44 |27 |30
101-30-12_|M30¥2 | 7G3/4~14 | 20 16 [195 [ 48 |32 | 36
IDT-36-12 [ M36X2 | 7G3/4-14 | 25 18 [195 [52 | 41 [ 41
-36-16 |M36X2 | 7G111 | 25 18 |45 (57 |41 | 41
1DT-42-16 {M42X2 | 76111 | 30 0 |245 | 59 | 46 | 50
1074220 | M42X2 | ZGL1A4™-11 | 30 20 | 25 595 | 46 | 50
10T-52:24 | M52%2 [zG1az11 | 38 2 125 165 155 |60
) 45'METRIC MALE 24°/BSPT MALE

Thread TUBE 0.0 Dimensions
PartNo. | E F D Al B|S |5
1CT412:02 [M12X15| ZG1/8'28 | 6 175 1175 [ n |14
1CT4-14-04 [ M14X15[ 7G1/4™19 | 8 19 |2 (14 [17
1CT4-16:06 | M16X15| ZG3/8"19 | 10 19 |17 [19
1CT4-18-06 | M18X15| ZG3/8-19 | 12 0|2 192
1CT4-22-08 | M22X15| ZG1/214 | 15 R8I0 |7
1C74-26-08 | M26X15| 2G1/2-14 | 18 2|87 (32
1CT4-30-12 |M30X2 | 73414 | 22 8|32 27 |36
1743616 [M36X2 | 26111 | 28 30 |37 [33 |4
1CT4-45-20 | M4SX2 | ZG11/411 | 35 35 | 42 [44 |50
1CT4-52-24 [ MS20 [ 7611/211 | 42 37 |4 (48 [60
10T4-20-08 | M20X15] 261/2"-14 | 12 28 [0 [H
1DT4-22-08 | M22X15| ZG1/214 | 14 “ |82 [
10T4-24-08 | M24X1.5| 2G1/214 | 16 4 |8 [27 |3
1DT4-30-12 | M30X2 | ZG3/4™14 | 20 9 |32 27 3%
10T4-36-16 [M36X2 | 26111 | 25 B |37 [38 |4
1DT4-42-20 [ M42X2 [ ZG11/411 | 30 39 |4 [4 |50
10T4-52-24 [ M52%2 [ 76107211 | 38 814748 [e

In caseif you are interested to order the adapterin complete set with cutting ring and nut,
it is necessary to insert suffic"RN"after our part NG, for example 1CT4-22-08 RN.

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



—

D. METRIC TUBE ADAPTERS

AXXION FLEX
O0°METRIC MALE 24°/BSPT MALE
179 1079 Thread TUBEOD Dimensions
Part No. E F D Al B|S | %
1CT9-12-02 [MIX15] ZG1/8"28 | 6 2 21 10 |14
F 1CT9-12:04 [M12X15] Z61/4-19 | 6 2 [ 25 |12 [1a
:u 1CT9-14-04 |M14X15| ZG1/419 | 8 2 5 (12 17
2 1CT9-16:04 | M16X15] ZG1/419 | 10 2B (27514 [19
] 1CT9-16-:06 | M16X1.5] ZG3/8™19 | 10 25 [ 28 17 |19
. nr 1CT0-18-06 | M18X15] 763/8-19 | 12 % 3 17 [2
) 1C719-22-06 | M22X1.5] 2G3/8-19 | 15 9 |30 |2 [
X s 1CT9-22-08 | M22X15| ZG1/214 | 15 32 (35 |2 |27
A 1CT9-26:08 | M26X15| ZG1/214 | 18 R |27 [ 4 [ 32
1CT9-26-12 | M26X1.5] ZG3/4-14 | 18 35 |41 | 27 | 32
}%ﬁ&}é ﬂsg}éz 263414 | 2 3% | 41 | 27 | 36
WX2 | 261411 28 9 47 [ 3 [ &
ICT3-RN  1DT9-RN 1CT9-45-20 [ M45X2 | ZG11/A-11 | 35 a7 | ST [ 41 |50
1CT9-52:24 | M52X2_| 2611211 | 42 5T | 58 | 48 | 60
5| Ej (1DT9-20:06 | M20X15 | ZG3/8-19 | 12 DD |19 |4
i 1079-22-08 | M22X15| ZG1/2-14 | 14 SHEAFEFA
TS (1DT9-2408 | M24X15| 261214 | 16 3 [ 37 |4 |30
—] IDTS30.12 [ W30 | 7G3/4%14 | %0 37 |41 [ 27 | 3%
I] J (1D19-36-12 | M36X2_| 263/4-14 | 25 #4533 4
— 3 (1D19-36-16 | M36X2_|_ ZG1-11 25 3 (475 | 33 | 41
S (1DT9-42-16 | M42X2_|_ZG1-11 30 505 | 51 | 41 | 50
1094220 | M42X2_| ZG11/&-11 |30 505 | 51 | 41 | 50
1019-52-24 | M52X2 | ZG1.1/2-11 | 38 575 (575 | 48 | 60
METRIC MALE 24°/WELD
1w 1DW Thread TUBEOD Dimensions
L Part No. E D AlslL]Di]D2] 5|8
A B 1CW-12-06 | MI2X15 6 07 [2]6[10][12]4
1CW-14-08 | M14X15 8 08 |24 8121417
' x 1CW-16-10 | MI6X15 10 118 [25 [0 [14 [17 [19
. Q‘ =l g 1CW-18-12 | MI8X15 12 115 8 [55[12 [16 |19 [22
10W-22-15 | M22X15 15 125 [10 29515 [19 [2 [
= 1CW-26-18 | M26X15 18 125 [ 10 31518 [ 22 [ 27 [ 32
10W-30-22 | M30X2 2 14 (12 |36 |22 |27 |32 |38
1CW-36-28 | M36X2 28 15 [12 |38 |28 [32 | 41 41
1CW-45-35 | M45X2 35 16 | 14 |43 |35 [ 40 |46 | 50
10W-5242 | M52X2 4 16 |16 |46 [ 42 [ 46 [ 55 [ 60
LA TOW-20-12 | M20X13 12 12 [10 |32 [12 [16 | 22 | 24
2 1DW-24-16 | M24X15 16 14 10 [35 [16 [ 21 27 | 30
- 1DW-30-20 | M30X2 20 16 |12 |40 |20 |26 |32 |36
[I o 1DW-36-25 | M36X2 25 20 (12 [4a |25 [31 [ 41 [ &
{1 1DW-42-30 | M42X2 30 20 |14 [48 [30 |36 |46 | 50
o 1DW-52-38 | M52X2 38 22 |16 [ 55 [38 [ 44 55 |60
,l‘r ! - if you are interested to order the adapter in complete set with cutting ring and nut,
T it is necessary to insert suffix"RN"after our part NO, for example "1CW-22-15 RN".

www.axxionflex.com

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A



.-d

D. METRIC TUBE ADAPTERS

L

1CwW9

10W9

D2

M

qﬁ?—

A

1CW9-RN  1DW9-RN

2BCWD/ W
28D-WD/ W

M
’]M

]

i
AF/AXXIONFLEX
90°METRIC MALE 24°/WELD
Thread TUBEQD Dimensions
Part No, E D A|B|DI|D2| S|SI
1CW9-14-08 | M14X1.5 8 2128 [12 1217
1CWS-16-10 | M16X1.5 10 23 (2310141419
1CW9-18-12 | M18X1.5 12 25 125 112116 |17 |22
1CW9-22-15 | M22X1.5 15 29 130 {15 (19119 |27 ]
10W9-26-18 | M26X1.5 18 32 33|18 [22 124 (32
1CW9-30-22 | M30X2 22 37 137122127127 )36
10W9-36-28 | M36X2 28 39 |42 128 (32334
10W9-45-35 |  M45X2 35 47 | 49 |35 [40 | 41 |50
1CW9-52-42 | M52%2 42 52 |57 |42 |46 |48 | 60
| 1DW9-20-12 | M20X1.5 12 29129112 (1619 |24
1DW9-24-16 | M24X1.5 16 33133 (16212430
1DW9-30-20 | M30X2 20 40 139 |20 [ 26 | 27 | 36
1DW9-36-25 | M36X2 25 43 141125 | 31133 | 41
1DW9-42-30 |  Md42X2 30 505 | 48 [ 30 |36 | 41 | 50
1DW9-52-38 | M52x2 38 5751575138 |44 | 48 | 60
BSP THREAD WITH CAPTIVE SEAL/METRIC FEMALE SWIVEL 24°
Thread TUBEQD Dimensions
Part No. E F D A|B|L|[S]|S
2BC-02-12WD/W | G1/8™28 | M12X15 | 6 8 105 [285 (14 [17
2BC-04-14WD/W | G1/4™19 | M14X15 | 8 12 115 {33 [19 [17
2BC-04-16WD/W | G1/4-19 | M16X1.5 | 10 12 [15 [365[19 |19
2BC-06-16WD/W | G3/8"19 | Mi16X15 | 10 12 |15 385]22 [ 19
2BC-06-18WD/W | G3/8"-19 | Mi18X15 | 12 1212 ]37]22 |22
2BC-08-18BWD/W | G1/2"14 | M18X15 | 12 1412 (3927 |22 |
2BC-08-22WD/W | G1/2"14 | M22X15 | 15 14 |15 41527 | 27
2BC-08-26WD/W | G1/2"-14 | M26X15 | 18 1411 [42]27 |32
2BC-12-26WD/W | G3/4"-14 | M26X1.5 | 18 16| 1 #4532 |32
2BC-12-30WD/W | G3/4™14 | M30X2 22 16 | 3 |46 |32 |36
2BC-16-36WD/W | G1'-11 | M36X2 28 18 125 |53 |4 [ 4
2BC-20-45WD/W [G1.1/4"-11 M45X2 35 201 3 [57 |50 |50
2BC-24-52WD/W |G1.1/2"11 | M52X2 42 22 125 | 66 | 55 |60
2BD-06-18WD/W| G3/8'-19 | M18X15 | 10 1211 315]|22 |22
2BD-06-20WD/W | G3/8™-19 | M20X15 | 12 1212 (3922 |24
2BD-08-20WD/W| G1/2"-14 | M20X15 | 12 1412 [45127 |24
2BD-08-22WD/W | G1/2-14 | M22X15 | 14 14 |25 144527 | 27
2BD-08-24WD/W| G1/2"-14 | M24X15 | 16 14 |15 (45527 | 30
2BD-12-30WD/W | G3/4"™14 | M30X2 20 16 |25 | 48 [ 32 [ 36
2BD-16-36WD/W| G1"-1 M36X2 25 1812 [56]4]4]
2BD-20-42WD/W |G1.1/4"-11 | M42X2 30 2015 [ 595050
2BD-24-52WD/WG1.1/2"-11] M52X2 38 22 | 6 |67 155 |60

if you are interested to order the adapter in complete set with cutting ring and nut,
itis necessary to insert suffix"RN"after our part NO, for example "1CW9-22-15 RN".

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



D. METRIC TUBE ADAPTERS

%
@AXXION FLEX
METRICWELD
TUBEQ.D Dimensions
Part No. Complete set part No. D1 D| S| L
 2WC06X1.5 | 2WC12-06X15 | 6 1214130 |
2WC-08X1.5 2WC-14-08X1.5 8 5 117 [ 31
JWC-08X2 2WC-14-08X2 8 4 [17 | 31
2WC-10X1 2WC-16-10X1 10 8 |19 [325
2WC-10X1.5 2WC-16-10X1.5 10 7 119 325
2WC 2WD 2WC-10X2 2WC-16-10X2 10 6 |19 [325
~ 2WC-12X1.5 AWC1812X15 | 12 ERFAETIN
IWC-12X2 2WC-18-12X2 12 HFE
2WC-12X25 2WC-18-12X2.5 12 7 12|31
2WC-15X2 WC-22-15X2 15 127 |34
 QWC15X25 IWC-2215%25 | 15 110127134 |
= ol 5 2WC-18X2 2WC-26-18X2 18 14 132 |35
JWC-18X25 | AWC-26-18X25 | 18 (1313235 |
s WC-22¢2 2WC-30-22X2 2 18 | 36 385
i _ 2WC-22X25 WC30-22%25 | 22 | |17 136 [385 |
2WC-28X2.5 IWC-36-28X2.5 28 Y
_IWC28X3 | 2WC36-28X3 | 28 | 2ala) |
2WC-35X35 2WC-45-35X3.5 35 28 |50 |48
2WC-35X4 2WC-45-35X4 35 27 |50 | 48
JWC-42X3 2WC-52-4203 Iy 36 | 60 | 48
2WC-42%4 2WC-52-42%4 Iy 34 160 |48
5 2WD-14X2 2WD-22-14X2 14 10 [ 27 1385
& _2WD-14X3 AWD-22-14%3 | 14 | | 8127 385
2WD-16X15 2WD-24-16X1.5 16 13 130 | 39
F ; || W2 | wpaeexr | 16 | [12]30(390| |
= el & 2WD-16X25 2WD-24-16X2.5 16 11 [30 |39
2WD-16X3 2WD-24-16X3 16 10 |30 |39 |
2WD-20X2 2WD-30-20X2 20 16 |36 | 45
xﬁj _2WD-20X2.5 2WD-30-20X2.5 20 115 136 |45
L 2WD-20X3 2WD-30-20%3 20 14 |36 | 45
2WD-20X35 2WD-30-20X3.5 20 13 136 |45
2WD-20X4 2WD-30-20X4 20 12 136 |45
2WD-25X3 2WD-36-25X3 25 19 | 41 495
2WD-25X35 2WD-36-25X3.5 25 18 | 41 1495
2WD-25X4 2WD-36-25X4 25 17 | 41 495
2WD-30X3 2WD-42-30%3 30 24 150 |52
2WD-30X4 2WD-42-30X4 30 22 |50 | 52
2WD-30X5 2WD-42-30X5 30 20 | 50 | 52
2WD-30X6 2WD-42-30X6 30 18 |50 |52
2WD-38X3 2WD-52-38X3 38 32 | 60 [56.5
2WD-38X4 2WD-52-38X4 38 30 | 60 [56.5
2WD-38X5 2WD-52-38X5 38 28 | 60 [56.5
2WD-38X6 2WD-52-38X6 38 26 | 60 1565
2WD-38X7 2WD-52-38X7 38 2 | 60 [56.5

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



(7 5

.-—--d

D. METRIC TUBE ADAPTERS

i

[T

2MC-W
MD-W

4
AF/AYXIONFLEX
BSP THREAD STUD ENDS WITH O-RING SEALING/METRIC FEMALE SWIVEL 24°
Thread TUBEQ.D Dimensions

Part No. E - D AlB|L|S|S
26C-02-12W | G1/8-28 | MI12X15 6 8§ 105129 (14 W7
26C-04-14W | G1/4™19 | M14X15 8 12 (15 [33 |19 |17
26C-04-16W | G1/4™19 | MI16X15 10 12 (15 [36 |19 |19
2GC-06-18W | G3/8"-19 | MI8X15 12 1212 38|22 |22
26C-08-22W | G1/2-14 | M22X15 15 14 (15 35|27 | 27
26C-12-30W | G3/4™14 | M30X2 2 16 | 3 [49 |32 |36 |
26C-16-36W | G111 | M36X2 | 28 18 125 |56 | 41 | 41 |
2GC-20-45W | GL1/A™11 | M4SX2 | 35 20 | 3 1595(50 |50
2GC-24-52W | GL.1/211 | M52X2 42 22 125 |66 |55 |60
2GD-06-20W | G3/8"-19 | M20X1.5 12 1212 140 |22 |24
2GD-08-22W | G1/2"-14 | M22X1.5 14 14 |25 #2527 | o
2GD-08-24W | G1/2-14 | M24X1.5 16 14 |15 ¥35|27 |30
2GD-12-30W | G3/4™14 | M30X2 20 16 (25 ¥95]32 |36
2GD-16-36W | G111 M36X2 25 182 |5 |41 |4
2GD-20-42W | G1.1/4"11 | M42X2 30 20 |5 [59]50 50
2GD-24-52W | G1.1/2"11 | M52X2 38 22 | 6 |64 |55 |60

Please add "TO"after the part number if there is nowasher out of the O-ring on the product,

for example 2GC-08-22W/TO
METRIC THREAD WITH CAPTIVE SEAL/FEMALE SWIVEL 24°
Thread TUBEQD Dimensions

. D Al BIL|S| ST
2MC-10-12WD/W | M10XT | MI12X15 | 6 8 (0528514 |17
IMC-12-14WD/W | M12X1.5 | M14X1.5 8 12 (15 |34 |17 |17
2MC-14-16WD/W | M14X1.5 | M16X1.5 10 12 (15 (37 119 |19
2MC-16-18WD/W | M16X1.5 | M18X15 12 12 | 2 365]22 | 22
2MC-18-22WD/W | M18X1.5 | M22X1.5 15 12 (15 [40 |4 | 27
IMC-22-26WD/W | M22X1.5 | M26X1.5 18 14 11 4127 |32
2MC-26-30WD/W | M26X1.5 | M30X2 22 16 |3 [47 |32 36
IMC-33-36WD/W | M33X2 M36X2 28 18 |25 |53 | 41 | 41
2MC42-45WD/W | M42X2 M45%2 35 20 [ 3 [55]50 (50
2MC-48-52WD/W | M48X2 M52%2 42 22 |25 45155 |60
2MD-12-14WD/W | M12X1.5 | M14X15 | 6 12 12 335117 (17
2MD-14-16WD/W | M14X1.5 | M16X15 | 8 | |12 ]2 |35 /19 |19 |
2MD-16-18WD/W | M16X1.5 | M18X1.5 | 10 1211 B75|22 |22 |
2MD-18-20WD/W | M18X1.5 | M20X1.5 | 12 | |12 |2 |43 |24 |24
2MD-20-22WD/W | M20X1.5 | M22X15 | 14 14 (25 44527 | 27
2MD-22-24WD/W | M22X1.5 | M24X1.5 16 14 (15 45527 |30
2MD-27-30WD/W | M27X1.5 | M30X2 20 16 (25 |52 132 |36
2MD-33-36WD/W | M33X2 M36X2 25 18 |2 [58 |41 41
2MD-42-42WD/W | Ma2x2 M42X2 30 20 |5 |5 |50 |50
2MD-48-52WD/W | M48X2 M52X2 38 22 | 6 [67 |55 |60

sales@axxionflex.com « Phone: +1 786 455 7577

U.S5.A

www.axxionflex.com



I

D. METRIC TUBE ADAPTERS

L
AEAXXIONFLEX
AC AD METRIC MALE 24° TEE
Thread TUBE 0D Dimensions
¢ PatNo. | E | F | G |D|DI|D2| A s[si[s2]s
i ACT2 | MI2X1S|MIZXIS{MIZXis| 6 | 6 | 6 | 21 1 |14 |14 |14
- ACT4 | MI4X15|MI4X15[MI4X15| 8 [ 8 [ 8 | 22 2 17 7 |17
AT AC16__ | MI6X1.5[M16X1.5{ MI6K1S| 10 | 10 | 10 | 23 14 |19 [19 [ 19
i ”_.E’-\n AC18_ | MIgx15[MisK13[MisKis[ 12 [ 12 [12 [ 25 722 |2
ai I AC-22-22-16 | M22X15[ M22X15{ MIXTS[ 15 [ 15 [10 | 29 19 [ 27 [27 [ 19
- AGZ | M2X1S[MaZXI3|M22Xis[ 15 [ 15 [15 | 29 19 |7 |7 | %
& 2 AC2626:22 | M26X15|M26X15| M22X15] 18 | 18 [ 15 | 32 2|3 [32 |2
AC26 | M26X15|M2sX15| M26K15| 18 |18 |18 | 32 % [ [ |2
AC3026:30 | M30X2|M26X15| M30x2| 22 [18 [ 22 | 36 7% (30 %
AC30 | M30xa| M30X2| M30K2| 22 [ 22 [22 [ 36 277 [ 3% |36 | %
AC36 | M36X2| M36X2| M36X2| 28 | 28 | 28 [ 39 33 [ 41 | 41 | 41
G AGES | MsK2| Masa| WasKa[ 35 [ 35 [35 | @ 41 | 50 |50 | 50
G2 | s Ms2e| Ms2al @ (@ (& |52 18 | 60 | 60 | 60
AD-14 | MI4X1.5|MI4X15[MI4KIS| 6 [ 6 [ 6 | 22 2 {17 171
o AD-16_ | MI6X1.5[MIGKIS[MIGKIS| 8 | 8 | 8 | 23 14 19 [19 |19
. AD-18 | MT8X1.5 M1BX1.5 M18K1.5| 10 | 10 |10 | 26 7222
20 AD20 [ M20X1S 12 [12 [ 29 19 24 [24 | %
A2 [M2X13 14 [14 [305 9 12 [ 27 |2
A ==r L AD24 [ M2eX15 16 116 [ 3 2% 30 [ 30 ] 30
=T I y AD30 | M30R2 20 (20 [ 37 27 | 36 | 36 | 36
- 18] [ ap3% | mex %[5 | & 33 [ 41 [ 41 | 4
— - ) 30 [ 30 [505 41 50 [ 50 [ 50
AD52 | M52 38 | 38 |575 28 | 60 | 60 | 60
BC-W BCWRN METRIC 24'MALE /FEMALE /MALE TEE
BD-W BD-WRN Thread TUBEOD Dimensions
: Part No. E D|D1|D2f AB s |s1]s2]s3
5 [ BC-12-12-12W MI12K15 6 1 6|6 (20 05| [11]17 |14 |14
1 pil BC-14-14-14W M14X15 8 | 8|8 [22[15] 1217 |17 1
g L BC-16-16-16W MI6X1.5 10 [70 [0 |23 [15 [ (14 [19 |19 [19
BC-18-16-18W M18X1.5 nielelsl2] [valal2
T BC2222-20W M22X15 15 115 [15 |29 [15 [ |19 |27 |27 |27
- °|- _EL-" BC-26-26-26W M26X1.5 18 [18 [18 |32 | 1| |24 |32 3232
: BC-30-30-30W M30X2 22 |22 (22|36 ]3| |27 363636
X [ Z4 BC-36.36-36W M36X2 8 (28 (28 [39 25| [33 |a [41]ai
BC45-45-45W Ma5X2 35 [35 35 |47 [ 3 | | 41]50 |50 50
BC52:52-52W M52X2 42 |42 [42 |52 [25| |48 |60 |60 |60
BD-20-20-20W M20K1.5 12 [12 [12 (29[ 2 [ [19 [24 |24 [ 4
BD-24-24-24W M24X15 16 |16 | 16 |33 [15 | |24 |30 |30 [30
. M ; il BD-30-30-30W M30%2 20 |20 [20 [37[25 | |27 [36 [ [ 36
1 T |BD-3636:36W M36X2 525 (25 [a 2] [33[a[41]a
gbamm| (8 BD-42-42-42W Ma2X2 30 (30 30 |50 |5 | 4150|5050
—) A BD-52-52-52W M52X2 38 (38 38 |57 | 6| |48 |60 |60 |60

if you are interested to order the adapter in complete set with cutting ring and nut,
it is necessary to insert suffix"RN"after our part NO, for example BC-22-22-22W/RN.

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



W CC-WRN
CD-w CD-WRN
E
[41]
i B
=
A hlll'I.L \—3\1

DC-W
DD-W

“I m

..-—--d

D. METRIC TUBE ADAPTERS

?:]?
i

Ll
@AXMON FLEX
METRIC 24°MALE/MALE/FEMALE TEE
Thread TUBEQD Dimensions
Part No. E G D(DI|D2|A|B|C|S]|S1]|S2]|S3
CC-12-12-12W | M12X1.5|M12X1.5 6|6 |6 [20]05[20]11[17 [14 |14
CC-14-14-14W | M14X1.5|M14X1.5 gl 8|8 ]2hs22n2i7 7|7
CC-16-16-16W | M16X1.5[M16X1.5 o[ w0 [2315]23]14]19[19]19
CC-18-18-18W | M18X1.5|M18X1.5 il aln]
CC-22-22-22W | M22X1.5|M22X1.5 15015 |15 (29152019 |27 [27 |27
(CC-26-26-26W | M26X1.5|M26X1.5 1818 [ 18 [32] 1 (3224323232
CC-30-30-30W | M30X2 | M30X2 2| 2121363 [36]27]3% 3636
(C-36-36-36W | M36X2 [M36X2 (28|28 (3025|303 [ala]a
CC-45-45-45W | M45X2 | M45X2 35[35 [ 35 [47 [ 3 |47 [ 41|50 [50 |50
CC-52-52-52W | M52%2 | M52x2 42|42 |42 |52 |25[52 |48 [60 |60 |60
CD-14-14-14W | M14X1.5 [M14X15 616 |6 220121717
CD-16-16-16W | M16X1.5|M16X1.5 8|8 | 8 |2al2 2a1a]197]19]19
CD-18-18-18W | M18X1.5|M18X1.5 wlwlwlw[i1]w[7]2[n2]|n
CD-20-20-20W | M20X1.5|M20X1.5 1212922919248 24 2
CD-24-24-24W | M24X1.5|M24X1.5 16116 |16 {33 1.5 [33 24 [30 [30 [30
CD-30-30-30W | M30X2 | M30X2 20/ 20 |20 |37 |25 (37 |27 [36 |36 |36
CD-36-36-36W | M36X2_ | M36X2 A P
CD-42-42-42W | M42X2 | M42X2 30[30 [30 [50 ] 5 [50]41 (5 [50 50
CD-52-52-52W | Ms2x2_[M52x%2 38[38 |38 |57 |6 5748 |60 [60 |60
METRIC FEMALE 24° TEE
Thread TUBE 0D Dimensions
Part No. E D{D1|D2| A|B|C|S|S
DC-12-12-12W | M12X1.5 6 | 6 | 6 [05]05][05]1 [17
DC-14-14-14W | M14X1.5 g [ 8|8 15015 [15][n |17
DC-16-16-16W | M16X1.5 10 |10 |10 1.5 [1.5 [1.5 [14 [19
DC-18-18-18W | M18X1.5 Rlielal221217=n
DC-22-22-22W | M22X1.5 15 [15 |15 s 15 s [19 |27
DC-26-26-26W | M26X1.5 181818111 [24][32)
DC-30-30-30W | M30X2 R nlnl3]3]|3]27]3%
i DC-36-36-36W | M36X2 28 |28 | 28 |25 |25 [25 (33 [ M
DC-45-45-45W | M45X2 35 (3503533 [3[41]5%
DC-52:52-52W | M52X2 42 | 42 142 25125 (25 [48 [60
;|w DD-14-14-14W | M14X15 6 | 616222 [1][17
DD-16-16-16W | M16X1.5 g[8 |8 f2[2]2][14][m
i DD-18-18-18W | M18X1.5 w1 [1]1[17]2
DD-20-20-20W | M20X1.5 12 (12121212 12[17][4)
DD-24-24-24W | M24X1.5 16 |16 | 16 |15 [1.5 [15 [22 |30
DD-30-30-30W | M30X2 20 |20 | 20 |25 [25 [25 [27 |36
DD-36-36-36W | M36X2 B [5]2]2[2][3]4
DD-42-42-42W | M42X2 30 (30305 |5][5 450
DD-52-52-52W [ M522 38 3838666460

if you are interested to order the adapter in complete set with cutting ring and nut,
it is necessary to insert suffix"RNafter our part NO, for example CC-22-22-22W/RN.

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



D. METRIC TUBE ADAPTERS

L
/AFAXXIONFLEX
B METRIC MALE 24°/0-RING ADJUST ABLE STUD BRANCH TEE
Thread Dimensions
ACHC Part No. E F TBEOD| Al B[ C[s[s1] %2
ADHD ACHC-14-12-14 0G | M14X15 | MI2X15 8 |2 |2 2w |7 |17
; ACHC-16-14-16 0G| M16X1.5 | M14X15 0 |23 [34 | B[4 [19 |19
ACHC-18-16-18 0G | M18X1.5 | M16X1.5 2 |5 |35 [5[19 |2 |2 ]
ACHC-22-18-220G | M22X1.5 | M18X15 15 | 29 [395 | 29 | 22 | 24 | 77
“H HC-26-22-26 0G | M26X1.5 | M22X1.5 18 |32 |46 |32 |27 |27 |32
St ACHC-30-27-300G | M30X2 | M27X2 22 |38 |51 |38 |30 |32 |36
 |ACHC-36-33-36 0G| M36X2 | M33X2 28 | 39 |54 |39 |33 |41 |4
-1 | i [ADHD-20-18-20 0G| M20X1.5 | M18X1.5 12 |25 |37 [ 25 |19 |24 |2
S [ADHD-24-22-24 0G| M24X1.5 | M22X1.5 16 |33 |44 |33 |27 |27 |30
. ¢ DHD-30-27-30 0G| M30X2 | M27X2 20 |38 |51 |38 |30 |32 3%
HD-36-33-36 0G| M36X2 | M33X2 25 |43 |54 |43 | 33 | 41 | 4
ADHD-42-42-420G| M42X2 | M42X2 0 |50 |5 |5 |4 |5 |50
METRIC MALE 24°/0-RING ADJUSTABLE STUD RUN TEE
Thread Dimensions
ACCH Part No. E F TUBEOD| A | B | C| S| 1| %2
ADDH ACCH-14-14-120G | M14X1.5 | M12X1.5 8 |2 |2 32417 |17
ACCH-16-16-14 0G | M16X1.5 | M14X1.5 10 |23 |23 [ 34|14 [19 |19
F ACCH-18-18-16 0G | M18X1.5 | M16X1.5 12125 |25 [35 |19 |2 [2
Ry ACCH-22-22-180G | M22X1.5 | M18X1.5 15 |29 |29 (39522 |24 | %
Lo ACCH-26-26-220G | M26X1.5 | M22X1.5 18 |32 |32 [46 |27 |27 |32
[ hcesearosMoa | M 2 |38 [38 |51 (30|32 3%
o .,,T I ” ACCH-36-36-33 0G | M36X2_| M33X2 22 |39 |39 |54 |33 a1 |4
| [ADDH-24-24-22 0G| M24X1.5 | M22X1.5 16 |33 |33 | 44 | 27 |27 |30
o\ ADDH-30-30-27 0G| M30X2_| M27X2 20 |38 |38 | 51130 |32 |36
A < ADDH-36-36-33 0G| M36X2 | M33X2 25 43 |43 |54 |33 | 41 | &1
ADDH-42-42-42 0G| M42X2 | M42X2 30 |50 |50 | 57 | 41 |50 |50

Please add "TOafter the part number if there is nowasher out of the O-ring on
the product, for example ACCH-22-22-18 0G/TO

METRIC MALE 24°L/H.T CROSS

Thread TUBE OD Dimensions

YC PartNo. | EFGH D|D1|D2[D3| A| S [
XD XC-16 M16X15 10 [10 |10 |10 |24 |14 |19
F XC-18 M18X1.5 (12| |n2x 172
D1 X2 M22X15 15 (15 |15 [15 |8 |19 [ 27 |

= ¥C-26 M26X15 18 [18 |18 |18 | 31 | 24 | 32

- < XC-30 M30X2 2 n|n |23k 27]3%

i, 1, ¥C-36 M36X2 28 (28 |28 |28 |38 |33 [ 4
T sTo XC-45 M45X2 35 [35 |35 |35 | 45 | 41 | 50
wio XC-52 M52X2 a9 a]s5 (48]
= = XD-20 | M20X15 22 (n|n|n 7 |x
s X022 | M22Xis 14 14 {14 |14 [ 30 |17 | 27|

| XD-24 | N24X15 16 [ 16 |16 | 16 | 33 | 24 | 30

D3 XD-30 | M30X2 20 [20 (20 |20 |37 |27 |36

H XD-36 | M36X2 5 (25|25 |25 |4 |34

X042 | M42X2 30 [30 |30 |30 [ 49 | 41 [ 50

XD52 | Ms2X2 38 [38 |38 |38 |57 |48 | 60

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Izl



- el

D. METRIC TUBE ADAPTERS

@AXXION FLEX
CUTTINGRING
Part No. TUBEQD Dimensions
GB IMPORTED | D
ir e |
-08 08 8
RL JRL RL-10 JRL-10 10
RL-12 JRL-12 12
RS JRS RL-15 JRL-15 15
RL-18 JRL-18 18
RL22 JRL-22 2
RL-28 JRL-28 28
RL:3S JRL-35 35
RL-42 JRL-42 4
Rs14 JRS-14 14
| RS-16 JRS-16 16
R$-20 JRS-20 20
RS-25 JRS-25 25
RS-30 JRS-30 30
RS-38 JRS-38 38
RETAINING NUTS
Thread TUBEQ.D Dimensions
Part No. E D L] S
NL-12 | MI2X15 6 145 | 14
NL NL-14 | M14X15 8 145 [ 17
NS NL-16 | M16X15 10 155 | 19
NL18 | M18X15 12 155 | 22
NL2 | M22X15 15 7 |27
5 NL-26 | M26X15 18 18 | 32
?ﬁ NL-30 | M30X2 2 20 |36
NL-36 | M36X2 28 A [ 4
?—< NL45 | M45X2 35 2% | 50
NL-52 | M52X2 3] 4 | 60
a . NS-14_ | M14X15 6 165 | 17
NS-16 | M16X15 8 165 | 19
NS-18 | MI8X15 10 175 | 22
LA, NS-20 | M20X1.5 12 175 | 24
i NS-22 | M22X1.5 14 205 | 27
NS-24 | M24X15 16 205 | 30
NS-30 | M30X2 2 4 | 36
NS-36 | M36X2 25 27 | 41
NS42 | M42X2 30 29 |50
NS52_ | M52%2 38 325 | 60

IE sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



el

———
/AF/AYXIONFLEX










R

E. METRIC ADAPTERS

1E9
B
5
_\r
= r
E
1EB
L
A B
—

i
@AX)\ION FLEX
METRIC MALE O-RING
Thread Dimensions
Part No. E F A B L )
1E-12-12 M12X1.25 M12X1.25 11 11 28 14
11414 | Mg15 | maxis | 1 i 2 17
1E-16-16 M16X1.5 M16X1.5 11 11 28 17
1E-18-18 M18X1.5 M18X1.5 11 11 28 19
16-22-22 M22X1.5 M22X1.5 12 12 32 24
1E-27-27 M27X1.5 M27X1.5 13 13 36 30
1E-30-30 M30X1.5 M30X1.5 14 14 38 32
1E-36-36 M36X2 M36X2 16 16 44 41
1E-39-39 M39X2 M39X2 18 18 48 4
1E-42-42 M42%2 M42%2 20 20 53 46
1E-45-45 M45X2 M45%2 20 20 53 46
1E-52-52 M52%2 M52X2 22 22 59 55
1E-60-60 M60X2 M&0X2 24 24 65 65
1E-64-64 M60X2 M60X2 28 28 73 70
90°METRIC MALE O-RING
Thread Dimensions
Part No. E F A B S
1£9-12-12 M12%1.25 M12X1.25 21 21 11
1E9-14-14 M14X15 M14X1.5 22 22 12
1E9-16-16 M16X1.5 M16X1.5 23 23 14
1E9-18-18 M18X1.5 M18X1.5 25 25 17
1E9-22-22 M22X1.5 M22X1.5 29 29 19
1£G-27-27 M27X1.5 M27X1.5 35 35 27
1E9-30-30 M30X1.5 M30X1.5 36 36 27
1£9-36-36 M36X2 M36X2 42 42 33
1£9-39-39 M39Xx2 M39X2 47 47 41
1E9-42-42 M42X2 M42X2 50 50 41
1E9-45-45 M45X2 M45X2 50 50 41
1£9-52-52 M52X2 M52%2 56 56 48
METRIC MALE O-RING/BSP MALE 60°SEAT OR BONED SEAL
Thread Dimensions
Part No. E F Al B| LS
1E8-14-04 | M14X15 | G1/4"-19 11 112 129 |19
1EB-16-04 | M16X15 | G1/4™19 1M 112 129 119
1EB-16-06 | MI6X15 | G3/8-19 11 (13532 |2
1EB-18-06 | MIBX15 | G3/8™-19 11 |135 | 32 | 2
1EB-18-08 | MI8X15 | G1/2-14 11 | 16 | 35 | &7
1EB-22-08 | M22X15 | G1/2-14 12 116 |36 | 27
1EB-27-08 | M27X15 [ G1/2"14 13 |16 | 38 | 30
1EB-27-12 | M27X15 | G3/4"-14 13 | 18 | 41 | 32
1EB-30-12 | M30X1S5 [ G3/4-14 14 |18 | 42 | 32
1EB-30-16 | M30%2 GIN 16 | 19 | 47 | 41
1EB-36-16 | M36X2 G1"-1 16 |19 |47 | &

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



J——
E. METRIC ADAPTERS

@AXXION FLEX

METRIC MALE O-RING/MALE

Thread ~ Dimensions

Part No. E F AlB|L]|S

1EH 1EH-12-10 | M12X15 | MioXi 1|8 |27 |14

1EH-14-12 | M14X1.5 | M12X15 1123 |7

L 1EH-16-14 | M16X1.5 | M14X15 IHERERE

A B 1EH-18-16 | M18X1.5 | M16X15 N3 [2

_ 1EH-22-18 | M22X15 | M18X1.5 12 12 [34 |24

—q 1EH-27-22 | M27X1.5 | M22X15 13 (15 |40 |27

1EH-30-27 | M30X15 | M27x2 14 (16 |8 |32

- = 1EH-36-33 | M36X2 | M33X2 16 |18 | 49 | 41
_1EH-39-33 | M39X2 | M33X2 18 |18 [ 51 |41 |
1EH-42-42 | MA2 | M40 20 |20 |57 |50
1EH-45-42 | M4sX2 | md42x2 20 |20 [57 |50
1EH-52-48 | M52X2 | mdsx2 2|26 |55

45"METRIC MALE O-RING/MALE ADJUSTABLE STUD
Thread Dimensions
Part No. E F Al B| S| S
1EH4-06 1EH4-12-1006 | M12X15 | M10X1 | i 19 (24 [ 11 |14
1EH4-14-120G | M14X15 | M12X1.5° 19 |28 |14 |17
o 1EH4-16-140G | M16X1.5 | M14X15 19 |28 |14 |19
51 1EH4-18-160G | M18X1.5 | M16X15 0[R2 2
1EH4-22-18 0G | M22X1.5 | M18X1.5 . (23 |32 |20 |24
1EH4-27-220G | M27X1.5 | M22X15 TRERFAP]
1EH4-30-27 0G | M30X1.5 | M27)2 A RERE!

” % 1EH4-36-330G | M36X2 | M33X2 3| 43 [33 |4
1EH4-39-330G | M39X2 | M33X2 36 [44 | 41 | 41
1EH4-42-420G | Ma2X2 | M42x2 38 |47 [ 41|50

A \i 1EH4-45-420G | M45X2 | M42)X2 41 | 49 |48 | 50
90°METRIC MALE O-RING/MALE ADJUSTABLE STUD
Thread Dimensions
1EH9-0G Part No. E F Al B[S [
F 1EHS-12-1006 | MI2X1.5 | M1OXT . 21 {265 | 11 |14 [
1EH9-14-120G | M14X1.5 | M12X15 14 |32 [4 |17
1EH9-16-140G | M16X1.5 | M14X15 24 34 [14]19
o — 1EH9-18-16 0G | M18X1.5 | M16X15 HERIRF
] & 1EH9-22-180G | M22X1.5 | M18X1.5 29 1395 |22 |24
= 1EH9-27-220G | M27X1.5 | M22X15 4 46 |7 | 27
- 1EH9-30-27 0G | M30X1.5 | M27x2 38 | 51 [30 [ 3
ol 1 1EH9-36-330G | M36X2 | M33X2 40 (54 [33 | 4
e 1EH9-39-330G | M39X2 | M33X2 1 (48 | 57 | 41 | 41
X s 1EH9-42-420G | M42X2 | M42)02 38 |57 [ 41|50
A 1EH9-45-42 0G | Masx2 | M42x2 54 |62 |48 |50
Please add "TO"after the part number if there is nowasher out of the O-ring on the product,
for example 1EH9-16-14 0G/TO

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Ia



1EM

1EN

E. METRIC ADAPTERS

1ET

)

5

F

@AKKION FLEX
METRIC MALE O-RING/60°SEAT BONDED SEAL
Thread Dimensions

Part No. E F AlB| L[S
1EM-14-12 | M14X15 | MI12X15 1M |10 |2 |17
1EM-14-14 | M14X1.5 | M14X1.5 1M |11 |295 | 19
1EM-16-14 | M16X1.5 | M14X15 11 [ 11 (295 | 19
1EM-18-16 | M18X1.5 | M16X1.5 11 | 12 325 | 22
1EM-22-18 | M22X15 | M18X1.5 12 |12 |34 | 4
1EM-30-27 | M30X1.5 | M27X2 14 |14 | 41 | 32
1EM-36-27 | M36X2 M27X2 16 |14 | 44 | 41
1EM-36-33 | M36X2 | M33X2 16 |18 | 48 | 41
- TEM-45-42 | M45X2 | M42)X2 20 |18 [ 55 | 50
1EM-52-48 | M52X2 | M48X2 2 2 |5 |60

METRIC MALE O-RING/NPT MALE

Thread Dimensions
Part No 2 F A[B[L|S

1EN-14-04 | M14X15 | Z1/4-18 1145 [ 31 (17 |
1EN-16:04 | M16X1.5 | Z1/4-18 11145 | 31 | 17
1EN-16-06 | M16X1.5 | Z73/8'-18 11 (145 | 31 | 19

 1EN-18-04 | MI8X1S | Z1/4-18 11 (145 132 119 | |
1EN-18-06 | MI8BX1S5 | Z3/8-18 11 (145 | 32 | 19
1EN-18-08 | M18X15 | 71/2"-14 11 |195 | 38 | 22
1EN-22-08 | M22X1.5 | 71/2"-14 12 1195 | 39 | 24
1EN-2708 | M27X15 | Z1/2"-14 13 (195 | 42 | 30
1EN-27-12 | M27X15 | Z3/4"-14 13 (195 | 42 | 30
1EN-30-12 | M30X1.5 | Z3/4™14 14 (195 |435 | 32
1EN-36-16 | M36X2 21115 16 (245 (515 | 41
1EN-39-16 | M39X2 Z1"-115 18 |245 [535 | 41
1EN-42-20 | M42X2 |21.1/4"115 20 |25 |58 |4
1EN-52-20 | M52X2 |Z1.1/4"-11.5 2 |25 |62 |55
1EN-60-24 | MeOX2 |Z1.1/2"-115 24 | 25 | 66 | 65

METRIC MALE O-RING/BSPT MALE
Thread Dimensions
PartNo. | F AlB[ L[S
1ET-14-04 | M14X1.5| ZG1/4-19 11 1145 | 31 | 17
1ET-16-06 | M16X15| 7G3/8"-19 11 [145 | 31 |19
1ET-18-06 | M18X1.5| ZG3/8"-19 11 145 |32 |19
1ET-22-08 | M22X1.5 | ZG1/2-14 12 1195 |39 | 4
1ET-27-08 | M27X1.5 | ZG1/2"-14 13 1195 | 42 | 30
1ET-30-12 | M30X1.5| ZG3/4™14 14 1195 (435 | 32
1ET-36-16 | M36X2 26111 16 |245 (515 | 41
1ET-39-20 | M39X2 | 2G1.1/4"11 18 [ 25 |56 |46
1ET-42-20 | M42X2 | ZG1.1/M4"1 20 |25 |58 |46
1ET-52-20 | M52X2 | ZG1.1/4"11 2 |25 |62 |55
1ET-60-24 | M60X2 | 2G1.1/2"11 24 [ 25 |66 |65

.a sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



—

E. METRIC ADAPTERS

@A}(XION FLEX
90°METRIC MALE O-RING/BSPT MALE
Thread Dimensions
1ET9 Part No. E F A B | S
1ET9-14-04 | M14X15 | 2G1/4™-19 24 125 |14
| 1ET9-16-04 | M16X1.5 | 2G1/4"19 24 125 |14
1ET9-16-06 | M16X1.5 | ZG3/8"-19 25 | 28 |17
1ET9-18-06 | MI8X1.5 | ZG3/8"-19 25 | 8|17
F 1ET9-18-08 | MI8X15 | ZG1/2"-14 29 |35 | 2
L 1ET9-22-08 | M22X1.5 | 2G1/2"-14 30 |35 | 2
1ET9-27-08 | M27X1.5 | ZG1/2"-14 B | 4|7
- 1ET9-30-12 | M30X15 | 2G3/4"-14 35| 4|5
J\J 1ET9-36-12 | M36X2 | ZG3/4"-14 1 |4 |33
s s 1ET9-36-16 | M36X2 | 26111 Q|49 |33
A 1ET9-39-20 | M39X2 |ZG1.1/4"-11 47 | 51 | 41
1ET9-42-20 | M42X2 |ZG1.1/4"N 9 |5 |4
1ET9-52-24 | M52X2 |ZG1.1/2"11 58 | 58 | 48
90°METRIC MALE O-RING/NPT MALE
Thread Dimensions
1EN9 Part No. E F A B 5
1EN9-14-04 | M14X15 | Z1/4™18 M4 125 |14
1ENS-16-04 | MI16X1.5 | Z1/4"-18 24 | 35 [ 14
1EN9-16-06 | M16X1.5 | Z73/8™18 B | 817
TENG-18-06 | M18X15| Z3/8"-18 % |28 | 17
; ] 1ENG-18-08 | MI8X15 | Z1/2-14 29 | 35 | 22
. 1EN9-22-08 | M22X15 | Z1/2™14 30 |35 [ 2
1 1ENG-27-08 | M27X15 | Z1/2-14 35 | 41 | 27
s 1ENS-30-12 | M30X15 | Z3/4"14 3B 4| 2T
i 1ENG36-12 | M36X2 | 73/4-14 4 | 44 |33
s 1EN9-36-16 | M36X2 | 71115 a1 |49 |33
A 1EN9-39-20 | M39%2 |Z1.1/4-11.5 47 | 51 | 4
1EN9-42-20 | M42X2 |[Z1.1/4™115 49 | 51 | 4
1ENS-52-24 | M52X2 |Z21.1/2"115 58 | 58 | 48
METRIC MALE O-RING/BUTT-WELD TUBE
Thread Dimensions
1EW Part No. 3 TUBEOD AlB|lD|L]|S
1EW-12-06 | M12X1.25 6 1 8 6 |25 |14
i 1EW-14-08 | M14X1.5 8 1 | 8 B 125 17
1EW-16-10 | M16X1.5 10 n B 110 [25 |17
A B 1EW-18-12 | M18X1.5 12 1M 12 112 [ 29 |19
( 1EW-22-14 | M22X15 14 12 [12 [ 14 [32 [ |
— 1EW-27-18 | M27X15 18 13 |12 | 18 | 34 | 30
i g 1EW-30-22 | M30X1.5 22 14 114 | 22 |37 | 32
1EW-36-28 | M36X2 28 16 |16 | 28 | 4 | 41
1EW-39-30 | M39X%2 30 18 |16 | 30 | 44 | 4
1EW-42-34 | M42%2 34 20 |16 | 34 |49 | 46
1EW-45-38 | M45X2 38 20 118 | 38 | 51 | 46
1EW-52-42 | M52%2 42 22 | 18 | 42 [ 55 | 55

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



il

E. METRIC ADAPTERS

1EW9

269

2WE

—

- [

@AXKION FLEX
90°METRIC MALE O-RING/BUTT-WELD TUBE
Thread Dimensions
Part No. E TUBEQ.D A|l B|D]|S
1EW9-12-06 | M12X1.25 6 A 1611
1EW9-14-08 | M14X1.5 B 212 8 |12
1EW9-16-10 | M16X1.5 10 2 12 1014
1EW9-18-12 | MI8X15 12 25 (28112 | W
1EW9-22-14 | M22X1.5 14 29 (29 |14 |19
_1EW9-27-18 | M27X15 _48- | |35 |3 |18 |
1EW9-30-22 | M30X1.5 22 3% |40 | 22 | 27
TEW9-36-28 | M36X2 28 47 |44 | 2B | 33
1EW9-39-30 | M39X2 30 47 |49 |30 [ &
 1EWS-42-34 | M42X2 EL 30 |50 [34 |4
1EW9-45-38 | M45X2 38 50 [ 50 | 38 | 41
1EW9-52-42 | MS2X2 42 56 | 53 | 42 | 48
90°METRIC O-RING
Thread Dimensions
Part No. E F A B S
2E9-1212 M12X1.25 M12X125 21 8 1
~ 2E9-14-14 M14X15 M14X1.5 22 9 | 12
2E9-16-16 M16X1.5 M16X1.5 23 95 14
2E9-18-18 M18X1.5 M18X1.5 25 95 17
2E9-22-22 M22X1.5 M22X1.5 29 10 19
C2E92727 | M2IX1s | M7X1s | 32 | 11 | A
2693030 | M30X15 | M30X15 | 36 | 115 | 27
2E9-36-36 M36X2 M36X2 40 13.5 3
2E9-39-39 M39X2 M39X2 47 13.5 41
2E9-42-42 M42X2 M42X2 50 15.5 4
2E9-45-45 M45X2 M45X2 50 15.5 41
2£9-52-52 M52%2 M52X2 56 17.5 48
BUTT-WELD TUBE/METRIC FEMALE O-RING
Thread Dimensions
Part No. E Al DI S
IWE-06-12 | M12X1.25 8 14
JWE-08-14 | M14X15 ) 8 |17
2WE-10-16 | Mi16X15 B [10 |19
_ 2WE-12-18 | MI8X15 85 [12 | 2
IWE14-22 | M22X1.5 10 |14 |7
JWE-18-27 | M27X15 105 [ 18 | 32
IWE-22-30 | M30X15 M [122]3%
2WE-28-36 | M36X2 13 |28 | &1
_ IWE-30-39 | M39X2 13 [ 30 | 46
IWE-34-42 | M42X2 15 | 34 | 50
JWE-38-45 | M45X2 15 | 38 | 55
JWE-42-52 | M52X2 17 | 42 | 60
JWE-50-60 | Ma0X2 20 [ 50 |70
JWE52-64 | Me4X2 3|57

la sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



-

E. METRIC ADAPTERS

@A}(XION FLEX
METRIC MALE O-RING PLUG
Thread Dimensions
4 Part No. E A L S
4E12 M12)1.25 10 16 I
; 4E-14 M14X15 i 17 17
4E-16 M16X1.5 i 17 17
A 4E-18 M18X1.5 1 17 19
ay N M22X1.5 12 20 24
?—{" aE27 M27X15 13 pE 30
4E-30 M30X1.5 14 24 3
= 4E-36 M36X2 16 28 41
A T3] M42X2 20 13 16
= 445 M4SX2 20 33 46
‘Jt; 4E52 MS2X2 2 37 55
4E-60 ME0X2 24 4 65
METRIC MALE O-RING BULKHEAD
Thread Dimensions
6E-LN Part No. E F A B L S 51
6E12IN | MI2X125 | MIX125 | 11 | 315 | 485 | 17 | 17
L 6E14IN | MIaX15S | M5 | 11 [ 325 [ 495 |19 [ 19
A B 6E16IN | MIGX1S | Miexis | 11 [ 325 | 515 | 22 | 2
= 6E18IN | MIBXIS | MISX15 | 11 | 33 | 52 | 24 | M
6ERIN | Ma2X15 | Maxi5s | 12 [355 | S8 | 27 | 30
- 6E27IN | Mamis | mMamas [ 13 | 37 | el | 32 | 36
- - 6E-30LN | M30X15 | M30X15 | 14 | 38 | 63 | 36 | 4
| 6E36 N | M36X2 M6X2 | 16 | 42 | 71 | 41 | 46
% 6E39LN | M39X2 MI9X2 | 18 | 44 | 74 | 46 | 50
2 ] 6E-42 LN Md2X2 Md2X2 20 | 46 | 80 | 50 [ 50
6E45 (N | M45X2 Masx2 | 20 | 46 | 80 | 55 | 55
6E52LN | Ms2x2 Ms2X2 | 22 | 49 | 8 | 65 | 65

90°METRIC MALE O-RING BULKHEAD
Thread Dimensions
6E9-LN Part No. E F A B 5 S1
6E9-12 LN M12X1.25 M12X1.25 21 445 11 17
F 6ES-14LN | M4X1S | MI4X15 | 22 | 465 | 12 19

GESI6LN | Mi6X15 | MieX15 | 23 | 48 | 14 | 2
6E9-18 LN M18X1.5 M18X1.5 25 50 17 24
C 6E922LN | M22X15 | M22X15 | 29 | 54 | 19 30
6E927IN | M27X15 | M22X15 | 35 | 585 | 27 | 36

= 6ES30LN | M30X15 | M3OXIS | 36 | 615 | 27 | 4
s 5 6E9-36 (N | M36X2 M36X2 5] 71 3 46
6ES39LN | M39X2 | M39X2 7 | 16 | &1 | 50

" 6E942LN | MAQ | M4 50 | 78 | 4l 50
GE9ASLN | MASX2 | M45X2 50 81 a | 55

6E9S2LN | M52 | M52X2 S6 | 8 | 48 | 65

Please delete "LN" after the part number if don't need with lock nut for example 6E-16,

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



R

E. METRIC ADAPTERS

AE

51

BE

i
AF/AYXIONFLEX
METRIC FEMALE FACE PLUG
Thread Dimensions
Part No. 4 L B S
9E-12-12 M12X1.25 10 8 14
9E-14-14 M14X1.5 10.5 8 17
OF-16-16 M16X1.5 115 8 19
9E-18-18 M18X1.5 13 85 22
9F-22-22 M22X1.5 13 10 27
OF-27-27 M27X1.5 15 10.5 32
9E-30-30 M30X1.5 15 1 36
9E-36-36 M36X2 17 13 41
9E-39-39 M39X2 18 13 46
9F-42-42 M42X2 19 15 50
QE-45-45 M45X%2 19 15 55
9F-52-52 M52X2 19 17 60
METRIC MALE O-RING TEE
Thread Dimensions
Part No. EFG A B C )
AE-14 M14X1.5 22 22 22 12
AE-16 M16X1.5 23 3 23 14
AE-18 M18X1.5 25 25 25 17
AE-22 M22X1.5 29 29 29 19
AE-27 M27X1.5 35 35 35 27
AE-30 M30X1.5 36 36 36 27
AE-36 M36X2 42 42 42 3
AE-39 M39X2 47 47 47 41
AE-42 M42X2 50 50 50 41
AE-45 M45X2 50 50 50 41
AE-52 M52X2 56 56 56 48
METRIC MALE O-RING TEE
Thread Dimensions
Part No. EFG A B C S 51
BE-14-14-14 |  MI14X1.5 22 22 9 12 19
BE-16-16-16 | MI16X1.5 3 3 195 [ 14 2
BE-18-18-18 M18X1.5 25 25 95 17 24
BE-22-22-22 | M22X1.5 29 29 10 19 27
BE-27-27-27 | M27X1.5 35 35 i 27 32
BE-30-30-30 M30X1.5 36 36 115 27 36
BE-36-36-36 | M36X2 2 2 135 | 3 41
BE-39-39-39 | M39X2 47 47 | 135 | 4 46
BE-42-42-42 M42X2 50 50 | 155 41 50
BE-45-45-45 |  M45X2 50 50 155 [ 4 55
BE-52-52-52 | M52X2 56 56 [ 175 | 48 60

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



—

E. METRIC ADAPTERS

@AXXION FLEX
METRIC MALE
1 Thread Dimensions
Part No. E F A B L 5
1H-10-10 M10X1 M10X1 8 B |22 |14
L 1H-12-12 M12X1.5 M12X1.5 12 {12 130 |17
A B 1H-14-14 M14X1.5 M14X1.5 12 112 130 |19
R ) 1H-16-16 M16X1.5 M16X1.5 12 112 |32 | 22
Il | 1H-18-18 M18X1.5 M18X1.5 12 112 |32 | 4
"l w 1H-22-22 M22X1.5 M22X15 15 |15 139 | &7
1H-27-27 M27X2 M27X2 16 |16 | 42 | 32
1H-33-33 M33X2 M33X2 18 |18 | 48 | 41
1H-42-42 M42X2 M42X2 20 [ 20 [ 54 |50
5 1H-48-48 M48)2 M48X2 2 |2 [59 |55
Please add "TO" after the part number if there is nowasher out of the O-ring on
the product, for example 1H-16-16 TO
METRIC MALE PLUG
4H Thread Dimensions
Part No. E Al LS
L 4H12 M12X1.5 12 (195 | 17
A 4H-14 M14X1.5 12 (195 | 19
3 4H-16 M16X1.5 1 |1 |8
4H-18 M18X1.5 12 | 22 | 24
IH | . 4H-22 M22X1.5 15 |25 |27
Y 4H-27 M27x2 16 |29 |32
i 4H-33 M33X2 18 | 33 | 41
7L/'I 4H-42 Ma2X2 20 | 37 | 50
S Please add "TO"after the part numberf there is nowasher out of the O-ring on
the product, for example 44-16 TO
METRIC MALE PLUG
4HN Thread Dimensions
Part No. E Al LIS
L 4HN-10 M10X1 8 | 12 5
A 4HN-12 M12X1.5 12 116 ] 6
- 4HN-14 M14X1.5 12 |17 ] 6
4HN-16 M16X1.5 12 | 17 8
4HN-18 M18X1.5 12 117 18
- 3 4HN-22 M22X1.5 15 120 [10
4HN-27 M27X2 16 | 21 | 12
= 4HN-33 M33X2 18 | M4 |17
4HN-42 M42X2 20 |26 | 2
4HN-48 M48x2 2 |28 | M
Please add "TO"after the part number if there is nowasher out of the O-ring on
the product, for example 4HN-16TO

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Ia



E. METRIC ADAPTERS

1]

@AK XIONFLEX
METRIC MALE DOUBLE USE FOR 60°SEAT OR BONDED SEAL
Thread Dimensions
Part No. E F A| B L]| S
1M-10-10 M10X1 M10X1 8 8 |4 |4
1M-12-10 M12X1.5 M10X1 10 8 [26 [ 17
IM-12-12 M12X1.5 M12X1.5 10 |10 (28 | 17
1M-14-12 M14X1.5 M12X1.5 12 110 | 30 |19
1M-14-14 M14X1.5 M14X1.5 12 112 132 [ 19
1M-16-14 M16X15 M14X15 2132 13 | 22
1M-16-16 M16X1.5 M16X1.5 12 |12 | 36 | 22
1M-18-16 M18X1.5 M16X1.5 12 112 [ 36 | 24
1M-18-18 M18X1.5 M18X1.5 12 112 [36 | 24
1M-22-20 M22X1.5 M20X1.5 14 |12 | 40 | 27
1M-22-22 M22X1.5 M22X1.5 14 | 14 | 42 | 27
1M-26-26 M26X1.5 M26X1.5 16 |16 | 46 | 32
IM27-27 | M2TX2 | M2TK2 16 | 16 | 46 | 32
1M-30-30 M30%2 M30X2 18 |18 | 53 [ 36
METRIC MALE DOUBLE USE FOR 60°SEAT OR BONDED SEAL PLUG
Thread Dimensions
Part No. E AT L[S
4M-10 M10X1 8 |15 [ 14
4M-12 M12X15 10 | 18 | 17
4M-14 M14X1.5 12 [185 | 19
4M-16 M16X1.5 12.| 22 | 22
4M-18 M18X15 12 |22 | 24
4M-20 M20X1.5 12 | 22 | 7
M2 M22X1.5 4 [ 25 |27
4M-26 M26X1.5 16 |28 | 32
4M-27 M27%2 16 | 28 | 32
4M-30 M30X2 18 | 32 | 36
METRIC MALE CAPTIVE SEAL HOLLOW HEX PLUG
Thread Dimensions
Part No. E Al LI S
4MN-10WD M10X1 B |123 [ &
4MN-12WD | MI12X15 12 |[173 | &
4MN-14WD | M14X15 12 {173 | 6
4MN-16WD | M16X1.5 12 (173 | 8
AMN-1BWD | M18X1.5 12 (173 | 8
4MN-20WD |  M20X15 14 [193 | 10
4MN-22WD | M22X1.5 14 193 | 10
4MN-26WD | M26X%1.5 16 (213 | 12
4MN-27WD M27X2 16 (213 | 12
4MN-33WD M33%2 16 |228 | 17
IMN-42WD | Md2X2 16 (28 | 22
4MN-48WD M48X2 16 228 | 24

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



—

E. METRIC ADAPTERS

@AXXION FLEX
JIS METRIC MALE 60°CONE
Thread Dimensions
1K Part No. E F A B L g
11414 | MI4X15 | MI4X15 7 |17 |40 [17
L 1K16-16 | MI6X15 | MI6X15 18 |18 | 42 |17
p 2 11818 | MIgX15S | MIsX1s 18 |18 | 42 |19
- 12020 | M20X15 | M20X15 0 |20 |48 |0
K222 | M5 | M22K15 20 | 20 |48 | 24
iHiaiEh KA | MaS | ML as(as (s [ |
E w 163030 | M30X15 | M30X15 % | 26 | 6 |3
— — 163333 | M33N15S | M33X15 30 |30 | 71 | 36
163636 | M36X15 | M36X15 3 |33 | 78 |4l
sl / 4242 | M4X15 | M42X15 36 | 36 | 85 | 46
JIS METRIC MALE 60°CONE/BSP MALE O-RING
1KG Thread Dimensions
Part No. 3 F Al el L]
L 1KG-14-04 | MI4X15 | G1/4™19 17 |12 |36 |19
A B IKG14-06 | M14X15 | G3/8-19 | o M A A I .
—\ 1KG-16:06 | MI6X15 | G3/8™19 18 |12 |38 | »
/H - ]]—r IKG-1806 | MI18X15 | G3/8™19 18 |12 |38 |2
| . KG-2208 | M2X15 | G1/2"14 0 |14 |8 |2
| 1KG-30-12 | M30X1.5 | G3/4"-14 26 |16 | 52 | 32
_ - 1KG3312 | M33X15 | G3/4™14 30 |16 | 57 | 36
ﬂ—ﬁl 1KG3316 | M33X15 | GI-1] 30 | 18 | 60 | 41
1KG9-0G 90°J1S METRIC MALE 60°CONE/BSP MALE O-RING ADJUSTABLE STUD END
Thread Dimensions
Part No. E F Al B[S |9
F 1KGS-14-040G | M14X15 | G1/4™19 29 (32 |14 |19
1KG9-14-060G | M14X15 | G3/8™19 29 |2 |14 |2
1KG9-16-060G | M16X15 | G3/8-19 R [35 |19 | 2
Eﬁ . 1KGO-18-060G | MISX1S | G3/8-19 335 | 19
: 1KG9-22-080G | M22X15 | G114 | VA .3 7 7
: 1KG9-24-080G | M24X15 | G1/2™-14 FRERF A A
" 1KG9-24-120G | M24X15 | G3/4™14 2 |50 | 27 |32
] A 1KG9-30-1206 | M30X15 | G314 45 50 |27 | R
. 5 1KG9-33-160G | M33X15 | G111 54 [555 | 33 | 41
1KG9-42-200G | Ma2X15 | Gi.1/411 60 | 57 | 41 | 50

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A I!u



E. METRIC ADAPTERS

@AKKION FLEX

JIS METRIC MALE 60°CONE/METRIC MALE ADJUSTABLE STUD END

_ Thread __ Dimensions
1KH Part No. E F AlBIl LIS
1412 | NIaXIS | MI2XIS IAEEREL
\ 1KH-1414 | MI4X1S | MI4X15 7 12 (35 [19
: . 11614 | MI6XLS | MI4X13 18 [12 [ 3% |19
— _IKH-18-14 | MIBXIS | MI4X1S | A 18 |12 [36 |19
=L ) TKH1816 | MIBKLS | MI6X1S 18 |12 |38 | 2
T T T Fresteae | wisas | waoxes 8 [ [ [
w - 1KH20-18 | M20XLS | MIsXis 20 [12 |40 |
=, 142220 | M22X1S | M20KIS 20 [12 [ a1 |2
—\‘m}_ﬁ' 2622 | M2AXLS | M2X15 215 [ 15 |455 | 27
s KH3027 | M3oKLs | M % [ 16 |52 | 22
1KH3633 | M36X15 | M33X2 33 |18 | 63 | 4

90°)IS METRIC MALE 60°CONE/METRIC MALE ADJUSTABLE STUD END

Thread Dimensions
1KH9-0G Part No. E F A B | S |5
1KHS-14-12 0G| M14X1.5 M12X1.5 29 [32 |14 |17
1KH9-14-140G | M14X1.5 | M14X15 | | |39 1558 134 | 19
F 1KH9-16-140G | M16X15 M14X1.5 3136 |19 |19
1KH9-18-140G | M18X1.5 | MI4X15 | 3B 13% (19119
1KH9-18-160G | M18X1.5 M16X1.5 33 135 |19 |22
1 1KH9-20-18 0G| M20X1.5 M18X1.5 37 1395 | 22 | 4
@ 1KH9-22-200G | M22X1.5 M20X1.5 3|14 |2 |\Y
1KHS-24-200G | M24X1.5 M20X1.5 4 | 43 |27 | 27
1KH9-24-220G | M24X1.5 M22X1.5 42 145 |27 | &7
w ) 1KH9-30-27 0G| M30X1.5 M27X2 45 | 50 [ 27 | 32
N 1KHS-36-330G | M36X1.5 M33X2 5 154 [33 | &
A Please add "TC"after the part number if there is nowasher out of the O-ring on
the product, for example 1KH9-16-14 0G/TOD
JIS METRIC MALE 60°CONE/BSPT MALE
Thread Dimensions
1KT Part No. E F A Bl Il I 8§
1KT-14-04 M14X1.5 2G1/4'-19 17 145 375 | 17
L CIKT-14-06 | M14X1.5 | ZG3/8%19 | i 117 145 [375 |19
A B 1KT-16-06 M16X1.5 2G3/8"19 18 [145 [385 | 19
— 1KT-18-06 | MI8X1.5 | ZG3/8-19 18 |145 |385 | 19
| i ~ 1KT-20-06 M20X1.5 2G3/8"19 20 |145 (425 | 2
/I_[ I 1KT-22-06 M22X1.5 2G3/8"-19 20 (145 |425 | M4
- ] 1KT-22-08 M22X1.5 2G1/2"-14 20 |195 |475 | 4
~ 1KT-24-08 M24X1.5 ZG1/2"-14 215 [195 | 50 | 27
;2};/:@ K412 | MXIS | ZG3/4™14 215 [195 | 50 | 30
1KT-30-12 M30X1.5 2G3/4"-14 26 [195 |555 | 32
1KT-36-20 M36X1.5 | 2611411 3|5 [ 71|46
1KT-42-24 M42X1.5 | 2G1.1/2°-11 36 [ 25 |75 |50

IEII sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



—

E. METRIC ADAPTERS

JISMETRIC MALE 60°CONE/NPT MALE
Thread Dimensions
1KN Part No. E F A|lB|L]|S
1KN-14-04 | MI14X15 | Z1/4-18 17 145 375 | 17
L 1KN-1606 | M16X1.5S | Z3/8-18 18 [145 [385 | 19
A B 1KN-1806 | M18X15 | Z3/8"18 18 [145 [385 | 19
e 1KN-2006 | M20X1.5 | Z3/8-18 20 (145 [425 | 22
1KN-22-08 M22X1.5 217214 20 |195 [475 | 4
ﬂ IH 1KN-2408 | M24X15 | Z1/2"14 215 (195 [ 50 | 27
. I CIKN-30-12 | M30X1S | Z3/4%14 _ 26 1195 |355 | 32
7 ™~ 1KN-33-16 | M33X1S | 21115 30 |245 | 65 | 36
ju‘ £ 1KN-36-20 | M36X1.5  |Z1.1/4-115 33125171 |4
5 1KN-4224 | M42X15  |Z112"-115 36 |25 |75 | 50
JIS METRIC MALE 60°CONE PLUG
4K Thread Dimensions
Part No. E A L 3
L 414 M14X1.5 7 18|77
A _4K16 | MI6X1S ds 18 |24 |17
4K-18 M18X1.5 18 [ 24 |19
ﬂ 4K-20 M20X1.5 0 |28 |22
= 4-22 M22X1.5 0 |28 [ M4
I/ AK4 | M24X15 ) 215 |315 | 27
' 4K-30 M30X1.5 26 |36 | 3]
4-33 M33X1.5 30 | 41|36
o JIS METRIC FEMALE 60°SEAT PLUG
Thread Dimensions
. Part No. E B|L| S
) 9K-14 M14X1.5 0 |14 |19
9K-16 M16X1.5 95 |16 | 22
- 9K-18 M18X1.5 1117 | M4
9K-22 M22X1.5 14 |17 |27
b 9K-24 M24X1.5 135 | 18 | 32
B | L 9K-30 M30X1.5 20 (195 | 36
0K-33 M33X1.5 2052 | 4
AK
JIS METRIC MALE 60°CONE TEE
Thread Dimensions
F Part No. E F G A|lB| C| S
AK-14 M14X1.5 M14X15 | M14X15 | 29 | 29 | 29 | 14
Y AK-16 MI6X1S | Mi6xis | Miexis | 31 | 31 | 31 |17
AK-18 M18X15 MI18X15 | MIBXIS |33 | 33 | 33|19
N AK-22 M22X1.5 M22X15 | M2X15 |37 |37 |37 | 22
] 5 AK-24 M24X15 M24X15 | M24X15 | 38 | 38 | 38 | 4
] |[[ AK-30 M30X1.5 M30X15 | M30X15 | 45 | 45 | 45 | 27
T AK-33 M33X1.5 M33%15 | M33X15 | 55 | 55 | 55 | 33
A C

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



- el

E. METRIC ADAPTERS

NF/AXXIONFLEX

Bt JIS METRIC MALE 60°CONE/FEMALE 60°SEAT BRANCH TEE
3 Thread __Dimensions
=] T PartNo. B | F | 6 |a[B[c[s]s
1 " BK-1414-14 MI4X15 | MI4X15 | MI4X15 | 29 | 10 | 29 |14 |19
BK-16-16-16 MIBX1S | MI6X15 | MIeX15s | 31 [95 [ 31 [17 | 2
BK-18-18-18 MISXLS | MIBXLS | MIBXIS |33 | 11 [ 33 |19 | 24
& = BK-22-22-22 MIX1S | M22X15 | MazNis |37 |4 |3 (2 |
z ) BK-24-24-24 MMX1LS | M24X15 | M24X15 | 38 [135 | 38 | 4 | 32
NS BK-30-30-30 M30%1.5 M30X1.5 M3OX15 | 45 | 20 | 45 | 27 | 36
A c BK-33-33-33 M33X15 | M33X15 | M33X15 | 55 [205 | 55 | 33 | 41
JIS METRIC MALE 60°CONE/FEMALE 60°SEAT RUN TEE
Thred | Dimensions
~ Partho. E [ F [ 6 |AalB[c[s]s
CK-14-1414 MI4X15 | MI4X15 | Miaxis |29 [ 10 [ 29 [ 14 |19
CK-16-16-16 MIGXLS | MI6X15 | MIeX15 | 31 (95 | 31 |17 | 2
CK-18-18-18 MISXILS | MISXIS | MIBXLS |33 | 11 |33 |19 | 24
CK-22-22-22 M22%1.5 M22X1.5 M22X15 | 37 |14 | 37 | 22 | &7
CK-24-24-24 M24X1.5 M24¥1.5 M24X15 | 38 |135 | 38 | 24 | 32
| CK-30-30-30 M30X1.5 M30X1.5 M30X15 | 45 | 20 | 45 | 27 | 36
| CK-33-3333 M33X15 | M33X15 | M33XLS | 55 |205 | 55 | 33 | 41
JIS METRIC MALE 60°CONE/BSP MALE O-RING ADJUSTABLE STUD END RUN TEE
Thread Dimensions
AKKG-0G Part No. E F G Al c[s s
AKKG-14-14-040G |  M14X1.5 M14X15 G1/4'-19 29 |32 129 |14 |19
—“i AKKG-14-1406 0G |  M14X1.5 M14X15 G3/8"-19 29 |32 129 |14 |22
{ | AKKG-16-16-06 0G |  MI16X1.5 M16X1.5 G3/8"-19 33 (35 | 33 |19 | 12
= 5 AKKG-18-18060G |  M18X1.5 | MIBX15 | G3/8-19 |33 |35 |33 |19 | 22
r i "AKKG-22-22080G| M2X15 | M2X1S | GI2-14 |37 |4 [ |2 |2
AKKG-24-24080G | M24X15 | M24X15 | GI2-14 |42 |50 | @ |27 | 27
e o AKKG-24-24120G | M24X15 | M24X15 | G314 | 42 |50 |4 |27 | 32
] L] AKKG-30-30-120G | M30X15 | M30X15S | G3/4™-14 | 45 | 50 | 45 | 27 | 32
A s AKKG-33-33-160G | M33X15 | M33X15 | G111 | 54 555 | 54 | 33 | 41
JIS METRIC MALE 60°CONE/METRIC MALE ADJUSTABLE STUD END BRANCH TEE
Thread Dimensions
AKHK-0G Part No. E F G Al Bl C|[S|S
AKHK-14-12-140G |  M14X1.5 M12X1.5 MI4¥15 | 29 |32 | 29 |14 | 17
AKHK-14-14-140G |  M14X1.5 M14X1.5 MI4¥15 | 29 | 33 | 29 |14 | 19
AKHK-16-14-160G | M16X15 | M14X15 | Mi6X15 | 33 | 36 | 33 |19 | 19
AKHK-18-14-180G | MI8X15 | M14X15 [ MI8XIS |33 |36 |33 |19 |19
AKHK-18-16-180G | MI8X15 | M16X15 | M1sx1s [ 33 [35 |33 [19 |22
‘EI ﬁ = AKHK-20-18-200G | M20X15 | M18X15 | M20X15 | 37 (395 | 37 | 22 | 24
— A AKHK-2220-220G | M22X15 | M20X15 | M2X15 |37 | 41 |37 |2 |27
5 AKHK-24-22-2406 | M24X15 | M22X15 | M24X15 | 42 |45 | @ |27 | 27
= II] AKHK-30-27-300G |  M30X1.5 M27%2 M30X15 | 45 | 50 | 45 | 27 | 32
l"-.i AKHK-33-33-330G | M33X1.5 M33x%2 M33¥15 | 54 | 54 | 54 | 33 | 41
i % AKHK-3633-360G | M36X15 M33X2 | M36X15 | 57 | 54 | 57 | 33 | 4

lga sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



J——

E. METRIC ADAPTERS

AFAXXIONFLEX
METRIC MALE 74°CONE
Thread Dimensions
Part No. E F Al B L]|S
1Q 1Q-10-10 Mi0X1 M10X1 12 112 |30 |12
10412412 | MI2X15 | MIX1S 16 |16 |38 |14 |
) 101414 | MX15 | M14X1s 6 | 16 | 38 |17
101616 | MI6X15 | MI6X1S5 18 18 |4 |17
A B _1Q1818 | MIBX1S | MIBX1S 17 |17 [40 [19 [
| F— 1Q-22-22 M22X1.5 M22X1.5 19 [ 19 | 46 | M4
T — H\ 10-24-24 M24%1.5 M24X1.5 20|20 |4 |27
w - 102727 | M27X1LS | M2TX1S 20 |20 |49 13 |
— — 103030 | M30X15 | M30X15 3 | B |55 |32
jy_J 10-33-33 M33X2 M33X2 % | 2% |62 |36
103636 | M36X2 | M36X2 2% | %6 | 63 | 41
10-39-39 M39x2 M39X2 26 | 26 |63 | 4
10-42-42 Ma2x2 M42X2 285 |285 | 70 | 46
1Q-45-45 M45X2 M45X2 285 (285 | 70 | 46
METRIC MALE 74°CONE PLUG
Thread Dimensions
Part No. E Al L S
4Q 4Q-10 M10X1 12 118 |12
40-12 MI2X1S 6 |2 [14 | |
L 40-14 M14X15 6 | 2 |17
2 4Q-16 M16X15 18 |24 |17
40-18 M18X1.5 7 123 |19
» Q2 | max1s 19 |27 |
/| — 1024 | MMXIS 202 |2
e 40-27 M27%1.5 20 | 29 |30
_V 4Q-30 M30X1.5 23 |32 [
i}_ 4Q:33 M33X2 2 |36 | 3%
40-36 M36X2 % |37 | &1
4Q-39 M39x2 H |37 | 4
4Q-42 M42X2 285 (415 | 46
4045 M45X2 i _ 1285 [415 | 46 |
METRIC MALE 74°CONE/BSP MALE 60°SEAT OR BONDED SEAL
108 Thread Dimensions
Part No. E F AlB[L]S
1QB12-02 | Mi2Xi5 | GI/8-28 6 | 9 |31 |14
: 1081404 | M14X15 | G1/4™19 16 |12 |34 |19
- i _10B-1606 | M16X1S5 | G3/8~19 | | [ 18 |135 395 |22 |
g 10B-1806 | MI8X15 | G3/8™19 17 135 |385
j]l ?_1 10B-22-08 M22X1.5 G1/2"-14 19 [ 16 | 4 | 27
e L. 1082410 | MMX15 | G5/8-14 20 |16 |45 |30
\_Aj\]d_‘_ 10B-27-12 M27%1.5 (3/4"-14 20 |18 | 48 | 32
10B-30-12 M30X1.5 G3/4"-14 23 118 | 5 | 32
10B33-16 | M33X2 | G111 | | {26 |19 |565 |41 |
10B39-16 |  M39X2 G1™11 2% | 19 565 | 41
1084520 | M45X2 | GLI/4-11 285 |20 |62 | 50

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A IEII



E. METRIC ADAPTERS

1M

$1

| [Pl

@AXXION FLEX
METRIC MALE 74°CONE/METRIC MALE 60°SEAT OR BONDED SEAL
Thread Dimensions
Part No. E F Al B | LIS
10M-10-10 M10X1 M10X1 12 |8 |28 |14
C1QM-12-10 | MI2XIS | M10XT |16 | 8 |30 |14
10M-12-12 M12X1.5 M12X1.5 16 |10 | 34 | 17
10M-14-12 M14X1.5 M12X1.5 6 (10 | 34 |17
10M-14-14 M14X1.5 M14X15 16 | 11 | 35 |19
10M-16-16 M16X1.5 M16X1.5 18 |12 | 40 | 22
10M-18-16 | M18X1.5 M16X1.5 17 112 139 |22
10M-18-18 M18X1.5 M18X1.5 17 112 |39 | M4
10M-22-18 M22X1.5 M18X1.5 19 (12 | & | M
10M-22-22 M22X1.5 M22X1.5 19 |14 |44 | 27
10M-27-22 |  M27X1.5 M22X1.5 20 (14 |45 | 30
1QM-27-27 | M27X1.5 M27X1.5 20 (14 |46 | 32
10M-30-27 |  M30X1.5 M27X1.5 B[4 |49 | 32
10M-33-27 M33X2 M27X1.5 H |14 | M |36
10M-36-33 M36X2 M33X2 6 |18 | 59 | 41
10M-39-33 M39X2 M33x2 26 |18 | 59 | 41
10M-42-42 | M42X2 M42X2 1285 | 20 1655 | 50
10M-45-42 M45X2 M42X2 285 | 20 [655 | 50
METRIC MALE 74°CONE/BSP MALE O-RING
Thread Dimensions
Part No. E F A| B|L|S
10G-14-04 M14X1.5 | G1/4™-19 16 [12 |34 |19
10G-16-06 M16X1.5 "-19 18 [12 [ 38 | 22
1061806 | MI8X1S | G3/8-19 B I VA T
1QG-18-08 | MI8X15 | G1/2-14 17 |14 | 40 | 27
106-22-08 M22X1.5 | G1/2-14 19 |14 | 42 | 27
10G-27-12 M27X1.5 | G3/4-14 20 [16 |46 | 32
1QG-30-12 M30X1.5 | G3/4-14 Bl |49 |3
1063916 | M39X2 | G111 | ! 126 [18 [55 [ 41 ]
10G-45-20 Masx2 | GL1/4-n 285 | 20 |625 | 50
90°METRIC MALE 74°CONE/BSP MALE O-RING ADJUSTABLE STUD END
Thread Dimensions
Part No. E F Al B| S| S
10G9-14-040G | M14X1.5 | G1/4"19 29 |32 |14 |19
1069160606 | M16X1s | G3/8-19 | B35 19 |0
10G9-18-06 0G | M18X15 | G3/8"-19 2 [3%5 (19 |2
10G9-18-080G | M18X1.5 | G1/2-14 B | M4 |2 |77
1069-2-080G | M22X15 | G1/2-14 1 37 [4 |2 |7
1069-27-120G | M27X1.5 | G3/4™14 43 | 50 | 27 | 32
1069301206 | M30X15 | G3/4™14 M |50 |7 |3
10G9-39-160G | M39X2 G111 57 159 | 41 | 41
1069-45-200G | M45X2 | G1.1/4"11 62 | 60 | 48 | S0

IEE sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



-h—-

E. METRIC ADAPTERS

METRIC 74°CONE/METRIC MALE
1oH Thread Dimensions
Part No. o E |l F_ A 1Ll B L il 5
y 10H-14-12 M14X1.5 M12X1.5 16 (12 |4 |17
10H-16-14 M16X1.5 M14X1.5 18 |12 | 36 | 19
A B 1QH-18-16 M18X1.5 M16X1.5 17 |12 1 37 | 2
R = - 10H-22-18 M22X1.5 M1BX1.5 19 112 |39 | 4
T I ?—1 || | 1QH-27-2 | M7X15 | M2X15 | | 120 |15 |44 |30 |
wl L _ w TQH -30-27 M30X1.5 M27X2 B |16 |49 |32
10H-33-27 M33X2 M27X2 26 (16 | 53 | 36
d t 10H-36-33 M36X2 M33x2 26 (18 |55 | 4
10QH-39-33 M39X2 M33x2 26 |18 | 55 | &
1QH-45-42 M45X2 M42x2 1285 | 20 |61.5 | 50 |

Please add 'Tﬂ'i[te-rﬂ'nepm rll.mbEH['ﬂ'Iﬂ’EIS nwashermnftheﬂ-nngm

the product, for example *10H-16-14 TO
90°METRIC 74°CONE/METRIC MALE ADJUSTABLE STUD END
1QH9-0G Thread Dimensions
2 Part No. E F Al B|S[S
1QH3-14-120G| M14X15 | MI2X15 i 28 132 |14 117 |
1QH9-16-140G | M16X1.5 |  M14X15 3 36 |19 [19
. - 1QH9-18-16 0G| M18X15 |  M16X15 2 (34|19 |22
wﬁ ] w IQH9-22-180G | M22X15 |  MI8X15 37 (39 |2 [
= 1QH9-27-20G| M27X15 | M22X15 B4 7|7
- | 1QH9-30-27 0G| M30X1.5 | M27x2 4 |50 |27 |32
& 1QH9-33-270G|  M33X2 M27X2 5153 |33 | 32
{ ) 1QH9-36-330G|  M36X2 M33X2 51 (535 | 33 | 41
e Mg (1QH9-33-330G|  M39X2 | M33X2 57 |57 | 41 [ &
A 1QH9-45-420G|  M45X2 M42x2 62 | 60 | 48 | 50
Please add "TC"after the part number if there is nowasher out of the O-fing on
the product, for example "1QH9-16-14 0G/TO"
METRIC MALE 74°CONE/NPT MALE
Thread Dimensions
Part No. E F Al Bl LS
10N-12-02 | m12x15 | Z1/8-27 16 (10 |32 [ 14
10N C 1QN-14-04 | M14X15 | Z1/4-18 16 |145 | 37 [ 17
1QN-16-04 | Mi6X15 | Z1/4™18 18 145 | 38 | 17
1QN-16-06 | M16X1.5 | 73/8™18 18 [145 | 38 |19
L 1QN-18-06 | M18X1.5 | 73/8™18 17 [145 | 38 [ 19
A B 1QN-18-08 | MisX15 | Z1/2-14 17 [195 |445 | 22
_ 1QN-22-08 | M22X15 | Z1/2-14 19 1195 | 46 | 4 |
C1QN-27-08 | M27X15 | 217214 20 [195 485 | 30
1QN-27-12 | M27X15 | Z3/4™14 20 [195 |485 | 30
- | 10N-30-12 | M30X15 | 73414 23 (195 | 51 [ 32
™ 1ON-36-16 | M3eX2 | Z1-115 % (245 | 61 | 41
—\“Z' yf:ﬁ 1QN-3916 | M39X2 | Z1mn1s , 2% (245 | 61 | 41
TQN-45-20 | M4sX2  [Z1.1/4™115 285 | 25 [665 | 46
| TON-45-24 | M45X2  |71.1/2"115 285 |25 |68 | 50
| IQN-5220 | Ms2%2  [Z1.14M115 W |25 |70 [55

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Igﬂ



E. METRIC ADAPTERS

@AXXION FLEX
45°METRIC MALE 74°CONE/NPT MALE
Thread Dimensions
1QN4 PartNo. E F Al s
1QN4-12-02 |  MI12X1.5 Z1/8"-27 23 1175 | 11
10N4-14-02 |  M14X15 21/8-27 26 |18 | 14
10N4-14-04 | M14X15 Z1/4"18 6| 2|14
_1QN4-18-06 |  MIBX1.S | Z3/8™18 126 |2 119
10N4-22-08 |  M22X1.5 21214 295 | 28 | 22
o F 1QN4-27-08 |  M27X1.5 Z1/2"14 3|32 |27
® 10N4-27-12 | M27X15 23/4"-14 3|32 |7
10N4-30-12 |  M30X1.5 23/4"14 34 | 32 | &7
A | \s IQNE3616 | M3 | 21115 PEEAED
10N4-39-16 M39X2 21115 45 |42 | 4
10N4-42-20 M42X2  |Z1.1/4-115 48 | 42 | 4
90°METRIC MALE 74°CONE/NPT MALE
Thread Dimensions
Part No. 4 F Al BI| S
T0N9-12-02 |  M12X1.5 Z1/8-27 2] -1
1QN9 10M9-12-04 | MI2X1.5 Z1/4"18 8512 |14
10N9-14-02 | M14X15 | 71/8"-27 285 |225 | 14
10M9-14-04 | M14X15 21/4"18 85125 |14
10NS-16-04 |  M16X1.5 Z1/4°-18 3N 127 |17
10NS-16-06 |  M16X1.5 23/8"18 3t 1]
10M9-18-04 |  MI8X15 21/4"18 N127 |\ 7
F 1QNS-18-06 |  M18X1.5 23/8"18 3 a1
@ 10N9-22-06 | M22X15 73/8"18 37 | 30 | 22
10N9-22-08 | M2215 | Z1/2-14 7 (30 [ 2
- TON9-27-12 | M27X1.5 73/4"14 3 |4 |77
JJ \ TQN9-30-12 |  M30X1.5 23/4-14 4 | 41 | 27
= s 10N9-36-16 | M36X2 | Z1~115 51 | 46 | 33
A 10N9-39-16 M39X2 Z1°-115 55151 | &
10N9-42-20 M42X2  1Z1.1/4-115 57 | 51 | 41
10QN9-45-20 M45X2  1Z1.1/4-11.5 62 |555 | 48
1QN9-45-24 M45X2  [Z1.1/2-115 62 | 58 | 48
METRIC MALE 74°CONE/SAE MALE O-RING
100 Thread Dimensions
Part No. E F A| B | LIS
L 100-1606 | M16X15 | U9/16™18 18 1993 | 34 |17
A B 100-18-08 MIBX15 | U3/4“-16 17 M13 136 | 4
— 1Q0-22-10 M22X1.5 | U7/8"-14 19 127 [405 | 27
: EN £ y 100-27-12 M27X1.5 | U1.1/16"12 20 1509 | 45 | 32
ﬂ I?_f| 1Q0-30-12 | M30X15 | U1.1/16™12 B (1509 | 48 | 32
& | - 1003316 | M33X2 | U1.5/16"12 | 26 1151 |5 (41 |
4 100-39-16 M39X2 | U1.5/16™12 2% [151 153 | &
4\—=}_71JJ 100-42-20 Ma2X2 | U1.5/8"-12 285 | 151 |575 | 50

IEH sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



——

E. METRIC ADAPTERS

NF/AXXIONFLEX

1Q09-0G

T

1Q19

3.

N

A

90°METRIC MALE 74°CONE/SAE MALE O-RING
Thread Dimensions
Part No. E F Al B|S| S
1Q09-16-060G| M16X1.5 | U9/16™18 3132119 119 |
1009-18-080G| M18X1.5 | U3/M4™16 B |72 M
1Q09-22-100G| M22X15 | U7/8™14 7 4|2 |
1Q09-27-120G| M27X1.5 | U1.1/16"12 43 [ 50 | 27 | 32
1Q09-30-120G| M30X1.5 | U1.1/16"12 4 | 50 | 27 | R2
1Q09-33-16 0G| M33%2 | U15/16"12 51 [ 53 |33 | 41
1Q09-39-160G|  M39X2 | U1.5/16"12 57 |57 |41 | 4
1Q09-42-200G|  M42X2 | U1.5/8™12 158 |59 [41 |50 |
METRIC MALE 74°CONE/BSPT MALE
Thread Dimensions
Part No. E F A B | L S
1QT-10-02 M10X1 2G1/8"-28 12 110 |28 | 12
1QT-14-04 M14X1.5 2G1/4'-19 16 (145 | 37 | 17
1QT-14-06 M14X1.5 2G3/8'-19 16 (145 |37 | 19
1QT-16-04 M16X1.5 2G1/4"-19 18 |145 | 38 [ 17
1QT-16-06 M16X1.5 2G3/8"-19 18 [145 | 38 [ 19
1QT-18-04 | MIgX1S5 | ZG1/4'-19 17 (145 [ 38 [ 19 |
1QT-18-06 M18X1.5 2(G3/8"19 17 [145 | 38 | 19
1QT-22-08 M22X1.5 2G1/2-14 19 (195 | 46 | 24
1QT1-27-08 M27X15 2G61/2"14 20 [195 485 [ 30
1QT1-27-12 M27X1.5 7G3/4"14 20 (195 [485 | 30
| 101-30-12 M30X1.5 2G3/4-14 23 [195 | 51 | 32
101-33-12 |  M33X2 | 7G3/4-14 1 26 1195 1565 | 36 |
1QT-36-16 M36X2 2G1™-11 26 (245 | 61 | &
1Q7-39-16 M39X2 2G1™-11 26 245 | 61 | 4
1QT-45-20 M45X2 | 7G1.1/4"-11 285 | 25 665 | 46
90°METRIC MALE 74°CONE/BSPT MALE
Thread Dimensions
Part No. E F A B | S
1QT79-14-04 M14X15 2G1/4"-19 285 |25 | 14
1QT19-16-04 M16X1.5 7G1/4'-19 31 | 27 |17
1QT9-18-06 M18X1.5 7G3/8"19 3N |27 |17
10791808 | MIsX1S | 7G1/2-14 035 |30 | 2
1Q79-22-08 M22X1.5 2G1/2-14 7 130 | 2
1QT19-27-08 M27X1.5 1G1/2-14 43 | 41 |7
1Q19-27-12 M27X%1.5 2G3/4"-14 43 | 41 | 27
1Q79-30-12 M30X1.5 7G3/4"-14 4 | 4 | 7
10793312 M33X2 | ZG3/4™-14 51 | 41 |33
| 1Q79-36-16 M36X2 IG1™11 51 [ 46 | 33
1Q79-39-16 M39X2 26111 555 (5 [ 41
1Q79-45-20 M45X2 | ZG1.1/4"-1 62 |555 | 48

www.axxionflex.com

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A



E. METRIC ADAPTERS

@AXXION FLEX
METRIC MALE 74°CONE BULKHEAD
Thread Dimensions
Part No. E F A B L S| 9
6Q-10LN M10X1 M10X1 12 134 [30 |14 |
6Q-LN 6Q12IN | MI2X15 | MIXI5 16 |38 |60 |17 |17
6Q14IN | M14X15 | MI14X15 16 |40 |62 |17 |19
L 6Q16LN | MI6X15 | MIeX1s 18 |41 |65 |19 | 2
A B 6Q-18LN | MI8X1.5 | MI8X1.5 17 |43 |68 |24 | 24
— 6Q22IN | M22X15 | M2X15 vl ls|nlyly
T TH ‘“I 6Q24IN | MMX15 | M24X15 20 |45 |74 |27 |30
w 6Q27IN | M27X15 | M27X15 20 |48 |78 |30 |32
— 6Q30LN | M30X15 | M30X15 23 |53 |8 |32 36
e 6Q-33 LN M33X2 M33X2 % |55 |92 |36 | 4
6Q-36 LN M36X2 M36X2 26 |56 | 94 | 41 | 4
6Q-239 LN M39X2 M39X2 % | 58 | 9% | 41 | 46
6Q-42 LN Ma2X2 M42X2 285 | 59 1005 | 50 | 50
6Q-45 LN M45X2 M45X2 285 | 60 1015 | 50 | 50
Please delete "LN" after the part number if don't need with lock nut.for example 60-22.
METRIC MALE 74°CONE TEE
i Thread Dimensions
F Partho. | B | F | 6 | A| B | C]|]S
\ AQTd | M1aOS | Mixis | mixis | 27 | a7 |7 | 14
- AQ-16 MIGX1S | MI6X15 | Mi6X15 | 205 | 205 [ 295 | 17
5 AQ-18 MIgX1s | miexis | mieis | 32 | 32 [ 32 | 19
= AQ2 M22X15 | Maaxis | mMaaxs | 37 |3 |31 | »
“I Q7 10 AQ-27 M27X15 | M27X15 | M27X1s | 41 | 41 | 41 | 27
o AQ-30 M30X1.5 | M30XIS | M30X15 | 41 | 41 | 41 | 27
A 2 AQ-33 M33X2 M33X2 M33x2 | 51 | 51 | 51 | 33
Ay METRIC 74°CONE/METRIC MALE ADJUSTABLE STUD END RUN TEE
] Thread Dimensions
Part No. E F G Alslcls |
u g AQQH-14-14-120G | M14X1.5 | MI4X15 | MI2015 | 29 [ 32 | 29 |14 |17
p oI AQQH-16-16-140G | M16X1.5 | M16X15 | M14x15 [ 33 [ 36 |33 |19 |19
za AQQH-18-18-160G | M18X1.5 | M18X15 | M16X1.5 | 32 |34 |32 |19 | 22
“I T AQQH-22-22-180G | M22x15 | M22X15 | M18x15 [ 37 [ 39 |37 |22 |
o AQQH-27-27-2206G | M27X15 | M27X15 | Maaxi5 | 43 [ 46 |43 |27 | 27
A B AQQH-30-30-270G | M30X1.5 | M30X15 | Ma7x2 |44 [ 50 |44 |27 | 32

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



/AF/AYXIONFLEX










___g.d

F. SAE ADAPTERS

1J4
A | \s
119
)
5 S

AF/AXXIONFLEX
B JICMALE 74° CONE
Thread Dimensions
Part No. E F A B L 5
1)-04-04 U7M16-20 | U7/16"20 14 14 34 14
1105-04 U1/2"-20 U7/16"-20 14 14 M 14
1J-05-05 U1/2-20 U1/2°-20 14 14 34 14
1)-06-04 U9ne-18 | U7N16-20 14.1 14 34 17
1J-06-05 U9/16"18 U1/2°-20 14.1 14 34 17
1)-06-06 U9ne™18 | U9/16-18 14.1 14.1 355 17
1J-08-06 U3/4"-16 U9/16"-18 16.7 14.1 39 2
1J-08-08 U3/4"-16 U3/4>-16 16.7 16.7 43 22
1)-10-08 U7/8"-14 U3/4™16 193 16.7 44 24
1J-10-10 U7/8"14 U7/8*-14 193 19.3 415 24
1J-12-08 U11/16"12 | U3/4%16 219 16.7 49 30
1-12-10 Ul.116'12 | U7/8%-14 219 19.3 52 30
11212 Ulane-12 | uane-12 | 219 19 55 0
1)-14-12 U1.316'-12 | U1.1M1612 | 226 219 55 32
1-14-14 U1.3/16"12 | U1.3f16™12 | 226 226 55 32
1)-16-12 U1516"-12 | U162 | 231 219 56 36
1)-16-16 U1516°-12 L ULsN6~12 | 231 23.1 57 36
| 1)-20-16 | U1.5/8-12 | UL5/16-12 | 243 231 60 46
1J-20-20 U1.5M®"-12 | U15/8"-12 243 243 61 46
1)-24-24 U171z | uL/8-12 275 215 69 50
1)32-32 U21/212 |U21/2"12 339 139 85 70
45°JIC MALE 74° CONE
Thread Dimensions
Part No. E F A B S
140404 | U701620 | U7/16™20 | 205 | 205 n
Ja0s05 | U120 | uipt0 | 2 21 14
140606 | U9/1618 | U9ne-18 | 22 7] 14
1)4-08-08 U3/4"14 U3/4*16 25 25 19
1J4-10-10 U7/8"-14 u7/8*-14 28 28 22
1J4-12-12 | U1.1/1612 | U1.1/16™12 35 35 i
1J4-16-16 | U1.5/16"12 | U1.5/16™12 37 37 33
1J4-20-20 U1.5/8"12 | U15/8-12 42 432 44
42424 | U1.7/8%12 | UL7/8%12 47 47 48
90°JIC MALE 74° CONE
Thread Dimensions
Part No. E F A B S
190404 | U716™20 | U7/16™20 | 24 24 ]
1J9-05-05 U1/2-20 U1/2°-20 25 25 14
119-06-06 U9/16"18 | U9/16™18 27 27 14
1J9-08-08 U3/4-16 U3/4*-16 32 2 19
1J9-10-10 U7/8"-14 Uz/8*-14 37 37 22
1J9-12-12 | U1.1/16"12 | U1.1/1612 43 43 27
| 181616 | U1.5/16™-12 | U1.5/16™12 | 48 43 3
109-20.20 | U15/8~12 | U1.5/8™12 57 57 44
1J9-2424 | n1g/e-12 | u/g12 39 59 48
1J9-32-32 | v21/212 | v2.12-12 65 65 65

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



J—

F. SAE ADAPTERS

@AXXION FLEX
JIC MALE 74°CONE/BSP MALE CAPTIVE SEAL
Thread ~_Dimensions
Part No. E F Als L]
1JB-04-00WD| U7/16'20 | G1/8"28 4|8 |29 |1
1B-WD 1B-04-04WD| U7n6™-20 | G1/4™19 4 12 |33 [19
1JB-04-06WD | U7/16-20 | G3/8™19 14 |12 [35 |22
1JB-05-04WD | U1/2"-20 G1/4-19 14 [ 12 [33 |19
L 1B-05-06WD| U120 | G3/8~19 4 |12 |35 |2
R . 1B-06-04WD| U9/16™-18 | G1/4™19 4112 134 [19
1B-06-06WD | U9/16™18 | G3/819 | 141 112 [ 35 |22 |
L=t | 1B-08-06WD| U34~16 | G3/8™-19 67 | 12 | 38 | 2
1)B-08-08WD| U3/4™16 | G1/2-14 67 | 14 |915 | 27
“‘ - 1B-1008WD| u7/8-14 | G172-14 93 |14 |4 |27
1UB-10-12WD|  U7/8™-14 | G3/4-14 193 | 16 | 46 | 32
4\=’y 1JB-12-08WD | U1.1/16™12_| G1/2"14 219 [ 14 | 47 [ 30
1JB-12-12WD | U1.1/16™12 | G3/4™14 | _ 219 [ 16 | 48 | 32
C1UB-12-16WD | U11/1612 | 611 219 |18 | 54 | 41
1)8-16-12WD | U15/1612 | G3/4™14 8116 153 |36
1B-16-16WD | U15/1612 | GI™11 8118 | 55 | a1
1JB-16-20WD | U1.5/16"12 | G1.1/4"11 22120 [ 60 | 50
1B-20-16WD| U15/8~12 | G111 243 | 18 | 58 | 46
1JB-20-20WD | U15/8™12 | GLIA™-11 | 1243 |20 |62 |50 |
1B-2424WD| ni78-12 |G- | 275 | 20 | 65 | 55
JIC MALE 74CONE/BSP MALE O-RING
Thread Dimensions
Part No, E F AlB| LS
160402 | U7116™20 | G1/8"-28 | 14 |18 129 114 |
G T 1JG04-04 | U7/1620 | G1/4-19 123
160406 | U716"20 | G3/8™19 4 (12 |4 |2
UG0504 | V1220 | G1/4™19 4 |12 13319
L 1JG0506 | U120 | G3/8-19 4 |12 |34 |2
F : 1JG06-04 | U9/ie™-18 | G1/4-19 141 [ 12 [ 33 [ 19
— 1JG06-06 | U9/16™18 | G3/819 141 | 12 | 34 | 22
a1 ] 1G0608 | U9N6-18 | GI/2-14 | 141 | 14 [37 |27
I 1G0806 | U316 | GY8-I9 167 [ 12 | 37 | 2
& E | 1UG08-08 | U3M4M16 | GI/2-14 167 | 14 | 39 | 27
J 2| UG0812 | U316 | G414 67 | 16 | 43 | 32
' H 1G1008 | U7/8-14 | G1/2-14 193 |14 |42 |27
G1012 | U7/8~14 | G3/4-14 193 | 16 | 45 | 32
G1208 [U1.1/16™12 | G1/2-14 | . 219 | 14 [ 45 | 30
UG12-12 [U11/16412 | G314 | : 219 | 16 485 | 32
G116 [U1116-12 | 6111 19 [ 18 [ 5 |41
G162 [U1.5/16-12 | G3/4™14 231 | 16 495 | 36
G616 [U1516-12 | G1"11 231 | 18 [525 | 41
1G2016 | U1.5/8-12 | 6111 243 | 18 | 55 | 50
1JG20:20 | U15/8-12 | G411 243 | 20 | 58 | 50
_1JG24-20 | U1.7/8-12 | GLI/A4™11 | 275120 |61 | 50
G244 | U1.7/8-12 | GLI/2M1 | ] 275 | 2 |64 |55 |

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Ia



F. SAE ADAPTERS

NF/AXXIONFLEX

45°JIC MALE 74°CONE/BSP MALE O-RING
Thread Dimensions
Part No. E F Al B|S|S
1)G4-0G 1JG4-04-04 0G| U7/16™20 | G1/4™-19 21|28 [14 |19
1JG4-05-0406 | U1/2-20 | GI/A™19 21|28 |14 [19
1JG4-06-04 0G| U9/16™18 | Gl/4™-19 2128 |14 |19
1JG4-06-06 0G | U9/16-18 | G3/8™-19 RPN P
a ~ 1J64-06-080G | U9/16™18 | G1/2™-14 413|122 |7
1G4-08-06 0G| U3/4™-16 | G3/8™-19 7[R9 |2
1JG4-08-080G | U3/4-16 | G1/2-14 B | 7| nly
1JG4-08-120G| U3/4™16 | G3/4™-14 30 |42 127 |
1G4-10-06 0G| U7/814 | G3/8™19 0|32 |02 |2
- @ 1JG4-10-080G | U7/8-14 | GI/27-14 HE R
1JG4-10-120G| U7/8™-14 | G3/4™-14 R|al7 | n
" \i 1J64-12-080G U1.1/16™12 | G1/2-14 35 141 127 |27 |
1JG4-12-120G U1.1/1612 | G3/4™14 B |20 |
1G4-12-160G U1.1/16-12 | G111 37 |45 [33 | M
1JG4-16-120G |U1.5/1612 | G3/4™-14 B[22 |33 [0
1JG4-16-160G [U1.5/16™-12 |  GI™11 8|45 [33 | &
1JG4-16-20 0G [U1.5/16™12 | G1.1/4"11 2 47 |5 |50
11G4-20-2006 | U1.5/8™12 | G1.1/4™11 a4 14 0
1JG4-24-240G | U1.7/8™12 | G1.1/211 47 | 52 | 48 | 55
90PJIC MALE 74°CONE/BSP MALE O-RING
Thread Dimensions
PatNo. | E | F | Al BfS |S|
1J69-04-020G | U7/16-20 | G1/8"-28 23 (65|11 |14
1JG3-0G 1J6G9-04-040G | U7/16~-20 | G1/4™19 26 | 32|14 [19
1J69-04-060G | U7/16™-20 | G3/8-19 - R 7 5
1JGS-05-040G | U1/220 | GU4™-19 . 2% |32 114 |19 ]
E 1J69-05060G | U120 | G3/8™19 B339 [ 2
1JG905080G | U1/220 | GI/Z-14 Nn|yMlnly
1J63-06-040G | U9/16"18 | G1/4™19 27 132 |14 |19
z-\ﬁ % 1J69-06-060G | U9/16™18 | G3/8-19 R RN
& 1JG3-06-080G | U9/16™18 | G1/2™-14 N5 |4 |22
— 1JG3-08-040G | U3M4™16 | G419 33 (35|19 119
1JG9-08-060G | U3M4™-16 | G3/8-19 23|19 |2
= \L 1JG9-08-080G | U3/4~16 | GI/2-14 5 4|02y
LT . 1J6908-120G | U3/4-16 | G3/4-14 9 [50 |27 |
. | \s 1JG3-10060G | U7/8"-14 G3/8™-19 7|7 |lnln
— 1JG3-10080G | U7/8"-14 G1/2-14 37 | 4|0 |7
1JG8-10-120G | U7/8™-14 G3/4™-14 TRERFRE
1JG9-12-080G | U1.1/1612 |  G1/2™14 4 |50 |7 |27 |
1J69-12-120G | V1111612 |  G3/4™14 M5l n
1J6%-12-160G | U1.1/16™12 G111 48 (555 |33 | 33
1J69-16-120G | U1.5/16™12 | G3/4-14 . |48 |33 133 |32
1J69-16-160G | U15/16"12 G111 48 (555 |33 [ &
1JG3-16-2006G | U1.5/16™12 | G1.1/4™11 54 [ 57 |41 |50
1JG9-20-160G | U1.5/8"12 G111 55 (595 | 41 | 41
1JG9-20-200G| U1.5/8™12 | G1.1/411 5 |57 | 41 |50
1J63-24-200G | U1.7/812 | GL.1/4™11 59 1605 | 48 | 50
1JG9-24-2406 | U1.7/812 | G1.1/2-11 59 | 63 |48 |55 |

Iﬂ sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



h""

F. SAE ADAPTERS

(NF/AXXIONFLEX
- JICMALE 74°CONE/METRIC MALE
Thread Dimensions
Part No. E F A B L 5
_UHO0410 | U7/16™20 |  MIOKT 14|18 [29 114 [
1H - UH0412 | U716"-20 | MI2X1.5 14 |12 133 |17
~ 1JH04-14 U7/16"-20 M14X1.5 14 |12 |34 | 19
1JH-05-14 U1/2"-20 M14¥15 14 |12 |34 |19
L 1JH-06-16 91618 M16X1.5 141 | 12 | 35 | 22
A B 1JH-06-18 U9/16"-18 M18X15 141 |12 | 35 | 24
UH08-16 | U3/4™-16 | MI6X15 . 167 |12 |38 |22
4 {1k 1H08-18 | U316 | MISXIS _ 167 |12 |38 |24
T —r 1JH-08-22 U3/4"-16 M22X15 167 | 15 [425 | 27
2 e 1JH-10-22 U7/8™14 M22X1.5 193 |15 | 45 | 27
7 | 1UH-12-22 | 1.1/16"12 M22X15 29 |15 | 48 | 30
) Iﬁ ; ,-E 1JH-12-27 | U1.1/16™12 M27X2 219 | 16 | 50 | 32
CUHI1627 [ uisnet12 | mam 231 | 16 [525 | 36
UH1633 | U1516-12 | M33X2 230 |18 [ 55 | 41
UH2042 | U15/8-12 M422 243 | 20 1615 | 50
1JH-24-48 | U1.7/8-12 M4gx2 2751 22 | 69 | 55
45°JIC MALE 74°COME/METRIC MALE ADJUSTABLE STUD
Thread [t _ Dimensions
1JH4-0G Part No. E F A B g 51
1JH4-04-100G| U7/16"-20 M10X1 0122111 |14
; - 1HA04-1206G| U7/1620 | M12X15 2028|1417
1JH4-05-14 0G|  U1/2"-20 M14X1.5 2112 114 |19
H4-06-16 0G| U9/16™18 | M16X15 A 127 14 | B
1JH408-180G| U3/416 | MI8X15 127 (32119 [
1144-318—?11‘.56 U3/4"-16 M22X15 28134 |2 |7
L % EF#I-ID-H{]G U7/8"-14 M22X1.5 0|8 |02 |\
1JH4-12-27 0G| U1.1/16™12 | M27X2 B 9|7 [n
A AR 1JH4-16-3306| U15/16™12 | M33X2 R EERE]
1JH4-20-4206| U15/8-12 | M42X2 4 47 |4 |50
1JH4-24-480G] U17/812 | M48X2 47 |52 | 48 | 55
90°JIC MALE 74°CONE/METRIC MALE ADJUSTABLE STUD
Thread Dimensions
Part No. E F A B 5 51
1JH3-0G 1JH9-04-100G| U7/1620 | MI0X1 25 200114 |14
1JH9-04-120G| U7M16"20 | M12X15 25 | 32 114 |17
F 1JH9-04-1406| U7/16'20 | M14X15 B [33 14|19
1! 1JH9-05-140G| U1/2"-20 M14X15 25 133 |14 |19
1JH9-06-16 0G| U9/16"18 | M16X1.5 29 | 35 |19 | 22
51 1JH9-08-22 0G| U3/4"-16 M22X1.5 B | & 112 |7
& 1JH9-10-22 0G|  U7/8"14 M22X1.5 37 |42 |2 | X
1JH9-12-27 0G| U1.1/16™12 M27X2 43 | 80 | 27 | 32
S 1HO-16330G| U1s/me12 | M3k | 1 48 [s3 033 |41 |
= [ ) 1JH9-20-4206| U1.5/8™12 | M42X2 55 | 57 | 41 |50
~ \ ) 1JH9-24-48 0G| 11.7/8"-12 MABKZ 50 | 63 | 48 | 55
A AL Please add "TO"after the part number if there is nowasher out of the O-ring on
the productfor example “1/H9-06-14 0G/TO"

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



F. SAE ADAPTERS

ﬁc_mLEwcmEmaFSMALE
_ Thread __Dimensions
Part No, E F Al B|L]|S
UF-0404 | U7/1620 | U9/1618 14 |14 [34 |17
UF UF-0504 | U1/2-20 | U9/16™18 14 |14 [34 |17
UF05-06 | U1/2-20 | U11/16™16 14 |14 [34 |19
(1JF-06-04 | U9/16™18 | U9/16™18 {141 1 14 | 34 |17
L 1JF-06-06 | U9/16™18 | U11/16™16 141 | 14 | 34 |19
A UF-08-06 | U3/4™-16 | U11/16™16 167 | 14 [39 | 2
- 1F08-08 | U3/4-16 | U13/16™16 167 | 15 [ 40 | 2
= : UF10-08 | U7/8™14 | U13/16™16 193 | 15 [425 | 4
ﬂ | JF-10-10 | U7/8-14 | U114 1193 |165 | 45 |27
b U210 [U114612 | U114 09 [165 [475 | 30
UF1212  [U1a/16-12 | V131612 09 [175 [495 | 32
: ’IEEJ UF-16-12 [U15/16™12 | U1.3/16"12 8.1 175 [515 | 36
- 1JF1616  [U15/16-12 | U17/16™12 81185 | 53 | 4
_F-20-20 | U1.5/812 | U1.11/16™12 | 243 (195 | 56 | 46 |
UF24-24 [ ULT8M12 | U212 275 [195 [625 | 55
JIC MALE 74°CONE/METRIC MALE 60°SEAT
M Thread Dimensions
Part No. E F Al B|L|S
; UM-04-12 | U7016~20 | MI12X15 14 (10 [32]17
UM-04-14 | U7116-20 | MI14X15 1w |1 (3319
& CINH03-14 | U1/220 | MI4XLS 14 |11 |33 [19
UM-06-14 | U9/16~18 | M14X15 141 [ 1133 |19
1M-06-16 | U9/16~18 | MI6X15 141 112 [ 35 | n
1M-06-18 | U9/16~18 | MI8X1S 141 |12 [355 | 4
UM-08-20 | U3/416 | M20X1S 167 | 14 [ 41 | 27
- 1UM-08-22 | U34-16 M22X1.5 167 | 14 | 41 | W
CUMI0-22 | U7BM4 | M1 s 193 |14 |4 | 27
UM-12:26 | U11/16-12 | M26X15 914 [#8 | R
JIC MALE 74°CONE/METRIC MALE CAPTIVE SEAL
Thread Dimensions
Part No. E F Al B|L]|S
UM-04-12WD | U7/16~20 | M12X1.5 114 112 134 [17
UNM-WD UM-04-14WD | U7/16™20 | MidX15 14 |12 [34 19
UM-05-14WD | U1/220 | M14X15 14 |12 [34 19
1UM-06-14WD | U9/16™18 | M14X15 141 | 12 [335 | 19
L 1JM-06-16WD | U9/16™18 | M16X1.5 141 |12 (355 | »2
A 1UM0B-18WD | U3/416 | MIsXIS | 167 [ 12 |38 | 4
1JM-08-20WD | U3/416 | M20X1.5 167 |14 | 41 |27
_ UUM-08-2WD | U3/4-16 | M22X15 167 | 14 [405 | 27
1 UM-10-20WD | U7/814 | M20XLS 193 |14 |4 |
w UM-10-2WD | U7/8™14 | M22X15 193 |14 [8 |2
UM-12-26WD [U1.1/16™12 | M26X15 N9 |16 (485 32 | |
4\‘:’}}?‘ CTM-12-27WD [Unan6~12 | M27Tx2 219 | 16 485 | 32
| TUM16-33WD [U1.5/16%12 | M33X2 BI 18 |54 | 4
1IM-20-42WD | U1.5/8"12 M42X2 24320 |61 |50
1JM-24-48WD | U1.7/8"12 M48X2 5| 22 [675 | 55

Iﬂ sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



P——

F. SAE ADAPTERS

AF/AXXIONFLEX
JIC MALE 74°CONE/NPT MALE
Thread Dimensions
Part No. E F Al B LS
UND402 | U7/16%20 | 71/8%27 14 |10 [30 [ 12
N UN0404 | U7/16"20 | Z1/4-18 14 [145 134 | 14
1N0406 | U7/16"20 | Z73/818 14 145 135 |19
1IN-05-04 U1/2°-20 Z1/4"-18 14 1145 1345 | 14
L UN0S06 | U220 | 73818 . 14 1145 134 |19 |
A B 1N-06-04 | U9/16-18 | 71418 141 [145 | 34 [ 17
1N0606 | U9/16-18 | Z3/8™18 141 (145 |35 | 19
1N-06-08 | U9/16-18 | Z1/2-14 141 [195 415 | 22
/‘ _1N0BO6 | U346 | 73818 | | (167 [145 (395 |22 |
s ] UN0B08 | U3Ma~16 | Z1/2-14 167 1195 | 4 | 2
N UN08-12 | U3d~1e | 231414 167 [195 | 45 | 30
h}ﬁ C1N008 | U784 | Z1/2%14 193 [195 [ 47 |24 |
UN1012 | U7/8~14 | Z3/4-14 193 [195 1475 | 30
CUN2-08 [ULIN6MI2 | 212714 219 [195 | 50 | 30
UN2-12 [ULine™-12 | 23414 219 [195 | 50 | 30
1UN-1216  [ULIN6™A12 | 71115 . 219 [245 1575 | 36 |
N6 [UL516M12 | Z3/4-14 231 1195 535 | 36
IN-16-16 [U15/16-12 | 71115 231 |245 585 | 36
1IN0 [U15/1612 | Z21.1/4115 B125 |62 |4
1N20-16 | U15/8712 | 71115 243 |245 |625 | 46
1N-20:20 | U1.5/8-12 | Z1.1/4™115 3|25 |63 |4
1UN-20-24 | U15/812 | 2112115 243 | 25 1655 | 50
UN-2420 | UL7/8%12 | Z1.1/4115 215 | 25 [675 | 50
1N-24-24 | U17/8M12 | Z1.0/2°-115 75|25 |69 |50
1UN-2432 | UL7/8%12 115 275 | 29 [735 | 70
UN32-24 [ U21/2412 | 71115 339 |25 |76 | 70
| UN3232 [ | s (339 (29 |80 [70 |
45°JIC MALE 74°CONE/NPT MALE
Thread Dimensions
Part No. E F Al B S
| UN&04-02 | U7n16"20 | 71827 205 [175 | 11
1IN4 1N4-04-04 | U7/16™20 | Z1/4"18 20 [ ]14
1N4-04-06 | U7/16"-20 | Z3/8"-18 A 12|17
C1UNAOS-04 | 20 | 717418 Al nlw
1UN40S06 | U1/2-20 | 73/818 A a7
1N&-06-04 | U9/16™18 |  Z1/4-18 2 | nwu
: 1N4-06-06 | U9/16™-18 |  Z3/818 2 | nl
wi 1N40608 | U9NE-18 | 71/2-14 235 | B |2
||| ® 1N4-0B06 | U3/4-16 | Z3/8-18 % |29
: N 1N4-08-08 | U3/4™16 |  Z1/2™14 7 |82
E 1UN4-0B-12 | U3/4-16 | Z3/4-14 [ n|x
| UNA10-08 | U714 | 71214 THIFCR )
UN&1012 | U7/8™14 | Z3/4™14 R nlx
UNE1212 [ULIN6-12 | 73/4-14 T
1UN4-16-16 [U15116™12 | Z1-115 37 137 |3
| 1N42020 | U15/8%12 | Z1.0/4"-115 2 |42 |4
1UN4-24-24 [ UL7/8-12 | 2132115 47 | 4 | 48

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Iu



il

F. SAE ADAPTERS

=

1N9

1NS-L

@AXXION FLEX

90°JIC MALE 74°CONE/NPT MALE
Thread Dimensions
Part No. E F Al B|S
1N9-0402 | u7/16™~20 | Z1/8-27 Blanln
1JN9-04-04 | U7/16"20 | 71418 55|14
1ING-04-06 | U711620 |  73/8"-18 29 |30 |17
NG-05-04 | 1220 |  Z1/418 | - -
1NS-05-06 | U1/2°-20 23/8™-18 29 |29 |17
1INS-06-04 | U9/16-18 |  Z1/4"18 2% |25 |14
1IN9-06-06 | U9/16™18 | Z3/8-18 29 |29 |17
1IN9-06-08 | U9f16™-18 |  Z12-14 0 |35 |2
1INS-08-06 | U3/4-16 73/8'-18 |18 |19
1NS-08-08 | U3/4™-16 71/2"-14 345 | 35 | 2
| 1UN9-10-08 | U7/8™14 71/2"-14 7|2
1UN9-10-12 | U7/8"14 73/4"-14 4 | 4 |27
1NS-1208 |U1.1/16™12 | Z1/2'-14 44 | 40 | 277
1UN9-12-12 [U1aN16™-12 | 73/414 4 | 40 |77
1UN9-12-16 [U1a716™12 | 21115 48 | 48 | 33
1UN9-16-12 |U1516™-12 | Z3/414 4 | 42 |
1UN9-16-16 |U1.5/16™12 |  Z1™115 a7 | 47 | 33
| UN9-20-16 | U158™12 | 71115 57 | 55 | #4
1UN9-20-20 | U15/8™12 | Z1.1/4%-115 57 1555 | 44
1UNS-24-20 | U1.7/8%12 | 71.1/4"-115 39 | 56 | 48
C1NS-24-24 | UL7BM2 | Z11/2-115 59 | 59 | 48
1UN9-3232 |U2.0/212 | 77115 67 | 64 | 65

90°JIC MALE 74°CONE/LONG NPT MALE
Thread Dimensions
Part No. E F A B | 5
| UN9-04-02L | u716"20 |  Z1/8"-27 B3 |1
UNS-04-04L | U7/16"20 |  Z1/4™-18 25 |40 | 14
1JN9-05-04L | U1/2-20 71/4'-18 25 400 | 14
1JN9-06-04L | U9/16™18 |  Z1/4™18 25 400 | 14
1JN9-08-08L | U3/4™16 711214 345 551 | 2
1JNS-10-08L | U7/8"-14 717214 AR
1UNS-12-12L |UL1N16™12 | Z3/4"-14 4 |62 | 7
1NS-16-16L |U1.516™12 | 21115 4 [765 | 33

90°JIC MALE 74°CONE/LONGER NPT MALE
Thread Dimensions
Part No. E F Al B| S
1UNS-04-02LL | u7/1620 |  Z/8°-27 2 (396 | 1
(1N9-04-04LL | U716-20 | Z1/4°-18 25 |526 | 14
(LNG-05-04LL | U120 | Z1/4%-18 25 |526 | 14
1JN9-06-04LL | U9/16~18 |  Z1/4™-18 25 (526 | 14
1IN9-06-06LL | U9/16"18 |  73/8™18 30 (615 | 19
1IN9-08-06LL | U3/4"-16 73/8™18 32 [615 | 19

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



——

F. SAE ADAPTERS

/AF/AXXIONFLEX

1JT4

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Ia

JIC MALE 74°CONE/BSPT MALE

Thread Dimensions
Part No. E F B i
UT-04-02 | U7n16™~20 | 261/8™-28 14 |10 |30 |12
1T-04-04 | U7/16"20 | ZG1/4™19 14 [145 | 34 | 14
1UT-04-06 | U7M1620 | ZG3/8™19 14 [145 |35 |19
UT-05-04 | U1/2-20 | 261/4"19 14 [145 [345 | 14
10506 | U1/2-20 | 263/8™19 14 [145 | 34 |19
1T-06-04 | U9M16™18 | ZG1/4™19 141 145 | 34 |17
10606 | U9Ne™18 | 2G3/8™19 141 [145 | 35 | 19
UT-06-08 | U9/16™18 | ZG1/2"14 141 [195 [415 | 22
1UT-08-06 | U3/4™-16 | ZG3/8-19 167 |145 (395 | 22
T-0808 | U3/4-16 | ZG1/2-14 167 [195 | 4 | 12
UT0812 | U316 | ZG3/4™-14 167 1195 | 45 | 30
UT-10:06 | U7/8-14 | 7G3/8"19 193 [145 [425 | 24
UT-10:08 | U7/8 14 | 2G1/2™14 193 [195 [ 47 | 4
U012 | U7/s-14 | ZG3/4™14 193 [195 [475 | 30
UT-1208  [U1.1/16-12 | 2G1/214 219 (195 | 50 | 30
12412 {71612 | ZG3/4™14 219 (195 | 50 | 30
UT-12-16  [UL.1/16™12 | 26111 219 |245 (575 | 36
UT-16-12  |U1.5/16™12 | ZG3/4™14 3.1 (195 [535 | 36
UT-16-16  [U15/1612 | 26111 231 245 (585 | 36
UT-20:16 [ U1.5/8-12 | 76111 43 |45 [625 | 46
UT-20.20 | U1.5/8"12 |2G1.1/4"11 M43 (25 |63 |46
1JT-20-24 | U1.5/8"12 |ZG1.1/2"-11 243 | 25 [655 |50
UT-2420 | U1.7/8™12 |ZG1.1/411 275 | 25 |675 | 50
UT-24-24 | U1.7/8"12 [2G1.1/2™11 275 | 25 | 69 | 50
T-3232 | u21212 | 76211 | 339 129 |80 | 70

45°)IC MALE 74°CONE/BSPT MALE

Thread Dimensions
Part No. E F Al BI|S
1UT4-0402 | U7/16™20 | 2G1/8"-28 205 175 [ 1
- 1UT4-04-04 | U7/16%20 | ZG1/4"-19 2|21 |14
1T4-04-06 | U7M16"~20 | 2G3/8™19 a2 17
UT4-0504 | U1/2-20 | ZG1/4"19 212 |14
1UT40506 | U1/2-20 | 2G3/8-19 211l
1UT4-06-04 | U9M16™18 | ZG1/4"19 2|20 |14
1JT4-06-06 | U9/16™18 | 7G3/8"-19 2|2 |17
1T4-0608 | U9M16™18 | ZG1/2"14 Bs | 8 |1
1JT4-08-06 | U3/4'-16 | ZG3/8'-19 5 |12 119
1T4-08-08 | U3/4-16 | ZG1/2-14 7|8 |2n
UT41008 | U7/8"14 | 7G1/2"14 2B |8 |20
UT410:12 | U7/8™14 | ZG3/4™14 R |32 |57
1JT4-12-08 [U1.1/16™12 | 7G1/2"14 3 |31 |27
UTa1212 (06412 | 763414 B[R |x
1UT&412-16 [U1016412 | 26111 35 |37 |33
181612 [U15/16-12 | 7G3/4™14 (N | B
1T416-16  |U1.5/16™12 | 261"11 37 |37 |33
1T4-16-20 |U15/16-12 [2G1.1/4™11 4§ | 82 |4
1742016 | U1.5/812 | 26111 42 |42 |4
1742020 | U1.5/8"12 [2G1.1/4"11 2|0 4
UT4-24-24 | U17/8"12 [2G11/2"11 47 |47 | 48




1J04-0G

-

\s

F. SAE ADAPTERS

@AXXION FLEX
90°JIC MALE 74°CONE/BSPT MALE
_ Thread _ Dimensions _
Part No. E F Al B S
UT9-04-02 | U7/16™20 | 2G1/8'-28 Bl
1UT9-0404 | U7/16™20 | 2G1/4™19 2% |25 |14
1JT9-04-06 | U7/716™20 | ZG3/8™19 29 130 |17
UT905-02 | u1/2-20 | 2G1/8-28 27 |24 |14
UT9-0504 | U1/2-20 | ZG1/4"19 5|25 |14
| 1190506 | U1/2-20 | 7G3/8"19 129 129 |17
 1U1906-02 | U9/16™18 | 2G1/8"-28 5 | B |14
1190604 | U9/16™18 | ZG1/4™-19 2% |25 |14
1UT9-06-06 | U9/16™18 | ZG3/8"-19 2020 |17
1JT906-08 | U9116-18 | ZG1/2™-14 |35 |2
1JT9-0804 | U3/4™-16 | 2G1/4™19 33 (29 |19
1JT908-06 | U3/4™-16 | 2G3/8™19 2128 |19
1JT9-08-08 | U3/4™16 | ZG1/2™-14 345 |35 |21 |
1190812 | U3/4™16 | 263414 40 | 40 | 7
1191006 | U7/8-14 | 2G3/8"19 EER N
1JT9-10:08 | U7/8™14 | 261,214 37 | 37
1UT910-12 | U7/8™14 | 2G3/4™14 40 |40 | 7
UT9-1208 [U1.1/16™12 | 261/2-14 44 | 40 |7
UTH12-12 [U1.1416-12 | 2634414 44 |40 |2
UT9-1216 (V1371612 | 76111 48 | 48 | 33
| UT9-16-12 |U15/16™12 | ZG3/4™14 8|8 |3
UT9-16-16 |ULS/16™12 | 76111 4 14 |3
| 1JT9-16-20 |U15/16™12 |ZG1.1/4"11 56 |555 |44
1JT19-20-16 | U15/8-12 | 761-11 57 | 55 |44
1T9-20-20 | U1.5/8-12 |ZG1.1/4"11 57 [555 | 44
119-2420 | U1.7/8™12 |ZG1.1/4™11 59 | 56 | 48
1UT92424 | U1.7/812 |2G11/2"1 59 | 50 | 48
1193232 [U21/212 | 26211 67 | 64 | 65
45°)IC MALE 74°CONE/SAE MALE O-RING
Thread Dimensions
Part No. E F Al B|S| S
1J04-0404 0G| U7/16™-20 | U7/16"-20 20 (23|11 |17
1J04-04-06 0G| U7/16™-20 | U9/1618 2[5 |14 19
1J04-0504 0G| U1/2-20 | U716-20 22 1417
1J04-05050G[ U1/2-20 | U1/2-20 22 [14 |17
1J04-06-04 0G| U9/16™18 | U7/16-20 225 [14 |17
1J04-06-050G U9/16™18 | U220 2 2% |14 |17 ] |
1J04-06-06 0G| U9/16~18 | U9/16™18 122 126 [ 14 |19 |
1J04-08-06 0G| U3/4™16 | U9/16™18 6527 [19 |19
1J04-08-080G| U3/4-16 | U3/4“-16 65130 |19 |4
1J04-10080G| U7/8-14 | U3/4“-16 30 (305 |22 |4
1J0410-1006] U7/8-14 | U7/8“-14 RETREP R
1J0410:1206]  U7/8™14 | U1.1/16"12 Y RE I EE
1J0412-12 0G| U1.1/1612 | U1.1/16"12 35 (305 |7 |32
1J04-16-16 0G| U15/16%12 | U15/16™12 (38 |4 133 |41 ]
104262006/ UL5/8"12 | UL5/8-12 43549 | &1 |50
1J04-24-24 0G| U1.7/812 | U1.7/8"-12 47 | 52 |48 |55

lﬂ sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



h-:

F. SAE ADAPTERS

@AXXION FLEX
JIC MALE 74°CONE/SAE MALE O-RING
Thread Dimensions
Part No. E F A|lB|L]|S
1J0-04-04 | U7Nn6™20 | U7/16™-20 14 (9.4 [305 | 14
10 1J0-04-05 | U7/16~20 | U1/2-20 14 (914 [ 30 |17
1J0-04-06 | U7M16%20 | U9/16™18 14 1993 |30 [17 |
1J0-05-04 | U1/220 | U7/16%-20 14 (914 [ 29 |14
L 1JO-05-05 | U1/2"20 | U12"-20 14 (9.4 (305 | 17
B 1J0-0506 | U1220 | U9/16™18 14 (993 | 30 |17
— 1J0-06-04 | U9/16~18 | U7/16"20 141 (914 |29 [17
h 1J0-0605 | U9/16-18 | U1/2'-20 141 914 |29 |17
| ) r 1100606 | U9/16™18 | U9/16™18 141 1993 [32 |17
e 1J0-0608 | U9/16-18 | U3/4-16 141 1103 [33 |2
1J0-08-04 | U3/4~16 | U7/16-20 167 914 B45 (22
i E %3 1J0-08-06 | U3/4~16 | U9/16™18 167 993 |35 |22
1J00808 | U316 | U316 167 {113 |36 |2
1J00810 | U416 | U7/8-14 167 [127 B85 |27
1J0-10-08 | U7/8~14 | U3/4™-16 193 1103 |39 |24
1J0-10-10 | U7/8~14 | U7/8-14 193 127 |41 |27
101012 | U7/8™14  |U1.1/16"12 193 1509 |45 |32
1J0-12-08  [U1.1716™12 | U3/4™16 219 1113 425 |30
01210 [UL1A16"12 | U7/814 219 [127 |45 |30
101212 [U11/16™12 [U1.1/16™12 219 1500 |47 |32
1J0-12-16  |UL1/16™-12 [U1.5/16™12 219 [151 W85 |41
1J0-1412  [U13/16™12  [U1.1/16"12 226 1509 W75 |32
1J0-16-12 [U15/16™12  [U1.1/16™12 2.1 1509 495 |36
| 101616 |U15/16™12  [U1.5/16™12 231 1151 495 |41
1J0-1620  |U15/16™12 [U1.5/812 231 1151 B15 |50
1J0-20-16 | U15/8-12  |U1.5/16™12 243 151 |53 |46
1J0-2020 | U15/8-12 |U15/8-12 243 [151 |53 |50
1J02024 | U15/8-12 |U1.7/8%12 243 [151 545 |55
102420 | U1.7/8%12 | U15/8%12 275 [151 565 |50
102424 | Urgt2 |ULi/sti2 275 (151 |58 |55
102432 | urst2 U2 275 (151 595 |70
1J0-32-32 | u2.1/212  |ua1/2-12 339 [151 |66 |70
F
1J09-0G/L 90°JIC MALE 74°CONE/LONG SAE MALE O-RING
Thread Dimensions
— Part No. E F AlB|S]|S
_ 1J09-04-04L0G | U7/16™20 | U7/16™20 SRR
1J09-06-06L0G | U9/16™18 | U9/16™18 27 [528 |14 |17
1J09-08-08LOG | U3/4™-16 | U3/4™16 32 (63519 | 2
1)09-10-10L0G | U7/8"14 | U7/8"14 | | | 37 (7134 |02 |07
i 1J09-12-12L0G |U1.1/16™12 | U1.1/16™12 44 (848 | 27 | R
e 1J09-16-16L0G |U1.5/1612 | U1.5/16™12 49 [945 | 33 | 41
e

www.axxionflex.com

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A



F. SAE ADAPTERS

1J09-0G

@AXXION FLEX
90°JIC MALE 74°CONE/SAE MALE O-RING
Thread Dimensions
Part No. E F AlB| S| S
1J09-04-040G | U7/16"20 | U7/16"20 ¥ 126 |11 |17
1J09-04-050G | U7/16™20 | U1/2"-20 513214 |17
1J09-04-0606G | U7/16"20 | U9/16™18 26 |32 [14 |19
1J09-05-040G | U1/2-20 | U716%20 YRR
1J08-05-050G | U1/2"-20 U1/2"-20 25 |32 |14 |17
1J09-05-060G | U1/2-20 | U9/16™18 % [ 32 [14]19
1J09-06-040G | U9/16™18 | U7/16™20 7|32 14|17
1J09-06-050G | U9/16™18 | U1/2-20 7 324 |17
1J09-06-060G | U9/1618 | U9/16™18 7 |32 (14|19
1J09-08-060G | U3/4-16 | U9/16"18 32 |34 119 |19 [
1J09-08-080G | U3/4™16 U3/4™16 32 (37 (19 |4
1J09-08-100G | U3/4™16 | U7/8-14 1 I - B 7 A
1J09-10-080G | U7/8™-14 U3/416 37 [ 40 [ | 4
1J09-10-100G | U7/8™14 | U7/8"-14 ¥ 148 |22 |0
1J09-10-120G | U7/8-14 | U1.1/16™12 41 150 |27 |32
1J09-12-080G [U1,1/16"12 | U3/4"-16 818 |7 MU
1J09-12-100G |U1.1/16"12 | U7/8"-14 4 |4 |7 |77
1J09-12-120G [U1.1/16"12 | U1.1/16™12 44 |50 |27 |32
1J09-16-120G [U1.5/16-12 | U1.1/16™12 48 | 53 |33 |32
1J09-16-160G [U1.5/16-12 | U1.5/16™12 49 |53 [33 | 4
1J09-20-160G | U1.5/8™12 | U15/16™12 55 | 58 | 41 | 4
1J09-20-2006G |U1.5/812 | U15/8™12 55 162 | 41|50
1J09-20-240G | U15/8™12 | U1.7/8"12 58 | 63 | 48 | 55
1J09-24-240G [U1.7/8%12 | U1.7/8"12 50 | 63 | 48 | 55
JIC MALE 74° CONE/JIC FEMALE 74°SEAT
Thread Dimensions
Part No. E F A B L 5 51
40404 | U7/16%20 | U7M6'20 | 14 | 85 | 28 | 14 | 17
20405 | uzie~20 | U1/220 | 14 | 95 [ 285 | 14 | 19
20406 | UTM6-20 | U9M6-18 | 14 | 10 | 29 | 14 | 19
2-05-05 U220 | vi220 | 14 | 95 | 29 | 14 | 19
2)-05-06 U220 | U9ne-18 | 14 | 10 | 29 | 14 | 19
20606 | U9/16-18 | U9M6™18 [ 141 | 10 | 29 | 17 | 19
2)-08-06 U416 | U916~18 167 | 10 | 34 | 2 | 19
2)-08-08 Usa16 | U3~e (167 | 11 | 35 | 22 | 24
2-08-10 Ug16 | U7/8~14 (167 | 11 | 36 | 22 | 27
2-08-12 U416 | UL1/16-12 | 167 [ 135 | 38 | 27 | 32
2)-10-08 U7/8~14 | U3/4~16 1193 | 11 | 38 | 24 | M
- 2-10-10 | U7/e14 | U7/g4 193 | 11 | 39 | 4 | 7
2-10-12 U7/814 | UL1A1612 [ 193 | 135 [ 405 | 27 | 32
21210 | Nan6t2 | U714 | 218 | 11 | 43 | 30 | 27
212412 [ UL116~12 | UL1A6-12 |19 [ 135 | 44 | 30 | 32
2-16-16 | U1516~12 | V151612 | 231 | 145 | 47 | 36 | 41
2-2020 | U15/8-12 | U15/8-12 | 243 | 155 | 52 | 46 | 50
22424 | ny/s-12 | Ur/e-12 [ 275 [ 185 | 56 | 50 | 55
23232 | U21/212 | U21/2-12 1339 | 245 [ 665 | 70 | 75

li‘l sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



—

F. SAE ADAPTERS

AF/AXXIONFLEX
45°JIC MALE 74° CONE/IC
24 Thread Dimensions
. Part No. E F A B 5 51
i 24-04-04 | U7NG"-20 | U716"-20 20 85 1 17
204-05-05 U1/2"-20 U1/2"-20 n 95 14 19
24-0606 | V91618 | L9618 | 22 10 14 19
24-0808 | U3/4-16 | U3/4“-16 25 1 19 %
: 2A100 | upmt4 | Uis4 | 8 | 1 | 2 | 27
L \L 241212 [ uiane-12 [utane~12 | 35 | 135 7 32
24-16-16 | U15/16"12 | U1.5/16"12 37 145 33 41
: \s 24-2020 | U15/812 | N15/8~12 | 42 | 155 44 50
242424 | V17812 | U17/8~12 | 47 | 185 48 55
U432-32 | U21/212 | V2112 | 55 | 245 65 75
90°JIC MALE 74° CONE
Thread Dimensions
st Part No. E F A B 5 51
209-04-04 | U7/16-20 | U160 | 24 85 11 17
290505 | w1220 | U120 bl 95 14 19
: Hw%uﬁ U9/16™-18 | U9/16™18 | 27 10 14 19
—— 90608 | U9/16-18 | U3/4™16 7 11 17 24
% 219-08-06 U3/4"-16 U9/16"-18 32 10 19 19
= fﬂ: | }_ 290808 | U3/4-16 | U3/4-16 32 11 19 24
290610 | U3/4-16 | U7/8-14 32 11 19 27
2J9-10-08 u7/8'-14 U3/4™-16 37 11 2 pL
,—=§ 291010 | U7/814 | U7/814 37 11 2 27
4 2091012 | u7/-14 | ajet2 | 37 | 135 2% 32
29-12-10 | UL1/16-12 | U7/8-14 43 11 7 27
- 291212 [ Uane-12 | naiet12 | 43 | 135 7 32
A 29-1616 | UL5/16-12 | U15/16~12 | 48 | 145 3 41
292020 | U152 | U158~z | 57 | 155 44 50
29424 | U17/8~12 | U17/812 | 59 | 185 48 55
293232 | U122 | U2 | 65 | 245 65 75
W) BUTT-WELD TUBE/JIC FEMALE 74°SEAT
Thread Dimensions
1 Part No. E TUBEOD AEXE:
. 2W)-10-04 | U7/16™20 10 85 [255 | 17
MW12-05 | U120 12 95 | 27 |19
W-14-04 | U7/16™-20 14 85 | 27 |19
2W-1406 | U9/16™18 14 10 |55 |19
o 1 I 11 i 2WJ-18-08 | U3/4™16 18 11 [ 60 | 24
N 2W-20-10 | U7/8™14 20 n 3|2
s | WR2-12 | U1./16™-12 2 135 | 68 | 32
==l 2W)-28-16 | U15/1612 28 145 | 68 | 41
B 2WI-34-20 | U1.5/8™12 34 155 [ 75 | 50

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



R

F. SAE ADAPTERS

3)
s 51
R
A L B
34

39

51

i
@AK XIONFLEX
JIC FEMALE 74°SEAT
Thread Dimensions
Part No. E F A B L S | S
3)-04-04 U7/16"-20 U7/16"-20 85 8.5 20 17 17
3J-05-05 U1/2"-20 U1/2"-20 95 9.5 21 19 19
3J06-06 U9/16"-18 U9/16"-18 10 10 23 19 19
3J08-06 U3/4'-16 U9/16"-18 11 10 23 24 19
3J-08-08 U3/4"-16 U3/4"-16 11 11 25 24 24
3J10-10 U7/8"-14 U7/8"-14 11 11 27 27 27
311212 U1.1/16"-12 | U1.1/16™12 | 135 | 135 28 32 32
311616 | U1.5/16"12 | U15/16™12 | 145 | 145 32 41 41
3J20-20 U15/8~12 | U15/8-12 | 155 [ 155 34 50 50
3)-24-24 U.7/8-12 | UL7/8-12 | 185 | 185 35 55 55
45°JIC FEMALE 74°SEAT
Thread Dimensions
Part No. E F A B S S1
340404 | U7M16"-20 | U7M16"-20 8.5 8.5 11 17
340505 | U120 | U120 | 95 | 95 11 19
3)4-06-06 U9/16"™18 U9/16"18 10 10 14 19
3)4-08-08 U3/4'-16 U3/4"-16 11 11 19 24
3J4-10-10 U7/8"-14 U7/8"14 11 1 22 27
341212 | U1.116%12 | U11/16™12 | 135 135 24 32
3041616 | U1.5/16™-12 | U15/6~12 | 145 | 145 | 33 41
3)4-20-20 U15/812 | U1.5/8"-12 15.5 15.5 44 50
3)4-2424 | UL7/8-12 | UL7/8-12 | 185 185 48 55
34-32-32 | U2.1/2-12 | U2.1/2"-12 245 245 65 75
90°JIC FEMALE 74°SEAT
Thread Dimensions
Part No. E F A B S 51
319-04-04 U7/16™20 U7/16"-20 8.5 8.5 11 17
390505 | 1220 | U120 | 95 95 11 19
319-06-06 J9/16"18 U9/16"18 10 10 14 19
3J9-08-08 U3/4"16 U3/4™16 11 11 19 24
3J9-10-10 U7/8"-14 U7/8"14 11 11 2 27
3091212 | U1.1/16™12 | UL1/16™12 | 135 135 24 32
3)9-16-16 | U1.5/16"12 | U1.5/16™12 | 145 14.5 33 4]
3092020 | U15/8™12 | U15/8-12 | 155 | 155 44 50
3)9-24-24 | U1.7/8"12 | U1.7/8"12 185 185 48 55
3)9-32-32 | U21/2412 | U2.1/212 | 245 245 65 75

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



J—

F. SAE ADAPTERS

"4
@AXMON FLEX
JIC MALE 74°CONE PLUG
4) Thread Dimensions
Part No. E A L g
L 4J-04 U7/16™20 4 | 20 |
i 4J05 U1/2-20 14 | 20 | 14
- 406 U9/16™18 4120 |17
4J08 U3/4™-16 61 | 25 | 2
— 410 | 74 193 | 28 |
- 4492 [nane12 TN ED
/ 414 [ U3ne-12 06 | 3 | 2
_ 416 | nsne-12 21| 4 | %
—\“‘=f &u 4520 U1.5/8"12 243 | 37 | %
3 4)-24 U1.7/812 75 | 42 | 50
432 U2.1/212 339 | 50 | 65
JIC MALE 74°CONE/FEMALE 74°SEAT
Thread Dimensions
5} Part No. E F A B L S
. 5-0406 | U7M6-20 | U9M16~18 | 14 | 8 | 26 | 19
510408 | U7he~20 | U346 | 14 [ 11 | 26 | M
5J-05-08 Ui/2=20 | U3a-e | 14 | 11 | 26 | 4
) 5J-05-10 U220 | U714 | 14 [ 11 |85 | o7
ﬂ 510608 | U9/16-18 | U316 | 140 | 11 | 26 | 2
w gﬁﬁg Uosie~18 | U7-14 [ 141 [ 11 |85 | X7
—[ U9M6™-18 | UL1/16~12 [ 141 | 13 | 30 | 32
S : 510812 usg-16 [utane-12 (167 | 13 | 33 | 32
A = 5-08-16 Uy/g16 | U1516™12 | 167 | 14 | 355 | 38
L " 5J-08-20 U316 | U15/812 | 167 | 15 | 355 | 50
5)10-16 Uz/g14 | U1516~12 [ 193 | 14 | 38 | 38
5-1620 | U15/i6~12 | U1se-12 | 231 [ 15 | 42 | 5o
512024 | n1s/g-12 | Uziet12 [ 243 | 19 | 435 [ 55
58 JIC MALE 74°CONE/BSP FEMALE
Thread Dimensions
Part No. E F B| L[S
L 5)B-04-02 | U716-20 | Gi/8"-28 14 |30 |14
580404 | U7N16-20 | G1/4™-19 14 132119
| SJB-04-06 | U7M16™20 | G3/8™-19 14 |3 |2
5)B-06-06 | U9/16-18 | G3/8"-19 14134 | 2
5)B-0608 | U9/16™18 | G1/2-14 14138 | 27
5)B-08-08 | U346 | G1/2-14 167 [405 | 27
| 5JB08-10 | U346 | G5/8-14 167 | 46 | 30
SB10-12 | U7/8™14 | G3/4-14 193 | 49 | 36
| 5JB12-12 [ UL1/16-12 | G3/4-14 219 [515 | 36
5812116 |UL1/1612 |  GI™11 219 |53 | 4
| 5JB-16-16 | UL5/16~12 | G111 n1|5 | 41
5)B-16-20 | U15/16-12 | G1.1/4"11 31|57 |50
5)B-20-20 | U15/8~12 | GL1/4"11 243 |585 | 50
5)B-24-24 | U1.7/812 | GL1/2"11 2756 |55
5)B-3232 | U2.1/212 G211 339 |69 | 70

www.axxionflex.com

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A




F. SAE ADAPTERS

AEAXXIONFLEX
JIC MALE 74°CONE/NPT FEMALE
Thread Dimensions
5IN Part No. E F Al L] s
SIN04-02 | U7/1620 | Z1/8%-27 30 |17
5IN-04-04 | UTN6-20 | 21/4°-18 14132 119
L SINOS-04 | U120 21/4™18 M |32 |19
SIN06-04 | Uong-18 | Z1/a-18 141 32 19
_5IN-06-06 | U9N16™18 |  73/8-19 141134 |
! SIN-06-08 | U9N6-18 | Z12-14 141136 | 30
SIN0B-06 | U3/4-16 23/8™19 167 | 30 | 22
AL_ 5IN-08-08 | U3/4-16 Z21/2"-14 167 | 41 | 30
_ SIN-0812 | U3/4™16 Z3/4™14 167 | 46 | 36
4¥=’1:7z‘)¢ SINI008 | U7/g-14 | Z1/214 193 435 | 30
3 SIN-T0-12 | U7/8™14 23/4™14 193 [ 49 | 36
SIN-2-08 U612 | 217214 19 % | %0
SIN12-12 [UL116M12 | Z3/4-14 219 (515 | 36
SINI612 | 151612 | Z3/4™14 231 [525 | 36
SIN-1616 | U15/16%12 | 21115 B8 | 4
| SIN-2020 | U15/8-12 | 2114115 24361 | 50
SIN-2424 | U17/8-12 | 210/2-115 275 | 64 | 55
SIN3232 | U212 | Z2s 339 (705 | 70
5ING 90°JIC MALE 74°CONE/NPT FEMALE
Thread Dimensions
s Part No. E F AlB]|s
/"(_ SING-0402 | U7A620 | 218 % |17 |14
SING-0404 | U7N1620 | Z1/4-18 8 |2 |19
_ 5ING-0604 | U9M6™18 | 71/4™18 2812 |19
5N9-0606 | 9618 | 73/8™19 0|5 |2
< 5ING-08-08 | U3/4™16 71/2-14 % |28 |27
3INS-1208 | 111612 | 717214 45 1N |
—J SING-12-12 | UL1/16%12 | Z3/4™14 45 13 |3
g | 5IN9-1616 |U1SN6M2 | 71115 51 39 | 41
5N9-2020 | U15/812 | 21174115 58 | 48 | 48
SING-2424 | U182 | 2132115 67 | 57 | 65
JIC MALE 74° CONE BULKHEAD
Thread Dimensions
i Part No. E F Al B[ L] s | s
SR IN U760 | U760 | 14 325 S8 |17 17
L 6-05IN | U1/2%20 | ui/z0 | 14 (325 | 53 [ 19 |19
A B 6H06IN | U968 | uyte~18 |14l | 2 | 54 | 2 | &
, 6-08LN | U3M-16 | U316 | 167 |365 [615 | 24 | 24
r ‘TF 6-0 N | U7/8 14 | U7/s-14 [193 | 40 | 695 | 30 | 30
" ﬁ:g& UL1/16™12 | UL1/1612 | 219 | 44 | 78 | 36 | 36
U15/1612 | U15/16-12 | 231 | 45 | 80 | 41 | 41
\‘_Z/JTJ 620 IN | V15812 | U15/8-12 | 243 | 457 | 84 | 50 | 50
s/ 8 6)24IN | Ul7/812 | uis~12 | 275 | 46 | 89 | 55 | 55
6J32IN | va1/2-12 | u21/2-12 339 [s31 105 | 70 | 70

Please delete "LN" after the part number if don't need with lock nut,for example "6J-16"

Iiﬂ sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



—

F. SAE ADAPTERS

AF/AXXIONFLEX

614N 90°)IC MALE 74° CONE BULKHEAD
Thread Dimensions
: Part No. E F Al B s | st
6904 N | U720 | U720 | 24 404 | M| 17
6O0SIN | w220 | U120 | 5 [437 | 14 | 19
6906 IN | Uonte-18 | Wte-18 | 7 | %6 | 14 | »2
- 6908 LN | U316 | U316 | 32 |S535 | 19 | 24
690N | upe-14 | Uz | 37 607 | 22 | 30
69-12IN | uri16-12 [Unane-12 | 43 678 | 27 | 36
s :ﬂ]:ﬂ: ) 6)9-16 IN | u15n6=12 [u1sne-12 | 48 | 71 | 33 | 41
Ai_,_ 6920 N | u15/8-12 | n15~12 | 57 |792 | 41 | 50
A JICLOCK NUT
4 Thread Dimensions
Part No. E L 5
; 804 U7/16™20 ¥ | a2
N 8J-05 U1/2"-20 7 |19
- 8)-06 U9/16™18 7 |2
8 8)-08 U3/4™16 8 |
8510 U7/8-14 9 | 30
8-2 | UL116-12 105 | 3%
] 8F16 | U1.5/1612 105 | 41
L 8F:20 | U15/8"-12 105 | 50
8l24 | u178-12 105 | 55
832 | vaap-12 105 | 70
) JIC FEMALE 74° SEAT PLUG
" Thread Dimensions
Part No. E B [ L g
00404 | U716-20 8BS | 12 | 1]
9k0505 | U120 85 | 13 | 17
o 010606 | U9/16™18 8 | 14 | 19
[ I/ m U3/4™-16 n |15 |
- U7/8"-14 n |7 |2
—"] 91212 [ u1n1e-12 B [ 19 [ R
. ) 91616 | U15/16™12 14 | 20 | 38
92020 | U1.5/8"-12 15 | 24 | 50
0j24-4 | U17/8"12 19 | 25 |5
913232 | U212 12 T EEE
JIC 74°FEMALE PLUG
9J-CAP
Thread Dimensions
Part No. E L 5
g 9-04CAP | U716™-20 5 | 14
9J05CAP | U1/2"-20 155 | 17
9J-06CAP | U9/16-18 6 | 17
[ OJOBCAP | U3/4-16 19| 2
o 9J-10CAP | U7/8™14 05 | 7
9)-12CAP | U1.1/16™12 B3| 2
9J-16CAP | U15/16%12 % | 38
9J-20CAP | U1.5/8%-12 27 | 50
L 9)-24CAP | U1.7/812 30 | 55
9J-32CAP | U2.1/212 65 | 15

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



] )
i
A C
B)
o0
51
L]
s
A C
a

AJGJ-0G
|| B
7-'J_ H ~
=

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

R

F. SAE ADAPTERS

NF/AXXIONFLEX

JIC MALE 74° CONE TEE
Thread Dimensions
Part No. E F G Al B ]| €| S
AJ04 U760 | Urne~20 | U760 | 24 | 24 | 24 | 11
Al05 ui0 [ uo (w2 |5 [ 5 |5 |14
AJ06 U9/16™-18 | U9M6-18 | U9N6™-18 | 25 |25 | 25 | 14
AJ08 U3/ | U3-16 | u3mte | 33 [ 33 |33 |19
A0 u7/g-1a | uzs-4 | uzete |3 |31 |3 | n
A2 (uninez Jutane-12 (nane-12 |48 |83 [ |
AF16  |U15/16-12 [U1516~12 JUIsne-12 | 46 |46 |46 | 33
A0 |uiset12 s lwisee2 [s7 157 |57 |4
A4 [z [urze-12 |utze-12 |58 |58 |58 | 48
JIC MALE 74° CONE/)IC FEMALE74°SEAT BRANCH TEE
Thread Dimensions
Part No. E F G Al s c| s | o
BJ04-04-04 | Urne-20 | uzne20 | Uzne-0 | 24 |85 | 4 [ 11 |17
[BF05-0505 | Ui/220 | U1/2=20 | U120 | 25 |95 | 25 | 14 | 19
BJ06-06-06 | L9618 | U9Me-18 | Uo/e-18 | 25 | 10 | 25 [ 14 | 19
| BF08-08-08 | U3/4-16 | U316 | U346 | 33 | 11 | 33 | 19 | 4
BFI0-10-10 | U7/8™-14 | U794 | U7/8M14 | 37 | 11 | 37 | 22 | 271 |
(BR212-12 [ 1.1016412 [UL116-12 | 010612 | 43 | 135 | 43 | 271 | 32
BF16-16-16 | U15/16™-12 | U15/16™-12 | U15/16-12 | 46 | 145 | 46 | 33 | 41
[ BJ202020 | U15/8™12 | U15/8~12 | U15@~12 | 57 | 155 | 57 | 44 | 50
BJ24-2424 | Ur7/8™12 | Ur7/8™12 | U17/8™12 | 58 [ 185 | 58 | 48 | 55
JIC MALE 74° CONE/JIC FEMALE 74°SEAT RUN TEE
Thread Dimensions
Part No. E F G Al s c s s
CJ04-0404 | U7/16"'20 | U716-20 | UT/16-20 | 24 | 85 | 24 | 11 | 17
050505 | U220 | u/2-0 | U120 | 25 |95 | 25 | 14 | 19
CH0606-06 | U9/16™18 | U9E-18 | U9/16-18 | 25 | 10 | 25 | 14 | 19
080808 | U34-16 | U34-6 | U346 | 33 | 11 [ 33 [ 19 | M
CHO-10-10 | uz/s=14 | uz/g=14 | uzsm4 | 37 | 1 | 37 | 22 | 7
CH21212 [ nane-12 [uaae-12 [uane-12 | 43 |35 | 43 | 27 | 32
| CH6-16-16 | U15/16-12 | 151612 [ U15ne™12 | 46 [ 145 | 46 | 33 | 41
202020 | U15/8~12 | uise~12 | nise-12 | 57 155 [ 57 | 44 | s0
CFa2424 | g2 | nae=a2 | uiays=2 | 58 | 185 | 58 | 48 | 55
JIC MALE 74°CONE/BSP MALE O-RING BRANCH TEE
Thread Dimensions
Part No. F G aAlBs]cls s
AJGI04-04-040G | U7/16~20 | Gl/4~19 | U7A16"20 | 26 [ 32 | 26 |14 | 19
AJGH5-04-050G | U120 | Gii~19 | uy20 |26 [32 |26 |14 |19
AJGI-06-06-060G | U9N16™18 | G3/819 | U9Me™18 [29 [35 |29 [19 (22
(AG)-08-06-080G | U3/a~16 | Gis~19 | um-e (32 36 132 [19 |22
AJG-08-08-080G | U3/4™16 | GI/214 | U3/a~16  [35 |44 [35 [22 |27
[AJG-10-08-100G | U7/8~14 | Gi/2-14 | U714 (37 |44 (37 |22 |27
AIG-12-12-120G |UL1A16 12 | G3/4™14  JUii/16-12 |44 |so [44 [27 |32
AJGS16-16-160G |U1.5/16~12 | G1=11 150612 [48 555 |48 [33 |41

www.axxionflex.com



J—

F. SAE ADAPTERS

@AXXION FLEX
JIC MALE 74°CONE/BSP MALE O-RING RUN TEE
ALG-0G Thread ____ Dimensions
Part No. _g" MF__ ,,G A B C § 51
AJJG-04-04-020G | U7/16"20 U7/16"-20 G1/8"-28 23 |65123 |11 |14
F AlG-04-04-040G | U7N16"-20 U7/16°-20 G1/4°19 26 |32 |26 |14 |19
AJG-05-05-020G |  U1/2-20 U1/2'-20 G1/8"-28 26 |28 |26 |14 |14
g AJIG-05-05-040G | U1/2"-20 U1/2'-20 G1/4"-19 6 |32 |26 [14 |19
v s AUG06-06-040G | U9/16~18 | U9/16-18 | GIA™9 |27 |32 |27 |14 |19
b AJIG-06-06-060G | U9/16"18 U9/16"18 G3/8"19 29 13512 (19 |2
g AJIG-08-08-060G | U3/4™-16 U3/4"-16 G3/8"-19 32 136 132119 |2
i AJIG-08-08-080G | U3/4™-16 U3/4'-16 G1/214 35 | M4 | H |2 |
U \ ANG-10-10-080G | U7/8™14 U7/8"-14 G1/2"14 37 |4 |37 |2 | X
A | AJG12-121206 | U1.1/16%12 | UL1/1612 | G3/4™14 | 44 |50 |44 [27 [ 32
AIG-16-16-160G | U1.5/16-12 | U1516-12 | G111 555 | 48 [ 33 | 41
JICMALE 74°CONE/METRIC MALE ADJUSTABLE STUD RUN TEE
Thread Dimensions
Part No. E F G A B C 5 S1
AJH-0G _J_"_.Ul-lrﬂ4~0*’r1 00G | U7M16"20 U7/16"-20 MIOX1 | 25 | 29 [ 25 | 14 | 14
AIH04-04120G | U7/16™20 | U7/16™20 | M12X15 | 25 | 32 | 25 |14 | 17
AJJH-05-05-120G | 11/2"-20 U1/2°-20 MI2X15 | 25 | 32 | 25 [ 14 |17
AJJH-05-05-140G |  U1/2-20 U1/2°-20 MI4X15 | 25 | 33 | 25 |14 | 19
F AH-06-06-140G | U9/16"18 U9/16"18 MigxX15 | 27 | 32 |27 |14 |19
AJJH-06-06-160G | U9/16™18 U9/16"18 | MI1eX15| 29 | 35 | 29 | 19 | 22
AJH08-08-160G | U3/4-16 | U3/4™-16 | MI6X1S | 32 | 35 | 32 |19 | 22
w _i( 51 AJJH-08-08-180G | U3/4"-16 U3/4*-16 MIBXIS5 | 35 1395 |35 [22 | M4
AJJH-10-10-180G | U7/8-14 u7/8"14 MIBX15 | 37 | 40 [ 37 | 22 | M4
e AH-10-10-220G | U7/8™-14 U7/8"-14 M22X15 | 37 | 42 | 37 | 22 | 27
L AIH-12-12-220G | U11/16™12 | U11/16™12 | M22X15 | 43 | 46 | 43 | 27 | 27
4 L (w2706 [ vt (Uit | W | & | 5o |4 |7 | 2
A | AH16-16:270G | U15/16™12 | U15/16™12 | M27Xa |48 |53 | 48 |33 |32
AJJH-16-16-33 0G | U15/16™12 | U1.5/16™12 M33X2 | 48 | 53 | 48 |33 | 41
AJJH-20-20-420G | U15/8-12 | U15/8%-12 Ma2X2 | 55 |57 |55 | 41 | 50
AJJH-24-24-480G | U1.7/8~12 | U1.7/8™12 M48X2 | 59 | 63 | 59 | 48 | 55

Please add "TO"after the part number if there is nowasher out of the O-ring on
the product for example AJJH-06-06-14 OG/TO

www.axxionflex.com

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A



- el

F. SAE ADAPTERS

AE/AXXIONFLEX
JIC MALE 74°CONE/SAE MALE O-RING BRANCH TEE

Thread Dimensions
AJOJ0G Part No. E F G Al Bl C|S ]S
AJOJ04-04-040G | U7/16™20 | U7/16™~20 | U7M6™20 | 24 | 26 | 24 | 11 | 17
AJOJ05-04-050G | u1/2~20 | U7Me~20 | W/220 | 25 [ 32 |25 [ 14 |17
F AJOJ-06-04-060G | U9/16™18 | U7M16™20 | U9ne-18 | 27 |32 | 27 [ 14 |17
AJ0J-06-05-060G | U9/16™18 | U120 | U9ne-18 | 27 |32 | 27 [ 14 |17
AJOJ-06-06-06 0G | U9/16™18 | U9/16~18 | V9618 | 27 |32 | 27 [ 14 | 19
51 AJ0J-08-06-080G | U3/4-16 | U9M6~18 | U3/4-16 | 32 |34 |32 [19 |19
ﬁ ﬁ P  AJ0J-08-08-080G | U3/4™16 U3/4"16 U3d~16 | 32 |37 [ 32 |19 | 4
- I 7L, AJOJ-10-08-100G | U7/8™-14 U3/4™16 U7/8™14 |37 |40 |37 |22 | 4
) AJOF10-10-100G | U7/8™14 Uz/g-14 | ur/e~14 [ 37 |43 |37 |2 |27
e i ) AIOJ1208-120G | U1a/16™12 | U316 [ Uae~12 | 83 | 43 | 83 |27 | 4
\ AJOS12-10-1206G | U1.1/16™12 | U7/814 | UL1/16™12 | 44 | 47 |44 | 27 | 27
" [ 2 AJO-12-12-120G | U11/16-12 | U11A6~12 | ULI/16~12 | 44 | 50 | 44 | 27 | 32
AJOS16-16-160G | U1.5/16™12 | U1.5/16™12 | U1.5/16™12 | 49 | 53 | 49 | 33 | 41
AJ0JF20-16-200G | U1.5/8-12 | U15/16~12 | U15/8-12 | 55 | 58 | 55 | 41 | 41
AJOJ-20-20-2006 | U1.5/8™-12 | U15/8"12 | U15/8™-12 | 55 | 62 | 55 | 41 | 50
AJ0J24-24-2406 | Ur7/g-12 | Un7/8™12 | Un7/g~12 | 59 | 63 [ 59 | 48 | 55
JIC MALE 74°CONE/SAE MALE O-RING RUNTEE

Thread Dimensions
AIO-0G Part No. E F G A B C| S| %
AJJO-04-04-040G | U7/16"-20 | U716™-20 | U7/16™20 | 24 | 26 | 24 | 11 | 17
AJJO-05-05-040G | U1/ U220 | Uzne-20 |25 |32 |25 |14 |17
AJJO-06-06-040G | U9/16™18 | U9M16~18 | U7/1620 |27 [ 32 | 27 [ 14 | 17
F AJJO-06-06-050G | U9/16™18 | U9ne~18 | W20 |27 || |14 |17
—} AJJO-06-06-060G | U9/M16™18 | U9/16™18 | U9/16™18 | 27 | 32 | 27 |14 |19
( AJJO-08-08-060G | U3/4-16 Ua™16 | U9ne-18 | 32 | 34 [ 32 |19 |19
b AJJO-08-08-080G | U3/4™-16 U3/4"16 U3Md~16 |32 |37 [ 32|19 |24
casto) ,ﬁ AJJO-10-10-080G | U7/8™-14 U7/8"-14 U3d-16 | 37 |40 |37 |22 | 4
| AJJO-10-10-100G | U7/8™-14 U7/8"-14 urs-14 |37 |8 |37 (2 |77
- ]JL[ I AJJO-12-12-080G | U1.1/16™12 [ U11/16™12 | W3/a~16 | 43 | 43 | 43 | 27 | 4
\ AJJO-1212-100G | U1.1/16™12 [U11N6-12 | U7/8~14 | 44 | 47 |44 |27 | 7
R \s : | AJJ0-12-12-120G | U1116™12 [ U1a/16™12 | U1116™12 | 44 [ 50 | 44 | 27 | 32
AJJO-16-16-160G | U15/16™12 | U1.5/16%12 | U1.5/16"12 | 49 | 53 | 49 | 33 | 41
_AJJO-20-20-160G | U1.5/8™12 | U1.5/812 | UL.5/16™12 | 55 | 58 | 55 | 41 | 41
AJJO-20-20-200G | U1.5/8™-12 | U1.5/8-12 | U15/8™12 | 55 | 62 | 55 | 41 | 50
AJJO-24-24-240G | U17/8~12 | U17/8™12 | U17/812 | 59 | 63 | 59 | 48 | 55

liu sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



—

F. SAE ADAPTERS

@A}(XION FLEX
JIC MALE 74° CONE/NPT MALE BRANCH TEE
Thread Dimensions
N Part No. E F G Al B | C| S
ANJ-04 | U7ne20 | Zi/4~18 | U7Me-20 | 245 | 245 [ 245 | 14
AIN-0402-04| U7M16™-20 | Z1/8-27 | U7N6"-20 | 245 | 245 |45 | 14
AINJ05-0205| U120 | Z1/8-27 Ui/z~20 | 25 | 24 | 25 | 14
F ANJ-05-04-05| wU1/2-20 | Z1/4-18 Uuiz-20 | 25 | 5 | 25 | 14
= AINJ-06-04-06| U9/16~18 | 71/4-18 | U9M6-18 | 29 | 29 | 29 | 17
AINO6 | U9Me-18 | 73/8-18 | U9nte~18 | 7 | 7 | 27 | 17
—— AINJ06-08-06| U9M16-18 | Z1/2-14 | U9e-18 | 30 | 34 [ 30 | 22
. » ANJ-08-06-08| U3/4™16 | 73/8™-18 U/a~16 | 33 | 29 | 33 | 19
UJ/ — AINJ08 U346 | Z1/2-14 U/g-16 | 33 | 34 | 33 | 2
\\_s_ ANJ-10-08-10| U7/8"14 | Z1/2-14 Uz/g14 | 35 | 35 | 35 | 22
: : ANF2 uane-2 | g4 |utane12 | 8 | 40 | 8 | 27
ANJ-6  [Usne-12 | Z1-ns |Uisn6-12 | 46 | 46 | 46 | 33
AINJ-20 | ULS/8-12 |Z1.1/4-118 | U1S/8-12 | 57 | 555 | 57 | 44
ANJ24 | Urz/g12 [Ziz-ns (g2 | 59 | 59 | 59 | 48
JIC MALE 74° CONE/NPT MALE RUN TEE
Thread Dimensions
AN Part No. E F G Al B C[ s
AINO4 | Urne-20 | uine20 | Zia-1s | 245 | 245 |45 | 14
AIN-04-04-02| U716™~20 | U7/1620 | Z1/8"27 [ 245 | 245 | 245 | 14
¢ AUN05-0502] w20 | w20 | Zisr | 25 | 25 | 4 | 14
AJIN05-05-04|  U1/2-20 U1/2*-20 71/4"18 5 15 |5 | M4
AJN-06-06-04 | U9/16™-18 | U9e~18 | Z14~18 | 29 | 9 | 9 | 17
% . ANO6 | U9/e-18 | U9e-18 | Z3®-8 | 27 | | w17
Pa AIN-06-06-08| U9/16-18 | u9/16~18 | Z1/2-14 | 30 [ 30 | 34 | 2
<, AIN-08-08-06| U3/4~16 | U3M~16 | Z3@-18 | 33 | 33 [ 29 | 19
. I AJN-08 Us/d-16 | U3~ | 4 | 33 | B3 [ M | 2
AUN-10-10-08] U7/8~14 | U7igti4 | Zi2m4 | 35 | 35 | 35 | 2
‘LL AN-12 [ ULIN6~12 [Utang~12 | 3414 | 8 | 8 | & | 7
\ . AIN-16 | U15016™12 | U15/16™12 | 21115 4% | 46 | 46 | 33
AN [ n5/8-12 | ULs8-12 |Z1a4-ns | 57 | 57 [ 555 | 44
AIN24 [ uig/e-12 | u7et2 [Zi-ns | 59 | 59 | 59 | 48
JIC MALE 74° CONE BULKHEAD RUNTEE
AJBELN Thread Dimensions
Part No. E F G A B C 5 51
MI6J04LN | U7/16"20 | U7M6~20 | U7M620 | 24 | 24 [404 | 11 | 17
; NJHOSIN | /220 | w20 | w20 | 25 | 25 [#37 | 14 | 19
AlJ606LN | 9618 | ugne-18 | u9e-18 | 25 | 5 | 46 | 14 | 2
. o AlJJ08LN | u3/a~16 | U3@4~16 | U416 | 33 | 33 [535 | 19 | M4
) L .—,(ﬂ' AlJ6)10LN | u7/~14 | U7g-14 | uze-i4 | 37 | 37 [e07 | 22 | 30
o = AJ6FZIN [Ur1n16-12 Junie~12 [ulane-12 | 8 | 8 |e18 | 27 | 36
T T— L MJB16LN | U15/16~12 | U15/16™-12 [U1s/16~12 | 46 | 4 | 71 | 33 | 4
AJ6J20IN | n5/8-12 | U15/8~12 | u15/8-12 | 57 | 57 [792 | 44 | 50
A c AJ6F4IN | U17/8™12 | U17/812 | UL7/812 | 58 | 58 [ 869 | 48 | 55

www.axxionflex.com

Please delete "LN" after the part number if don't need with lock nut, for example "AlJ6J-16",

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A




___g.d

F. SAE ADAPTERS

AJ6JLN
F
{
L]
['-‘ Hl
5
—k
A B
DJ
F
A 32 C
H.T ] | -
ﬁ ‘u
EJ

@AK XIONFLEX
JIC MALE 74° CONE BULKHEAD BRANCH TEE
Thread Dimensions
Part No. E F G A B C S S1
ABJO4LN | U7M6%20 | U620 | U7Me-20 | 24 24 (404 | 11 17
AJBL-05LN | U1/2"-20 U1/2"-20 U1/2°-20 25 25 [ 437 | 14 19
AJBJHO6LN | U9Ne-18 | U968 | U916-18 | 25 25 46 14 2
AJBJIOBLN | U3/4-16 U3/4"-16 U3/4™-16 33 3 1535119 24
AJGJFIOLN | U7/8-14 U7/8-14 u7/8™14 37 37 | 607 | 2 30
AJBJFI2IN | UL1/16%12 | U1.1A16%12 | UL1/16™12 | 43 43 678 | 7 36
AJBJ-I6LN | U15/16"12 | U1516"12 | U15/16™12 | 46 4 71 3 41
AJBJI20LN | U15/8™12 | U15/812 | U15/8%-12 | 57 5 1792 | 44 50
AJ6J-24IN | U17/8~12 | UL7/8-12 | UL7/8™-12 | 58 58 | 869 | 48 55
Please delete "LN" after the part number if don't need with lock nut for example
AJ6J-16.
JIC FEMALE 74°SEAT TEE
Thread Dimensions
Part No. E F G ABC S |518253
DJ-04-04-04 | U7M16™20 | U7/16-20 | U7/16"20 85 11 17
DJ05-05-05 | U1/2"-20 U1/2"-20 U1/2°-20 g5 11 19
DJ-06-06-06 | U9/16™18 | U9/16-18 | U9/16™18 10 14 19
DJ-08-08-08 U3/4"™16 U3/4'-16 U3/4-16 " 19 24
DJ-10-10-10 | U7/8"-14 U7/8"-14 U7/8-14 11 2 27
DH2-12-12 | U1.1/16™12 | U1.1/16™12 | UL1/16™12 | 135 24 32
| DH16-16-16 | U15/16™12 | U1.5/16™12 | U15/16™12 | 145 33 41
DJ-20-20-20 | U15/8™12 | U1.5/8-12 | U15/8%12 | 155 44 50
DJ-24-24-24 | U17/8%12 | UL7/8"-12 | UL7/812 | 185 48 55
JIC FEMALE 74° SEAT/JIC MALE 74°CONE BRANCH TEE
Thread Dimensions
PartNo. E F G AC B 5 | S1S2
£-04-0404 | U7N16-20 | U7/16~20 | L7620 | 85 24 11 17
EJ05-0505 | U1/2-20 U1/2°-20 U1/2-20 9.5 25 14 19
EH060606 | U9/16-18 | U9/16™18 | U9/16™18 10 25 14 19
EJ08-0808 | U3/M4-16 | U3/4™16 U3/4™-16 1 33 19 24
E)-10-10-10 | U7/814 Ur/g-14 U7/8-14 11 37 22 27
EF12-12-12 | U1.116™12 | UL1)1612 | UL1/16™12 | 135 43 27 2 |
E)-16-16-16 | U1.5/16™12 | U15/1612 | U15/16"12 | 145 46 3 4
E}20-2020 | U15/812 | U15/812 | U15/8™12 | 155 57 44 50
E-24-2424 | U1.7/8-12 | U1.7/8%12 | U17/8™-12 | 185 58 48 55

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



—

F. SAE ADAPTERS

AF/AXXIONFLEX

JIC MALE 74° CONE/JIC FEMALE 74°SEAT RUNTEE

Thread Dimensions
Part No. E F G AC B S | 5152
F FI-04-04-04 | U7M16™-20 | U716"-20 | U7/16™-20 | 85 24 1 17
= FR5-05-05 | U1/2-20 | Ui2~20 | U120 95 25 14 19
L L ¢ FJ-06-06-06 | U9/16~18 | U9/16-18 | U9M16~18 | 10 25 14 19
FJ-08-08-08 | U3/4-16 | U3M4-16 | U3/4-16 1 3 19 24
1 FI10-10-10 | U7/8~14 | U7/8~14 | U7/8"-14 1 37 py) 7
w :[ FH2-12412 | U1.116%12 | U11116™12 | UL.1/16%12 | 135 43 27 32
|- | FF6-16-16 | U15/16-12 | U15/16-12 [U1sA6-12 | 145 | 46 | 33 | 41
i FI-20-20-20 | U15/8™12 | U15/8-12 | U15/8-12 | 155 57 44 50
Fl-242424 | U17/8™12 | L7812 | U1.7/812 | 185 58 48 55
JIC MALE 74° CONE/NPT FEMALE BRANCH TEE
Thread Dimensions
KN Part No. E F G A B C 5
| KINJ-04 Urfie~20 | Z1/4~18 | U7Me~20 | 285 | 22 [ 285 | 19
| KONJ04-02-04 | U7M16%20 | Zu/827 | u7ne20 | 265 | 17 [ 265 | 14
‘ KINFO5-02-05 | U120 | Z1/8"-27 Ui/z-20 | 265 | 17 | 265 | 14
‘ KINJ-05-04-05 | U120 | Z1/4%18 Ui/z~20 | 285 | 22 | 285 | 19
KINJ-06-04-06 | U9f16™18 | Z1/4~18 | U9/16™18 | 285 | 22 | 285 | 19
e KINJ-06 Uote™18 | Z3/818 | U9/16™~18 | 305 | 25 [305 | 22
» F 1o KINJ-0B-06-08 | U3/4"-16 | 73/818 | U3/4-16 | 335 | 25 |335 | 22
|| KINJ-08 U316 | Z1/2-14 Usd-16 | 365 | 28 | 365 | 27
: KINJ-10-08-10 | U7/8™14 | Z1/2-14 Uzg-14 | 38 | 28 | 38 | 7
\ T . KNF2 [uaae2 | 3414 [uane-2 | &1 | 33 | &1 | 33
KINFI6 [ uisne-12 | Z1~115 [uisne-12 | 51 | 39 | 51 | 4
KINJ-20 U15/812 [21.0/4-115 [ U15/812 | 58 | 48 | 58 | 48
JIC MALE 74° CONE/NPT FEMALE RUN TEE
LJIN Thread Dimensions
Part No. E F G A B C S
LIIN-04 U7n6-20 | U7/16~20 | Z1/418 [ 285 | 22 | 285 | 19
LUN-04-0402 | U7/16'20 | U7n6~20 | Z1/827 | 265 | 17 | 265 | 14
. | LUN-05-0502 | U1/2-20 | U220 | 71827 | 265 | 17 | 265 | 14
| LUN-0505-04 | U1/2~20 | U120 | Z1/418 [ 285 [ 22 | 285 | 19
LIN-06-06-04 | U9M6™18 | U9/M6™18 | Z1/418 | 285 | 22 | 285 | 19
w | LIN-06 U9/16™~18 | U9n6™-18 | Z3/8-18 | 305 | 25 |305 | 22
B LUN-08-08-06 | U3/4-16 | U3M4~16 | Z3/8-18 | 335 | 25 |335 | 22
] | LJIN-08 U3/d-16 | U34~6 | 21214 | 365 | 28 | 365 | 27
o LUN-10-10-08 | U7/8™14 | U7/8~14 | Z1/214 | 38 | 28 | 38 | 27
LIN-12 UL1/16™12 [U1116~12 | Z3/414 | 41 | 33 | &1 | 33
‘\L UIN-16 U15/16~12 | U15/16~12 | 21115 51 | 39 | 51 | #1
A 8 LIN-20 U15/8~12 | U15/8~12 7114115 | 58 | 48 | 58 | 48

www.axxionflex.com

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A



F. SAE ADAPTERS

NF/AXXIONFLEX

NB300

NB500

00TSUM-NB

JIC INCH SLEEVE
Thread | TUBEOD  Dimensions
Part No. ' in oL ]
NB300-04 | U7/16'-20 s 95 105
__NB300-05 | U1/2-20 516" N3 115
NB300-06 | U9/16-18 38" 125 | 13
NB300-08 | U3/4™-16 wr 17 |14
NB300-10 | U7/8“14 5/8° 20 |17
NB300-12 | U1.1/16™12 TS 25 (175
NB300-14 | U13/16™12 78" 27.5 (195
NB300-16 | U1.5/16™12 1" 31| 2
NB300-20 | U1.5/8™12 Al 39 |85
NB300-24 | U1.7/8-12 112 5 |83
JIC METRIC SLEEVE
Thread TUBEQ.D ~ Dimensions
Part No. mm DL
NB500-06 | U7/16'-20 6 95 105
NB500-08 | U1/2-20 8 15 (115
NB500-10 | U9/16-18 10 125 | 13
NB500-12 | U3/4-16 12 17 |14
NBSOO-14 | U7/8"14 14 20 |17
NBS00-15 | U7/8"14 15 20 |17
NBS00-16 | U7/8™14 16 0 |17
NBS00-18 | U1.1/16"12 18 45 175
NB500-20 | U1.1/16™12 20 245 1175
NBS00-22 | U13/16™12 2 275 (195
NB500-25 | U1.5/16™12 5 31| 2
NBS00-28 | U15/8%12 28 39 |25
NB500-30 | U1.5/8™12 30 39 |55
NBS00-32 | U1.5/8%12 2 39 (B35
NB500-35 | U1.7/8™-12 35 45 |285
NB500-38 | U1.7/8™12 38 45 1285
JIC FLARE TUBE END NUT
Thread INCH SLEEVE METRIC SLEEVE Dimensions
Part No. E 0D MO, 0D NO. L [ s
00TSUM-04NB| U7/16™20 14 NB300-04 6 NBSOO-06 | 15 | 14
00TSUM-OSNB| U120 | 516" | NB30O-05 | 8 NBS0O-08 | 16 | 17
00TSUM-06NB| U9/1618 38" NB300-06 10 NBSOO-10 | 18 | 17
_00TSUM-0BNB| U316 | 12" NB300-08 12 | NBS0012 | 215 | 1
00TSUM-10NB|  U7/8"14 14 NBSOO-14 | 21 | %7
00TSUM-10NB|  U7/8™14 15 NBSOO1S | 21 | o
00TSUM-1ONB|  U7/8™14 5/8" NB300-10 16 NBSOO-6 | 21 | 27
00TSUM-12NB|U1.1/16™12 | 34" NB300-12 18 NBSOO-18 | 24 | 32
00TSUM-12NB[U1.1/1612 0 NBSOO-20 | 24 | 32
00TSUM-14NB|U1.3/16™12 2 NBSOD-20 | 24 | 36
00TSUM-14NB|U1.316™12 |  7/8° CNB300-14 [ 22 | NBSOO-22 | 24 | 36
00TSUM-16NB|U1.5/16™12 1" NB300-16 2 NBSOD-25 | 26 | 38
00TSUM-20NB/| U1.5/812 28 NBSOO-28 | 28 | %0
'00TSUM-20NB| U1.5/8™12 ! 30 NB50O-30 | 28 | S0
00TSUM-20NB| U1.5/8-12 | 1.1/4" NB300-20 E}) NBSOO-32 | 28 | 50
| DOTSUM-24NB| U1.7/812 35 | NB50O035 | 32 | 55
00TSUM-24NB| U1.7/8-12 | 172" NB300-24 38 NBSOO38 | 32 | 55

Im sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



P——

F. SAE ADAPTERS

AF/AXXIONFLEX
SAE MALE O-RING PLUG
40 Thread Dimensions
Part No. E 2T ET S
¢ 40-04 U7/16™20 914 | 16 | 14
40-05 U1/2"-20 9.14 | 16 | 17
f A 4006 | U9/16™18 993 [175 | 17
) i 4008 U3/4™16 .13 [195 | 24
7—§ m:r 4010 | Ui/8-14 127 [ 3 |27
.. 4012 | unine-12 509 | 26 | 32
4016 | U1516-12 51127 [ &
! 4020 | U15/8-12 151 (305 | 50
7LF 4024 | V17812 151 [305 | 55
- 4032 | U212912 151132 |70
SAE MALE O-RING BOSS HOLLOW HEX PLUG
40N Thread Dimensions
Part No. E Al LIS
L 40N04 | U716™20 9.14 (115 | 5
A 40N-05 | 17220 914 115 | 5
A 40N-06 | U9/16™18 993 [127 | 6
'l 10N08 | U3/4™16 113 143 | 8
il g 40N-10 | U7/8"14 1127 | 16 | 10
N 40N-12 | U1.1/16™12 509 | 19 | 14
40N-16 | U1.5/16™12 151119 [16
S © U7 40N-20 | U1.5/8™12 151 119 |19
P SAE MALE 90°CONE
Thread Dimensions
- Part No. E F Al B LTS
A . 1P-0404 | U7716™20 | U7/16™20 127 [127 315 | 14
) 170505 | U1/2-20 U1/2-20 142 (142 [345 |14
ol || Hr 1| || 1P-0606 | U5/8™18 US/8™-18 157 [157 1375 | 17
* 1P-0808 | U3/M4™16 U3/4-16 19 [ 19 |46 | 2
! | 1P-10-10 | U7/8™-14 U7/8"14 24 (2453 | M
s 1P-1212 | UL116™12 | UL1/16™12 254 254 [605 | 30
4p SAE MALE 90°CONE PLUG
Thread Dimensions
L Part No. E Al L[S
g 4p-04 U7/1620 127 [185 | 14
K 4p-05 U1/220 142 |20 |14
NI P06 | USs-18 157 |2 |17
= 4p-08 U3/416 19 [27 |2
] 4p-10 U7/8"-14 224 (305 | 4
3 412 | V1116412 254 | 35 | 30

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Izl



___g.d

F. SAE ADAPTERS

1F9

Ll

1FG

J

@AX XIONFLEX
ORF5 MALE O-RING
Thread Dimensions
Part No. E F A B L 5
0404 | U9/16-18 | U9/16-18 | 14 | 14 | 34 | 17
1F-06-04 U11/16-16 | U9/16"18 14 14 34 19
1F-06-06 U11A16~16 | U11/1616 14 14 34 19
1F-08-06 U13/16°16 | U11/16'-16 15 14 7 22
1F-08-08 U13f1e™16 | U13/16"-16 15 15 38 22
11008 | UI~14_ | UI316-16 | 165 | 15 | 405 | 27
1F-10-10 U114 U114 16.5 16.5 42 27
1F-12-10 | U1.3N18"12 U114 17.5 16.5 44 32
1F-12-12 | U1.316%12 | U1.3/16'12 115 175 45 32
1F-16-16 | U1.7116"12 | U1.7/16"12 | 185 18.5 485 41
1F-20-.20  [U1.11/16%12 [U1.11/16%12 | 195 19.5 525 46
1F-24-24 Uz™-12 u2"-12 19.5 19.5 54.5 55
90°0RFS MALE O-RING
Thread Dimensions
Part No. E F A B 5
1F9-04-04 U9/16"18 1J9/16"18 25.5 255 14
1F06-06 | U11/1616 | U11/16™16 | 275 215 17
1F9-0806 | U13M16™16 | U11/16"16 32 | 22
1F9-08-08 | U13/16%16 | U13/16"-16 32 32 22
1F9-10-10 U114 U114 38 I8 27
1F9-12-08 | U1.3/16"12 | U13/16"16 38 36 27
1F-12-12_| V131612 |U13A6-12 | 38 | 38 | 27
1F9-16-16 | U1.7/16"12 | U1.7/16"12 46 46 33
1F9-20-20 |U1.11/16%12 |U111/16™12 51 51 41
1F9-24-24 U2"-12 U212 55 55 48
ORFS MALE O-RING/BSP MALE O-RING
Thread Dimensions
Part No. E F A B L s
1FG-04-02 Ug/16*18 G1/8™28 14 B 28 17
1FG-04-04 Ug/16"-18 G1/4°-19 14 12 32 19
1IFG04-06 | U9/16'-18 G3/8™19 14 12 M 22
IFG0606 | U1/16-16 | G3/8-19 | 14 | 12 | 3 | 2
1FG06-04 | U11/16™16 | G1/4™19 14 12 32 19
1FG-06-08 | UNMe™~16 | G1/2°-14 14 14 36 27
1FG0806 | U13/16~16 | G3/8™19 15 12 35 22
1FG-08-08 | U13/16~16 | G1/2"-14 15 14 37 27
1FG-10-08 U114 G1/2'-14 16.5 14 39 2
1FG-10-12 U114 G3/4"-14 16.5 16 43 32
1FG-12-08 | U1.3/16"12 G1/2-14 17.5 14 41.5 32
1FG-12-12 | U1.3/16"12 G3/4"-14 11.5 16 435 32
1FG-16-12 | U1.7/16™12 G3/4"-14 18.5 16 45,5 41
CIFG1616 | U1716M12 | GIt11_ | 185 | 18 | 48 | a1
1FG-20-20 |U1.11/16™12 | GL1/4™-11 19.5 20 54 50
1FG-24-24 U212 G1.1/2°-1 19.5 22 57 55

Please add "TO"after the part number if there is nowasher out of the O-ring on
the product, for example "1 FG-06-06 TO"

la www.axxionflex.com sales@axxionflex.com = Phone: +1 784 655 7577 U.S.A



—

F. SAE ADAPTERS

AF/AXXIONFLEX

45°0RFS MALE O-RING/BSP MALE O-RING
1FG4-0G Thread Dimensions
Part No. E F A B S 51
4 1FG4-04-020G| U9N16™~18 | G1/8"-28 22 25 14 17
8l 1FG4-04040G| U9/16™18 | G1/4"-19 22 28 14 19

1FG4-0606 0G| UT1/16-16 | G3/8™-19 22 30 19 22
1FG4-08-060G| U13/16™16 | G3/8"-19 25 32 2 22

] 1FG4-08-080G| U13/16™16 | G1/2"-14 25 7 22 27
S % 1FG4-10-080G|  U1™14 G1/2"-14 30 39 27 27
1FG4-12080G| U13/16%-12 | G1/2-14 34 42 30 37
i \_ 1FG4-12-120G| U1.3/16%12 | G3/4-14 k" 42 30 32
5 1FG4-16-16 0G| U1.7/16"12 G111 35 45 33 41
1FG4-20-200G[U1.11/16™12 | GL1/4"1 40 46 41 50
90°0RF5 MALE O-RING/BSP MALE O-RING
Thread Dimensions
1FG9-0G Part No. E F A B S 51

1FG9-04-020G| U9/16™18 | G1/8"-28 25.5 28 14 17
1FG9-04-040G| U9/16™-18 | G1/4'-19 25.5 32 14 19

F 1FG3-06-040G| U11/16-16 | G1/4-19 | 285 | 35 19 19
l 1FG9-06060G| U11/16™16 | G3/8-19 | 285 | 355 | 19 2
1FG9-06-080G| UT1/16%16 | G1/2-14 | 32 44 2 27
51 1FG9-08-060G| U13/16™16 | G3/8~19 | 32 | 375 | 22 2
o 1FG9-08-080G| U13/1616 | G1/2-14 | 32 44 2 27
1FG9-10-080G| U1™14 G214 | 38 48 27 bJ]
1FG9-12-080G|U13/16™12 | GI/214 | 39 | 48 a | 2
* ) 1FG9-12-120G| U13/16™12 | G314 | 39 49 27 R
Y 1FG3-12:160G|U13/16-12 | G111 | 43 | 555 | 33 41
A N 1FG9-16-120G| U1.7/16™12 | G3/4-14 | 45 | 53 | 33 | 3
1FG9-16-160G| U1.7/16-12 | GI*11 | 45 | 555 | 33 | 41 |
1FG9-20-200GU1.1/16™12 | Gl | 52 | 57 | 41 | 50 |
ORFS MALE O-RING/METRIC MALE
Thread Dimensions
Part No. E F A B L S
1FH TFH04-10 | U9/16™18 |  MIOXT | 14 8 0 | 17

1FH0412 | U9/16™18 M12X1.5 14 12 34 17
1FH06-12 | U11/16~16 | MI12X1.5 14 12 34 19

L 1FH06-14 | U11/16™16 |  M14X15 14 12 34 19

A 8 1FH06-16 | U11/16-16 | MI16X1.5 14 12 36 n

. 1FH-08-16 | U13/16™16 | MI16X1.5 15 12 37 2

T - 1FH-08-18 | U13/16™16 | MI8X15 15 12 37 24

r 1FH-08-22 | U13/16™16 | M22X15 15 15 4 77

i % 1FH-10-22 U114 M22X15 | 165 15 2 b
1FH12-22 | U13/1612 | M22X15 | 175 15 45 RN |

1FH-12-27 | U13/16™12 M27X2 175 16 46 Y,
1FH-16-33 | U1.7/16™12 M33X2 185 | 18 51 41

_IFH20-42 [ULII16M2 | M42K2 | 195 | 20 57 50

WFH2448 | U212 | M4ex2 | 195 N 60 55

Pleass add 1&?&& the part rmmbeﬁ-thmis nmmherwtdlﬁe O-ring on
the product, for example *1FH-06-14T0,1FG9-08-06 OG/TO"

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Im




.-—--d

F. SAE ADAPTERS

NF/AXXIONFLEX

45°0RFS MALE O-RING/METRIC MALE ADJUSTABLE STUD

1FH4-0G

5

1FN

Thread Dimensions
Part No. E F A B 5 51
1FH4-04-140G | U9/16™18 M14X1.5 22 28 14 19
1FH4-06-140G | UT1/16"16 |  M14X1.5 22 32 19 19
1FH4-06-16 OG | U11/16"-16 M16X1.5 22 30 19 22
1FH4-08-16 0G | U13/16"16 M16X1.5 25 30 22 22
1FH4-08-18 OG | U13/16"-16 M18X1.5 25 32 22 24|
1FH4-10-220G | U114 M22X1.5 30 38 2] 30
1FH4-12-22 0G |U1.3/16™-12 M22X1.5 34 38 30 30
1FH4-12-27 0G |U1.3/16™-12 M27X2 34 42 30 36
1FH4-16-33 0G [U1.7/16™-12 M33X2 35 43 33 41
90°ORFS MALE O-RING/METRIC MALE ADJUSTABLE STUD
Thread Dimensions
Part No. E F A B 3 51
1FH9-04-120G | U9/16™18 M12X1.5 25.5 32 14 17
1FH9-06-14 OG | U11/16"-16 M14X1.5 29 37 19 19
1FH9-06-16 OG [ U11/16"-16 M16X1.5 29 3 19 22
1FH9-08-16 0G | U13/16™16 M16X1.5 32 37 22 22
1FH9-08-18 OG | U13/16"-16 M18X1.5 32 395 22 24
1FH9-08-22 0G | U13/16"-16 M22X1.5 32 42 22 27
1FH9-10-220G | U1"-14 M22X1.5 38 45 2] 27
1FH9-12-27 0G |U1.3/16™-12 M27X2 38 50 2] 32
1FH9-16-33 0G [U1.7/16™12 M33X2 46 54 3 |1 4
Please add “TO"after the part number if there is nowasher out of the O-ring on
the product, for example 1FH9-06-14 OG/TO
ORFS MALE O-RING/NPT MALE
Thread Dimensions
Part No. E F A B L S
1FN-04-02 | U9/16™18 | Z1/827 | 14 10 30 17
1FN-04-04 | U9/16™18 | Z1/4™18 14 14.5 34 17
1FN-04-06 | U9/16™18 | 73/8"-18 14 145 34 19
1FN-06-04 | U11/16"16 | Z1/4"18 14 14.5 34 19
1FN-06-06 | U11/16™16 | Z3/8™18 14 14.5 34 19
1FN-08-06 | U13/16™16 | 73/8"18 15 145 37 22
1FN-08-08 | U13/16™16 | Z1/2"-14 15 19.5 42 22
1FN-10-08 U1'-14 Z1/2"-14 16.5 19.5 44 27
1FN-1208 | U1.3/16™12 | Z1/2"-14 17.5 19.5 4] 32
1FN-12-12 | U1.3/16™12 | Z3/4"14 17.5 19.5 4] 32
1FN-16-16 | U1.7/16™12 | Z1™-115 18.5 245 54 41
1FN-20-20 |U1.11/16™12 |Z1.1/4™11.5 | 195 25 58 46
1FN-24-24 U212 (212115 | 195 25 60 55

sales@axxionflex.com » Phone:

+1 784 455 7577 U.5.A

www.axxionflex.com



F. SAE ADAPTERS

AF/AXXIONFLEX
45°0RFS MALE O-RING/NPT MALE
1FN4 Thread Dimensions
Part No. E F A B S
1FN4-04-04 | U9/16™18 | Z1/4"18 Py 21 14
1FN4-06-06 | U11/1616 | Z3/8™18 2 2] 17
1FN4-08-08 | U13/16%16 | Z1/2-14 25 28 2
c TFNG-1008 | U114 | Zi72“14 30 7] 27
s IFN&1212 | U1316-12 | 23/4™14 34 35 30
) TFN&-16-16 | UT7/16-12 | 21115 35 37 33
§ Y 1IN&-20-20 [UT.11/16%12 [Z1.0/8-115 | 40 Y] 4
IFNG2424 | U292 |21/ 15 | 42 47 18
90°0RFS MALE O-RING/NPT MALE
Thread Dimensions
1FN9 Part No. E F A B g
1FN9-04-02 | U9/16™-18 | Z1/8-27 2 19 14
1FNS-04-04 | U9/16™-18 | Z1/4-18 | 255 25 14
1FN9-06-04 | U11/16™16 | Z1/4-18 | 275 Y, 17
1FN9-06-06 | U11/16™16 | Z3/8-18 | 275 by, 17
,J:ﬂ 1FN9-06-08 | U11/16™16 | Z1/214 30 35 2
e 1FN9-08-06 | U13/16™16 | 73/8™18 32 30 2
‘ 1FN9-08-08 | U13/16™16 | Z1/2-14 32 35 2
» 1FN9-08-12 | U13/16™16 | Z3/4™14 38 41 7
I ) 1FNS-1008 | U114 | 217214 39 41 7
S 1FN9-10-12 | U1™14 73/4"14 39 41 7
ﬁ A 1FNS-12-08 | U1.3116™12 | Z1/2-14 42 4 3
1FNg-12-12 | V1311612 | Z3/4™14 42 4 3
1FN9-16-16 | U1.7/16™12 | Z111.5 a7 49 3
1FN9-20-20 |UL.11/16"12 [Z1.0/4115 | 52 55 44
1FN9-2424 | U2~12 (212115 | 33 58 48
90°ORFS MALE O-RING/ORFS FEMALE
Thread Dimensions
29 Part No. E i Al B[ s |
290404 | U9/16~18 | L9618 [ 255 | 10 | 14 | 19
F 2F9-04-06 | U9/16™18 | U9/16~18 | 275 | 11 | 17 | 22
. 2F9-06-04 | U11/16™16 | U9/16~18 [ 275 | 10 | 17 | 19
= (] DO 2F906-06 | U11/16™16 | U11/16™16 | 275 | 11 | 17 | 22
1 | 2F9-08-06 | U13/16™16 | UT1/16-16 | 32 | 11 | 22 | 22
;I 2F9-08-08 | U13/16-16 | U13Ne™16 | 32 | 12 | 2 | 27
2P5-1008 | w14 | U13he-6 | 38 | 12 | 7 | 27
— 2F9-10-10 | U1™-14 Ur-4 | 38 | 135 | 27 | 32
2F9-12-12 | U13n16™12 | ui3ne~1z | 38 [ 135 | 27 | 36
— &g 2F9-16-16 | U1.7/16-12 | U1.7/1612 | 46 [ 145 | 33 | 41
A 2F9-2020 |ur1116™12 [utiie12 | 51 {155 | 41 | s0
w JL 92424 | U2 Ur-12 | 55 | 195 | 48 | 60

www.axxionflex.com

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A




F. SAE ADAPTERS

NF/AXXIONFLEX

ORFS MALE O-RING / ORFS FEMALE

Thread Dimensions
Part No. E = A B L s | s1
2F 2F-04-04 U9/16~-18  |U9ME™-18 14 10 | 38 | 17 | 19
2F-04-06 Usie-18  |U11M6™-18 14 1] 0] 7] »
2F-06-04 U11/16°-16 U9/16°-18 14 10 38 19 19
g1 L x 2F-06-06 U11/16°-16 U11H16°-16 14 1 40 19 22
2F-06-08 U1116%16 | U13/16™16 14 2] # 19 | 27
2F-08-06 U1316~16  |U11H6"-18 15 n| 8] 2] 2
E_p r 2F-08-08 U13M6%16 | U13/1616 15 Rl al 2 xn
" w 2F-08-10 U13n6~-16 U114 15 | 135] 46 | 24 | 3
2F-10-08 U1-14 U13116~16 | 165 | 12 | 46 | 27 | 27
2F-10-10 Ui~-14 U114 165 | 135| 48 | 27 | 32
Ad 2F-10-12 U114 U13M6°12 | 165 | 135 52 | 30 | 36
B 2F-12-08 U1.3M16°12 U13M6°-16 175 12 48 32 27
2F-12-10 U1.316%-12  |U1%14 175 | 135] 50 | 32 | 3
2F-12-12 U13/16"-12 |U13H612 | 175 | 135| 53 | 32 | 36
2F-12-16 U1316~12 |U17H6*12 | 175 | 145] 55 | 36 | #
2F-16-12 U1.7M6 12 |u13ne™12 | 185 | 35| 56 | 41 | 3
2F-16-16 U1.7M16"~12 U1.7M6"-12 18.5 14.5 57 41 41
2F-20-20 U1A116%12 |U111n6-12 | 195 | 55| 63 | 46 | 50
2F-24-24 U142 U212 195 195 69 55 60
3F
ORFS FEMALE
s L s Thread Dimensions
Part No. E F A B L s | &1
JF-04-04 U9/M6"-18 J9/16°-18 10 10 22 19 19
3F-06-06 U11116*16 _ |U1116"16 1 11 24 | 22 | 22 |
= | | 3F-08-08 U1316-16 _ |U1ae16 | 12 | 12 24 | 21 | &
,U=l 3IF-10-10 U114 U114 135 [ 135 | 26 | 32 | 32
Eﬂl—[QE JF-12-12 U1.3M6°-12 U1.3M16%12 135 135 29 36 36
"T’ "E"' IE16-16_ | ULTM612 |ULTHE-12 | 145 | 145 | 32 | 41 | 41
3F-20-20 UL11116~12 u111m6~12 | 155 | 155 | 34 | 50 | 50
3F-24-24 U212 U212 195 | 195 | 35 | 60 | 60
4F ORFS MALE 0-RING PLUG
L Thread Dimensions
A Part No. E A L 5
4F-04 U9/16"-18 14 | 20 | 17
4F-06 U11/16°-16 14 | 20 | 19
4F-08 U13/16°-16 5 | 3| 2
4F-10 U114 16.5 255 27
4F-12 U1.3/16%12 175 | 215 | 3
4F-16 U1.7116"12 185 | 30 | a1
4F-20 U1.11/16"12 19.5 33 46
4F-24 U2*12 195 | 35 | 55

www.axxionflex.com

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A



—

F. SAE ADAPTERS

@AXXION FLEX
ORFS MALE O-RING BULKHEAD
6F-LN Thread Dimensions
: Part No. E F A B L 5 51
6F-04 LN | U9/16™18 | U9/16-18 | 14 | 315 | 535 | 2 | 22
6F-06 LN | U11/1616 | U11/16"™16 | 14 34 56 27 27
7 ] 3 6F-08 LN U13/16"16 | U13/16™-16 15 36.5 | 60.5 30 30
" I 6F-10 LN U1"-14 U1"-14 165 | 406 68 36 36
ca | 6F-12 LN | U1.3/16"12 [ U1.3/16"12 | 175 | 41.7 71 41 41
6F-16 LN | U1.7/16™12 [ U1.7/16"12 | 185 | 422 | 745 46 46
6F-20 LN | U1.11/16™12 |U1.11/16"12 | 195 | 422 76 50 50
6F-24 LN U2"12 U2"-12 195 | 422 17 60 60
Please delete "LN" after the part number if don't need with lock nut, for example "6F-16"
& ORFS FEMALE PLUG
Thread Dimensions
Part No. E A L )
9F-04 U9/16"™18 9 14 19
" 9F-06 U11/16"16 8.5 16 2
9F-08 U13/16"-16 11 16 27
9F-10 U1"-14 135 18 30
J 9F-12 U1.3/16"-12 13 18 36
Lj— 9F-16 U1.7/16"12 15 20 41
vl a 920 |U111/16%12 155 | 23 | %0
9F-24 U212 19 | 25 [ 60
8F ORFS LOCK NUT
g Thread Dimensions
(1 Part No. E L g
8F-04 | U9/16™18 7 | »
8F-06 | U11/1616 8§ | o
@ 8F-08 | U13/16™16 9 | 30
8F-10 U1"-14 10.5 36
8F-12 U1.3/16"-12 10.5 41
8F-16 U1.7/16"12 10.5 46
N/ 8F-20 U1.11/16™12 10.5 50
L 8F-24 U2"12 105 60

www.axxionflex.com

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A



F. SAE ADAPTERS

@AXXION FLEX
AFGF-0G
ORFS MALE O-RING/BSP MALE O-RING BRANCH TEE
F Thread Dimensions
Part No. E F A B £ | B8 51
; AFGF-04-04-04 0G| U9/16"18 | G1/4"19 55 | 32 [255 [ 14 |19
ﬁ " AFGF-04-06-040G| U9/16™18 | G3/8"19 85 (355 [285 [ 19 | »
-1 AFGF-06-06-06 0G| U11/16™16 | G3/8"19 285 (355 [285 |19 | 2
' 3 AFGF-08-06-080G| U13/16™16 |G3/8'19 | | 32 [375 | 32 [ 22 | 22
& & AFGF-08-08-08 0G| U13/1616 | G1/2"-14 R4 2|22 |27
AFGF-10-12-1006]  U1-14 | G3/4-14 8 | 49 | 38 | 27 | 32
: AFGF-12-12-1206G| U1.3/16™12 | G3/4-14 39 | 49 | 39 | 27 | 32
. : AFGF-16-16-16 0G| U1.7/1612 | G111 45 [555 | 45 | 33 | M
AFFH-0G
; ORFS MALE O-RING/METRIC MALE ADJUSTABLE STUD AND RUN TEE
Thread Dimensions
. Part No. E F A B g 51
ol f AFFH-04-04-14 0G| U9/16™18 | M14X15 55 | M | 14 | 13
3 ' |AFFH-06-06-16 0G| U11/16™16 | M16X15 29 35 19 by,
w w | |AFFH-08-08-220G| U13/16-16 | M22X1.5 32 4 2 30
—1 AFFH-10-10-220G] U114 | M2X15 | | 38 | 45 | 27 | 30
. AFFH-12-12270G| U13/16-12 |  M27X2 38 50 2 3%
A B AFFH-16-16-3306G| U1.7/16-12 |  M33X2 46 54 33 4
AFOF-0G
F ORFS MALE O-RING/SAE MALE O-RING BRANCH TEE
Thread Dimensions
Part No. E F A B C 5 51
%ﬁ ﬁ“ AFOF-04-04-040G| U9/16™18 | U7/1620 1255 129 |55 [ 14 |17
AFOF-06-06-06 0G| U11/16~16 | U9/16™18 25 | 33 [285 [ 19 |19
= ||| AFOF-08-08-08 0G| U13/16-16 | U3/4™16 R |75 [ [2 [
o - AFOF-10-10-100G|  U1™14 | U7/8"-14 38 | 44 | 38 | 7 | 7
m AFOF-12-12-120G| U1.316™12 | U1.1/16™12 CEHECEE EE
e AFOF-16-16-16 0G| U1.7/16"12 | U1.5/16™12 $ | 2 | 65 |3 [ &
. : AFOF-20-20-20 0G| U1.11/1612 | U1.5/8™12 52 | 61 | 52 | 1| 50
Mease add "TO"after the part number if there is nowasher out of the O-ring on the
product, for example "AFFH-05-06-16 OG/TD"

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A www.axxionflex.com



—

F. SAE ADAPTERS

@AXXION FLEX
NPT MALE
Thread Dimensions
Part No. E F A B L 5
1N-02-02 /827 21/8"-27 10 10 26 12
1N-04-04 I1/4°-18 Z1/4"-18 14.5 145 34 14
N INO604 | 73/8-18 | 71418 | 145 | 145 | 34 | 19
1N-06-06 £3/8°-18 23/8"-18 14.5 145 34 19
1N-08-06 21/2°-14 23/8"-18 195 14.5 415 22
L 1N-08-08 71/2°14 Z21/2"-14 19.5 19.5 46 21
B 1N-12-08 23/4°-14 21/2'-14 195 19.5 47 7
P 1N-12-12 23/4-14 23/414 195 19.5 48 7
H 1N-16-12 Z1™115 231414 245 19.5 53 36
IN-16-16 | 721115 21115 | 245 245 58 36
IN-20-16  |Z1.1/4™115 Z1™-11.5 25 245 62 46
IN-20-20  |Z1.1/47115 |71.1/4"11.5 25 25 63 46
IN-24-20 [21.3/2115 [Z1.1/4"-115 25 25 65 50
IN-24-24 | Z10/2°115 |21.1/2"-11.5 25 25 65 50
1N-32-24 221158 | 211/2%115 29 25 72 70
1N-32-32 22115 “11.5 29 29 76 70
45°NPT MALE
Thread Dimensions
1N4 Part No. E F A B 3
1N4-02-02 21/8°-27 21/8"-27 175 17.5 1
1N4-04-04 21/4-18 21/4"-18 2 21 14
1N4-06-06 73/8°-18 Z3/8'-18 21 21 17
F 1N4-08-08 21/2°-14 21/2"-14 28 28 12
1N4-12-12 13414 23/4"-14 32 32 27
1N4-16-16 21115 1115 37 37 33
IN&20-20 |Z1.0/4-115 [21.1/8-115 43 43 44
IN4-24-24 | 21.0/2°-115 (21072115 47 47 48
3 3232 | 2215 | 224115 53 53 65
\s 90°NPT MALE
Thread Dimensions
Part No. E F A B 5
1 Ng 1N9-02-02 21/8°-27 21/8"-27 22 22 1
1N9-04-02 21/4™-18 21/8"-27 27 25 14
1N9-04-04 21/4°-18 Z21/4"-18 27 27 14
IN06-04 | 23/8-18 | Z1/418 | 28 28 17
1N9-06-06 73/8°-18 Z3/8"-18 28 28 17
:{l IN9-0806 | 71214 | Z3/8™18 | 35 30 2
i 1N9-08-08 211214 21/2"-14 35 35 22
1N9-12-08 23/4™14 211214 39 19 27
1N9-12-12 23/4"14 23/4"14 39 39 i
] INI612 | 71%115 | 23494 | 41 | 4 | 3
\“\L IN9-16-16 21115 Z1™-11.5 47 47 33
ING2020 |Z1.1/4-115 |Z1.1/4-115 | S5 55 41
1N9-24-24 |Z1.3/2"115 |Z1.1/2"115 59 59 48
1N9-32-32 22"11.5 22°-115 69 69 65

www.axxionflex.com

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A



2NB

-

y
5
2NB4
%
f 51
H \s
2NB9
51
5

.-—--d

F. SAE ADAPTERS

Ll
@AXMON FLEX
NPT MALE/BSP FEMALE 60°CONE
Thread Dimensions
Part No. E F A B L S 51
2NB-02-02 21/8%-27 G1/8-28 10 55 |55 12 14
2NB-04-02 L1/4-18 G1/8°-28 | 145 55 | 305 14 14
INB-0&-04 | Z1/4-18 | GI/4-19 | 145 | 55 [315 | 17 | 19
2NB-04-06 21/4-18 G3/8™-19 | 145 £.5 32 19 py)
JNB-06-06 23/8°-18 G3/8°-19 | 145 £.5 33 19 22
2NB-06-08 23/8°-18 G1/2'-14 | 145 ] 33 19 27
JNB-08-04 211214 G1/4-19 | 195 55 37 22 19
2NB-08-06 Z1/2°-14 G3/8™-19 | 195 6.5 38 22 22
2NB-08-08 21/2°-14 G1/2-14 | 195 ] 385 22 27
2NB-08-12 211214 G3/4'-14 [ 195 | 115 42 27 32 ]
ZNB-12-08 23/4°-14 G1/2"14 1195 8 40 27 27
INB-12-12 23/4°-14 G414 | 195 | 115 43 27 32
INB-16-12 1115 G3/4-14 | 245 | 115 | 495 36 32
[ INB-16-16 | Z1-115 GI11 | 245 [ 15 | 51 | 36 | 41
2NB-20-20 [Z1.1/4-115 | GL1/4%11 25 12 56 46 50
INB-24-24 | 71.1/2°-115 | G1.1/2'11 25 13 615 50 55
2NB-32-32 2115 G2"-11 29 16 68 70 70
45°NPT MALE/BSP FEMALE 60°CONE
Thread Dimensions
Part No. E F A B 5 51
2NB4-02-02 | 71/8"-27 G1/8"-28 18 55 11 14
2NB4-04-04 | 71/4-18 G1/4"-19 22 55 14 19
NB4-0604 | 23818 | GI4M19 | n | 55 | 17 19
2NB4-06-06 | 73/8"-18 G3/8"-19 22 65 17 R
2NB4-08-08 | Z1/2°-14 G1/2-14 28 8 22 27
2NB4-12-12 | 73/4"-14 G3/4"-14 31 15 27 2
2NB4-16-16 | Z71™-115 G111 38 11.5 33 41
2NB4-20-20 |Z1.1/4"115 | G1.1/4-11 42 12 44 50
NB42424 7112115 | GLIRAIT | 47 | 13 | 50 | 5
90°NPT MALE/BSP FEMALE 60°CONE
Thread Dimensions
Part No. E F A B 5 51
JNB9-02-02 | Z1/8"-27 G1/8"-28 22 55 1L 14
2NB9-04-06 | Z1/4-18 G3/8"19 27 65 17 22
2NBO-04-04 | Z1/4"-18 G1/4"-19 25 5.5 14 19
2NB9-06-04 | 73/8"-18 G1/4'-19 27 55 17 19
2NB9-06-08 | 73/8"-18 G1/2-14 29 8 19 27
2NB9-06-06 | 73/8"-18 G3/8"-19 29 6.5 17 22
2NBS-08-06 | 71/2"-14 G3/8"19 37 6.5 22 22
2NB9-08-08 | 71/2"-14 G1/2-14 36 8 o) 27
2NB9-12-08 | 73/4"-14 G1/2'-14 37 ) 27 27
INBO-12-12 | 73/4"-14 G3/4'-14 41 115 27 32
| 2NB9-16-16 | 71115 G111 49 115 33 41
2NBS-20-20 |Z1.1/4"11.5 | GL1/4-1 555 12 41 50
2NBS-24-24 |Z1.1/2°11.5 | GL12-11 58 13 48 55

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



-

F. SAE ADAPTERS

AF/AXXIONFLEX

2NU

U

2NU4

=11

2NU9

I.Fi

51

\s

—
E

s

J/i

y/

u
.
L

A

www.axxionflex.com

NPT MALE/NPSM FEMALE 60°CONE
Thread Dimensions
Part No. E F A B L 5 51
JNU-02-02 21/8"-27 NPSM1/8"-27 10 55 | 255 | 12 14
ONU-02:04 | Z1/8%27 | NPSM14™18 | 10 | 55 | 265 | 12 | 19
ZNU-04-02 Z1/4"-1R NPSM1/8"-27 | 145 55 | 305 | 14 14
INU-04-04 Z1/4'-18 NPSM1/4-18 | 145 55 | 315 17 19
2NU-04-06 21/4-18 NPSM3/8™18 | 145 8 32 19 Faf.
INUO4-08 | Z1/4'-18 NPSM1/2-14 | 145 95 33 19 27
INU-0606 | 73/8-18 | NPSM3B-18 | 145 | 8 | 33 | 19 | 22 |
| 2NU-06-08 Z3/8-18 NPSM1/2°-14 | 145 95 13 19 7
2NU-08-04 214214 NPSM1/4"-18 | 195 55 37 21 19
INU-08-06 21/2-14 NPSM3/8™18 | 195 B 38 22 22
INU-08-08 21/2-14 NPSM1/2-14 | 195 95 | 385 | 22 2
INU08-12 | Z1/2-14 NPSM3/4"-14 195 [ 115 42 ) 32
INU-12-08 | Z3/4™14 NPSM1/2°-14 | 195 8.5 40 27 27
INU-12-12 | 73/4™14 NPSM3/4"14 1195 | 115 43 27 32
INU-12-16 | 73/4"14 NPSM1™-115 [ 195 | 115 45 32 41
2NU-16-12 Z1™115 NPSM3/4"14 | 245 [ 115 | 495 | 36 32
2NU -16-16 1115 NPSMI-115 | 245 | 115 51 36 LA
INU-16-20 21115 NPSM1.1/4°-11.5 | 245 12 56 41 50
INU-20-20 | Z1.1/4™115 | NPSM1.1/4"115 | 25 12 56 45 50
INU-24-24 | Z1.1/2-115 | NPSM1.1/2"115 | 25 125 | 595 | 50 55
JNU-32-32 L3115 NPSM2™11.5 29 13 68 70 70
45°NPT MALE/NPSM FEMALE 60"CONE
Thread Dimensions
Part No. E F A B S 51
INU4-04-04 | Z71/4™-18 MNPSM1/4"-18 12 55 14 19
2NU4-04-06 | 71/4'-18 NPSM3/8"18 22 8 17 22
2NU4-06-06 | 73/8-18 NPSM3/8"-18 22 8 17 22
INU406:08 | Z3/818 | NPSMI/2-14 | 24 | 95 | 19 | %
TN 774 | NSMIZS4 | 8 | 95 | 2 | U
NUA-12-12 | 73/4-14 NPSM3/4"-14 k)l 115 27 32
JNU4-16-16 | 71115 NPSM1™11.5 38 115 33 41
2NU4-20-20 | 71.1/4"115 | NPSM1.1/4™11.5 42 12 44 50
2NU4-24-24 | 21.1/2°-115 | NPSM1.1/2"-11.5 47 125 50 55
90°NPT MALE/NPSM FEMALE 60°CONE
Thread Dimensions
Part No. E F A B S 51
NUS-02-02 | 71/8"-27 NPSM1/8"-27 2 55 1 14
NUS-04-04 | 71/4™18 NPSM1/4™18 25 55 14 19
NUS-06-04 | 73/8™18 NPSM1/4™18 7 55 17 19
2NUS-06-08 | 73/8-18 NPSM1/2°-14 29 05 19 27
INU9-06:06 | 73/8-18 | NPSM3B-18 | 29 | 8 | 17 | 2
2NU9-08-08 | Z1/2"-14 NPSM1/2"-14 36 95 22 27
2NUS-12-12 | 73/4"-14 MPSM3/4"-14 4] 11.5 27 32
2NU9-16-16 | 71™11.5 NPSM1™11.5 49 115 33 41
2NU9-20-20 |71.1/4115 | NPSM1.1/4™115 | 555 12 41 50
2NU9-24-24 17112115 | NPSM1,1/2"11.5 58 125 48 55

sales@axxionflex.com » Phone: +1 784 655 7577 U.5.A



- el

F. SAE ADAPTERS

4N

g 3

4NN

r1 g

L

AF/AYXIONFLEX
NPT MALE PLUG
Thread Dimensions
Part No. E A L g
AN-02 Z1/8"-27 10 16 12
4N-04 Z1/4"-18 145 20 14
4N-06 23/8"18 145 21 19
4N-08 21/2°14 195 27 22
4N-12 23/4%14 195 29 27
4N-16 21115 245 36 36
4N-20 | Z1.1/4%115 25 38 46
4N-24 | 71.1/2-115 25 40 50
N3 | 22115 29 46 65
NPT MALE HOLLOW HEX PLUG
Thread Dimensions
Part No. E L g
4NN-02 21/8"-27 8 5
4NN-04 21/4"-18 10 6
ANN-06 Z3/8"18 12 8
ANN-08 21214 15 10
4NN-12 23/4°-14 18 12
4NN-16 21"115 20 |17
ANN-20 |Z1.0/4%115 n |2
NPT MALE/FEMALE
Thread Dimensions
Part No. E F A L 5
5N-02-04 21/8%-27 Z1/4-18 10 28 19
5SN-04-02 21/4™18 21/8°-27 145 20 17
5N-04-04 21/4°-18 21/4°-18 145 32 19
SN-04-06 Z1/4-18 23/8°18 145 34 22
SN-06-04 | 73/8-18 | Z1/4-18 145 2 19
5N-06-06 23/8™18 73/8-18 145 M 2
5N-06-08 23/8™18 21/2%14 145 40 27
| 5N-08-04 211214 21/4"18 195 27 24
5N-08-06 211214 23/8-18 195 27 24
| SN-08-08 21/2°-14 Z21/2°-14 195 46 27
SN12-08 | 23414 | 212414 | 195 2 7
5N-12-12 | Z3/4™14 73/4™14 195 49 36
5N-16-12 21115 23/47-14 245 34 36
5N-16-16 21115 21115 245 58 41
SN-20-16 | 21.1/4"115 | 71°-11.5 25 38 46
SN-20-20 | Z1.1/4™115 | 21.1/4-115 25 59 50
SN-24-20 | Z1.1/2°115 | Z1.1/4°-115 25 42 50
SN-24-24 | Z1.1R°115 | Z11/2°115 25 59 65
SN-32-24 22115 L214/2-115 29 47 65
5N-32-32 115 £2"11.5 29 63 70

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



—

F. SAE ADAPTERS

AF/AXXIONFLEX
5N9 90°NPT MALE/FEMALE
Thread Dimensions
) Part No. E F A B S
: SN9-02-02 | Z1/8-21 | 71/8"-27 17 3 14
T SN9-04-04 | Z1/4™18 | Z1/4™18 n 8 19
) SN9-06-06 | 73/8™18 | 73/8-18 25 30 )
SN9-08-08 | Z1/2-14 | 71/2-14 30 36 27
: SN9-12-12 | Z3/4™14 | Z3/4-14 3 41 3
e 5N9-16-16 | Z1-115 | 21115 39 50 41
E L:ﬂ 5N9-20-20 [Z1.1/4"-115 |Z1.1/4'-115 48 58 48
5N9-24-24 (2112115 [Z1.0/2-115 57 67 65
NPT MALE/BSP FEMALE
5NB Thread Dimensions
L Part No. E F A i S
A SNB-02-04 | 71/8-27 | G1/4™19 10 2 19
oy SNB-04-02 | Z1/4-18 | G1/8™-28 145 2 17
S5NB-04-04 | Z1/4-18 | G1/4™19 145 32 19
ol GNB-04-06 | Z1/4™18 | G3/8-19 145 Y 22
J_M SNB-0408 | Z1/4M18 | GI/2-14 | 145 39 27
GNB-06-04 | 73/8™18 | GI1/4™19 145 2 19
?:i\f—u SNB-06-06 | 73/8™18 | G3/8-19 145 34 22
SNB-06-08 | 73/8™18 | G1/2-14 145 40 27
] GNB-08-04 | Z1/2-14 | G1/4™19 195 28 22
SNB-08-06 | Z1/2-14 | G3/8™-19 195 8 22
f % SNB-08-08 | Z1/214 [ G1/2-14 19.5 45 27
GNB-08-12 | Z1/2-14 | G3/4-14 195 IE) 32
SNB-08-16 | Z1/2"-14 GI™-11 195 54 41
- ONB-12-06 | Z3/4™14 | G3/8™19 195 29 27
J—lﬂ.=l SNB-12-08 | 73/4™14 | G1/2-14 195 29 27
?2}_, SNB-12-12 | Z3/4"14 | G3/4™14 | 195 49 36
5 SNB-12-16 | Z3/4™14 GI™11 195 54 41
SNB-16-08 | Z1-115 | G1/2-14 25 Y 3
SNB-16-12 | Z1-115 | G3/4-14 15 Y] %
7NB NPT FEMALE/BSP FEMALE 60°CONE

Thread Dimensions

51 S
T Part No. E F B L 5 51
INB0202 | Z1/8°27 | GI8-8 | 55 25 14 14
KL " INB0404 | ZI4-18 | GIA4-19 | 55 | 28 | 19 | 19
L'?Aul_,j INB-0606 | 73/818 | G3/8-19 | 65 | 315 | 2 2
k INBOS-08 | Z1/2°14 | G124 | 8 3 Y] 27

B L INB-12-12 | 73/4"-14 G3/4™-14 1.5 435 36 32
INB-16-16 | Z1'-11.5 GI™-11 15 50 41 4

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



___g.d

F. SAE ADAPTERS

@AK XIONFLEX
NPT MALE TEE
AN Thread Dimensions
i Part No. EFG A B C 5
_ AN-02 71/8-27 NI alaln
AN-04 71/4-18 255 [ 255 [255 | 14
AN-06 73/8™18 29 | 29 [ 29 | 17
‘ L AN-08 Z21/2°-14 35 35 35 22
3 AN-12 73/4%14 0 | 40 [ 40 | 2
= AN-16 71115 4% | 46 | 46 | 33
A c | AN-20  |Z1.1/4™115 555 | 555 [ 555 | 44
AN-24  |21.1/2"-115 59 59 59 48
NPT FEMALE TEE
GN Thread Dimensions
Part No. EFG A B C S
GN-02 71/8-27 REE EE
E gz GN-04 21/4°-18 21 21 21 17
F.; GN06 | 73/8-18 B |5 |5 | 2
GN-08 71/2"-14 29 | 29 | 29 | %
GN-12 23/4"-14 335 | 335 | 335 34
\ GN-16 21115 0 | 40 [ 40 | &
. \i-c GN-20 [Z1.1/4-115 525 | 525 525 | 54
GN-24  |Z1.1/2-11.5 50 50 50 56
GN-32 22115 61 61 61 68
HN NPT FEMALE/FEMALE/MALE RUNTEE
Thread Dimensions
Part No. EFG A B C S
E - HN-02 21/8-27 17 17 23 14
[ HN-04 21/4°-18 2 22 30 19
T HN6 | 73818 % [ 25 [ 31 |2
: ILT HNOS | 21214 0 | 30 | 39 | 2
T G HN-12 23/4"-14 34 34 43 33
A ¢ HN-16 21115 M | 4 | 51| &
N NPT FEMALE/NPT MALE BRANCHTEE
Thread Dimensions
F Part No. EFG B C 5
l::_ﬁﬁ W02 | 7 7 117 | B |
IN-04 71/4°-18 2 | 2 [ 30 |19
| IN-06 13/8-18 % | 25 [ 31 |
— IN-08 217214 30 30 39 27
= 1 IN-12 23/4"14 4 | M | 43 33
2 £ IN-16 21115 a | a1 |5 | 4

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



AF/AXXIONFLEX










P

G. FLANGE ADAPTERS

NF/AXXIONFLEX

METRIC MALE 24°/L-SERIES FLANGE

Dimensions

1CFL
1DFL
L
A B
I—"_‘_l O
A
L
L9 =
1DFLY ) ]
_|—’_| -
.t
E
IDFS
A B
LLd QL Il -
L —— L

| PartNo. | Thread [ FLANGESIZE|TUBEOD | A [ B | L | d |5 [ | M
1CFL-22-08 | M22X15 | 172" 15 fns|7 [4 (2|2 [27] .
1CFL26-12 | M26X15 | 3/4° 18 125 7 |53 [381[30 | 32 '
1CFL-30-12 | M30X2 34" 0 14 | 7 |53 [381]32 36
1CFL-36-16 | M36X2 I 8 14 82 | 54 [444 [ 38 | 41 16
(1CFL45-20 | M4asx2 | 14 35 16 [ 82 | 58 [508 | 41 | 50
1CFL52-24 | Ms22 | 11/2" 42 16 |82 | 64 (603 | 46 | 60
IDFL-24-08 | M24X15| 172" 16 14 [82 |50 [302 [ 24 [ 30
1DFL-30-12 | M30X2 34" 2 16 | 7 |57 138130 | 3
1DFL-36-12|  M36X2 34 25 18 | 7 |57 [381]30 | 46 3
(1DFL-42-16 | M42X2 1" 30 20 [82 | 63 [444 | 36 | 50
IDFL-36-20 | M36X2 | 1.1/4" %5 18 [ 82 |60 [508 | 41 | 46 %
IDFL-4220| Ma2x2 | 1.1/4" 30 20 [82 |62 (508 | 41 | %0
IDFL52-24 | Ms2 | 112 38 22 182 |70 |603 | 46 | 60 21
90°METRIC MALE 24°/L-SERIES FLANGE
Dimensions
PartNo. | Thread | FLANGESIZE | TUBEOD | A | B | L [ d | S | S1 | MPa
1CFL9-22-08 | M22(15 |  1/2° 15 % 367 [302/2 [7 ]
1CFL9-26-12 | M26X15 | 3/4" 18 4 39 7 [381]30 |3
1CFL9-30-12 | M30X2 I 2 £ [ 4] 7 [381]30 |3
1CFL9-36-16 | M36X2 I 8 |45 |44 [82|#a]3% [ ] 16
1CFLO-45-20 | M45X2 | 1.1/4" 35 50 | 57 |82 [508 | 41 | 50
1CFLO-52-24 | M52%2 | 112" 2 55 | 58 |82 [603 | 50 | 60
1DFL9-24-08| M24X15| 17" 16 36 | 38 |82 [302 [ 24 [ 30
1DFL9-30-12| M30X2 34" 20 2 | 8|7 [381]30 |36 3%
1DFL9-36-12|  M36X2 34" 25 4 45 | 7 [381 30 |46
1DFLO-42-16 |  M42X2 1" 30 45 |50 [ 82 |444 [ 36 | 50 %
1DFL9-36-20] M36X2 | 1.1/4" 25 50 | 56 |82 [508 | 46 | 46
1DFLO-42-20) M42X2 | 1.1/4" 30 50 | 57 |82 |508 | 41 [ 50 "
1DFL9-52-24| M52%2 | 1.1/2" 38 55 | 64 |82 [603 | 50 | 60
METRIC MALE 24°/S-SERIES FLANGE
Dimensions
PartNo. | Thread | FLANGESIZE|TUBEOD| A | B | L | d | S | ST | Mpa
1DFS-24-08 | M24X15|  1/2" 16 14 [79 [ 53 [317 [ 24 | 30
1DFS-24-12 | M24X15 | 34" 16 14 [89 [ 59 (91327 | 30
1DFS-30-12 | M30X2 I 20 16 |89 | 61 (41330 | 36 B
(1DFS-36-12| M36X2 34 25 18 [89 [ 63 [413 [ 30 | 46
1DFS-36-16 | M36X2 1* 25 18 |96 [ 72 |476 [ 36 | 46
1DFS-42-16 | M42X2 1" 30 20 (96 | 74 [476 | 36 | 50
| 1DF5-52-20| M52 | 1.1/4" 38 22 [104 [ 83 |54 [46 [60 |
IDFS-52-24 | M52%2 | 1.1/2" 38 2 [127 [ 90 635 | 46 | 60

Please add T after the item number if you need to order one set with flance clamp, O-ring and bolts such as "1CFL9-36-16T

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



G. FLANGE ADAPTERS

@AXXION FLEX
, 90°METRIC MALE 24°/S-SERIES FLANGE
1DFSS v Dimensions
PartNo. | Thread | FLANGESIZE|TUBEOD [ A | B | L | d | S | S1 | MPa
- | ;—-»(‘i 1DFS9-24-08] M2X15| 1/ 16 39 [ 38 [79 [317 |24 |30
1] 1DFS9-24-12| M24X15|  3/4° 16 48 | 45 |89 [#13 |32 [ 30
=] s 1DFS9-30-12]  M30X2 34" 2 8 |46 |89 41332 |36 | ,
=1 1DF59-36-12]  M36X2 3/4" 25 48 |48 [89 [913]32 [ 4
. 1DFS9-36-16]  M36X2 T 5 60 | 53 |96 [476 | 41 | 46
== 1DFS9-42-16] M42X2 1" 30 60 | 55 [ 96 [476 | 41 | 50
1DFS9-42-200 422 | 1.a/4" 30 68 | 58 [104 |54 | 46 | 50
1DFS9-52-20] Ms2%2 | 1.1/4" 38 68 | 61 [104 |54 |46 [60 | , ¢
1DFS9-52-24] M52%2 | 1.2/ 38 76 | 72 {127 635 [ 50 | 60
ORFS MALE O-RING/FLANGE
Dimensions
1FFL  1FFS PartNo. | Thread | FLANGESIZE A B L d
L 1FFL12 [ 1.3/16™12 34 175 7 457 38.1
T 2 1FFL16 | 171612 1" 185 8.2 478 444
IFFL20 [1n106-12 | 14" 195 8. 4 508
L4 | 21 1177 195 82 495 60.3
1FFS-12 | 1.3/16%12 34 175 89 51.8 413
- 1 1FFS-16 | 171612 I 185 96 57.2 476
1FFS-20 [1.1116%12 | 1.1/4" 19.5 104 62 54
C 1FFS24 | 212 1112 195 127 66.8 635
JIC MALE 74°CONE/L-SERIES FLANGE
Dimensions
PartNo. | Thread | FLANGE SIZE A B L d
TIFL08 | 3/4-16 12" 167 7 35 302
1JFL UFL08-12 | 3/4-16 34" 16.7 7 454 381
(1IFL-10-08 | 7/8"-14 12" 19.3 7 48 302
L UFL-1012 | 7/814 34 193 7 48 38.1
” 3 TJFL-12-08 | 1.1/16-12 17 219 7 49 302
FL12 | 1.1/16%12 34" 219 7 50.5 38.1
(UFL-12-16 | 1.116™12 1" 219 8.2 52.2 444
|| | 1JFL-16-12 | 151612 I8 Bl 7 52 38,1
w 1 L6 | 151612 1" B 82 534 444
__\.2,1_[ 2 | TJFL-16-20 | 1501612 | 1.1/4" Bl 8.2 52.2 50.8
1JFL-20-16 | 15/8™12 1" 2, 82 54,5 444
UFL20 | 15/8-12 1.1/4" 243 82 53,1 50.8
UFL-24 | 1.7/8-12 1.1/2" 27.5 8.2 59.2 603
FL32 | 21212 2 339 98 663 714

Please add T after the item number if you need to arder ane set with flance clamp, O-ring and bolts such as "1FL-13T

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A



___g.d

G. FLANGE ADAPTERS

@AXXION FLEX
L-SERIES FLANGE O-RING/BUTT-WELD TUBE
Dimensions
1FLW Part No. FLANGE SIZE D | DI t d B L MPa
1FLW-08-15X2 12" 15 [ N 2 (302 | 7 45
1 1FLW-08-16X3 12" 6 | 10 3 (302 | 7 45
1FLW-08-22X4.5 12" 2 | 13 | 45 302 | 7 45 |
B 1FLW-12-18X1.5 34" 18 | 15 |15 | 381 7 50
1FLW-12-22%2 34" 2 | 18 2 | 381 7 50
TFLW-12-203 3/4" 20 | 14 3 | 381 7 50 345
" =| o 1FLW-12-25X4 34" 25 | 17 4 | 31 7 50
1FLW-12-28X4.5 34" 28 | 19 | 45 | 38 7 50
~ . 1FLW-16-20X2.5 1" 20 [ 15 |25 |44 | 82 | 55
s | 1FLW-16-28X2 P B | M 2 |44 | 82 | S5
1FLW-16-30X4.5 1" 30 | 21 |45 |44 [ 82 | 55
1FLW-16-35X5 P 35 | 25 5 |44 [ 82 | 55
1FLW-20-35X2 1.1/4" 35 | 3 2 |508 |82 | 60
1FLW-20-25X3 1.1/4" 5 | 19 3 [508 | 82 | 60
1FLW-20-30X4 1.1/4" 0 | 2 4 |508 | 82 | 60 276
1FLW-20-38X5 1.1/4" 8 | 28 5 [508 | 82 | 60
1FLW-20-43X6 1.1/4" I ET 6 |508 | 82 | 60
1FLW-24-42X3 1.112" 2 | 3 3 |603 | 82 | 65
1FLW-24-38X4 1.1/2" 38 | 30 4 |603 | 82 | 65
1FLW-24-50X6 112" 50 | 38 6 |603 | B2 | 65 27
1FLW-32-50X6 g 50 | 38 6 714 [ 98 | 70 .
1FLW-32-62X7.5 2 62 | 47 |75 |14 [ 98 | 70
1FLW-32-65X8 2 65 | 49 g8 714 [ 98 | 70
1FLW-40-74X5.5 21/2" 74 | 63 | 55 | 841 | 98 | 75 17.2
1FLW-48-90X10 3 90 [ 70 | 10 [1016 | 96 | 85 13.8
1FLW-56-102%7 312" 102 | 88 7 1143 (112 | %0
1FLW-64-115X8.5 4 114 | 98 8 [ 127 [112 | 100 34
1FLW-80-140X10 5" 140 | 120 | 10 [1524 | 112 | 100
4FL L-SERIES FLANGE O-RING PLUG
Dimensions
! Part No. FLANGE SIZE D d B L MPa
: 4FL-08 1/2" %4 30.2 7 16
4FL-12 34" 315 38.1 7 17 345
4FL-16 1" 38 444 8.2 17
4FL-20 1.1/4" 43 508 82 17 276
5 - 4FL-24 112" 50 60.3 82 19 207
4FL-32 2 62 714 98 19 :
C 4FL-40 212" 74 84.1 98 40 17.2
‘ 4FL-48 3 90 1016 96 45 13.8

Please add T after the item number if you need to order one set with flance clamp, O-ring and bolts such as "I FLW-20-30X4T'

E sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



J—

G. FLANGE ADAPTERS

AF/AXXIONFLEX
L-SERIES FLANGE/BUTT-WELD TUBE
Dimensions
1FLW-M Part No. FLANGESIZE | D | D1 | t d | B | L MPa
1FLW-08-15X2M T7S 15 |1 | 2 [302] 7 | %
. 1FLW-08-16X3M 1 6 | 10 | 3 [302] 7 | %
TFLW-08-22X4.5M 12" 2 |13 [ 45 [302 ] 7 [ &
B TFLW-12-18X1.5M 34" 18 |15 |15 [381 ] 7 | 50
1FLW-12-22X2M 34" 2 |18 | 2 [ 381 ] 7 | 50
1FLW-12-20X3M 304" 0 |14 | 3 [381 ] 7 [ 50 | 35
o = 1FLW-12-25X4M 34" B |17 | 4 |81 7 | 50
TFLW-12-28X4.5M 34" B | 19 | 45 [ 381 | 7 | 50
S TFLW-16-20%2.5M I 0 | 15 | 25 | 444 | 82 | 55
- =3 1FLW-16-28X2M I B | 24 | 2 |44 82 |55
TFLW-16-30X4.5M 1" 30 | 21 | 45 | 444 | 82 | 55
1FLW-16-35X5M I 35 | 25 | 5 | 444 | 82 | 55
1FLW-20-35X2M LI/ 3B | 31 | 2 | 508 | 82 | 60
1FLW-20-25X3M 114" % |19 | 3 |58 | 82 | 60
1FLW-20-30X4M 114" 0 | 2 | 4 |508 82 | 60 | 276
1FLW-20-38X5M 114" B | 28 | 5 | 508 | 82 | 60
1FLW-20-43X6M 114" 8 | 31 | 6 |58 | 82 | 60
1FLW-24-42X3M 1172 42 | 3% | 3 [603 [82 | 65
1FLW-24-38X4M 1.1/2° B | 30 | 4 | 603 |82 | 65
1FLW-24-50X6M .12 50 |38 | 6 |603 |82 | 65 | o,
1FLW-32-50X6M 2 50 |38 | 6 |74 |98 | 70 :
TFLW-3262X7.5M 2 62 | 47 |75 | 714 [ 98 | 70
1FLW-32-65X8M 2 65 | 49 | 8 | 714 [ 98 | 70
TFLW-40-74X5.5M | 2.1/2" 74 | 63 | 55 | 841 |98 | 75 | 172
1FLW-48-90X10M 3 9 | 70 | 10 |1016 | 96 | 85 | 138
1FLW-56-102X7M 312" 02 | 88 | 7 [143 |1 90
TFLW-64-115X8.5M g 14 |98 | 8 [ 127 [12 [ 100 | 34
1FLW-80-140X10M 5" 140 [ 120 | 10 |1524 | 112 | 100
4FS
S-SERIES FLANGE O-RING PLUG
L Dimensions
: Part No. FLANGE SIZE D d B L MP3
4FS-08 173 % 317 79 18
4512 34" 3 413 89 18
4FS-16 I 38 476 96 18 3
o - 4FS-20 114 44 54 104 18
4FS24 112" 51 63.5 127 20
e 4532 2 67 794 127 30

Please add T after the item numbser if you need to order one set with flance clamp, O-ring and bolts such as "4FS-12 T

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A El



- el

G. FLANGE ADAPTERS

1FSW

1]l

4FL-M

AF/AYXIONFLEX
S-SERIES FLANGE O-RING/BUTT-WELD TUBE
Dimensions
Part No. FLANGE SIZE D D1 t d B L MPa
1FSW-08-16%3 12" 16 10 3 37 79 45
1FSW-08-22X4.5 172" 22 13 | 45 |[317 | 79 | 45
1FSW-12-16X3 34 16 10 1 |[413 | 89 50
1FSW-12-20X4 34 20 12 4 | 413 8.9 50
1FSW-12-28X%5 1LY 28 18 5 413 89 50
1FSW-12-25%5 34" 25 15 5 413 B9 50
1FSW-16-25%5 I 25 15 5 475 96 55
1FSW-16-30X4 1" 30 22 4 | 476 | 96 55
1FSW-16-30X6 1" 30 18 6 |476 | 96 | 67
1FSW-16-35X6.5 1" 35 22 | 65 [476 | 96 55 4
1FSW-20-30%4 RIS 0 | 2 | 4 | % |104 | € 2
1FSW-20-30%6 1.4 30 18 ] 54 104 60
1FSW-20-38X5 1.1/4" 38 28 5 54 104 B0
1FSW-20-38%8 1.1/4" 38 2 8 54 104 B0
1FSW-20-44%7.5 1.1/4" 44 29 | 75 54 [104 | 60
1FSW-24-38X5 1.1/2" 38 28 5 635 | 127 | 65
1FSW-24-38X8 112" 38 22 8 1635 [127 | 65
1FSW-24-51X8 L1 51 35 B 635 | 127 65
1FSW-32-50%9 g 50 32 g 794 | 127 70
1FSW-32-65%8 i B5 49 B 794 | 127 70
| 1FSW-32-61X9 2" 61 43 g9 794 | 127 70
1FSW-40-74X14.5 212" 74 45 (145 (1078 | 206 | %0
1FSW-48-90X16 3 %0 58 16 [131.7 | 256 [ 110
Please add T after the itern number if you need to order one set with flance damp, O-ring and bolts such as *1FSW-20-30K4 T
L-SERIES FLANGE PLUG
Dimensions
PartNo. FLANGE SIZE D d B L MPa
4FL-08M 12" 14 30.2 7 16
4FL-12M 4" 315 381 7 17 345
4FL-16M 1" 38 444 8.2 17
4FL-20M 1.1/4" 43 50.8 82 17 216
4FL-24M 1.1/2 50 60.3 82 19 207
4FL-32M s 62 74 98 19 2
4FL-40M 212" 74 84.1 98 40 172
4FL-48M 3 %0 1016 9.6 45 138

E sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



J—

G. FLANGE ADAPTERS

AF/AXXIONFLEX

S-SERIES FLANGE/BUTT-WELD TUBE
Dimensions
TFSW-M Part No. FIANGESIZE | D [ D1 [ t | d | B L MPa
TFSW-08-16YGM 7% 6 | 10 | 3 |317 | 79 | 45
i TFSW-08-22X4.5M 17 D |13 |45 [ 317 [ 79 | 45
TFSW-12-16X3M 34 16 | 10 | 3 |413 [89 | %0
i FSW-12-20X4M 34" 20 | 12 4 | #13 [ 89 | 50
TFSW-12-25X5M TS E 5 413 [ 89 | 50
TFSW-16-25X5M I % | 15 5 | 476 | 96 | 55
3/ =| o [CIFSW-I6-30kM f 0 | 2 | 4 |46 |96 | 5
TFSW-16-30X6M 1" 0 | 18 | 6 |476 | 96 | 6
< TFSW-20-30X4M T 30 | 2 | 4 | 54 | 104 | 60
o == 1FSW-20-30X6M 14 0 (18 [ 6 |54 (04|60 |
[ 1FSW-20-38X5M 114 3 | 28 | 5 | 54 | 104 | 60
1FSW-20-38X8M 11 38 | 22 | 8 | 54 |04 | 60
1FSW-24-38X5M 117 38 | 28 | 5 | 635 | 127 | 65
1FSW-24-38X8M 11/ B |22 | 8 |65 | 127 | 65
TFSW-24-51X8M 1127 51 | 35 | 8 | 635 | 127 | 65
[ TFSW-32-50X9M 2 50 | 32 | 9 | 794 | 127 | 70
TFSW-32-65X8M 7 65 | 49 | 8 |704 | 127 | 70
TFSW-40-74X145M | 2117 74 | 45 [ 145 |1078 | 206 | 9%
TFSW-48-90X16M 3 9 | 58 | 16 [1317 | 256 | 110
4FS-M $-SERIES FLANGE PLUG
L Dimensions
= Part No. FLANGE SIZE D d B L MPa
— 4FS-08M 7% % 37 79 18
4FS-12M I8 2 43 8.9 18
4FS-16M I 38 476 96 18 i
o = 4FS-20M 114 4 54 104 18
4FS-24M 117 51 635 127 20
: 4FS-32M 2 67 794 127 30
JICMALE 74°CONE/S-SERIES FLANGE
Dimensions
1JFS | PatNo. | Thread [FLANGESIZE| A B 1 d
UFS08 | 3/4-16 73 167 79 475 317
1FS-10-08 | 7/8~14 173 193 79 50 317
: UFS1012 | 77814 4" 193 89 55 413
. W12 | 111612 34" 219 89 56.7 413
A UFS-12-16 | 1.1/16™12 k 219 96 615 476
_ 1FS-16-12 | 15/16"12 34 23.1 89 578 413
. - 1UFS16 | 15/16™-12 1" 2.1 96 628 476
UFS-1620 [ 151612 | 1.1/ 231 104 67.7 54
| 1FS-20-16 | 15/8-12 ' 43 96 64 476
' UFS20 | 1.5/812 1.1/4" 243 104 689 54
US4 | 1812 | 1 215 127 767 635

Please add T after the item number If you need to order one set with flance clamgp, O-ring and bolts such 23 "1JFS-12T

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A m



G. FLANGE ADAPTERS

AF/AXXIONFLEX
FL L-SERIES SPLIT FLANGE CLAMPS
: Dimensions
Part No. FLANGE SIZE BOLT MPa A|lB| C|D]|E
/ST 7= _FL-08 11 MB8X25 538 1460 381 | 9 |175
M FL-12 34" M10X30 345 65 |524 (476 | 11 |22
o o FL-16 r M10X30 699 |58.7 (524 | 11 |262
. FL-20 1.1/4° M10X30 276 792 | 73 (587 | 11 |302
A ' FL-24 112" M12X35 207 937 |826 (699 |135 |357
MSZAIAY = FL-32 2 M12X35 ~ 1016 1968 |778 [135 1429
E 3 FL-40 21/4" M12X40 172 114 | 109 | 889 |135 |508
FL-48 3 M16X50 138 135 306 1064 |17.5 619
Fs S-SERIES SPLIT FLANGE CLAMPS
B Dimensions
. 7 — Part No. FLANGE SIZE BOLT MPa Al Bl clDIE
SO FS-08 1/ M8X30 563 [49.2 (405 | 9 |182
F$-12 3/4" M10X35 714 |618 (508 | 11 |238
iila Fs16 T Mi2ts |, | 81 (714 [572 |13 |78
7 F5-20 1.1/4 M14X50 953 |792 [66.7 | 15 |318
\IZEiaYN | F5-24 1.1/2° M16X55 1128 |98 |794 | 17 |366
E o F5-32 g M20X70 1334 1156 |96.8 | 21 |444
FLW L-SERIES WHOLE FLANGE CLAMPS
8 Dimensions
Part No. FLANGE SIZE BoLT MPa Al Bl C|lDIE
@"’O Z| FL-08W 12 M8X25 538 (461 (381 9 |175
FL-12W 3/4" M10X30 345 65 (524 (476 | 11 |222
<! w FL-16W M10X30 699 (587 |524 | 11 |262
FL-20W 1.1/4° M10X30 276  |792 | 73 (587 | 11 |302
P FL-24W 1.1/2° M12X35 207 937 |826 [699 |135 |357
N g FL-32W 2 M12X35 ) 1016 (968 |778 [135 [429
E FL-40W 2114 M12X40 172 114 | 109 |889 |135 |508
FL-48W ¥ M16X50 | 138 135 1306 1064 [17.5 |619
FSW S-SERIES WHOLE FLANGE CLAMPS
i Dimensions
Part No. FLANGE SIZE BOLT MPa Al Bl Ccl DI E
o &) 7| FS-08W 172" M8X30 563 (492 (405 | 9 |182
e . FS-12W 3/4" M10X35 714 |61.8 [508 | 11 |238
o . FS-16W 1" M12X45 ) 81 |714 |572 | 13 |278
FS-20W .14 M14X50 953 |792 [66.7 | 15 |318
oy FS-24W 112" M16XS5 1128 |98 (794 | 17 |366
A 2 FS-32W g M20X70 1334 1156 |968 | 21 |444
E Please add T after the item number if you need to order one set with O-ring and
bolts, such as "FL-16 T

m sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



X4
L |

IONFLE>

AXX

a5







www.axxionflex.com




H.QUICK COUPLING & OTHERS

NF/AXXIONFLEX

Test Points

20

N S

; SEnEy

=L =T
S I . e— S
E E
A B
E Thread Dimensions
Part No. E A L S (bar)
S1CYH-16D-10 M10X1 8.5 38 17 630 A
51CYH-16D-12 M12X1.5 n 38 17 630 A
S1CYH-16D-14 M14X1.5 n 38 19 630 A
S1CYH-16D-16 M16X1.5 125 38 2 630 A
S1CYW-16D-12WD M12X1.5 12 38 17 630 B
S1CYW-16D-14WD M14X1.5 12 38 19 630 B
S1CYW-16D-16WD M16X1.5 12 38 2 630 B
S1CYG-16D-02 G1/8"-28 9.5 38 17 630 A
51CYG-16D-04 G1/4"19 12 38 19 630 A
51CYG-16D-06 G3/8"19 12 38 22 630 A
S1CYB-16D-04WD G1/4%19 12 38 19 630 B
S1CYB-16D-06WD G3/819 12 38 2 630 B
51CY0-16D-04 U7/16"-20 n 38 14 630 A
51CY0-16D-06 U9/16"-18 12 38 17 630 A

Othermaterials,designs,sealingandscrew-inthreadsonrequest.
Wereservetherighttocarryouttechnicalmodica

l“l sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



—
H. QUICK COUPLING & OTHERS

AFAXXION FLEX

QUICK RELEASE COUPLINGS - 150 7241A

W Specialty :high strength carbon steel,galvanized surface treatment,bothends with one-way valve,locked by
B steel ball Treads:the dimension of BSP(G),NPT is from 1/4"to2"(if need larger sizes pls contact with us)
W Working temperature:-30 to 100°C

(bar)
| 28 | |y | 0 | oo s
o e e L o [5] | w
Shtin el Tl DeReE 425 05 |30 | 2 350
KSA-G1/2" | KSA-G1/12'M KSA-G1IZ°F BSP-1/2" 20 3 5
KSAZ1Z | KSAZIZM | KSAZUZF | NPTAZ
eazve | keazin | oAzuer | werae | S | % 4| u 250
Eg‘:‘ 2552-(25‘:‘?:‘ gﬁ:‘l’: zﬁ?_’p 99 65.5 52 41 200
ek i e koM | kaziuer W] | 8 || % =
ez iz | wsaziiw | Keaziize | i | % | % || ® o
KAcr ioacru [ Ko | B2 e | |w| 7 -

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A IIE




FLAT -FACE COUPLINGS - ISO 16028

H.QUICK COUPLING & OTHERS

AFAXXION FLEX

™ Specialty: high strength carbon steel,galvanized surface treatment flat face, locked by steel ball
m Advantage of flat-face couplings:less gas entrapment on connection, avoid the dust polluting the oil-waykeep oil from leakage when removing,

avoid the loss of oil or any environment pollution
m Tread:BSP(G), NPT
m Dimension s from 1/4°to2"(if need larger sizes please contact with us)
Working temperature:-30 to 100°

Model No
KSP-G1/4 | KSP-G1/4M | KSP-G1/4F BSP1/4 535 55 27 7 315
KSP-Z1/4 | KSP-Z1/4M | KSP-Z1/4F NPT1/4"
KSP-G3/8 | KSP-G3/8M | KSP-G3/8F EISPEIIEI1l 635 6 3 77 20
KSP-Z3/8 | KSP-Z3/8M | KSP-Z3/8F NPT3/8
KSP-G1/2 | KSP-G1/2M | KSP-G1/2F BSP1/2 7 785 38 3 250
KSP-Z1/2 | KSP-Z1/2M | KSP-Z1/2F NPT1/2"
KSP-G3/4 | KSP-G3/4M | KSP-G3/4F BSP3/4 205 875 3 4 20
KSP-Z3/4 | KSP-Z3/4M | KSP-Z3/4F NPT3/4"
KSP-G1 | KSP-GIM | KSP-GIF BSP1 %5 875 . " 250
KSP-Z1 | KSP-ZIM | KSP-Z1F NPTT"
KSP-Z1-1/4 | KSP-G1-1/4M | KSP-G1-1/4F BSP1-1/4 %0 106 5 e 250
KSP-Z1-1/4 | KSP-Z1-1/4M | KSP-Z1-1/4F NPT1-1/4"

lla sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



—

H. QUICK COUPLING & OTHERS

/AF/AXXION FLEX

Spring guard

No. Part No. ID (mm) | Steelwire ¢ Fit Hose

1 SP-15 15 1.5 1T-04

2 SP-17 17 15 1705, 2T-04

3 $P-19 19 1.5 1T-06. 2T-05. 4SP-04
4 Sp-22 2 2 21-06. R12-06, 1T-08
5 SP-23 23 2 45P-06. 2T-08

6 S$P-25 25 2 1T-10. R12-08

7 SP-26 26 2 45P-08

8 Sp-27 27 2 21-10

9 SP-29 29 2 R12-10, 17-12, 45P-10
10 SP-31 31 2 21-12

11 $p-32 32 2 R12-12

12 $P-33 33 2 45P-12, 45H-12. R13-12. R15-12
13 SP-37 37 2 1T-16

14 SP-40 40 2 2T-16, R12-16, R13-16. R15-16. 4SH16
15 SP-42 42 25 45P-16

16 SP-45 45 25 1T-20

17 SP-47 47 25 45H-20

18 SP-49 49 25 21-20. R12-20

19 SP-51 51 25 R13-20, R15-20

20 $p-52 52 25 1T-24, 45P-20

21 SP-55 55 25 R12-24, 45H-24

22 SP-56 56 25 2T-24

23 SP-59 59 25 45P-24, R13-24, R15-24
24 SP-66 66 25 1T-32

25 SP-69 69 25 21-32,R12-32

26 SP-71 71 25 45P-32, 4SH-32

27 SP-74 74 25 R13-32

Note: 1. Image 1 shows the contraction of the springImage 2 shows the state after tensile;
2. Generally the minimum order length of spring should be 1 meter;
3, The fit hose only for reference .Please measure when you use.

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A Illl



H.QUICK COUPLING & OTHERS

NF/AXXIONFLEX

Spiral Plastic Protective Sleeve

IR
LU

Part No. ID (mm) HOSE OD(mm)
RNL-08 @8 @8-012
RNL-10 @10 @10-015
RNL-12 @12 @12-016
RNL-16 @16 @16-024
RNL-18 @18 @18-@27
RNL-21 @21 @21-932
RNL-25 @25 @25-038
RNL-28 @28 @28-042
RNL-30 @30 @30-045
RNL-32 @32 @32-048
RNL-35 @35 @35-@50
RNL-38 @38 [@38-@55
RNL-42 @42 @42-060
RNL-45 @45 @45-068
RNL-50 @50 @50-@75
RNL-60 @60 @60-290

Description: 1. Working Temp:-40~125C
2. Anti-statics,Good Wear Resistant,Long Working Life,Small Bend Red ius
3. AirWater,Oil,Gasoline and Solvent Resistant,

llﬂ sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



J—

H. QUICK COUPLING & OTHERS

AFAXXIONFLEX

ADDITIONAL INFORMATION

Seal
3 o]
k J J =
For DIN 24°Cone O-ring L.T. For 150 6162 Flange O-ring
DIMENSIONS DIMENSIONS
PARTNO. | THREAD D b TUBEOD. PART NO. FLANGE SIZE D b
0075X15 | MIX15 15 15 6 025704353 175 57 353
0095X15 | M4x15 95 15 8 03205%353 S 3205 353
ONSX15 | MIsX1s 15 15 10 039.98X353 (4 3998 353
0135X15 | Misx1s 135 1.5 12 | 04475%353 1114 4475 353
0155%20 | M20X15 155 20 14 054284353 1177 5428 353
| 0165K20 | M22X15 | 165 20 15 08380353 | 7’ 638 353
0200420 | M26X15 20 20 18 076.50X3.53 217 765 353
0200620 | M27X15 2 20 18
024.0X2.0 M30X2 M 20 ol
0300X2.0 M36X2 30 20 2
0320X25 M39x2 32 25 30 For BSP Male O-ring
0370X25 M4sx2 37 25 35 DIMENSIONS
0440425 M52x2 4 25 42 PART NO. FLANGE SIZE D b
016.01X262 GI/4X19 16.01 262
019.18X2562 G3/E"X19 19.18 262
. 023.00X2.62 GI2%4 Pij 252
For DIN 24°Cone O-ring H.T. 024.10K2.46 G5/8°N14 241 246
DIMENSIONS 02871X262 GI/4"K14 87 262
PART NO. THREAD D b TUBEQD. 036.80X353 GI"KN 368 353
0075X15 | M14x15 75 15 6 044.75X3.53 GLI/4X1 4475 353
0095X15 | MI6X15 95 15 8 051.10X353 GLI2N 51.1 353
ONSX15 | Misx1s 15 15 10 060.00X3.00 G211 60 0
0135X15 | M20X15 135 15 12
016000 | M2x15 |6 20 14
0180X20 | Ma4x15 18 20 16
0220X25 M30x2 2 25 0 .
0270%05 362 7 35 % For Metric Male Adjustable Stud End O-ring
0320625 M42x2 3 15 30 DIMENSIONS
0400X25 M52x%2 40 25 8 PART NO. FLANGE SIZE D b
011.3X15 M10X1 113 16
 0140%24 M12X15 14 14
For ORFS Male O-ring 016.0%24 M14X15 16 24
018.0624 M16X1.5 18 24
DIMENSIONS 020.0%24 M18X1.5 20 24
PART NO. THREAD D b 022.0%24 M20X15 2 24
01125%1.78 U9/16°X18 1.5 1.78 0240024 M22X15 % 24
01281178 U11/16"X16 1281 1.78 027.3¥30 M24X15 73 0
01596)1.78 U13/16X16 1598 1.78 0295)3.0 M27%2 295 30
019.16X1.78 U1"x14 19,16 1.78 0325X3.0 M30X2 25 30
023178 | w3nemn2 23 1.78 035530 M33x2 355 30
02708X1.78 | UL7/16%12 27.08 1.78 044530 M42x2 445 30
033430178 U1.11/16"12 334 1.78 0505X3.0 M48x2 505 30

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A IIE




el

H.QUICK COUPLING & OTHERS

AFAXXION FLEX

ADDITIONAL INFORMATION

(J =]
Staple-lok O-ring For SAE Male O-ring
DIMENSIONS DIMENSIONS
PART NO. FITTING SIZE D b PART NO. THREAD D b
010%20 04 10 20 012.58%1.83 U7/16"-20 1258 183
014520 05 14 20 014.18X1.83 U1/220 14.18 183
014X20 [ 14 20 01585X1.98 U9/16"18 1585 1.98
018425 08 18 25 020784221 U316 2078 3]
020425 10 0 25 024.100246 u7/s"14 41 246
024425 12 24 25 029374295 UL1M6%12 2037 295
030425 16 30 25 032520295 UL3Ne~12 3252 295
038425 2 38 25 035641295 UL516~12 3564 295
046X30 % 4 30 04346)3.00 U15/8™12 4346 30
055X3.0 32 55 30 049,69)3.00 U1.7/812 4969 30
065.36)3.00 21212 6536 30
(v}
=
d
For BSP Male O-ring D
DIMENSIONS
PARTNO. THREAD d D H 3;
WDB02 | G828 84 119 10
WD-B04 | GIA™I9 116 165 15 d
_WD-B06 | G3/8'%19 147 189 15
WD-B08 | G214 185 39 15 - DIMENSIONS
WD-B12 | G314 239 292 15 PART NO. THREAD d D
~ WD-B16 G 297 35.7 20 ZHD10 | MID. GI/E’ 104 16
WD-B20 | GLIM4XN 388 458 20 ZHD-14 M4, GI/4" 144 20
WD-B24 | GLY2Z%N M7 50.7 20 ZHD-16 M6 164 2
WD-B02 M10X1 84 ng 10 ZHD-18 Mi8. G3f8* 184 25
WDMI2 | MI2Z1S 98 144 15 ZHD-22 M22, GIf" 25 30
WD-B04 M14X1.5 146 165 15 ZHD-M4 M24 245 32
WD-M16 M16X1.5 138 189 15 ZHD-27 M27, G3f4" 275 35
WD-MIS | MIBK1S 157 209 15 ZHD-30 M30 305 38
WD-M20 | M20X15 178 29 15 ZHD-13 M33. GI° 335 4
WOM2 | M2X15 196 43 15 ZHD-36 M36 366 46
WD-812 M26X1.5 29 292 15 ZHD42 M42, G1.I" 426 53
WD-B12 MITH2 B9 292 15 ZHD-45 M45 456 5%
WD-B16 M33X2 297 357 20 ZHD-48 M48, G112 487 60
WD-820 M42%2 188 458 20 ZHD-52 M52 527 66
WD-B24 M4gx2 447 50.7 20 ZHD-60 Ms0. G 60.7 75

llﬂ sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



—

H. QUICK COUPLING & OTHERS

AF/AYXIONFLEX
ADDITIONAL INFORMATION
Recommended Thread Torque
Metric Thread BSP Thread
THREAD nm THREAD nm
M12X1.5 10:20 G1/8"X28 9-12
M14X1.5 2035 G1/4"X19 15-24
M16X1.5 25-40 G3/8'X19 26-38
M18X1.5 3045 G1/2°X14 4149
M20X1.5 35-50 GS/8"X 14 50-60
M22X1.5 40-70 G3/4"X 14 68-81
M24X1.5 40-70 GI"X11 107-129
M26X1.5 60-100 GLIA"X1 172-206
M30X2 80-120 G121 226-258
M36X2 100-150 G2'X11 355-426
M42X2 150-220
M45X2 180-250
M52%2 200-300
JICThread ORFS Thread
THREAD nm THREAD nm
7/16™-20 13-15 9/16™18 14-16
1/2-20 18-20 11/1616 24-27
9/16™18 23-26 13/16™16 43-54
3/4™16 47-52 114 60-75
7/8"-14 69-76 13/16™12 90-110
1.1/16™12 9-106 1.7/16™12 125-140
131612 108-125 11111612 170-190
15/16"12 127-141 212 200-245
15/812 169-188
1.7/8%12 212-235
21212 296329

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A IIE



e

H.QUICK COUPLING & OTHERS

AFAXXION FLEX

ADDITIONAL INFORMATION

1509974-1 metric thread port and mating stud end

=]

Port Dimensions

L

%‘

==

Type A 15O 9974-3 Type B IS0 9974-2 Type E 0O-ring Seal 0O-ring Seal
[
di
(ATW[L] N
% i 1
_' /u .
/ |
dz2
GH dn
This dimensicn only applies when tap
drill cannot pass throughentire boss
Port
Port Dimensions mm
d2 d3 d4 L1 12 13 W
THREAD d1 ref nom. tol. min. max, min. min,
Max1 3 g 0402 13 1 ] 10 [14]
MI0X1 45 10 0,+02 15 1 & 10 1}]
M12X15 6 12 0402 18 15 12 15 01
M14X15 7 14 0,402 20 15 12 15 0.1
M16X15 9 16 0,402 pE] 15 12 15 0.1
M18X15 1 18 0,402 5 2 12 15 0.1
M20X15 10 20 0402 n 2 14 17 0.
M22X15 14 22 0,402 28 25 14 17 01
M26X1.5 18 26 0402 33 25 16 19 02
M27X2 16 27 0.+02 33 25 16 20 02
M33%2 23 33 0403 4] 25 18 22 02
Ma2X2 30 42 0403 51 25 20 M 02 |
M4BX2 36 43 0403 56 25 n 36 02

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com



—

H. QUICK COUPLING & OTHERS

AFAXXION FLEX

1S06149-1 metric thread port and mating stud end

TR o«

&

ADDITIONAL INFORMATION

1S06149-2, 1506149-3 stud end
@ Faridenticaton ofpot

anit
| 7

oo —

This dimension only applies when tap
drill cannot pass throughentire boss

150 6149-1 Port

Port Dimensions mm

4 d3 d5 d6 L1 12 3 14 7
THE\{J PR o i +g'] *{5‘5 {%4 min. mas. | min. +* O-RING
M8X1 17 14 3 125 9.1 14 16 1.5 1 10 12 6.1X1.6
M10X1 20 16 45 145 1.1 16 16 1.5 1 10 12 81X16
M12X15 23 19 6 175 138 19 24 14 15 115 15 93x2.2
M14X1.5 25 pil 15 195 158 2 24 14 15 1.5 15 113522
M16X15 28 L] 9 225 178 Ll 24 15.5 15 13 15 13.3%X22
M18x15 30 26 " 245 198 26 24 17 2 145 15 15.3%22
M20X15 32 27 - 255 18 27 24 - 2 145 15 173522
M22x15 34 29 14 275 238 29 24 18 2 15.5 15 19.3%22
M27%2 40 34 18 325 294 34 31 2 2 19 15 236X29
M33X2 49 4 3 415 354 43 31 22 25 19 15 296X29
M42)2 60 52 30 505 444 52 31 215 25 19.5 15 186X29
M48)x2 66 57 36 55.5 504 57 31 25 25 2 15 446X29
Me0x2 76 67 44 655 624 67 31 275 25 145 15 56.6X2.9

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A I!Iu



B —

H.QUICK COUPLING & OTHERS

AFAXXION FLEX

DIN 3852 BSP thread port and mating stud end

E 1E (5 ¢

-

DIN 3852 Type A DIN 3852 Type B DIN 3852 Type E O-ring Seal O-ring Seal

o4

d3

(A W] L] %" =
%/ [ F |
EE
/ |
@H di
DIN 3852 Port
Port Dimensions mm
d4
+H4 L1 L2 L3
THREAD 0 max. min. min. W
di TypeB, E. Others

G1/8X28 98 | 0+02 15 19 1 8 13 0.1
G1/4X19 132 | 0402 19 25 15 12 185 0.1
G3/8X19 167 | 0402 23 28 2 12 18.5 0.1
G1/2X14 21 | 0+02 i 34 25 14 22 0.1
G3/4X14 265 | 0402 33 42 25 16 24 0.2
GIX11 333 | 0403 40 47 25 18 27 02
G1.1/4X11 42 0403 50 58 25 20 29 02
G172 479 | 0403 56 65 25 12 3 0.2
G2X11 597 10403 69 76 3 24 33 02

sales@axxionflex.com « Phone: +1 786 655 7577 U.5.A

www.axxionflex.com




—

H. QUICK COUPLING & OTHERS

@AXXION FLEX ADDITIONAL INFORMATION

BS5380 BSP thread port and mating stud end

b «

BS 5380 BS55380 studend

| L 1032] A |
d2
d5
o ; 3
&_\ i Wame | SgP
I / E oS 7 U 7\ %
d3
d M
&f—= /o1 A]
BS 5380 Port
Port Dimensions mm
ds 1
42 d3 13 14
H{EIIEHD min. mak. mf "T max. min. 0-RING
G1/8%28 15 14 11.24 13 08 10,5 8.1X16
G1/4X19 19 18 14.16 12 06 n 10.0X16
G3/axX19 23 22 18.86 18 06 125 13.6X24
G1/2X14 27 % 2240 19 08 15 17.6X2.4
G5/BX14 3 30 26,00 24 08 163 19.5%3
G3/aX14 33 32 2852 24 1.1 16.3 22553
GIXN 40 39 35.50 24 1.1 19.1 29.5%3
G1.1/4%11 50 49 4356 24 1.1 214 36.5%3
G112 56 55 4942 24 1.1 225 43553
G2X11 (] 68 6142 24 1.1 25.7 54.5%3

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A I“E



H.QUICK COUPLING & OTHERS

el

ADDITIONAL INFORMATION @AXX'ON FLEX
JIS B2351 BSP thread port and mating stud end
JISB2351 #F¥ JISB2351  studend
—1-L[012] A
dz
ds
A /"‘—“\1 X ~

] 7 @’@'ﬁ/

7 -

: / - a| | I . fod

: =i
) ;
di 15°+1*
@H ;01T A
JISB2351 Port
Port Dimensions mm
ds L1
4 12 3 L4
THSIEAD 103 "?]'] T min. max. min, O-RING
G1/8X28 18 116 2 15 1 10 7.8X19
G1/4X19 24 156 25 18 15 12 108%2.4
G3/8X19 28 186 25 18 2 12 13824
G1/2X14 34 226 25 24 25 16 17.8%24
G3/4X14 45 298 35 25 25 17 221635
GIX11 51 358 35 30 25 21 287435

G1.1/4X11 62 448 35 30 25 N4 37.7X35
GL.1/2X11 68 50.8 35 30 25 N4 437435

IIHH sales@axxionflex.com « Phone: +1 786 455 7577 U.S.A www.axxionflex.com



—

H. QUICK COUPLING & OTHERS

AFAXXION FLEX

1S011926-1 SAE thread port and mating stud end
P =

1SO 11926-2. 150 11926-3 SAE thread stud end

d
d#{ gauging)
.h, a— ; . d5
ch==7 oy
5 \ '- . ) 7y g
=/ :_
t ) i éﬁ
d.! 1
&H d1 - ;0| A
This dimension only applies when tap
drill cannot pass throughentire boss
IS0 11926-1 1SO 11926-1 SAE thread Port
Port Dimensions mm
d3 L1

d2 d4 ds L2 L3 L4 r
THHd?'D min. rof min. #0.05 +?]'4 min. max. min. 1 ORING
516"-24 7 25 n 9.15 19 12 16 0 12 6.07X1.63
3/8"-24 19 35 13 1075 24 12 16 0 12 T65X163
716"-20 21 45 15 1245 24 14 16 115 12 891183
1/2-20 Pk ] B 16 14.05 5 14 16 115 12 10.52%1.83
9/16™18 25 7.5 18 1570 5 155 24 127 15 11.89%1.98
3416 30 10 2 2065 15 175 24 143 15 16.36X2.21
7/8-14 3 125 26 24 33 20 24 167 15 19.18%2.46

1141812 41 16 32 202 33 233 24 19 15 23476295

1.3/16™12 45 18 35 324 33 ] 24 19 15 26624295
151612 49 21 38 3555 33 33 32 19 15 29.74%2.95
1.5/8-12 58 i 48 4355 33 23 32 19 15 37.46X3.00
1.7/8%12 65 3 54 499 33 33 32 19 15 43.69%3.00
21712 88 45 70 B5.75 33 23 32 19 15 59.36X3.00

www.axxionflex.com sales@axxionflex.com = Phone: +1 784 4655 7577 U.S.A I!III






/AF/AXXIONFLEX




AF/AXXIONFLEX

= USA BRAND

sales@axxionflex.com » Phone: +1 786 655 7577 U.5.A

www.axxionflex.com




	1
	2
	3
	4
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30
	31
	32
	33
	34
	35
	36
	37
	38
	39
	40
	41
	42
	43
	44
	45
	46
	47
	48
	49
	50
	51
	52
	53
	54
	55
	56
	57
	58
	59
	60
	61
	62
	63
	64
	65
	66
	67
	68
	69
	70
	71
	72
	73
	74
	75
	76
	77
	78
	79
	80
	81
	82
	83
	84
	85
	86
	87
	88
	89
	90
	91
	92
	93
	94
	95
	96
	97
	98
	99
	100
	101
	102
	103
	104
	105
	106
	107
	108
	109
	110
	111
	112
	113
	114
	115
	116
	117
	118
	119
	120
	121
	122
	123
	124
	125
	126
	127
	128
	129
	130
	131
	132
	133
	134
	135
	136
	137
	138
	139
	140
	141
	142
	143
	144
	145
	146
	147
	148
	149
	150
	151
	152
	153
	154
	155
	156
	157
	158
	159
	160
	161
	162
	163
	164
	165
	166
	167
	168
	169
	170
	171
	172
	173
	174
	175
	176
	177
	178
	179
	180
	181
	182
	183
	184
	185
	186
	187
	188
	189
	190
	191
	192
	193
	194
	195
	196
	197
	198
	199
	200
	201
	202
	203
	204
	205
	206
	207
	208
	209
	210
	211
	212
	213
	214
	215
	216
	217
	218
	219
	220

